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1. Quwunupt] wowownnubpGlpp.

1. Gunlty 64-h wyG pwqiwyumpyp, npp quGynid £ 200-h L 300-h hol:
1) 256 2) 264 3) 244 4) 292

2. GGty 96-h wwpg pwdwlwpwplbph pwGwyp:
11 2)2 3)3 4)4

3. 80-p 64-hg pwGh”® mnynuny t dko:
1) 20 2)25 3) 10 4) 30

4. 64-n 80-hg pwGh® mnynuny k. thnpn:
1)20 2) 25 3) 10 4) 40

2. Guuuwpt] wpwownpuGpltpp.
1. b°Gs pyh wtiwp L pwdw by 2-ps npuytiugh pwlnpyp unwgyh 4:

1)6 2).2 3)% 4y 4

2. N°p pywlywiny Eytpowlnid 5-h puqdwwyumhpl YaGun phyp:
1)5 2)0 3) 10 4)2

3. {upyt] 4 hwymwpwnpny popnp ulnGuynp YninnpwyGhph
wpuwnpjwin:
§ 7 3

1)4 2) g 3)Z 4)3—2

4. N°p pJwlwlp wtnp t dwjuhg L wohg Ygwanty 34 pyhl, npytiugh
unwgywd puwnwih) phyp vko hGh 6000-hg L pwdwGyh 3-h:

1)9 2)6 3)7 4)8
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3. Guunwpt] wow9wnpubpGtnn.

1.

S

[

GGty 3-h pwdwlynn wikGwihnpp tnwGh) pyh L witGwhnpnp
wwnq tpyhy pyp wwpptipnipynip:

1) 90 2) 91 3) 988 4) 88

Spywo npuwG pyh L Gpuw hwwnhp pyh mwpptipnipyniGp pwGh®
unlnuny L dto mipywo pyhg:

1) 50 2) 200 3)75 4) 100

Qb a-G, ipt 237248 pphyp pwdwGymd t 18-h:
1)3 2)6 3)2 4)9

PuqiuwwwunltghG 1-hg dhGsl 17 pninp pGwiw b pytpn:
Uwnwgyuwo phyp pwGh® qpunyny t Jtpow lGnud:

1)6 2)5 3) 4 4)3

SpJwo bl a=4 L bzg pytpn:

. Gty b -h Gnwywwmhyh w.a-h gnuiwnpn:

2
1)6 2)14 3) 125 4)2
Qun(t] a* pyhG puqiwwunhl wikGuthnpp inwGhy phyp:
1) 96 2)104 3112 4) 120
a*b wpumwhwjnmpniGnd pJupwluu n’p gnponnnipjw b

Gpwlny wytwp £ thnfuwphlty * -p, npybugh wpnyniGpnid 1hGh
plwlwG phy:

1) + 2)— 3)x 4):
0°p phdp Yunwgyh, tpt b -h mwulnppujul Yynunnpuyny gpundwl
uti9 unnpwybnp vty pywlrwl we mtinuthnjuyh:

2 2 1
1) 10— 2)6 3) 6= 4) —
) 3 ) )3 )15

7
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5. Quuupt] wowownpulpltpn.

1. 15 pnwt 46 Juypyjwbp dkY dwdh n®p dwu k:
473 773 946

1) —— 2) —— 3) — 4 L
1800 1800 3000 3600

2. QmdwpbjhGtphg dtyp deowgpty GG 11-ny: bGswb®u whwup b thnfuby
Ujniu gmiwnthG, npybugh gnudwpp hnppwlw 3-ny:
1) thnppwgGhy 8-ny 2) thnppwglty 14-ny
3) dtowglty 8-ny 4) dtiowglty 14-ny

3. Qullb |a| <5 yuwydwGhb pwjwpwpnn a wipnng pytinh pwGwyn:
1)9 2)8 3)4 4)5

4. Lwbh”® hww 3 gnuidwptjh whwp E Ytipg Gty npytiugh gnidwpn
unwgyh 3%
15 2) 240 3) 81 4)27

6. Guwunwnb] wnwownpulpGhpnp.

37
1. b°Gs npuywG phy wtinp-k hwdbg % -hg, npytiugh unwgyh plwlywd

phy:
35 2 1

37
1) == 2) == 3) = 4y =
) 35 )37 ) 35 ) 35

2. n pGwlwG phyp 17-h pwdwGtjhu dGugnpynid unwgymd t 11: h°Gy
UGwgnpn Junwgyh' 3n-p 17-h pwdwlbihu:

1) 14 2)7 3)9 4)16

3. UpJwoGtphg n°pp Yupnn t hGh Gpyne hwonpnuyu G pGuywG
pytiph wpunwnpywih gtpght pwGuip.
1) 5 2)9 3)0 4)3

4. 60 hwwn pGuwyuwi pytiph gniiwpp hwywuwn t 61-h: Gunlbp wyn
pytiph wpmwnpjwp:
1)2 2) 61 31 4) 60
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7. Guunupt] wpwowinnuGpGhpp.

oo

y —, g YnunpwyGtphg n°pG £ wdbkGudbon:
13 3 5

2) — 3)— 4) =
) 16 )4 ) 8

h*Gs pywlywl wtwp t Yguqnty 274-hG, npytiugh unwgyuo
pwnw(@h) phyp pwdwGyh 9-h:
)9 2)5 3)3 4)4

Gult) a+6 phup 7-h pwdwlbihu unwgynn dWGwgnpnp, tipt a-6G 7-h
pwdwltjhu unmwgymd £ 3 WGwgnpn:

1)9 2)3 3)2 4).0

GGt witilwdto tpyhy L wikGwihnpp pwnwGhy pytph gnidwnpn:
1) 1098 2) 1100 3) 1099 4)1097

. UnwohG wpynmu Yuw 48 Guphbe, tpynnpnma” 60 GwnhGy:

. Unwohl wnynp GuphbGeGtph-phyp tpynnpn wpynh GuphGeGtph pyh

n°p dwu t:

4 1 2 3
1) = 2) = 3) = 4) 2
i )3 '3 )5

. Lwlh” mnuhnd Yubtnuynpyh tpynt wpyntiph GuphGop, tipk vty

nnuhnd mtinuwynpynud £ 12 GuphGo:
19 2)6 3)7 4) 8

. UnwohG wnynh GuphGeltnh phyp tpypnpn wpynh GuphGeGtph pyhg

pwGh® wmnynuny L yulwu:
1)15 2) 20 3) 25 4) 30

Gnypnpn wplnp GuphGeGtnh phyp wnwohG wnlnh GuphGeGtnh pyhg
pwGh® wmnynuny k. wybih:

1) 30 2) 15 3) 20 4) 25
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9. Gunuipt; wnwownnubpGhpp.

1. 1-hg dto L 100-hg thnpp pGuwlwG pytiphg pwGh®uG GG, np n’s 2-h GG
pwdwlymd, n’s 3-h:

1)24 2)32 3)33 4) 29

2. Gty 9-h pwqiwywwnhy wjh tinwGh) pyh ytipehl pywlywip, nph
wnwohl tpynt pwbrwbGtph gnudwpp hwjwuwnp £ 5-h:

1 2)4 3)6 4)7

3. Lwlp”® pywGywl niGh witGuihnpp hGquGhy pyh punwyniuhG:
1)8 2) 11 3) 10 4)9

4. Qb 7 hwynmwpwnpny w)l wikGuihnpn unynpuyuwb Ynunnpwynp,
1 2
npp uko k 3 -hg, pwjg thnpp E 3 -hg:

1) % 2) % 3) ; 4)

~N | A~

10. Guwunwnt; wow9wnpulGpGpp.
1. Qb GJuqbihG, tpt hwGtihG 8 L, hul mwpptpmpniln’ 24:
)3 2).16 3) 32 4) 192

2. Qunlity 100—% wmwnppbpnipynilhg 9 wlquwu Wko phyn:

1 9ooé 2) 899 3)99 4) 108%

3. <twlywy pytiphg' 24, 36, 44, 52, n°pp whwp t Yguaqnpty 74 pyha,
npytiugh unwgywo phyp pwdwlyh 9-h:

1) 24 2)36 3) 44 4)52

4. Qb 30-h L 45-h pnhwGnip pwdwlGwpwpltph pwGwyn:
13 2)4 3)5 4) 6

10
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11. Yuunwnpt] wowownpubpGtpp.

1. Qult -0,6; —%; —%; —-0,61 pytiphg witGwuiton:

3 2
1)-0,6 2) -= 3)-0,61 4) -=
) ) =7 ) ) 3

2. [BJwjhG wowlgph ypw qunlbyg —2 pYLG wibkGwinnm wipnn9 phyn:
1o 2)-2 3)-3 4)-8

3. ©Ohyn 3-h L 6-h pwdwltijhu unwgywo WGwgnpnGtiph gnudwpp
hwywuwnp £ 7-h: Qb wyn dGwgnpnitnh wpumwnpjun:

1)12 2) 10 3)6 4)8

4. Lwih” qpnyny t ytpowlnid wnwohl 15 wwpgpytph wpmwnpyun:
1)0 2)1 3) 501 4) 10

12. GQunnwnt) wowownpwbpGtpn.

1. Pwlh® wlqud t 6-h pninp pwdw GupunpGtph gmdwnpp 86O 6-hg:

1 2) % 3)2 4)%

2. Lwlh” wwng phy Yu (17; 37) dhewljwypnud:
1)7 2) 4 3)6 4)5

3. Qb 8-h pwqiwwwwmhly wiklwito L wdkGuwihnpp tpyGh pytiph
wnwpptinnipniln:

1) 80 2)78 3) 90 4) 88

4, h°G; pyh whwp b pwdwGhy 0,4-n, npuytiugh unwgyh 4:
1) 1,6 2)0,1 3)0,4 4) 4

11
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13. Quuupt] wnwownnubGpGlpp.
1. UnwohlG hwpynip pGwlywG pytiph dt9 9-h puqiwuywmhy pwGh® phy
Yu:
)9 2)10 3) 11 4)12
2. Q| (—7; 10) dhowlwjph pninp wdpnn9 pytinh gnidwnp:
1)27 2) 17 3)24 4) 19
3. Qulh] a npuywa pyh 20 %-n.
1) 0,02a 2) 0,2a 3) 2a 4) 0,5a
4, [l; 2] dhowljwypnid 9 hwymwpuwpny pwGh”® wijpdwwntih Ynnnpuy
Yu:
1)8 2)7 3)6 4) wGyting
14. Guunwnt) wnwownpwbpGtipp:
1. Lwlh” pwyuwl qniyq phyyuw (— 10; 34] vhowlwjpniy:
1) 34 2) 44 3) 18 4)17

2. Qb 210 L 462pytinh plinhwlnip wwng pwdwGwpunGtph
pwlwyn:

1)4 2)2 3)3 41
5 (34 1
3. Qulby 3 : (E—gj wnunwhwjnnipjul wpdtipn:
5 5
) ——= 2)1,5 3)1,8 4) —
) 1 ) ) )5

4. a phyp 4-h pwdwlbihu unwgywo dGwgnpnp hwjwuwn £ 2-h:
QnGby 6a phyp 12-h pwdwlbtihu uvnwgynn WGwgnpnn:

1)4 2)1 3)2 4)0

12
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15. Spywo b6 12 L 32 pytipp:

L. Gty wyn pytiphg koh L thnpph mwpptipnipjwl hwjunhp phyp
1)-19 2)-44 3) 20 4)-20

2. Qultp wyn pytph gnuiwnpn 5-h pwdwlbtjhu unwgywo WGwgnpyp:
1)-1 2) 1 3)4 4)0

3. Qb wyn pYtiph witGwito pnhwlnp pwdwlGwpunpp:
1)4 2) 96 3)6 4)3

4. Qult] wjn pytiph witGuwihnpnp plnhwlnip pwqiwywnhyp:

1)384 2) 4 3) 96 4) 144

16. Gunwnt) wowownpubpGtpn.

1. Rwih” wlquu L wikGuihnpp towbhp phyp vt wikGuthnpp tpyGh)
puhg:
1) 90 2) 100 3)9 4) 10
2. Qb 60-hg Who wdtklwihnpp pGuwywb phyp, npp 9-h
pwdwltjhu vnmwgymd k 1 WGuwgnpn;:
1)61 2) 63 3) 64 4) 73

3. Qunlity 12:18=10: x hwitiwwmnipjuwl wlhwjn wlnuin:
7 20
1) 15 2) 16 3) = 4)—
) ) ) 3 ) 3

4. hGywt®u Yhnfuyh mwpptipmpniGp, tpt Guqbihl dtowgGhtlp 5-ny,
hulj hwGtihG thnppwgGtiGp 2-ny:

1) ythnppwGw 7-ny 2) jutowlw 7-ny
3) yitiowlw 3-ny 4) YthnppwGw 3-ny

13
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17. Quunupt] wnwownnuGpGpp.
1. ©yp g dwup Gpw n’p winlynud k:
1) 36,5 2) 37,5 3) 40 4) 60

2. Qb 16,4+3,6-10 wpunmwhwjnnipjul wnpdtpp:
1) 200 2)210 3)52,4 4) 20

3. UnGpbwnp vty Yhngpuwdb wpdt 2400 npud: LwGh® ngpud wbwp t
Jdwnptj 350 q YnGptimh hwdwn:

1) 700 2) 720 3) 800 4) 840

4. Qun(b] hpwp hwenpnnn tpynt pGuwlwl pytiph gnidwpp, tpt Gpulg
wpuuwnpyuip 110 E:

1)20 2)21 3)25 4) 30
18. Gunwnty wowownpwbpGtpp.

1. Lwlh® Yhngpw L % nnlGw:

1) 250 2)'600 3) 700 4)750

2. Opyw wmbnnnipjuG n°p dwu £ juqind 6 dwdn:
1)0,2 2)0,25 3)0,3 4)0,5

3. 6-h puquwuwwnhy pwh® tpyGhy phy Yu:
1)18 2) 19 3)15 4) 14

. 6
4. b°G; wipnng pyny whwp E puqiuujunlby 7 Ynunpuilp, npytugh

unwgywd phyp Uko 1hGh 6-hg, pwjg thnpp' 7-hg:
1)6 2)9 3)8 4)7

14
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3. Qb cos2Xx =1 hwjwuwpiwl wpdwwnlhph pwluwyp [—37:; 37[]
dhowuwpniy:
1)6 2)7 3)3 4) 4
4. Qb 375 = 3 hwywuwpiw wpdwnGhph W jwin:
11 2)7,5 3)-7,5 47
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11. Quwnupt wow9wnpwulpltnp.
1. GGl X ( X+ 3) = 15(X + 3) hwjwuwpdw G wpdwwmGtph gnidwpn:
1) 15 2) 45 3)45 4)12

2. UpywoGtphg n°p vshowuwypmud LG quGynid |7X + 3| =4
hwyjwuwpdwl wpdwwnmGhpp.

1) [0; 2] 2)(-53) 3H[-L2] 4(03)

3. Qb sin4x =0 hwjwuwpdwl wpiwwbbph pwlGuyn [0; 27[]
dhowljwjpnud:
1)4 2)6 3)8 4)9

4. Q.G X130 _ g hwjuwuwpiwl wpdwnbbph wponwnpyup:
1)-10 2)-16 3) 10 4)-13

12. Guunwunty wow9wnpwGp Ghpp.

1. Qb x* —18x =4 hwjwuwpiwG wpdwwnGtph ShehG
pYywpwlwluln:

1)-18 2)18 3)9 4) -2

2. Qb |5X —8| - |X + 4| hwjuwuwpdwl wpdwwGbph wpumwnpyun:

1)6 2)4 3)3 4)2
3. Qu(h; sin8x =1 hwjwuwpiwl wpdwwitph pwGwyn [O; 7[]
uhowlwjpniy:
1)4 2)3 3)2 4)1

4. Lmoty log 4 (5X —16) =1log,16 hwyjwuwpnidp:

1)4 2)2 3) 1 4)0
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13. Quunuwnt] wowownpubpGtpp.

1. Gty X(X —13) =15Xx+7 hwjwuwpiwl wpdwwnGhph shohl
pywpwGwlwGp:
1) 14 2)-14 3)28 4)-28
2. Qb |5X - 2| = |3X +10| hwjuwuwpdw G wpdwwGbph wpmwnpyup:

1)6 2) 12 3)-6 4)-10

3. Gnlity cos8x =1 hujwuwpiwl wpdwwmbtph pwlwyp {—%; %}

dhowluwpnid:
1)1 2)3 3)4 4)5

4. Lnioty Ig(2X +36) =log ; 2 hujwuwpnuip:
15 2)6 3) 8 4)0

14. Guunwnt) wnw9wnpwlpGtnp.

1. Rwih”® wpdunn niGh (X2 — 7)(X2 +9) =0 hwjwuwpnuip:

1)1 2)2 3)3 4) 4
2. Qult] Vx* —3x =/5x—12 hwjwuwpdw wpdwwnGhpp:
H2u6 2)2 3)6 4)-2L-6

3. Upywoltphg n°p dhowwypmd t qunGymd 2* =100 hwjwuwnpdwG
wndwwnp.

1) [49; 50] 2) [10; 11] 3) [6; 7] 4) [5; 6]
4. Qn(ity ctg2x =—1 hwjwuwpiwl wjl wpdwwnp, npp Wuwunuin k
V4
(0; Ej uhowljwjphG:

1 % 2) % 3) 2 4)

w|y
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15. Guwnupt] wow9wnpulpltnp.

1. LwGh” wpdwwn nGh (X2 —5X —1)(X2 +l) =0 hwjwuwnpnuip:

1)2 2)3 3)4 4)0
2. Q] VXx* —5% =3x—7 hwjuwuwpiwl wpdwwnGbpp:
H1u7 2)1 3)7 4)8

3. UpJwoGtphg n°p showwypmd k qunGynid 5 =1000 hwjwuwpiwG
wpdwnn.

1) [100; 300]  2)[10;15]  3)[8; 9] 4) [4; 5]
4. Qb tg2x = «/g hwjwuwpdwl wjl wpdwwmp, npp wwunljwind L
[%; n} Showlw)phG:

S5 3 27
1) = 2) — 3) =— Hr
)6 )4 )3 )

16. Gunwnt; wow9wnpwulpGhpp.

1. Gl (X2 —5)(X2 —7X +l) =0 hwjwuwnpiwl wpdwwnGhph gnidwnp:

1) 5+7 NNE-7  3)7 4) J5+1
2. Qi [2x—15/=15 hwywuwpiw wpdwwnbbph Shehl
pywpw Gwlywln:
)15 2)-15 3)-7,5 4)7,5

3. Quliy cosx = —% hwjwuwnpdwl wjl wpdwwp, npp quynid L
[72; 27[] dhowlwjpniy:
14 Sz 4 Sz
1) — 2) — 3) — 4) —
) 5 ) 4 ) 3 ) 3
4. Qi log, (x2 —7x —1) =3 hwyjwuwpiwl wpdwwnGtph gnuiwpp:
1)28 2)-28 3)7 4) -7
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17. Quunuwnt] wowownpulpGtpp.

1. Gty (X2 —3)(X2 —10x +3) =0 hwjwuwpiwl wpdwwmbtpp
qniiwnn:

1) J3+10 2)\3-10  3)10 4) f3+3
2. Qb [x—5 =7 hwjwuwpdwl wpdwwnGbph shohl pYwpwGwljwin:
1) 10 2)-5 3) 4 4)5

. 2
3. Gu(by sinx = —g hwywuwpdwl wjl wpdwwnp, npp quGynd k
{72'; 377[} dhowljwjpnud:
I 5r dr
1) = 2) — 3) — 4) —
) ) 5 ) 2 ) 3

4. 9ty log, (2x* —9x—0,75) =—1 hwuiuwpdnG wpdwwGbph
gniiwnn:
1)9 2)-9 3)-15 4)4,5
18. Guunwnt) wnwownpnulpGhnp.
1. Rwih® wpdwwn niGh (x2 + 9)(x2 —8X) =0 hwywuwpnuip:
1)1 2)2 3)3 4) 4

2. Qg J(x-8)(x—7)+4 =2 hunjwuwpiwG wpdunnGph shohG
pywpwlwlwnp:
1)8 2)7 3)7,5 415
3. Loty sin® x = 2sin X hunwuwpniip:

1) =k; (—1)k%+7zk, keZ 2) 27k, keZ
3)@ 4) 7k, keZ

4. GGty /8" =34 hwywuwpiw6 wpdwwnp:

7 17
1)1 2) - 3)-1,5 4) =L
) )11 ) )13
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19. Guwwnupty wow9wnpulpltnp.
1. LwGh” wpdwwn niGh (X2 —6X+ 9)(X2 +16) =0 hwjwuwnpnuin:
1)1 2)2 3)3 4)4

2. Q] vVX* —24x+9 =3 hwjwuwpiwl wpdwwnGhiph shohG
pywpwlwlwin:
1o 2) 24 3)12 4)6
3. Loty 2cos® x =3cos X hunjwuwpniip:

1) %+7rk;iarccos§+27zk, keZ 2) %+27zk, keZ
3) §+ 7k, keZ 4) wpdwwun sniGh
L2
4. Qn(ity [EJ = J1252" hwwuwpdw6 wpsunp:
1 2 1
1)1 23 0N 9=
20. Gt hwjwuwniu G wpdwwlbpn.
1. 1-5Vx|=14:
1)9 2)% 3)-9 19 4)3

2. x*—2x*-3=0:
D13 2)-1ul  3)3 -3 4)1-13, -3
3. 10°+10°' =0,11:

1)0 2)-1 31 4) 10
4. sin22x:§:
4
1)i%+2ﬂk,kez 2)i%+2ﬂk,kez
3+ Z K kez 4 +Z 1k kez
6 2 3
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21. Quuwnt) wowownpulplGtpn.

2 1
1. Lmot] —— == hwjwuwpnuip:
Xx-3 5

15,5 2)7 3) 13 4) 3%

2. Lnoty 35 =75 hwjwuwpnuip:

1) wpdwwn syniGh 2)2 3)6 4)5

3. Lmoty 3°%*C =3-2x hwjwuwpnuip:

1) wpdwuw yniGh 2)-1 3)3 4H-1 u 3

4. Qulhy sinx = —J/3cosx hwjwuwpdwl w)l wpdwwbbpp, npnlp
pwywpuwnpnid GG sin X >0 wuwjdwGhG:

1) —%+2ﬂn,nez 2)2{+27zn,nez

3)4?”+27zn,nez 4)%+27zn,nez

22. Qb hwjwuwniw G wpduwwn Ghpp.

1. 3(x-25)=-15:

1)2,5 2) 7,5 3)5 4)-2,5
2. ‘1—§x =5:
4
H-7u7 2)—% 3)8 4)—%118

3. log, s (x+3)=-2:

1)-5 2) 13 3) (-3, +x) 4)19
4. 3> =27:
1 2)-3uL1 3)-1L3 4)3
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23. Gt hwjuwuwnpiwG wpiwwnmbtpn.
1. Vx-1=x:

11 2)[0; +0)  3) [1; + )
2. 1531 3" =54:

1 2)0 3)3
3. mzm:

)3 2)2 3)18

4. (x- 4)'g(x_4) =1:

11 2)5 3) 14

24. QnGt; hwjwuwpiw G wpdwwmGhpp.
1. V2x-2 =x:

1 2) [ +0) ©3)[0; +oo)
2. 5 -15.5"=250:

D1 2)2 3)3
3. x—4=+3x=4+4:
)5 2) 20 3)4

4. (x—6)"° =1

)5 2)6 3)7

44

4) wpiww sniGh

4y -1

H3u18

4)141.4,1

4) wpdwwn ynilh

4)-1

4)5120

41616,1
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25. Qulit; hwjwuwpiwl wpiwwmGtpn.

1. 3.4t =0,25:

1) 0 2)0,5 3) 2 42
2. log, (x*~2)=-1:
2
1) 20L2 2) BlLAB 3)-1ul H-1u2

3. sin2x+2cosx=0:

1) %+2ﬂn,neZhﬂ'n,neZ 2) %+ﬂn,neZ

3) %+27m, neZ 4)zn,neZ
4, \3-+/x =1:
H2u2 2)4 3) wpiww ynilh 4) 16

26. GG hwjwuwndw( wpdwwmGapp.

x* —13x
Jx-16

Houl13 2)0 3) 13 4) wpdwwn yniGh

1. 0:

2. 70 =1
Hou1l 2)2 3)0uL2 4) wpdwwn yniGh

3. sinx+sin®x=0:

1) 27k, k e Z 2)%k,keZ
3) 7k, keZ 4) r+2nk, keZ
|Ogo‘2(X272X)
4. (1) =X:
5
)0 2)0L3 3)3 4)2

45



QLNMu 1 PUJIDVL 3 UJquuuenruuer

27. Spwd t cos® 3x —sin® 3x = —1 hunjwuwpnuip:
1. Qb hwjwuwpiwl wpdwwnGhpn:

1) 7, keZ ) 24+ 2k kez
6 3
3)%k,kez 4)%+ﬂk,kez

2. GGt hwjwuwpdwl wikGuihnpp gpuijul b wikGudbo
pwgwuwlwl wpdwwnmGtph shohl pyupwlwlwp:

V4 V4
1) = 2) = 3)-1 4)0
) 5 ) > ) )
7. 37
3. QGult] hwjwuwpiwl wpdwwnbtnh pwGwyp (Z ?j
uhowljwjpniu:
1)3 2) 1 3)4 4) 2

4. Qu(t] hwjwuwpdwl wyl puguuwluG wpiwwmp, npp pYwyhG
wnwgph Yypw — 37” lnhg nibh witiGwithnpn htinwynpnipyni Gn:

T 7 o V4
) -Z 2) —— 3 -2 4 -
)% i )% )73
28. Gt hwjwuwpdw G wpdwwmGhpp.
1
. 1-x=-=(x=3):
)
1
D3 21,5 3)3 4)0
2. 3" +19=10:
1) wpdwwn ymGh  2) 28 3)5 4) -1
3. log,(6x—5)-log, 3=2:
)14 2)5 3H1L5 44
4. \r—[2X-tgx =0:
1) o, nez; i% 2)£7:0 3)i% 4)0
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29. Gt hwjwuwniwb wpdwwnmbtpn.

178X 5.
2
)5 2)-5 3)7 4) -4
2. x*—8x=-T:
HD1L7 )-1L7  H-Tul  4-TL-]
3. 5195 _ /5.
) 1:’ 2)-5 3)5 4)3,5

4. log,s(5x —21) = -1:
1) 4,4 2) 4,3 3) 5.4 4) 4,6

30. GGt hwjwuwpiwb wpiwwm GEpp.

1. 4)(_8:4:
5

)5 2) 4 3)-5 4)7
2. /8x—15=5:

1)2,5 2) 4 3)5 4) 6
3.5 =25:

1)7 2) 6 3)5 4)2
4. cos2x =1:

1) %+7zk,keZ 2) %+7zk,keZ

3) 27k, ke Z 4) 7k, kez
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31. Quunmuwnt] wewewnpulplGtpn.

1.

QunGh] x* +7x —1=0 hwjwuwpiw wpdwwnGtph gnuiwpp:
1)-1 2)7 3)-7 4)3,5

Qb +/3x—5 =-7 hwjuwuwpiwl wpdwun:

(6]

1) 2) 18 3)-18 4) @

3

. GGt 77 =1 hwjwuwpiw wpdwnp:

1) f 2)-2.,5 3)3 425
T
QG tg (x + 5) = /3 hwjwuwpiw6 wpswnbbpp:

1)—%+7zk,keZ 2) &K, keZ

3) 27k, k e Z 4)%+7zk,keZ
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Glpwwnwownpwlph hwdwpp
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4) [1,75; + )

4) [2.4; 5]

4) (—o0; 4]

4) (25; + )

3) qnymipyniG yniGh  4) -5

4)1

419

~AUFhL 4. uuwitJquuuenruvee
1. Lnioty wGhwjwuwpnidp.
L. 5+8x < 8+9x :
4 5

1) (—o0; 2] 2) (—0;1,75) 3) (—o0; 1,75]
2. J5x—12 <\f13:

1) (—o0; 5] 2) [2,4; +) 3)[2,4;5)
3.(0,75) "> %:

1) [4; +) 2) (2, +x)  3) (—=; 4)
4. lg(x—25)<?2

1) (—0;125)  2) [25;125) ~3) (25; 125)
2. Qu ity wihwjwuwniwG wikiwthnpp wipnng omvp.
1. x* <6x:

1) 0 2) 1
2. [7-3x/<14:

1)0 2)-2 3)—4
3. log,, (x—8)>-1:

)9 2) qnymipyniG ymGh  3) 8

2
4. )\(/% <0:

1) qnymipyniG smGh 2) -7 3)—4

50
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3. Loty wihwjwuwpniip.
1. X* <—4x:

1) (—o0; —4] 2)[0:4] 3) [-4; 0] 4) (—o0;—4]U[0;+ )

2. \J12-5x >2x-2:

1) (—o0; 2] 2) (—o; 2) 3) (1 2) 4) [1 2]
3. 9" 213"

8%) 2) [0;+)  3)(0;+0)  4) (—o0; 0]
4. log,, (20—2x) > log, /3

1) (0; 8] 2) [8; +0) 3) (—o0;10) 4) (—o0; 8]

4. Guunwpt] wpwownpuGpltpn.
1. Lmodby (x+5)(2x-11)<(x+5)(x+3) wlhwwuwpnup:
1) (—oo; 14] 2) (—5; 14) 3) [—5; 14] 4) (—oo; 14)

2. Qunlty |X + 6| < 7T whwjwuwpdwlp pwjwpwpnn pnpnp wdpnng
pytiph pwlwlp:
1)7 2) 13 3)9 4)15

3. Qunty v13-2x <4 wihwjwuwpiwlp pujwpupnn wibGudko
wipnng phyp:

1)4 2)6 3)5 4)8

4. QG 7% >1 wihwwuwndwé monsGtph puqinipjwép
wwulwlnng pnnp wdpnne pytiph gnuiwpp:

1) 28 2) 36 3) 36 4)-28
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5. Gult) wihwjuwuwpiwlp pujwpupnn pognp wdpnne pytph
pwGwln.
1. x* <10x:
1) 10 2)9 3)8 4) 11
2. [2x-7<3:
1) 4 2)3 3)2 4)7
3.2 <20:
13 2) 4 3)5 4) 6

4. 10g,(2x—10)<6:

1) 20 2) 30 3)31 4) 32
6. Lnioty wihwywuwpnuip.
1. X—5<O

X

1) (—o0:0) 2) (0; 5) 3) (0; 5] 4) (—o0;5]
2. 2x-18 <6:

1) (9; 27] 2) (—0; 27]  3)[9:12] 4) [9; 27]
3 (0,75)”’52?:

1) (—o0; 3]U[4; +0) 2) (-0 4] 3)(34] 4)[34]

4. log,, (13—4x)<0:

1) [3; 3,25) 2)(—00;1} 3) (—0; 3] 4)(0; 3]
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7. Loty wlhwjwuwpniip.
1. 5(3-4x)<2(6+x):
22 2. 22, 3w

”(‘OO’ sj 2){3’+ j3)(3’+ j 4){22’+ j
2. [5x—-7|<-8:

1) (—0;-0,2] 2) @ 3) [L4; +0)  4) (—o0;+00)
3. 7-X%2 2\@:

1) (—o0; 2) 2)[2VT] 3 (-22) 4) [=2; 2]
4. log, (17 -2x) <logg (x—1):

1) [6; +) 2) (6;+x)  3)[6;85) 4) [6; 8,5]
8. Gt wihwjwuwpiwl momuibGtph puqimpjulp yunywbnn ny

pugwuwywl wipnng pytph pwiup.

8 3

1)7 2).6 3)5 4) 4
2. [5x—11 < 44:

)11 2) 12 3) 15 4)3
3 ﬁ - 81

3

1)7 2) 4 3)3 4)2

..b
Q
—~
o1
x
I
=
(6]
~—
IA
N

1)22 2) 21 3) 20 4) waytipg ywwn
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9. Loty wihwjwuwpnuin.
1. (x*+9)(4-x)=0:
1) [3; 4] 2) (3; 4] 3) (—o0; 4)  4) (—0; 4]

x?—2

D@ 2 [~2Z0)u(0:V2] 3)[2:0) 4 (0:2]
3.5 <1;
1) (—o0; 0] 2) {0} 3) T 4) [=1; 1]

<0:

4. lg(8x—45)>Ig(-x):

1) (5; +oo) 2) [5; +oo) 3) D 4) (—oo; 0)

10. Guwunwnt) wnwownpuGpGtpn.

1. GGty (X + 4) ( X— 7) <0 wGhwjwuwnpiwlp pwjwpwnpnn pnnp
wdpnng pytiph qnidwnp:
1)22 2)20 3) 16 4) 15
2. Gty |3X - 7| <9 wihwjwuwpiwlp pwjwpwpnn pnnp wdpnng
pytiph wpnwnpjwp:
1) 120 2) 24 3)0 4) 20

3. Qunlib 2 < 415 wlhwjwuwpdwlp pudwpupnn wikGuibd
wdpnn phyp:

5 2)7 3) 6 4) 4
4, Lnidty x <3-5°%* +8 wihwwuwpnuip:

1) [4; +0) 2) [4; 0)U(0; +0) 3) [0; +0) 4) (0; +0)
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11. Yuunwnpt] wowownpubpGtpp.

1. Qb L? < 0 wihwjwuwpdwlp pwjwpwnpnn pnpnp wdpnne
X —

pytnh dhohl pqupwGuywbp:
13 2)3.,5

3)4

46

2. Qb [x—8/ <7 wihwywuwpiwp pwywpuwpnn wikGwibo b
wuibtlGwthnpp pytiph mwpptipnipnilnp:

115 2) 14

3)7

3. Lol 0,125 % < 64 wihwywuwpnuip:

1) & 2) (—o0; +0) 3) [2; +00)

4) 6

4) (0; +oo)

4. Lmoty log, 0,7-log, (x—5)>0 wihwwuwniudp:

1) (6; +0) 2) [6; +)

12. Ln1ot] mGhwjwuwpnidp.
1. 25 > 2:
1) (—o0;+0)
3) (~o0; 4)
2. X’ —|x|-12<0:
1) (—o0;-3)U(4; +0)
3) (—o0;—4)U(4; +o0)
3. log,,(6-x)>0:
1) (5 + )
3) (o0 6)
4. (x2 —9Xctgzx+2)< 0:

1) (-3, 0)u(0; 3)
3)(—o0; —3)U(3; +0)

3) (5; 6]

2) @
4) (-; 5]

4) (5; 6)
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13. Lmoty wGhwjwuwpnidp.
1. 3(x+1) <5(x-1):

1) (—oo; 1] ) [ +0)  3) (- 4] 4) [4 +)
2. |x—-1<1:
1) (0; 2) 2) (;0)  3)(-x2) 4 (L2
3.3X21:
3

1) (—o0; 1] 2) [L +0) 3) (~o0;+0) 4)JL +)

4, MSO :
X(9—x)

) (0 4)u(49) 2) (0; 9)
3) (o0, 0)U(9 +0)  4) (—og; 0) U U(9; +o0)

14. Spywd kb 6 <a <12 L —3< b« -2 wihwjwuwpnipyniGGLpp:

1. Qw6 a+b gnuiwph pninp hGuwpwynp wpdtpGtph puqdnigniGp:
1) (3;10) 2).(9; 14) 3) (8;15) 4) (9;10)

2. Qb a—b mwpptpnipjwl pnnp hGupuwynp wpdbpGhph
pwqunipjniln:

1) (9;14) 2) (815  3)(%10)  4)(310)

3. Qulb] ab wpwmwnpyuh pnnp hGupuwynp wpdbtpGtph
pwquinipjniln:

1) (-24;-18) 2) (12; 36) 3) (-36;-12) 4) (3,10)

4. Gl ﬁ hwpwptinnipjwl pninp hGwpwynp wpdtipGtinh
pwqunipjniln:
1) (2; 6) 2) (3;4) 3) (-6,-2) 4 (-4 -3)
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15. Loty wihwjwuwnnidn.

1. 5x>x*:

1) (0;5) 2) [5;+x)
2. J2—X S\E:

1) (-3,2) 2) (—0; 2]
(3

1) (—o0;3) 2) (3 +»)

4. Iogovzs(% X+ 2) <1:

1) (—o0; = 7] 2) (-8,-7]

16. Lnioty wlhwyjwuwnnmuip.

1. x*>>1:
1) (=0 +0) 2L+ o0)

2. §<§Z

X X

1) @ 2) (~o; 0)

3 2X+6 <

Jx+2

0:

3) (—0;0)  4)[0; 5]

3) [-3+%) 4)[-3 2]

3) [3+»)  4)(13)

3) [-Ti+0) © 4) (-8 + )

D (L1 4 o —)ul +o)

3) (0;+%) 4 (35)

1) (—o0; 3] 2)[-3-2) 3)(-2+x) HD

4, 3¥1<2.

HJD 2) (~o0; log, 2 1]
3) [log,2-1; +0) 4) [—\/l—log32; \/1—Iog32]
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17. Lmoét) wihwyjwuwpniip.

2
X —4x
1. <-2:
2

12 2) (—0; 2] 3@ 4) (~o0; +00)

2. (2-l0g,3)" " >1:
1) (-2+x) 2) (2+0)  3)(=02) 4 (-0 -2)
3. sins—”-(x/?;—x +1) <0:
7

1) (-o0; 3] 2) & 3) (2 +0) “4) (205 2)
4. 3" >3:
1) [2; 4] 2) (~o0; +0) 3D 4) (—o0; 2] L[4 +)

18. Lmot] wGhwwuwnpmuin.

1. _4_4 -1,
3
o BRSe)off) o 4
2. Jx>Jx+4:
1) (—o0; —2] 2) (=0, =2) 3)(~4-2] 4[4 -2]
3. (0,125)" < i:

1) (—o0; —2] 2)[2+0)  3)(2+0)  4)[0;+x)
4. log,(x—7)>log, 2:
1) (7; +o0) 2) (9 +o)  3) (10; +0) 4) [10; +o0)
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19. Loiot wihwjuwuwnpnidp.

1. 5(x+3)<2x:

1) (—o0;—5)
2. 2¥t.¢ 1.
) o

3. log,(x—1)> 2:
1) @

4, |X—2|<1:

1) (1 3)

2) [-5; 0)

2) (~o0;0)

2) (~o0;1)

2) (—o0; 1)U (3; + o)

20. Lnwoty wlhwjwuwnmuip.

1. x+5>5(x+1):
1) (-o0; 0)

2. 3*-2.3*2<63:
1) (-o0; 0)

3. ‘XZ—ZX‘ZS:
D [-31]

4, M<x:

1) (~o0; 1]

2) (0; +0)

2) (-o0; 4]

2) 1 3]

2) [-1; =)

3) (~o0; —3JUfL;+0)
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3) [0;1]

3) [0;1)

3) [1; 5]

3) (-1 1)

3) [t; =)

4) (L + o)

4) [1; + )

4) (5, + )

4) (-, 3)

4) (4; +o0)

4) (1]

4) (~o0; ~1]U[3; +)

4) (~o0; +0)
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21. Lmoty wGhwjwuwpnip.

5+4x£x+1:

4 2
1) (0, —0,5]  2) (=0;3,5] 3) (—o0; ~1,5] 4) [L5; +0)

2. \3x-12>3:

1) [4;+») 2) [T, +%)  3)[L+w)  4) (7;+0)

x+1
3. (E) > g:
2 4

1) [3; +) 2) (L+o)  3)[-L+x) 4 [L+eo)

1.

4. 1g(2x—6)>2:

1) (53;+) 2)(3+o)  3)(47;+0) 4)[53; +x)
22. Gunuwnt) wowownpwulp Ghpp.
1. Loty XT_l > 0 wlhwjwuwpniip:

1) [L +) 2)(—o0; -1 3)[-L +x) 4) (-1 +x)

2. Q] x* <26 wihwjwuwpnipjulp pwywpupnn wipnne pytph
pwlwyn:

)5 2)6 3) 10 4) 11
3. Loty 3°° > 9 wlhwjwuwpnuip:

D[7i4e) 2 (8+0) 3)(7i+w) 4 (-0 7)
4. Lmdty logs(2x—7)> 2 wihw]wuwpmip:

1) (16; +o0) 2) (35; +0) 3) (19,5, + ) 4) [16; +0)
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23. Quununt) wnwewnpulpltpn.

1.

Lot x* <9 wihwjwuwpnivp:

1) [0; 3] 2) (0; 3) 3) (33 4[-373]
Loty VX=5 >7 wlhwjwuwpnidp:

D@2 +0)  2)(5+o)  3)[54+0) 4) (54 +)

. Lwlh” pGuywb phy £ pudupupmd 557 <125 wihwjwuwpdwp:

1) 10 2)9 3)7 4) whiyting

Lnoty log, X <3 wlhwywuwnpniip:

1) (—o0; 64] 2) [0;64]  3) (—oo; 81] /" 4) (0; 64]
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RAUJDYV 5. SGLUSUBhL U UER

1.

UyunnitptiGwl GwGwujuphh wowohb Yhul wlguy 100 Yu/d

wpwqnpjwip, huy tpypnpn Yeup® 90 Yi/d wpwqmpjudp:
Wipnne dwlwwwphp daptlwb whglnw k 19 duninud:

. Bwlwwywphh wnwohb Yhub wlglGtinm wpwgnipyniGp pwGh®

nnlnuny & wybh tpypnpn Youl wiglbnt wpwgnipjnilhg:

)11 2) 11% 3)10 412

. Bwlwwwnphh tpypnpn Yhul wlgGhihu Juypywlind pwGh® dtnp
tp wGgGmud dhptGu:
1) 1500 2) 190 3) 20 4)25

. Nppw”G t SwlGwwwphh GpupnipymGp:

1) 900 Yy 2) 18006 3) 1800 Yd © /4)900 u

. Lwlh® Yu/d tp dhptlGujh thohG wpwgnpniGG wipnng

dwlwwwnphhG:
1)95 2)10 3)190 4) %

. UhwdwdwGwy Jupdanip uljutjmg htimn wupqytg, np w6

duiwlfwlwhwnywomdy, tipp htowGynpnl wlglmy k 8 Yu,
unnnghYjuyuwnb wiglimd t 20 Yd:

. Lwlh® mnynuny thtowlynpnh wpwgnipyniip wuwlwu dninnghly-

[wywph wpwqgnipjniGhg:
1) 50 2) 60 3) 40 4) 30

. Lwlh® Yhnitwp tp wighp hbowGynpnG w6 wwhhG, pp dnunn-

ghyrwduwnl wgty tp 15 Yu:
8 2) 10 3)6 47

. Lwlh”® dwind dnnnghyjudupp uGgGh wjG SwGwuywnphp, npp

htiowlynpyp wlglnu £ 5 dwdnmu:
1)2 2)3 3)4 41

. Lwlh”® Yhndibup tp wlghp dnnnghyuywpl wjG wwhh, Gpp Gu

30 yu wytjh tp wghky hbkowlynpnhg:
1) 40 2) 60 3) 30 4) 50
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. Q-Gugpp A-hg B 600 Yu GwGuuyuphl pun sugniguyh whwp
wligltin 10 dwinid: Swpdnuil ulubinig 4 dwy htwn qGwgppn C
YuwjwnpwGny hwpyuwnpupwnp 1 dwd Yubqbtg, nphg htvin wyb-
(wgGny Gwhwntugwo wpugqmpinlp’ dudwGuwyhG hwowy B
Yuwjwpw(:

. Lwlh”® Yu/d t qGugph wpwqnipyniGl pun sugniguyh:
1) 50 2) 60 3) 70 4) 80

. LPwlph” i & AC htinwynpmpjmGn:

1) 200 2) 240 3) 280 4) 320

. QGugpp CB Swlwwywphwhwwnywop pwlh® Yud/d wpugnipjudp
wliguy:

1)75 2) 64 3) 68 472

. bspw®i dwiwlwy owhiutg qGwgpl AB Gwlwuwwnphh wnwohl
Yytul whgltin hwdwnp:

1) 4d 50p 2)5d45p 3)5¢50p  4)5d

. Uwnqhyp, npp qlmd kp gyninhg niwgh uywpw, wnwehG dwdnid
wlgGhny 3 Yu, hwpytg, np Gniy6 wpuqnipjudp Jwpdybnt ntiwy-
pnid 40 pnut Ynpwlw qiwgphg: Mumh tGwgwod Gwliwwwnphp
Gw wigwy 4 Yi/d wpuqmpjudp L jujwpuG hwuwy qGugph
utilyGtynig 45 pnwt ynun:

. Uwpghyp pwGh® yd/d-ng wytjugntg wpwqnipjniGp:
1)3 2)2 31 4)0,5

. UpwgnipyniG6 wybjugGtinig httin - dwpghyp pwGh® pnybinid
hwuwy JuwjwnpwG:

1) 240 2) 285 3) 300 4) 255
. Lwlh”® Yu £ qyninhg dhGsk Juywpwl htnwynpnipymGp:
1)17 2)20 3)25 4) 18

. Lwlp”® pnytnd dwpghyl wiguwy dwlGwwwphh wnwohG Yhup:
1) 165 2) 200 3) 150 4) 105
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5. QG-Gwgpp wtwmp L wlgltp 2640 Yu: Gwlwwwnphh wnwohb Ytuh
Jpw Gw dwjuutg 11 dwd wytith, pwl Gwhwnmbugwo tp syugnt-
gulyny L, npuytiugh dwiwlGwyhG mtn hwultp, wpuwqnmpjniGp
nundntg 60 Yu/d:

1. Cun syugniguyh qGugpn GwlGwwwnphh wnwohl Yhup pwGh®

dwinud yhwp kL whglhin:
1) 30 2) 33 3) 40 4) 35

2. Q-Gugpp pwGh”® Yu/d wpwgnipjudp wigwy dwlwuwuphp
wnwohl Ytup:
1) 40 2) 25 3) 30 4) 35

3. Q-Gwugpp pwGh® Yd/d wpwgnipjudp whwp k pwpdytip pun
sJugniguyh:
1) 40 2) 30 3) 20 4) 35

4, Lwlh”® dwd dwfuubg qGugpl wipnne dwlwuwphh Yypw:
1) 16 2) 60 3)6 4) 66

6. 6pt GwGwujunhh % -p qpnuwn9hliGwGgGh nnpny, hul Wwgwmd
dwun htowlyny, wyw wipnn9 Gwlwwwnphh Yypw Gw Yowluuh
1,5 dwd: buly tipt dwlwuunphh % -1 Gw wlgGh htowlyny, huly

Uliwgwd dwun nnpny, wyw wipnng Swlwuwwphh Ypu
Yowtuuh 2 dund 15 pnuyti:

1. Lwih® dwdiyowfuuh gpnuwpohlp, tpt wipnne GwlGwwwphG

wligGh nnpny:
1)4 2)3 3)3.5 4) 4,5
2. Lwlh® dwd Yowhuuh qpnuwnohyp, tipt wdpnne Gwlwwwphp G
wliglh htiowlyny:
1)0,75 2) 1 3)1,2 4) 1,5

3. Lwlh” dwd Yowluuh qpnuwnohyp, tpti SwlGwwwphh Yhub
wlglGh nnpny, huYy yniu Ytup htowbyny:

1)1,8 2)2 3) 1,875 4)2,5
4, {towlyny pGpwGuwint wpwgmpniGp pwlh® wiqud & dGo nnpny
qlwn wpwqmipnilhg:

1)2,5 2)3 3)3,5 4y 4
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7. ‘buuyh wpwgnipyniip gimh hnuwGph niynoipyudp 15 Yu/d £, huy
hnuwGphG hmwpwy monmpjudp* 10 {i/d:

1. LwGh® Yd/d £ qimp hnuwlph wpwgnipniGp:

1)2 2)3 3)5 4)2,5
2. Lwlp”® Yu/d t Guyuyh wpwgqnipynilp JuGqlGwo 9pniy:
1) 12,5 2) 10 3) 13 4)12

3. Qtwnh hnuwlph ninnnipjudp Guywyh 2 dwind wigwo dwlwuwwn-
hp pwGh”® wlqud £ dto Gyl dwdwGwwhwnmywontd hnuwGphG
hwljwnwl nnnnipjwdp Gpw wligwo dwlwwwnhhg:

1)2 2)3 3)1,5 4)2,5

4. Lw(h”® dwd htimn Gwywyh L jwunmp hinwynpnipyniGp YihGh 30 Yo,

tipb Gpulp pwpdytb dhlulnyl Gwjuiwwmnijghg Gnyl6 nipnmpjudp:

2 1
1)2 2) 2= 3) 2= 4)3
) )27 ) 25 )

8. ‘Lujuiyn qtimh hnuwbph mynmpjuip 90 Y Swlwwwnhl wlgGny
3 dwimy, hul hnuwGphG hwywnwy mynmpjudp 80 Yu
SwlGwwwnhp 4 dwdnud:

1. LwuwnppwGh® dudind yupnnd wigGh 35 §u dwlGwwwphp:
1)8 2)6 3)7 4)11

2. GulqlGwo opnid Guywyp pwlh® dwdnid Jupnn £ wlgGhy 125 yd
dwlwwwnphn:

15 2)2.5 3)3 4) 6

3. ‘Lwyuwyp qtimp hnuwlph hwjwewy ninnnipjuwdp 7 dwdimd pwlGh®
Ju Junnn k£ wGgGby:

1) 140 2) 110 3) 150 4)120

4. Gpt Gwjuyp L jwuwnp thwdwdwlwly A Jwjnhg 2updytl hwjw-
nwl ninnipjniGatpny, wyw pwGh® dwd htnn Gpwlg htnwyn-
pnipjnilp YihGh 60 Yu:

1)2 2)2,4 3)2.5 4)3
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10.

. ‘bujwyh utthwlwl wpwaqnipyniGp 10 Yu/d k&, hul qgimh  hnuwGph

wpwampjnln’ 2 Y{i/d:

. Pwlh® dwinmd Gujulyp Yqbhw qimh whhG qunGynn th Gujuiw-

wmnijghg yniu Gwjwidwwmnygnp b jybpununtw, tpt Gwjwdw-
wnijgGtph htinwynpnipyniGp 24 Yo k:

1)5 2)4.,8 3)8 415

. Luuwyp pwlh® dwimd Yqhw L Yybpununtw 24 Y dwluwywp-
hp Julqlwo 9pnu:
1)5¢ 2)4,8 d 3)44 4)5,2d

. QpnuwpohyGtinp Gwywny ninunpytghb gtimh hnuwlphG hwyw-

nwy L ytpunupdw: Lpwlp pwGh® YU Jupnn GG htnwGuwy,
npwtiugh qGun L yipwnunGwp wth 10 d:

1) 50 2)24 3) 48 4) 25

. Lwywyh L jwuwmh htinwynpnipyniGp 16 Yo t: LwGh® dwdimd Gw-

Jwyp Yhwulh jwuwnh(, Gph Jwupdyh gitnh hnuwGph minnnipjudp:
1)2 2) 1,6 3) 1 41,5

QtunwthGu A Juwiphg hwjunhp ninnmpynGGtpm] shwdwdwGuy
nnipu w6 GuwjwlG n juwmnp: 2 ¢ htimn Guwyjwyp hwuwy B Juynp,

1 ¢ qunuwn wmytg, nphg htian htin )n9ytg L (nnug ntiyh (wuwmp:
Luyuyh wpugmpyniGp JuGqGwd opmu 10 Yu/d t, hulj hnuwGph

wpwqnipjniGp 2 Yui/d-k:

LwGh” yd & AB htinwynpmipniGp:

1) 16 2) 20 3) 18 4) 24

‘Lujwlyh wpwgnipnilp hnuwlph ninnnipjwdp pwGh® mnynuny
utio Gwywyh hnuwlphl hwjunwly niGhgwo wpwgnipynilhg:

1) 100 2)50 3) 40 4) %

LwGh”® Yd tp Gugwyh b jwunh dhol htinwynpnipyniGp pwpdnudip
uljuliinig 3 d htinn:

1) 30 2)28 3) 20 4)22

A -hg nnipu qunig hGspw®G dwdwGwl htnn Guywyp Yhwbnhwh
Jjwuwnh:
1)2,24 2)3,24d 3)5¢12pn 4)4d12np
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11. Gpyo htmhnnG A L B Jujyptphg shwdwdwluly dtyGtghl shi-
Julg pGnunwy: 2 dwd htinn Gpwlip hwlnhwtghG A-hg 8ydi L
B -hg 6 YU htinwnpnipyniG niGignn Yhmni: Unwmbg Yulq wnlb-
1t GpuwGp 2wpniGulitighG hptiGg SwGwwwphbtpp: UnwohG
htimhnunGnp hwuwy B L widhpwwtu Jtpunupéuny, Gpynnnn
htnhnwnGnp hwuwy A L wldhowwbu ytpunupbuy:

1. LwGp® yd t A L B Juwyptph htnwynpnipjniGp:

1)28 2)2 3) 14 4) 15

2. Lwlh® Yd/d & A-hg nnipu Giwd htmhnnGh wpwqnipyniGp:
)3 2)4 31 4)2

3. Gpypnpn hwGnhwynin B -hg pwGh® Yu htinwynpnipjwl ypw mbtnh
nGtgwy:
1)6 2)5 3)4 4).10

4. UtyGtnig pwGh® dwd htimn htmhnuGhpp Gpypnpn wiquid
hwlnhwtgh:
1)6 2)4 3)2 4)5

12. A L B quyjptph dhol, npnlg htinwnpmpjmGnp 62 i t, A-hg 30

U htinwnpmipjw6 Ypw qunbynid £ C Juywpwbp: <towGynpnp
A-hg C dtyltg 12 yi/d wpwgmpjuidp: 30 pwbg B-hg C
ukyltg dnunnghljurjupn:

1. Lwlh® Yui/d¢ wpugmpjuip whwp b pwupdyh dnnnghyjugunp,
npybugh 4 dwy wlg hwulGhC Juwjwpwd:
1) 128 2)8 3)4 4) 18

2. Lwp”® Yd/d wpwgnpjudp whwp E pupdyh dnnnghYyjuyunp,
npwtiugh C Jwjwpwl hwulh htowlynpnh htn shwdwdiwlwly:

1) 16 2) 6—54 3)4 410

3. Lwlp”® Yu/d wpugnipjudp whwp t 2wpdyh dninnghyjuwywpn,
npwtiugh C Jwjwpwl hwulh htowlynpnhg 1 d 10 p pnun:

1) 18 2)24 3) % 4) 26

4. b°Gs wpwqnipjudp wtwp t 2wpdyh dinnnghyjuywpp, nputiugh
C Juwywpw@ hwuGh wybih pnin, pwl htowlynpnn:
1) 16 yi/d-hg wytih  2)16 Yui/d-hg wquywu 3) 15 yd/d  4) 16 yu/d
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13.

14.

A pwnuphg ntiyh B punupp dtlGhg ptinGuwmwnp wjnnitiptGwul
40 Yu/¢ wpwanipjuwip, huy 45 pnyyt wmGg A -hg GniyG mnnnipjudp
uliyGtg Swppuunun wynndtiptwi’ 60 Yui/d wpugqnipyunip, npp
hwuwy B pwnuwpn b yipunwpdwy A : Uwpnuumwpp Gpypnpn
wlqui hwGnhuytg ptinGuwumwnhl yepunupdh GwGwuyunphh, nphG
vhGsk B pwnup hwulbtip WGmu kp wlg Gty 20 Yu:

bp dtyGEmg pwlh® pnyt hnn Swpnuunwpl wnwehl wiquid
hwlnhwtg ptnGwwwnhd:

1) 80 2)70 3) 90 4) 60
LwGh® Yot A L B pwnupllph hinwynpnipyniGp:
1) 130 2) 190 3) 120 4) 150

Unwohl hwlnhyniihg pwlh® dwd wig vtiptGuGbpp Gnphg
hwGnhwtighG:

1)2 2)2.5 31,5 4)2%

A -hg pwGh® Yd htinwynpnipjwC Yypw Ep qubynid dwpnuumwnpp'
ptinGwwmwnph B hwuGbint wwhhG:
1) 120 2) 95 3) 140 4) 185

Uwyjh wn9lh wGhyh zpowlwqoh tpupmpinilp 8 nu k&, hull htimlh
wGhyhGp' 10 nu:

Unolh wlhyh 2powlwqoh tpywpnipjnilp httmbh wGhyh Gplwnpnt-
pjwl n°p dwud E:

4 ) 3 1
1) = 2) — 3) — 4) —
) c ) 2 ) 2 ) >
<twnlh wGhyh ppowlwqdh tpyupnipjniGp pwlh® mnynuny b dLo

wn9lh wihyh 2powlwqoh tpwnpnipynilhg:
1) 20 2) 25 3) 120 4) 125

40 vtnph ypw wnolh wGhyp pwGh® yuniym wybkih Yyumwph
htimlh wGhyhg:

1)1 2)5 3) 10 4) 12

LwGh” dtwmph ypw wnglh wGhyp 30 wunywn wybkih Yywwmwnh,
pw( htimLh wGhyp:

1) 30 2) 1200 3) 150 4) 120
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15. 30 ton imwmpwqntint hwiwn wluwwmwljhgGiphg wowehGn
owluund k. 5, huy tpypnpnp’ 64:
1. LwGh®t9 Yupnn GG Gpulp shwuhlG dnnpwgpty 1 dwdind:
1)6 2) 11 3)5 4) 10
2. Lwh” k9 Yunuumpwgph wnwohl wfuwwmwyhgp wjh
duiwwjwhwnywonid, tipp tpypnpnp dnunpwgpnid k35 te:
1)42 2) 40 3)25 4) 35

3. Lw6p” k9 t dntnpwgntip wnwohl wpfuwwmwyhgp, tpt Gpup
hwdwwntin dntnpwqpty GG 88 Ly:

1) 44 2)42 3)48 4)46
4., Jdwdwwntn wpfuwwmting Gpubp pwlh® dwdnd JuninpwgptiG 165 £9:
1) 10 2)12 3) 14 4) 15

16. Gpynt mpwywmnp shwuhl JunptighGnuywmp: {wjnmth t, np wowehb
mpwlnnpp thwjliwl w2luwmnbine niypmd nuywmp Ygwph 10 opmd,
huy Gpynonpnp” 15 opnud: UWdpnn9 nwwmh dwytptun 20 hw L:

1. Lwlh® opmd Gpulp yupbghG nupunp:
1)4 2)6 3)5 4)3

2. Lwlp” htymuwp Juptg tpypnpn mpuwlunpn:
)9 2)7 3)6 4)8

3. Gpt uyqpnud 5 op yuph dhwyl wonwohlG mpwlumnpp, wjGnihtnb GpuG
dhwGw tpypnpnp, Lo pwGh® op wlg Gpulp shwuhG yuywpntG Jupn:
13 2)2 31 4)4

4. 9wpwh Yhup Juptint hwdwp pwGh® op JuywhwGeytip, tipt uygpnid
3 op wpfuwwntin thwjl wnwohl wmpwlwmnpp, hul httvin® dhwyG
tpypnpn wpwlumnpp:

)5 2)3 3)6 4)4
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17.

18.

OnpwlGtphg wnwohGp 9pujuquiGp 1gGowd £ 12 dwdmd, huly
tpypnpnp' 15 dwdnud:

. Qrwunwnply wjuwqubh pwGh® mnynup Yigyh, tpt 1 dwd hwdwwntin

gnnotil tpynt onpwyGtipn:
1) 20 2) 25 3)15 410

Qwunwpy wjwqubh n’p wnynup Yigyh, tpt wnwehl dnpulyny 1gyh
2 dwy, huy tpypnpnny” 5 dwd:

1) 70 2) 60 3)55 4) 50
. Pwlp”® pnytimd Ygyh wjwqubp, pk tpynt onpuyGhpp pugytG
dhwdwdwluwl:
1) 400 2)300 3) 350 4)250

Qwunmwny wjuquip wnwohl onpwyny 4 dwd 1gGknig htivnn, yuquGh
UGwgwd dwup pwlh® dwdnud Yigyh dhwyG Gpypapn onpuyny:

1)8 2) 10 3)12 4)9

Unwohl pphquinl wyfuwmwbpp Yupnn L juwnwpty 20 opnid:
Gpynnpn pphqunl wtuwmmy £ 1,5 wiqud guinun, pwl
wnwohbp:

Gpypnpn pphquinG wnwohG pphquinhg pwlh® mnynu pwwn dwdwlwy
L owjuunid wjn wfuwwnwipn juunwnbihu:

1) 30 2).25 3) 20 4) 50
Ujn wpfuwnwiGpp pwGh” opnid Yupnn E juwmwpty Gpljpnpn pphqunp:
1) 15 2) 20 3) 25 4) 30

LwGh” opnid Jupnn GG yuwmwnpt] wuwwmwbpn” Gpynte pphqunnp
dhwuhd:

1)12 2) 50 3) 10 4) 15

LwGh” opnid yujwpwnyh wpfuwmwbpp, tipk 16 op wuwwnh
wnwohl pphqunp, hul wfuwmwlph Gwgwod twup fuwwmwph
UhwyG tpypnpn, pphquinp:

1) 20 2)22 3)21 4)18
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19.

20.

UnwohG pwlynpp dh npny wluwwmwlp Jwpnn § juwuwpky 20
opnwd, tpynnpnn 24 opnid, hul tippnpnp” 30 opnrd:

Whiwwnwlph n’p minynup Yuwmwptb tptip puGynpGbpp’ 2 op
hwiwwmtin wyfuwwmbny:

1)35 2)20 3) 30 4) 25

Lwlh® opmd wipnne wuwwmwlpn Yyuwwmwnptb tptip puwGynpGpp’
hwidwwmbn w)fuwwmbny:

1)7 2)8 3)6 4)5

Lwlh” opnid wipnng wfuwwmwlpp Yyuwwmwntl wnwehl L tppnpn
pwlynpGtipp” hwiwwmbn wpfuwwmbny:

1) 10 2) 11 3) 12 49

Gpb wnwohl pwlynpl wpfuwwmh thwjb 5 on, wjlinthtml Gpypnpn
L ippnpn puGynpGtpp’ hwdwwmtn wyvwwtyng pwGh® opnid
Jyuwumwnpbl w)luwnmwiph dGwguo dwup:

1) 10 2)8 3)6 4)11

Gnynt pwlynp vh npn) wfuwwmwlp hwiwwmbn Yupnn G6 uwnmwupt; 4
duninii: Gpti wnwohb pwhynnG wluwwnp 6 dud, wwyw wuwmnmwGph
Uliwgwd dwun vhwyl - tipypnpn pwiynpp Yljwwmwph 1,5 dwdnud:
Unwohl pwlynpp 2 dwinid juumwpwd wpfuwwmwlpp pwGh®
nnutintd juwwumwnph tipypnpng pwldnpp:

1) 160 2) 140 3) 100 4) 150
Lwlh® dwdnd Jupnn £ wdpnne wfuwwmwlpp Juwmwpby Gpypnpn
pwlynpn:

1) 10 2)9 3)8 4)7
Lwlh® pnytind upnn £ wdipnng wfuwmwlpp juwunmwpt] wnwohl
pwynpp:

1)430 2) 480 3)432 4) 460
Lwlh® dwimd Gpulp hwdwwntn Jyuunwpbl wipnng wyfuwwmwbpn,
tipt wnwohGG w)fuwwmh tpynt wlquy wpwaq, huYy Gpypnpgp’ Gpyne
wlquwu nuinwn:

1)3,5 2)2 3)3 4)2,5
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21.

{wiwwtn wuwwnbing tpynt pwynp wow9wnnuGpn Ywnnn GG
Juwwnwnty 12 opnmud: Gpypnpn pwGynph wpnmwnpnnuijwGnipyniln
tipynt wlquy thnpp L wnwohGh wpmunpnyuyjuGnpymbhg:

. Wnwwnbting wnwGdhG' wnwohl puwGynpp pwGh® opnid fYwwmwnph

wnwownpuipn:
1)8 2) 16 3) 18 4) 36
Gpypnpn pwGynpp 10 opmd wnpwownpulph n°p dwup Yyuwmwnh:
5 5 5 5
1) - 2) — 3) — 4) —
) 8 ) 16 ) 18 ) 36

LwGh” op E wGhpwdtpwn tpypnpn pwGynphG’ wnwownpuGpl wjwp-
wmbint hwdwp, tipt wnwohl pwlynpl wpntl wfuwnty kp 9 op:

)9 2) 18 3)24 4) 36
LwGh” opnid wnw9wnnulph % dwup Yyuwwwntl pwGynpltpp

dhwuh(, Gph tpypnpn pwlynph wpmwnpnnuyuwingpniGp dEowlw
20 %-ny:

1)3 2)6 3)9 4) 12
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AUV 6. nernarsUbbLER

1. Guunwnpt) wowownpubpGtinp.

1.

Qb (a,) pywpwlwluwl wpngnpbuhwjh w)l wnuwsh hwiwpp,
npp hwjwuwnp £ 100, tph &, =-2, a, =4:

1)17 2) 18 3) 19 4) 20

Qb (a,) pywpwlwlywl wpngpbuhwjh 160-hg thnpp wlnudGhph
pwlwyp, tpt & =-2, 8, =4:

1) 29 2) 28 3)27 4) 30

Gty (bn) tnypwswhwlwb ypngptuhwjh pnnp wjl wlnudGtph
pw(wyp, npnlp dko LG 1-hg, tipt b, =40, b, =5:

)5 2)6 3)7 4) 8

QunGly (b,) bpypwswihwlwl wypngpbuhwjh w6 wipudh hwiwpp,
npp hwywuwn £ 0,625-h, tpt b, =40, by =5:

1)10 2)7 3)8 4)9

Udnn pywpwGwlwb wpngptiuhw Yuquinn tptp pytph qnidwpp 30 t:
Gpt tiplypnpn phyfp thnppug GliGp 2-ny, www fuunwGulp tpypusw-
thwlwl ypngptivhuw:

GGt pywpwlwlwl ypngpbuhwjh dhohl wlnudp:
1) 15 2)4 3)6 4) 10
GGt pywpwlwlwl ypngpbuhwjh mwpptipnipniGnp:
1)4 2)6 3)-6 4) -4
GGt vnwgywo tpypwswthwul ypngptuhwjh hwymwpwnpn:
1) 0,5 2)-0,5 3)2 4) -2
0°n phyp wbwp b gpbip unwgygud tpypwswihwlwd wpngptiuhwjh
tpynnpn L Gppnpn winudGtph dhol, np unwgyh pyuwpwuwyu b
wnngpbuhuw:
1) 15 2)13 3)12 4) 14
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3. Guunupt) wow9wnnubpGhnpp.

1. (an) hwonpnuywlnipniGp pyuwpwwyul ypngptuhw kE: GGty
a.-p, ipt & =8, huly wmwppipmp)niGp’ d =3:
1) 20 2) 16 3)22 4) 27

2. a, b, c L 10 pytipp yuqun 6 pyuwpwlwlub ypngptiuhw, nph

wnwppbpmpmiGp 3 £: GGl kK pGuyuG phy6 wylGuybu, np
a, b, c,10,13,...,10+3k pytph qmuiwnn thGh 145:

1)4 2)5 3)6 4)7
3. X-h n°p wpdbiph ghigpmd 5; 5%; 25 ptpp YYwquk6 tpypwsw-
thwul wypngpbuhuw:
1) 17 2) 19 3)9,5 4) 18

3
4. UGytpg Gwqnn tpypwswihwlwl wypngpbuhwih qnudwpp " L, huly
hwjnmwpwpp’ % : Gl wyn ypngptivhwyh wnwohl wlnuin:

3 1 1 3
1) — 2) = 3) = 4=
)2 )8 )4 )8

4. Guunwnt] wnwownpuGpGtnn.

1. Qi a —3a, +33,—a, wpnmwhwjnnipjul wpdtpp, tpk (an ) n
pyuwpwlwljuwGuwypngptivhw :
1o 2)1 3)-3 4)3

2. 1L 23 pytiph shou gpywo t hhlq phy wjlGytu, np unwgyud hwonnp-
nuliuwlnpnilin pyupwlwul ypngptuhw k: Gumlb] wyn ypngnpb-
uhwjh gqnuiwnn:

1) 60 2) 84 3) 63 4) 120
3. LpJwoltphg n"nG t tpypuswihwiwl ypngpbuhw:
1)3;9; 18 2) J5;5; 25 3)2;-4;-8 4)0,2;0,6;1,8

b, —b.
4. Qully ﬁ wpuwhwjnnipjul wpdtpp, tpt (b, )-n 7
37 M2

hwjmwpwnpny pypuguhwyuwl ypngpbuhw k:
1)3,5 2)6 3)7 4)8
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5. Guwuwnb] wnwownnuGpGtpn.

1.

Qun(ity (a, ) pywpwbwlwl wypngpbuhwjh wnwehl wlnuiip, tph
3a; —a,; =10:

15 2)7 3)9 4) 10
Qb 7-h pwqiwwwwhy pnnp GpyGhy pytph gnidwpn:
1) 672 2) 714 3) 728 4) 735

Qan(ty (b,) tpypuswthwljwG wpngptiupwyh w6 wlnudh hwdwpp,
nnp hwjwuwnp | 48-h, ipt by =3, q=2:

1)2 2)3 3)4 4)5
Qb x-p, tiph g-i‘l, 2x -1, 6x -8 hwonpnuywlnipjnilp

tpypuwswhwuwli ypngpbuhw t:
1)2,5 2)3 3)3,5 4) 4

6. Gwunwnt; wnwownnu GpGpp.

1.

Qb 16; 14,6; ... pyupwlwlul wpngptuhwjh wdkuwito
pwguwuwlwl wlnuin:

1)-1,4 2)-1,6 3)-0,8 4)-0,4

Qb 4; 6; ... pyupwlwlul ypngptuhwjh wjl wlnwdh hwdwpp,
nph wpdtipp 34 t:

1) 15 2) 16 3)17 4)18

GGt tpypugwhwlwb ypngptiuhwjh snppnpn wnudp, Gph
b, =-2,4, by =19,2:

1)-4,8 2) 17,8 3)9,6 4)-9.,6

. Ulytpe Gywqnn tpypuswihwlwl ypngptiuhwjh gnidwpp 8 &, huy

tpypnpn winwdn® 1,5: Gwunlh] wyn ypngptiuhwjh hwyjmwpwnpnp:
1) 0,25 2)0,75 3)0,251.0,75 4)-0,25
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7. Quunuwnt] wnw9wnmu Gplitpp.
1. a, a,, &, ... pjwpwlwlwl ypngptivhwynd a, +a, =19: Gl
a, +a, +a, +a, qnuiwpp:
)19 2)57 3) 38 4)76
2. b, b, b, ... tpypuswthwlwl ypngptuhwynd b =1, b, =40: Gwnlb
b, -by, wpmwnpyup:
1)41 2) 40 3) 1600 4) 1681
3. bpwphg mwpptip a, a,, a, pytpp Juquimd G0 pywpw lwlwl
wpngptuhw, huy &, -a,, a,-a;, & -a; pytpp’ Lplpuswhwulw
wnngptivhw: Gwulbp Gpypuwswhwjub ypngptiuhwjh hwjmwpwpnp:
1)1 2)2 3)2 4)3
4. a, a,, a,, ... hwonpnuywbnipynilip pywpwlwyul ypngptivhw t L
guiljwgwo pwlwln pyh nhiypmu S, = n%, npuntin S, -p wn
wpngptiuhwjh wowehG 2n wlnuidGkph qnidwnG t: Gty (a, +a,)-n:
1) 121 2) 10 3)100 4) 11
8. Guwunwnl) wnw9wnpwlpGtipp.
1. GGl 2; g; ... pywpwlwul ypngptuhwjh ny puwguwuwlw
wlnwdbGtph pwlwlyp:
1) 3 2)4 3)5 4)6
2. Qb 2; g; ... pyuwpwGwlywl ypngptuhwjh witGuwibko L
wuiblwihnpp gpnuijwl winuwiGbiph wpnwnpywp:
12 21 3) % 40

3. Qulhy 2; g; .. ipypuywthwyul ypngpbuhwjh hwymwpwnpn:
4 1 1 3
1) — 2) —— 3) — 4) —
) 3 ) 5 ) 5 ) 2
4. Gl 2; g; .. wlybp9 GJwgnn tpypwswhwlwb ypngptuhwjh
qniiwpp:
1 % 2)8 3) 4 46
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9. Guunwpt wpwownnuGpGhpp.

1. Qull %; %; ... pywpwlwyul ypngptuhwjh 101-pn wlnwdn:

1) 20% 2)18 3)17 4) 16%

2. Qullg (an) pywpwlwyul ypngpthuhwjh wnwohG 20 wlnwuibtnh
qmuwnp, tipk 8 =-3, a, =21:

1) 800 2) 840 3) 750 4) 700

3. Qulbp 2%; 2Y; ... tpypuswhwlul ypngphuhwjh popnp w6
wlnwuibGtph pwGwyp, npnlp vLo GG 0,125-hg:
1)8 2)7 3)6 4) 10

4, (bn) tpypwywhwluwl ypngpbuhwymd b -b,-b, =216 : Gl wyn
wnngnptiuhwjh 10-pn wlnwdnp:
1)8 2)6 3)5 4) 4

10. Guwunwnt) wnwownpubpGtipp.
1. QG —13;-10; ... pyuwpwlwlwb ypngptiuhwjh 12-pg wlnuin:
1) 17 2) 20 3)23 4) 14
2. (an) plywpwlwluwl wpngpivhwymd a, +a,;. =15: Gulbp wjn

wynnqptivhwjh 6-ppl 13-pn wlnuwiGhph gnuiwpp:
111 2) 15 3) 10 4) 4

3. Qulby X-p, bph —%, 10, — x hwonpnuyuwlnipjniln tpypwswhwljub

wnngpbuhw t:

1) 500 2)-250 3)2 4 L
50

4. Qb (bn) tnypwswihwlyuwl ypngptuhwjh hwymwpunp, tph
bs 'bu :3(b9)2:
1 1
1) £= 2)2 3) = 4)3
) > ) ) 3 )
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11. Guunwnt) wowownpulpGtpn.

1. Qu(t 18; 16,4; ... pywpwlwwl ypngptiuhwjh witkGuwito
pwgwuwlwl wlnuinp:

1)-1,6 2)-1,2 3)-2,4 4)-4

2. Qully 3; 5; ... pquwpwlwlwl wypngptivhwjh w6 wlnuwdh hwdiwpp,
nph wpdtipp 33 L:

1) 17 2) 14 3) 15 4) 16

3. Qb tpypuwswhwwl ypngptuhwjh snppnprg wlnudp, tph
b,=-84, b, =67,2:

1) 16,8 2)4.2 3)-33,6 4)-8,4
4. UliJtipg (Jwqnn tpypwswthwywl wpngptuhwjhgnidwpp 4 £, huy

tnynnpn winuwin' 1: GuGt] wyn ypngpbvhw jhhwjmwpwnpn:
1)-0,25 2)0,25 3)-0,5 4)0,5

12. Guwnunt] wnwownpulpGtpn.
1. Gl (an) pywpwlwlywb ypngptiuhwjh 41-pn winwdp, tpt
a =1,d=3:
1) 110 2)121 3) 124 4) 127
2. Qunlity (an) pywpwlwyul ypngpbuhwjh wnwohG hhuniG
wlnuwuilbph gnuiwnp, tpti 8, =0,5, d =% :

1) 100 2) 120 3) 200 4 400

3. Qulby %; %; .. inpwswihwul ypngpbuhwjh wjl wlnudh

hwdwpp, npp hwjwuwn k 2:

1)7 2)4 3)5 4)6
4. Qulby (bn) tnpwswhwlywl ypngptuhwjh 6-pn winwdp, tpt
1
bl == 81, q = g:
1
1)1 2) — 3)3 4)9
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13. Guunwnt) wowownpulpGtpn.

1. GGty (an) pywpwlwyul ypngptuhwjh puguuwlw b
wlnuwuilbtph pwlwlyp, tph a, =14,d =2:
1)8 2)7 3)6 4)5

2. Qb %; g; % .. pYupwlwlwl ypngptivhwjh 10-pg L 2-pn

wlnwuiGtph mwpptipnipniGnp:
1) 4—: 2) 16 3)49 4) 28

3. Qult) whytpg Gyuqgnn tpypuswhwlul ypngptuhwjh gnidwpp,
bpb b =2, q=2:
P 2" 27

1 2

1)1 2 3 4)3
) = = )
4. Qb g; %; .. ipypuwswhwlwb ypngptivhwjh jnptipnpn winuin:
1 3 3
1) = 2) — 3)— 4) 0,125
) 3 ) 32 ) 128 )

14. GQuunwnt) wowownpwbpGhpn.
1. GGty (a,) pywpwlwywi wypngptuhwjh mwpptpnipnilp, tph
a; =17, a,, =37
1)2 2)3 3)4 4)6
2. Gl (an) pywpwliwywl ypngptuhwyh 11-pnphg dhGsl 20-pn
wlnuwuilbph gnudwnp, tpt a, =5, d=4:
1) 570 2) 820 3) 550 4) 590
3. Gk npuiwl winwiGtpm] (b,) tpypwswihwljwl wypngptiuhwjh
wnwohl winwun, tipt by =8, b, =128:
1 1
1)2 2) > 3)3 4) "
4. Qunlty (bn) npuliwl winuwiGbpny tpipuwywihwyul ypngpbuhwjh
pnnp wjl wlnwdbtnh pwGwlyp, npnlp st6 gipwqubgnid 600-n,
tipti b =%, b,=1:

1) 15 2) 10 3) 12 4)9
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15. (a,) pywpwGwlwl wpngptiuhwymy d =3, S, =40:

1. Q) wyn wpngptiuhwjh wnwohl wlnuap:

1 % 2)4 3)2 41

2. Gnlity wyn ypngptivhwjh 101-pn wlnwadp:
1) 290 2) 320 3) 306 4) 302

3. Qult] wyn ypngptuhwjh wnwohl 16 wlnuiGknh gnidwnp:
1) 840 2) 392 3) 360 4) 320

4. Qb w)l wikGwdto tpyGh phyp, npb wyn ypngptuhwjh
wlinuu t:
1) 95 2)99 3) 98 4) 96

16. Gwunwnt) wnwownpwbpGtipp.
1. GGy 100; 97; -+ pywpwlwyuGuwnngptuhwjh 25-pn wlnuadp:

1) 24 2) 30 3) 28 4) 26

2. Gl 31; 27; - pyuwpwlwlwl ypngptivhwjh pnpnp npuijw G
wlnwuibbph gniwpnp:

1) 150 2) 140 3) 132 4) 136
3. Qb b, =256 wnwohlG wlnwuiny L q = ; hwjnmwpwpny Gpypw-

swihwlwl ypngpbuhwjh pnnp w6 winuwdGbph pwGwyp, npnlp
wdpnn9 pytip t:
1) 15 2) 10 3) 12 4)9

4. (bn) tpypwswthwyub ypngptiuhwynd b, =8, Gty b, b,
wnunwnpjwin:
1) 64 2) 80 3)72 4) 60
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17. Guunwnt) wowownpwulpGhpn.

1. GGty 0; ;; - pjuwpwlwyul ypngptuhwjh 101-pn wlnudn:

1) 100 2) 25 3) 20 4) 18
2. Gty 49-n sqipwqubgnn pninp YhGw pytph qnidwnn:
1) 500 2) 625 3) 620 4) 575

3. (b,) tpypwswihwlwé wpngpbuhwymd b, =243, b, =9:
Qb b, n:

1)3 2)2 3)1 4) ;
1 1
4. Qb §; E; - wigtp9 GJwgnn tipypuwswthwlwl ypngptivhwjh
gniiwnn:
3 2 5 3
1) — 2) — 3) = 4) —
), ) 5 ) 3 ) A

1
18. Qwonpnuyubmpmbpmpjuwo t @, =4, a,,, = Ean wopGsnipjudp:
1. Gt wyn hwonpnwlwlnipjwl 3-pn wlnwup:
1)1 2) % 3)8 4)6

2. Qb wyn hwonpnwlwlnipjul 4-pn b 3-pn winuiltph hwpwpt-
nnipjniln:

1)2 2) % 3)3.5 4)5
3. Gt wyn hwonpnujwlnipjul wjl pnnp winuiGbph pwGwyp,
1
npnlp dto LG -hg:
pnGp 100 hg
1)7 2) 11 3)9 4)10
4. Gt wyn hwonppuwywlnipjwl wnwohl 7 wlnuultph gnudwpn:
127 63
1) — 2) — 3)12 4)10
) 16 ) 3 ) )
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~UIDU 7. dOrLESLULE

1. Spywd k£ (x)= X _1_X6 pmGlghw:

1. QG f $niGyghwyh qpnlhpn:

1) 232 2)4 4L Y16 4)4u4
2. Qulby f PnmGYyghwjh wowbGgyun:
1) 2x+16x° 2) 2x—¥ 3) 2x—16x>  4) 2x+¥
X X

3. Qull f $nilGyghwyh wpdtpp dhGhuinuih Yhwmnud:

1)-15 2)-4 3)4 4)12
4. Qult; f $nmbGyghwjh GJuqiwl showlw pn:
1) [-2;0) 2) (0;+)  3) (~op=2] “4) (-oc;0)

2. Spqwot f(x)=log, x $mGYghwa:

5

1. Qulb y=-2 niqnph L f peGyghwjh qpubhyh hwndwb Ytnh
wpughup:

1)0 2)25 3) 2i5 4) -2

2. X-h h°Gs wpdtpltph ntiwypnd L $niGlyghwjih gpuphyp qubynid OX
wnwlgphg Gappli:

1) (1; +oo) 2) (0; +oo) 3) (—oo; 1) 4) (0; 1)

3. £(1), f(2), f(3) pytipp nuuwynpty GJuqiwG Yupgny:

1) (1), £(2), f(3) 2) £(3), (1), 1(2)
3) £(2), F(1), £(3) 4) £(3), £(2), (1)

4. Gty F(X)= f (XZ) $nmlyghwjh npnpdwl mhpnypn:
1) (0; +oo) 2) (—oo; +oo)

3)(—o2;0)U(0; +0) 4) (0; 1) U(L; +0)
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X+1
3.Spquota T (X)= ~—5 b 9(x) =109, x pmGlghwaGtpp:

1.

[a—y

N

w

.Spqud k f(x)=

L2Jwo pytiphg n°pp £ mGlyghwyh wpdtp st.
10 2)-1 3)2 4)1

L2qwo dhowlw)ptphg npm™i t g dmillyghwjh gpubhyp quliynud
y =—1 mnnhg ytipl..

1) (Z40) 2 (5 +0) 3) (0:5) 4) (—; 5)
Q] f +g $nlGlyghwjh npnpdwl mhpniypn:
D (240)  2)(0:2)0(2+=) 3)[0,2) 4 [52)

Gn(t) a-h pninp wyG wpdbpltpp, npnlg ghwypnid Y =a ninhnp
hwnnmd £ g pnlyghwyh gpudpyp:

1) (=00 +0)  2)[0;+0) 3 (—o0;:0)U(0; +0) 4) (0; +0)

4x -1
X—2

dmbGyghwa:

. GGt f pnlGyghwyh npnydwl mhpniypn:

1) (—o0; +0) 2) (-0, 2)U(2 +0) 3) (2, +0) 4) [L +)

. GGt f pnlGyghwjh wowlgjuin:

7 -9 4x+1

1) - ) ——— 3 4) ——
ooy Yoy Y ey e
. Qultp f $mGyghwyh Yyphwmhjuywb Yenbpn:
1)2 2)9 3) sniGp 4)4

4. QiG] f pmGyghwjh GJuqiwb showlwjpbpn:

1) (—00; 2)U(2; +0) 2) (~o0;0) 3)smbh  4) (—o0; 2)L (2; +0)

86



QLNMv 1 pUIDL 7 dArvushuLEP

5.Spqwo t f(x)=2x*—Inx pniGyghwa:

1.

(=)}

[

N

QG f $mGyghwyh npnpdwG wmhpnipn:
1) (0;+0) 2) (—oo;40)  3) [0;4+00)  4) (L+40)

QG f $mGyghwh wowlgjup X =% ynnu:

3 1 3
1) 2 2) §+In4 3) ~2 4) -3
QG f $mGyghwjh Yyphmhyuwwb Yhwnmbipp:
1,1 1
1) ~3 3 2) > 3)2 4)4

QG f $mGyghwjh Guquiwb thowlwpn:

i) o[ 9(ed]y o]

Spwo t f(x)=2"+27 pniGyghwa:

. Lmodby f(x)= f(—x) hwjwuwpnuip:

1) & 2).0 3) (—oo; +oo) 4)-2u2

. GGt £ pnlyghwgh wowlgyuyp:

1) x- 2t —x.27%* 2) 2IN2+27%In2

3) 2In2-27"In2 4) 2°Inx+27"Inx

GGt $nmGyghwyh Guqiwb showlwjpn:

1) smGh 2) (0;+00)  3) (—o0;0] 4) (~o0; + o)

UpJwoGtinhg n°nG k 6hpun winmd f pnilGyghwyh hwdwnp.

1) Ypnhnhjuwwl Ytwn yniGh 2) niGh thnppwqnijG wpdtip
3)n’s qnuyq k, n’s £° Yhlwn 4) wénn k&
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7.Spwo t f(x)=e* $mblhghwa:

1.

oo

[a—y
.

Q.unGb) mGyghwyh wpdtpp X =I5 Yhnnud:

1) 10 2) e¥ 3)25 4) e®
Qb $nGyghwyh npnpdwl mhpnypp:

1) [0; +0) 2) (0; +0)  3) (—o0; +0) 4) (& +0)
GOt $nGyghwjh wowlgjun:

1) e 2) e*In2 3) 2¢* 4) 2e*

Qulty f pnilGhghwih qpudbhyhl Gpuw X,= 0 wpughul mbtgnn
ytnnmd mwpyuo ynpwihnnh hwyjwuwpnuin:

1) y=2x+1 2) y=x+1 3)y=0 4) y=1

.Spqud b f(X)=tox+X pmblyghw:

Qb f pmGyghwyh wowlgjup:

L
COS™ X COS™ X

1) +X 2) +1 4) ctgx+1

cos® X
Qunlty Y=X L f $mbyghwbtph qpuphyltph hwndiwl Yhnbtph
wpughultpp:

1) 7k, keZ 2)%+7zk,keZ
3) 27k, keZ 4) %+27zk,keZ

QunGhy f -h npnpdw G mppnypn:

)R 2) (— %+ e %+ ﬂkj k e Z showluyptiph Shwynpnidp

3) & 4) (—oo; %ju(%, +ooj

f $mGyghwjh hwiwp G)Jwd wyhnmiGtphg n°pd t Ghow.
1) wuppbpwlwG k 2) qnuyq k )yttt 4) GJuqgnn E
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9. Spwd t f(X)=sinx+1 pmGyghwa:

1. Qulty f pnlGyghwjh wowlgyun:

1) —cos x 2) —cosX+1 3) cos X 4) —sinx

2. Gl f PpnlGyghwih qpuphyph b y =15 ninnh hwwndwl Yhwnbtiph
wpughulbpp:

z T ik kez
1) 6 2) €+7Z' , K€e
k = ] k 7 )
3) (-1) -§+27rk, keZ 4)(-1) -€+7zk, keZ

3. Qult; f $mbGyghwjh thnppwgni)G wnpdbpn:
1)1 2)-1 3)0 4) sniGh
4. {timlywy pytiphg n’pGt f pniGyghwih wuwppbpnipjniG.
1) 7 2) 37 3)2 4) 4r

10. Spywd k. f(x) = cos 2x — 2x pmGlghwG:

1. GunGb $nmGyghwyh wowbgjun:
1) sin2x—2 2) —sin2x—2 3) —2sin2x—2 4) —2sin 2x
2. Gt pmGyghwjh Yphnhyuwywb Yenbpn:

D +Z 12k kez 2) T ikkez
4 4
3)—%+27zk,kez 4)%+ﬂk,kez
3. Spywo pytiphg n"pp pmbyghwyh Ypnhmhjulub Yo sk:
T 3r 5z O
1 -= 2) 2= 3) -2 4) =
) 1 ) 1 ) 2 ) 4

4. f pmGyghw [-27; 27| shewlywypnud pwGh” Yphwhywlwh Yhwn niGh:

)1 2)2 3)3 4) 4
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2

11. SpJwo t f(x):x?—lnx $mGyghwa:

1. QG $nmGyghwyh npnpdwl mhpnypp:

1) (3 +) 2) (—o0;400)  3) [0;+00) 4) (0;+00)

2. QuGt) PnlGyghwyh wowlgyjup X = % Jhnnud:
10 1 8

l)? 2) E+In3 3) 3 4)0
3. Qb $nilGlhghwyh Ypnhwmhhwwb Yhnbpn:

HD-1u1 2)1 3)1L3 4)1h—%
4. Quit $mGyghwjh GJuqiwb showlwjpn:

1) (0;1] 2) [-1.1] 3) [L+o) .4 [0:1]

12. ‘bYwpnd wuntpdwd & f(x)=x? +px+ q $mGyghwyh qpubhyp.

Ay

y =

_— e = o

1. Qb q gnpowlyhgn:

1)-2 2)2 3)-1 4)1
2. Qb p gnpowyhgn:
1) =2 2)2 3)3 4)-3
3. QG f pmGyghwjh thnppwqniyG wpdtpp:
1)2 2)3 3)1 4)-3
4. Qulh] f $nlGyghwyh wowbgyup X =1 Yhwnud:
1)2 2)0 3)-1 4)1
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13. Spwo t f(x)=+x Pmblyghwa:

1. QuGt] mpywo niGyghwjh npnpdwl mhpnypn:
1) (05 +o0) 2) (~0; 0] 3)[0;+0)  4) (- 0)
2. A(36,-6), B(-8% —9), C(4;16), D(49; 7) Yntiphg n°pé k
wuwnlwlnd npfwo pnillghwh qpuibhyh:
) A 2) B 3)C 4) D

3. Gty pniGyghwgh qpuphlh wyb Yhnh wpughup, npmd pniGyghugh
gnwbhypl mwpduo pnputhnnp qniquhtn k. y =X -3 mnnhG:

b3 22 3)3 4y4

4. Qulbt] wjG $nilGYyghwjh pwlwalp, nph gpurbhyp vnwgymu k

upjwo pniGyghugh qpudbhyl opnhGwmGtinh wpwlgph
ninnnipjwip 2 shwynp ytpl mtnuipwnpdtjhu:

1) y=+vx-2 2) y=Jx+2 B3)y=Jx+2 4) y=x-2

14, Spywot f(x)=%x4 —%xz $m Glyghw:

1. GGl f'(-2)-

1)-26 2) -5 3)—14 4) 10
2. Qb $mbGyghwjh shGhinwih Yanbpp:

1)-3L0 2)0L3 3)-3 4)-313
3. Qb nilGyghwgh wadwb showlw)ptpp:

1) [-3,0] U [3 +) 2) (= o0; —3]U0; 3]

3) [-3; 3] 4) (~o0; —3] L [3; +0)

4. Qb $nmbGyghwjh thnppugniyG wpdbpn:
1)—-40,5 2)0 3)-20,25 4) 60,75
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15. Spgwo b6 p(x) =x* +3x* =1 L g(x)=x—1 pwqiwbnudGhpp:
1. Qb p(X) puqiwnwih hpuywl wpdwnbbph pwGwyp:
1 2)2 3)3 4) 4

2. Quly p(X) pwqiwlnuih hpwlwl wpdwwmGbph shohG
pyuwpwlwyuln:

1)0 2)1 3)-3 4)3
3. quty p(x)-(q(x))’ puqiubnuih wunhswtn:

1)8 2)6 3)12 4y7

4. Gl p(x)-n q(x) -h pwdwltihu unwgynn dGwgnpnn:

D1 2)2 3)3 4)4
4x
16. Spud k. f(x)= 2 Pm Gyghwa:

1. Qulty f PniGyghwjyh wowlgjwyn:

4(4 - X ) 3x° +4
2 4 2

(x2 + 4) (x2 + 4)

1) ; 2)2 3)

2. Qb f $mGyghwjh Yyphmhyuwwb Yhnmbph pwbuyp:
1 2)2 3)3 4) 4

3. GGt f pmbGyghwjh wddwbG showlwjptipp:
1) [—2,2] 2) (—oo,—2] L [2,+oo) 3)[—2,+oo) 4) (—oo,2]

4. QuiGh] f $nilGyghwjh dhowqni)G wpdtpp:
1)-1 2)1 3)4 4)2
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17.

18.

2
Spiwd £ F(X)=——— Pnulilghw
X“+1

. Qb f $nlGyghwyh npnpdwl mhpnypn:

1) (o0 ~1)U (=1 +0)  2) (—o0; 0)U(0; +0)
3) (—o0; + ) 4) (—o0; 2)U(2; +0)

. Qb f $nlyghwyh wowbgjuyp:

D % 2) 2x2+1 3) 25(12_:(12) 4 (21(14;_)()2(;2)
. Gty f pmlyghwjh wddwl shewlhuwjpp:

1) [0; +2) L] 3 (0+0) A (]
. Qb f $nilGyghwyh vhowqny)G wpdtipp:

1)1 2)4 3)'0;8 4)2

Spquwo t f(x)= ; Pm Gyghw:

. Qb f $nlGyghwjph npn)twl mhpnyypn:

1) (—o0; +0) 2) (=0, 0)  3) (0;+)  4) (—o0; 0)U(0; +0)

. Qb f PnGyghwyh wowbGgjup:

1) —iz 2) 4 3) —iz 4) —4x?
X X

. QG f $mGyghwjh Yyphmphyuwwb Yhnbpn:

1)0 2) 414 3) 2L2  4)smbh
1
1)4 2) -, 3) 16 41
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19. Spywd t f(x)=3" pmGyghwa:

1. QG f pmGyghwih npnpdwG wmhnpnpn:

1) (—o0; +0) 2) (0;+)  3) (3 +o) 4) (L +x)
2. GGty f $mGyghwjh wpdbpltiph puquinipmGnp:

1) (—oo;+0)  2)(—0;0]  3)(0;+0)  4)[3; +)
3. Gty f pmGyghwjh wowbgyun:

1) (x+1)-3" 2)3 3)0 4) 3*In3
4. GGty f PnlGyghwjh wadwb showlywpbpp:

1) (—o0; 1) 2) (—o0; +0)  3) (3; +) 4) (0; +o0)

20. Spywd t f(x)=3x-6 pmblyghwa:

1. Gl f $niGyghwyh wpdbpp Ljaumnud:

1O 2)-3 3)3 4)9
2. Gty f pmGhghwyh Yppunhyulud Yhnbpp:

1)2 2)0 3) (—oo; +oo) 4) smGh
3. Qb f $nmGlhghwjh qpnGhpp:

1)-6 2)0 3)2 4)-2

4. QG f $nGyghwyh gpuphyh X =1 wpughul niGhgnn Yhnmad
nwnywod ynputhnnh hwjwuwnpnudp:

1) y=—6 2) y=3x-3 3) y=3x—-6 4) y=-3
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fUdhy 8. LUrEUQUONMI3NIML

1. dujwuwpwunnil towGyyuwaa wpmwgqdwd JngwGwqdh yunwghnn
6 ud k L hwjwuwn t inwGljw upnmGphG:

[a—y

. Gty tnwGlyyw thnpp whlyyniln:
1) 15° 2) 60° 3) 30" 4) 75"
2. Qulby tnwllyjwl hhiph Gpuwpnipjniln:
1) 12«/§ud 2) 12 ud 3) 6«/§ud 4) 10,39 ud
3. Qult) tnwGlyjwl Swytptup:
1) 9 ud? 2)15,52 us? 3) WBu® + 4)183 uy?
4. Qu(t] tnwGlyjw6 thnpp pwpépnipjwb tpluupmpniGp:

1) 4 ud 2) 3 ud 3)5,19a0  4) 3J3ud

2. {wjwuwnpwunniG tewGlyjw6 hpiphG wepGptp wbyjw6 vhGniup % L,
huy wpnwqowd Jpowblwqoh ywnwyhnp 3 wi-ny Who k upnilphg:

1. GGy tnwGyjwbGwpunuqowd pewlwqoh Jwnwynh
tpunpnipyniln:

1) 6 ud 2)3 ud 3)9ud 4) 5 ud

2. Qb hhdiphG mupywo pupépnipjul GplupnipniGn:
1) /3 us 2)2 ud 3) 6 ud 4) 4 ud

3. QGulb) tonwGlyjwl dwytptup:
1) 9 u? 2) 1131 ud® 3)8\2ud®  4) 83ud

4. Qb tnwlyywl wpmuqowd pewlwqoh YhGnpnGh
htinwynpnipjnilp hhdphG mwpjwo pwpdpnipjul dheGwlbwnmhg:

1) 9 ud 2) 8 ud 3) 7 ud 4) 6 ud
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3. CpowlGwqhon, nph gwnwyhnp 6 ud t, 2npwthmd k wlnGuyynp
tinwGlyywG Ynnitphg dhyn L djomu Gpym yondtph pwpniGw-
ynipymGGtpn:

[

. Gt tnwGlyywl pwpdpnipjwb tpyuwpnipyniGp:
1) 6 ut 2) 6\Bud  3)4ud 4) 32 ud

2. Gt tnw w6 wpnuqowd pewliuqoh pwnwynh
tnjuwpnipniln:

1) 2 ud 2) 4 ud 3) 6 ud 4) 4Bud
3. Qb tnwGlyywl Ynnidh tpyupnipyniGp:

1) %uﬁ 2) 6,92 ud 3) 43 us 4) 2\3u
4. Qun(t] tnwGlyjwb Ywybptup:

1) 12 ud? 2)20,78 us®  3) 12Bud®* 4)24 ud’

4. Nunullm6 tewyywl wpnwphl waymGaphg dhyp 120° t, huy
GtppGwdhgn 10 wi-ny ¥Lo & thnpp tohg:

1. Qb tnwGlyywl thnpp wGlywl dtonipynilp:
1) 45° 2)60° 3) 30° 4)15°
2. Qb tnwlyywb GtppGwdhgh tpyuwpnipyniGn:
1) 8 ud 2) 20 ut 3) 15 ud 4) 1073 us

3. Qb tnwGlyjw b thnpp Ynnih L GepplGwdhghG mwpjuo
pwpépmpjul juquwo whlniGnp:

1) 45° 2) 60" 3) 30" 4) 15"
4. Qb tnwlyjwh vto Loh ypnjtyghw Ghpplwdhgh Ypw:

1) 1073 us 2) 10 ud 3) 15 ud 4)7,5 ud
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5.

[a—y

[\°]

w

[a—y

MnnuGlyyn b tnwlyjwb GippGwdhghG mupjuo sheGwqhon L
pwpdpnipyniGp hwywuwp GG 25 ud b 24 ud:

Gn(t) tnwlyjwl GappGudhgh GpyupnipniGnp:

1) 50 ud 2) 40 ud 3)30 ud 4) 32 ud
QnGb tnwGyywG thnpp Eoh ipupnipyniGn:

1)25ud 2) 40 ud 3)30 ud 4) 20 ud

. Qb tnwlyjwbp Ghpgoywo 2nowlwqoh pwnwynh Gpluwnpnipjnln:

1) 5 ud 2) 5\3us  3) 10 ud 4) 15 ud

Gt tnwlyyw Gl wpunmwqoywo L Ghpgoywo pnowlwqotinh
ytGunpnGGatph htnwynpnipjniGp:

1) 11,18 ud 2)5f3us  3) 4JBud/ %) 55 ud
4 wi Qwnwynny 2ppwGwmqoh YhGnpnbp qunGymu t mnnublyymab

tinwGlyjwa Lotiphg Wkyh Yypw L 2npwithnd E yyniu £9G m GtippGuw-
dhqp: ‘LlippGwdhgp 2npwhiw b Ytnny Yhuygmay k:

. Gt tnwllyywl thnpp wllyjwl dtonp niln:

1) 25° 2)30° 3) 40° 4) 45°
GOt tnwlljul vto Loh tpunpnipyniln:
1) 6 ud 2) 8 ud 3) 10 ud 4) 12 ud

GGt wyn 2powlwqoh YhlwmpnlGh htinwynpnipynilp GnwGyjwl dho
unip wiljwl ququphg:

1) 8 ud 2)J3ui  3)6ud 4) 10 ud

b°G; hwpwpbpnipyudp £ pudwind 2powluqoh YaGunpnGp
tnwGyjwa top” hwyywo ninhn wilyjwl ququphg:

1)1:3 2)1:2 3)2:3 4) 3:2
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7. 60 ¥ pwnunny n9wGwghon, nph YuGwnpnGp quGynid L ninnuG-
o1l tnwllyyub GippGudéhgh Ypw, 2npwthmy E tewGlyywb totpnp:
Cnowlwahoh YtGwnpnbp GeppGwdhgp mpnhmd t 3:4 hwpwptpni-
pjwip dwutinh:

1. Gan(b) towGYjwl thnpp whlyjwb dhonipniln:
0 4 .4 0
1) 30 2) arccosg 3) arcsmg 4) 45

2. Qb tonwGyjwh vko Loh tpyupnipyniln:
1) 60 ud 2) 80 ud 3) 140 ud 4) 120 ud

3. Qulb) tnwGlyjwb GipplGwdhghl mwpjwo pupdpnipjwb
tnywpnipniln:

1) 840 2) 63 3) 84 4) 100 ud

4. Qb wyn powlwqoh YabGumpnGh htinwynpnipjnilnp inwGyjwb
thnpp wljul ququphg:

1) 130 ud 2) 100 uu 3) 110 du 4) 50 ud

8. GnwllyjywG Ynnikph tpuwpnipyniGGhpp hwpwptpnd GG hGswtu
5:12:13, hul thnpp Ynnip 10 L:

1. Qb tnwGlyywl yupwaghon:
1) 50 2) 60 3) 30 4) 40

2. Qb tnwlyjwbp Ghpgowd Jnowlwqoh Yulwmpnlh hinwynpni-
pynilp thnpp waljwl ququiphg:

1) 426 ) 430 3)aV2(\B-1) 442

3. Qb tnwGlyyw bl wpnmwqowd powlwqoh Jwnwynh
tpunpnipyniln:
1) 10 2)12 3) 13 4)15

4. Gt tnwlyjwb vt thoGwqoh tpwunpnipniln:

1) 24 2) /601 3)25 4)26
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9. 16 ud uko Ynniny inwllyjwb whlymGGapp hwpwpbpnd GG hGsubu
1:2:3:

1. Qult] tnwGlyjwb thnpp wGlyywb vtonip niGp:
1) 45° 2) 60° 3) 30° 4) 15°

2. Qb tnwGlyywbp Gipqowo 2powlwqoh YhGnpnGh htinwynpni-
pynilp vEo whlyjwl ququphg:

1) 446 uss 2) W3 -4us 3) W2(VB-1)us  4) 42 uss
3. Qb tnwllyywll wpnuqowo peulwqoh pwnuwynh
tnyupnipynilp:
1)5ud 2) 6 ud 3) 8 ud 4) 7 ud
4. Qb towGlyywG thnpp dheGwqoh tpfupnipynibp:

1) 8 ud 2) WTus  3)10,5 ud 4) 10 ud

10. AB=17ud, BC =10 ud Yynnitpny ABC umpuGlyjmG tnwGlyjwa
BD pwpdnmpjniGp 8 ud k:

1. Qb tnwGlyjuG AC Yanih GpyupnipyniGn:

1) 15 ud 2)6 ud 3)21 ud 4) 25 ud
2. GQan(Gtp ABC.tnwGlyjwl ywpwaghop:

1) 42 ud 2) 33 ud 3) 48 ud 4) 52 ud
3. QG ABC tnwGlyjwl dwlybkpbup:

1) 60 u? 2) 24 ug? 3) 100 us®  4) 84 u?

4. Qb tnwlyjwl B ququphg mupywd dholGwqoh tpupnipyniln:

1) “3237 ud 2) 258 us  3) 2485 ud  4) 19 us
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1

1

N

(53]

12.

1. ABC tnwGljw( k9 AB =6ud, AC =16ud, LA=60°:

. GGt BC ynnih tipyupnipymGp:

1) 1243 ud 2) 14 ud 3) 15 ud 4) 16 ud
. Gt tnwlyjuwl swlytpbup:
1) %uﬁz 2) 14,57 us®  3) 243us®  4) 24 ud’

. Gt tnwGlyw il wpnwqoywo Jnewlwqdh Jwunwynh
tnyupnipynilp:

1) 14 ud 2)143us  3)8ud %) 14;@ ud
. QuGt; AC ynnuh Yypw tnwGlyjul CH pwpdpnpyul ypnjtyghwjh
tnyuwpnipniln:
1) 4 ud 2) 12 ud 3) 8ud 4) 10 ud

ABC tinwflyjuG AC ynnuh Yypw yipggwo D Yhnhg mwunpjwo GG
Ujmu tipynt ynnitphG qniquihtin mnhnGtp, npnGp AB L BC Ynmuik-
pp hwnnd b6 hwiwwywwmwujpwliwpwp E L F Ymbpond: AED
hnwﬁl.l_]ulﬁ Swybtpbup 9.u” £, puy DFC tnwlljwG swijtptup'

16 ud”:

. Gult] AD: DC hwpwptinnipjniln:

1)1:2 2) 2:3 3)1:3 4) 3:4
Gl ABC tnwllyjwl dwltptun:

1) 30 uti® 2) 32 uti® 3) 24 ui® 4) 49 un®
Gn(Gt) DEBF gniquhtnwqoh dwltiptup:

1) 18 uu® 2) 24 uy® 3) 20 ui® 4) 25 ui’

Q.G EOD tinwGlyjwG dwytptup, npntn O -G CDEB pwnwGyjw
w iy Guqotiph hwndiwG Yt t:

1) 3,6 ug? 2)24u8”  3)32uf®  4)4u’
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13. ABC tinwGlymG AB YnnihG gniquhtin mnhnp BC Ynnip hwnmad
L D Ytwmy, huy AC Yyondp' E Ytwmd: {wjwmGh t, np DE =6uy,
AC =16ud, BC =20ud, BD =5uu:

1. Gunit; CD:CB hwpwpbpnipjniGp:

1) 3:1 2) 4:3 3) 3:4 4)5:3
2. Qult; AB Ynnuh tpywpnipyniGp:

1) 8§ ud 2) 6 ud 3) 7 ud 4) 9 ud
3. QGulk; CED tnwGlyjwl yupwghon:

1) 30 ud 2)32ud 3)33 ud 4) 34 ud

4. QuGt] ABC tnwllyjuG L AEDB punwGljul dwytptulGtph
hwpwptpmp niGp:
1) 7:15 2) 17:7 3) 15:7 4)16:7

14. ABCD qmiquhtinwqdh uty /B=3/A, AB =52 ut, BC = 7ut:
1. GGt A wilyjwbp vhonipyniGp:
1) 135° 2) 45° 3) 60° 4) 120°

2. Qb BE ko ppdpnipjul tpiupnipjnGn:

N’

) —= 2) 5 ud 3) 12 ud 4) 7 ud

3. Gt AC wiyyniGwqoh tpyupnipyniln:
1) 11 ud 2) 12 ud 3) 13 ud 4) 15 ud
4. QG D ququph htinwynpnipymGa AC wGlyjniGuqohg:

1) V29 us 2)2,69uf  3)649ud  4) i—gud
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15. ABCD gniquhtinwqdoh A wiljuG yhunpnp BC ynnip hwinmd k E
Yunmu: {wymbh t,np AB=6ul, EC =4ud, huy B ququph htinw-
ynpmpjniliG AE Yhunpnhg 3 ud t:

1. GGt A wlyjwl dtompniln:
1) 120° 2) 45" 3) 60° 4) 75"
2. Gt D ququph htinwynpnipniGG AE Yhunpnhg:
1) 4 ud 2) 6 ud 3)5ud 4) 3 ud
3. Gk gqnquhtinuqoh vko pwpdpnipjul tpupnipyniGn:
1) 8 ud 2)8,66ui  3)5J5ud  4) 5y3us
4. QuGt; AECD punwGljul dwybtptup:

1)36,37 ud’ 2) 213us®  3)27us® | (4)24 ud?

16. UtmuiGh hhipbnG 66 7 ud b 14 ud, hul wahmGwgdtpp’ 9 uwd L 15 u:

1. B°G; Gpyupnipjudp hwnwoGhph wpnhynid thnpp wGyniGughon’
wilyyniGuqotinh hwmdiw( Ytwnny:

3udlLSud 2)3udl6ud 3) 10ud LS ud 4)4ud L Sud
2. Gty utinuGh wiymbwqotinh yuquwo unip whlyjniGp:

1)30° 2) 45° 3) 60° 4)75°
3. Qunlity ubinuGh Ywybtpbup:

1355 o3 1355 o 4 13543

4 2 4

1) 58,45 us’ 2) ug®

4. Qan(ity vto hhiph wypnjtiyghwjh tpywpnipniGp vbnuGh dho
wllyniGuwqoh Yypw:

1) 7 ud 2) 15 ud 3) 73 ud 4) 13 ud
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17. Cpowlwqohl wpnwqdwd mnnublynil ubnubh Waé upniGpn
npwthiwl Yaunny mpnhywd k1 ud b 25 ud dwubiph:

1. Qun(t) utinuGhG Gtipgowd Jpewlwaqdh pwnwynh tpyupnipniln:
1) 10 ud 2)Sud 3) 5,5 ud 4) 3,5 ud
2. Qb utinuGh thnpp Ynnuh punpnipniGn:
1) 10 ud 2)5ud 3)6ud 4) 8§ ud
3. Qb utnuGh unip wGyjwb vhlniun:
5 12 3 4
1) 3 2) 3 3) g 4) A
4. Qb w)l pwnwblyywb dwybtptiup, nph ququpbtinn 2npwihdw b
Ybwntp GG:
1) 34,61 ug? 2)345u8®  3) % ud’  4) 69 ud’

18. NunulyyniG tnwmGlyjw b ninhn wGljwl ququphg mwpywd pwnpd-
pmpjul Gpywpnipymin 53 L, hulj totinhg whyh tpuwpmpymGp’ 10:

1. Gty G)Jwo toh ypnytijghwjh Gpupnipnilp GipplGwéhgh Ypw:
)5 2) 55 3) 10 4) 35

2. Qult] ninhn wGlyywl Yhunpgph b mwpjwod pwpbpnipjul Juqiwo
w Gl Gn:

1) 30° 2)15° 3) 60° 4)75°

3. Qi) ninhn wiyjwl Yhunpnh b Gepplwdhgh uqiwo unip
wGlyymGn:

1) 45° 2) 15° 3) 60" 4) 75"
4. Qun(t] bowGlyjwl ninhn wilyywb Yhunpnh GpunpnipniGn:

56 2 5V6(v3-1)  3)56(\3+1) 4) 156
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19. ABC tinwGlyywG BC ynnih sheGmnnuwhwjywugp AB Ynnip hwnnd
L D Yhnmd L uyn Ynng AB -G wmpnhmid £ 3:5 hwpwptinnipjunip
dwutiph® hwpywo A ququphg: {wymbht,np AC: AD=7:3,

AC =14:

1. GGt ADC tnw(GlyjwG wuwpwqhon:

1) 20 2) 30 3)25 4 40
2. QuGt; ADC tinwljwi dto whlyyniGn:

1) 130° 2) 120° 3) 150° 4) 90"
3. GGt ABC wGlyjwi dtonipyniGp:

1) 30° 2)15° 3) 60° 4) 75°

4. QuGt) ABC tinwGlyjwG thnpp pupépmpjul bpyupnipjniGp:

1) 5 2) 542 3) 55, 4) 53

20. MynuGyynG utinwGh thnpp hhdph tpyupmpmbp 10 &, W6o upmbph
tpljupnmipyniGp' 6, huy ump walniGp' 60°:

1. Qun(t) ko hhdph Gpywpnipyniln:

1) 14 2) 14,5 3) 13 4) 15
2. Qb utnuGh Shohl qoh tpyunpnipjniln:

1)12 2) 12,5 3) 13 4 11,5
3. Qb vbnuGh WES whlyniGwuqoh tpunpnipniGn:

1) 15\2 2) 14 N2 415

4. Qb ubnuGh GO walyniGwqoh L pwpdpnipjul Juqiwd unip
wiljwl dtonipynilp:
133

1) 130° 2) 45" 3) 60° 4) arctg 5
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21. ABCD utinu(hG Gapqowd t O YhGunpnlny L 12 ud punwynny
nowbwaghd, npp CD upniGpn pnputhmd £ E Ywnmad: UtnuGh
pwpépmpjniGp 1 wi-nyg thopp k §6d upmbphg, £A= /B =90,
AD > BC:

1. QuGt; COD wiyjwGp dhonipyniGn:

1) 60° 2) 90" 3) 120° 4) 150°
2. Qult; DE hwwnywoh tpyupnipyniln:

1) 16 ud 2) 9 ud 3) 12 ud 4) 10 ud
3. Qb ubnuGh Ywybptup:

1) 468 uy? 2) 1176 us®  3)365ud®  4) 588 ud®
4. Qb E ytnh htinwynpmipyniGG AB upnilphg:

1) %?uﬂ 2) %ud 3) %ud 4) %ud

22. CpowGwqdhb Ghpgowd ABCD/ pumwbyjub A walymbp 120°t,
AB=3, BC=8, AD=5u AB# DC:

1. QGunGb pwnwlyjuwla BD wGyniGuqoh tpunpnipniGp:
1)7 2)8 3)12 4)10

2. Qb punwllyywb CD Ynnih Gplyupnipjniln:
1)7 2)12 3)8 4)5

3. Qb ppowliwqoh Jwnwynh pupnipjniln:

1) % 2) % 3)6,5 4) 135
4. Qb pwnw(lyjwl dwytpbup:
N 353ﬁ 2 354ﬁ 3) 554ﬁ 8 25;E
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23. Cnowlwaghon, nph YuGmpnGp quGyny t mnnuGlyjn G towllyymG
o Eoh Ypw, ynputhnud k inwGlywG dyniu E9G ni GhppGwdhqp:

GnwljwG thnpp top 12 &, hul GappGwdhgh Ypw 2npwthiwb Yunny
wnwowgwd hwnywdltphg dtyp’ 8:

1. Qb tnwGyjw dto toh tpyupnipyniln:

1) 20 2) 18 3) 13 4) 16
2. Gunlby 2powlwqoh pwunwynh tpywnpnipyniGp:

1)6 2)8 3) 10 4) 12

3. Qi 2powlwqoh YhbGupnGh htinwynpnipjnilp tnwGlyjwG thnpp
wiljwl ququphg:

18 2)6 3) 12 4) 10

4. b°G; hwpwpbpnipjwip b pwdwlnd 2nyuhdwl Yhnp inwGlyjuwG
GtppGuwdhqp” hwpywo thnpp walyjul ququphg:

1)1:3 2)1:2 3) 2:3 4) 3:2

24. CpowGwghoG wigGmu k 12 vd L 16 vl Lotipny munnuGyyot
tinwljwl pnnp Ynnitph $heGwljtimtinny:

1. Qb tnwGlyywb dao shohl qoh tpywpnipyniGp:
1) 8 ud 2).6 ut 3)5J2ud  4) 10 ud

2. Qb 2powlwqoh pwunwynh GpywnpnipnGn:
1) 12 ud 2) 10 ud 3)5ud 4) 8 ud

3. Qb 2powlwqoh YulnpnGh htinwynpnipyniGp GippGwdhghg:
1) 9,6 ud 2) 4,8 ud 3)4,5 ud 4) 9,5 ud

4. Qb GtppGwdhgh Yypw ppowlwqony wnwowgwd hwnywoltiphg
wuibGwihnpph tpunpnipyniGn:

1) 7,2 ud 2)28ul 3)L8ui  4)2ud
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25. GnwllywG Ynndtph tpiuwpmpimGGapp hwpwpbpmd 66 hGswbu

26.

3:5:7, hull wwpwqghon 30 ud :

. Gulb) tnwGlyjwl dko Ynnih Gpupnipyniln:

1) 14 ud 2) 18 ud 3) 6 ud 4) 10 ud
GOt tnwlljwl o wiljuw b dtompniln:

1) 130° 2) 45" 3) 60" 4) 120°
Gt tnwllyjuw Gl wpnmwqowo powlwqdh Jwnwynh
tpunpnipyniln:

2873 ud 2) 14 ud 3) 1443 ud  4)7Bud

3 3

Gt tnwGyjuw Gl wpmwqowo powlwgdh Yalunpnlh
htinwynpmipjnilp vGo Ynnihg:

1)

2 73

CtnuGyywub pwpénmpnilp hwjwuwn L walymbGuqotinhg dtyh
YtuhG, huly thnpp wGlyniGughon 43 ust;

. Gunlb) 2tnulyyw6 unin wiljwl dtonp niln:

1) 40° 2) 45° 3) 60° 4) 30°
Gt 2tnulyywl Ynnih Gpupnipynlnp:

1) 43 us 2) 23 us  3)8ud 4) 6 ud

. Qb 2tnuiyywl vho wiyynitGwqoh tpuwpmpjniln:

1) 14uu 2) 12ud 3) 8ud 4) 6 ud
G (b 2tnulyyuinp Gipgowo powlwqoh Gpyuwpnipjnilnp:
1) S5z ud 2) 77 ud 3) 8z ud 4) 67 ud
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27. ABCD qniquhtinmqoh u9 #/B=2-2A, AB=6: B wiljwl Yhunpnp

AD ynmqip hwunnmd t E Yaunmy, nGn npma® AE:ED =3:2

1. Quit) B wllyjwbp vtonpniln:

28.

1) 135° 2) 45° 3) 60° 4) 120°

. Gty qnquhtnwqoh dto Ynnih Gpupnipjniln:

115 2)5 3) 12 410

. Gt AC wllynGwqoh tpyupnipniln:

1) 11 2) 14 3)13 4) 15

. Qult] E yhnh htnwynpmpjniGG AC wGlyjnGuqohg:

10+/3 243 83 3

ABCD tinuiljjub oty ~B =120, BD=20:

. Gult) ptnubyjwb Ynnih Gpupnipyniln:

20

1) 10 2) 20 3) 1043 4) =2

) ) ) ) N
GGt 2tnulyyul pupdpmipywb tpunpnipyniln:

1) 53 2) % 31043 4)16

Qb ptinubyyul AC wilyniGuwqoh tpyupnipyniGp:

1) 2043 2) 30 3)32 4) 40

GGty 2tnuGyyulp Gepqowod Jnewlwqoh pwnwynh Gpywpnipjnilp:
1) 4 2)5 3) 53 4) 443
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29.

p—

[\°]

w

30.

ABCD gmquhtinmqoh AC wiljnGuqghop fhumit A wGlymGp: B
ququphg AD ynnthG mwpjwd pupdpnipjul tpyupmpimbn 3 L,
ZBAC =30°:

Q. ABCD gniquhtinuqoh D wGljwuG dtonipjmGp:
1) 60° 2) 150° 3) 120° 4) 90"
Q. ABCD gniquhtinwqoh AC wlniGuqoh tpyupnipymGp:

)6 2) 243 3)3 4) 343

. @Gt ABCD gniquhtinuqoh dwytiptun:

1)9 2)3 3) 343 4)6./3

. GGt ABD tinwGlyjw6l wpmwqowd ppowlwqdoh punwyhnn:

1) /3 2)2 31 4)2\/5

ABC tinwlljjul C wllyjwl ququphg mupjwd tG CH
pwpdpmpyniGp (H -p qunbyni £ AB Ynnih ypw ) L CM
theGuqhon, pn npni§’ AH =3, BH =13 CM =213

. Gult) CH pwpdépnipjul Gplwpnipjniln:

5 2) 33 3) 442 4) 8
. Guit) ABC tnwiljuG A wGlyjmln:
1) 30° 2) 45° 3) 60" 4) 90"
. Gult; ACM tnwiljwll wpnwqowd Jpowlwqdh pwunwynh
tpnyupnipyniGp:
13 24/39
1) J/26 2) 213 345 4) =

Gty ACH bnwGlyjwip Gtpqowo ypowlwqdh Jwnwynh tpluw-
pnipjnilp:

1) 3(3-1) 2) V3 3)%‘/%) 4)3-3
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31. {dwjwuwnwunniG vknuGh thnpp hhiph tpunpnipyniGp 4 £, upmGph
tpyuwpnipyniGp’ 8, huly unip walynibn’ 60°:

1. Qb utinuGh vto whlyymGp:

1) 30° 2) 90" 3) 120° 4) 180°
2. Qb ubnuGh pwpdpnipyniln:

1)4 2)43 3) 42 4)2
3. Qun(t) ubnuGh dko hhiph tpupnipniGn:

1) 8J2+4 2)8J3+4  3)10 412
4. Qulty utinuGh dwytptup:

1) 2443 2)415+8  3)1643+16" 4) 323

32. ABCD nunulyjui ity AB=12, AC=24:
1. Qult; BD wilyjmGuqoh tpiupnypjnln:

1) 12 2) 16 3) 20 4) 24
2. Qult; CAD wllyjwl wumhdwlwjhl swihn:

1) 60° 2)45° 3) 30° 4) 50°
3. QG BC ynnuph bpljupnipjnin:

)12 2) 16 3) 1243 4) 125
4. QG ABCD ninquilyjwl dwytipbup:

1) 144 2)1443 3)1445  4)160
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33. ABCD gqmquhbnwigdh dhg AB=6, AD =10, ZABC =150°:
1. Qb gniquhtinwqoh wwpwqhon:
1) 16 2)24 3)32 4) 8
2. Qunlt; £BAD-G:
1) 60° 2) 90" 3) 50" 4) 30"
3. Qult; B ququphg mwpjwo thnpp pwupépnipjniln:
5 2)4 3)3 4) 33
4. Q) gnquhtnwqoh dwltptup:

1) 18 2) 15 3) 30 4).303

34. Spywd t ABC tinwGlyymGp: {wywbh tyap AB=BC =6, Z/A=45";
1. QG £BCA-G:
1) 90° 2) 60" 3) 50" 4) 45"
2. Qb A ququphg mwpgwo pupdpnipjniln:
1)4 2)6 3)5 4)3
3. Qult; LABC«(:
1) 120° 2)90° 3) 60° 4) 50°
4. Qn(t] bonwGlyjwl dwytpbup:
1)12 2) 36 3)18 4) 16
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AUFhL 9. SUMUOUQUONKME3NFL

1. GuGnGwynn tinwGlyyniG pnipgh YnniGuyhG Ynnp 6 ud &, hhdph
ynnin” 8 ud:

1. <twnlyw] ywwnytplitphg n°pG £ hwiwywnwufuwlind fulnpnid
Gywo ywjiwGha:

NP

. Gulb) pnipgh YnnuGujhG swybpunyph dwybpbup:
1) 24 ug? 2) 85 ut?  3) 245 ud* 4) 125 o’

N

N
oo

(=)

N

w

. Qb pningh owywyp:

1)18J33 ut®  2) %—Fmﬁ 3)12433 us® 4) 961 ud’

. Gt pnipngh YnnuiGwyhl Ghunh ququph hwpp waljwl Ynuhlniun:

I

1 1
1)-0,5 2)= 3)0,5 4) =
) A3 ) )5

2. ABCDABC,D, junpwGwnpnh Ynnp 6 ud t:

[a—y

. Gult) AC, wilyniGwqoh tpluwnpnipynilp:
1) 4ud 2) 6J2ui  3)643ul 4)8ud
2. Qul A, B, C Ytwnmtpny wlglnn hwwunnyph dwybtptup:
1) 15,85 w? 2) 182 us?  3) 8u? 4) 1843 u?
. QGult A, B, C Ytwmbtpny wlglnn hwwnnyph dwltipbun:
1) 36V2u®  2) WEul®  3)245us’  4) 183 g
. QGumlt; AB, L BD mnhnGtph juqiwo whlyniGp:

1) 30° 2) 45° 3) 90" 4) 150°
114
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3. ABCDABC,D, ninquGyniGwGhumh hjnipp 32 ud wwpwqonyg

pwnwlnwuh t, hulj 1nhy dwitplmph dwitintup YpyGwyh deo t
UnniGuyhl dwitnlnyph dwlybptuhg:

1. QuGt) ninuGlyyniGuwGhunh hhdiph Ynnih Gpupnipniin:
1) 3 ud 2) 8 ud 3H15uf 4) 24Bud

2. Qb mnnuGyniGubGhunp wayn Guqoh tpunpnipjnln:
1)3,5 ud 2) 52 ud  3) 12 ud 4) 62 ud

3. Q) DD, mnnph . ACC, hwippnipjuG htnwynpnipjniGp:

1) 442 ud 2) 4 ud 3) 52 ui  4).6.25u
4. Qb mnnuGyyniGuGhunh dhtbnylG ququphg mwpjuo
wilyyniGuqoh L YnnuiGwjhb Ghunh wGyyniGuwqoh juqiwo wiyjwb
uh(niup:
J3 25 2

) 23 Ve 93

4. GQunGunp punwlljymbGwphqiwgh hiniph Ynmin 3\/5 L, huly
wphqiwgh wilpyniGughon” 12:

1. Gl wphqiw)ppwpdpnipjwl bpiupmpymGp:

1) 32 2)6 3) 3J5 4) 643
2. G-t wphqdwjh Swywp:

1) 542 2) 245 3)108y3  4) 2743

3. Qult yphquwjh wiyjniGwqoh L hpiph hwppnipjwul juqiwo
wlljwl nmwbqblup:

1 2) 3 3)0,5 4) 243

4. Qb yphquiwjh hhdph wGyyniGwqony wlglnng wjl hwwnniph
dwltiptiup, npp yphquiwjh hhdiph htin juquind k 60° wGlyyma:

1) 18 2) 8.3 3) 246 4)2
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5. Mphqiwygh hhdpp tonwGyymG t, nph tpym YnmitnG GG 4 L S, huly

npubg fuqiwd wilymbp 60°: Mphqiuigh YnniGwshG Yonp «/6 Ll
hhiph hwppnipju htan Yuqin t 45° wyjmG:

1. Q] yphquwyh hhiph dwlybtptup:

1) 15 2)5\3 3)10 4) 1043
2. Qult] yphquwjh pwpépnipjul tpupnipynln:
1)6 2)2\3 3)3 4) 3

3. Qb yphquiwjh owywin:
1) 30 2) 152 3)15 4)5

4. Qn(t] yphquiwjhl hwjwuwpwibo funpwlwnpgh Ynnh Gpywpni-
pjnGp:

1) 35 2) V15 3)5 4)3

6. GuGnGuynp towGlyymG pnipgh hpdph Yonndp 43 t, huy YnniGuyhG
ynnp® 245

1. Gty pnipgh owyuyp:
)83 2)24 3)2443 4)4\3
2. Qb pnipgh hpdphG wnplptp GpyGhum wGynin:
1) 60° 2) 45° 3) 30° 4)15°
3. Qb pnipngh YnniGuyhG Ynnh W hpdph hwppmipjul juquwo
wiljwl nmwbqblup:
1) ? 2)+/3 3)0,5 41

4. Qn(t] pnipgh fuwgynn Ynntph yuqiwo whlyjndn:

1
1) 30° 2) 60° 3)arccos—  4) 90"

B
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7. QulnGunp pwnwGlymb pnipgh pwpdpmipyniGp 8 &, huy I%nmi-
GuwyhG Ghuwnh L hhdph hwppmipjul Juqiwd wGlyyniGn 30

1. Qult] pnipngh pwpépnipjwb L hwppwqoh Juquiwo whlyynibp:

1) 60° 2) 45° 3) 90° 4)30°
2. Qun(t) pnipgh hwppwqoh tpyupnipjniln:
1) 24 2) 8J7 3) 16 4) 83
3. Qb pningh hpdiph Ynnih GpupnipyniGn:
1) 43 2) 12 3) 843 4) 1643
4. Qan(ty pnipgh owywyp:
1) 2048 2) 1024 3) 6144 4) 512
8. G qwuGh hhdph pwnwyhnn 4 ud t, huly pupdpmpyniGn’ 843 ud:

1. Quit) qquih wnwlgpwjhG hwmnijph dwytintiup:

1) 3243 w2 2) 192w\ 3) 6443 us? 4) 96 uy?

2. Qb qqubh wnwlgpwyhG hwwumniyph wiyyniGuwqoh L hhdph
hwppnipjul Juquimo whlyniGn:

1) 30° 2)60° 3) 75° 4) 45°
3. Qulh] qqubh YnniGwjhG dwybplnyph dwytptup:

1) 32437 wi®  2) 6443 ud® 3) 3243 ud® 4) 6437 u’

4. Qun(b) qquGh owywyp:

1) 128\37 us®  2) 3847 us® 3) 128 us® 4)ﬂ ug’
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9. Qquih ummﬁgpul_]yﬁ hwwnniyph wGlyjniGwaghép 24 ud & L Gpw 6Gnpnh
htim Juquinu £ 45 wGlyymG:

1. Gty qulh hhdph zwnwynh tpwpmpymGp:

1) 642 uu 21242 ws 3)12ud 4) 24ud
2. Qb quubh pwpdpnipjul bplwpnipyoiGp:

1) 642 uu 2) 6314 ud  3) 1242 u 4) 1214 wu
3. Gt qqubh YnnuGuyhG dwytplnyph dwybtptun:

1) 1447 us? 2) 5767us?  3)144./2 zui?  4) 288z un’
4. Qb quubh owyun:

1) 288v27 ni® 2) 0,864427nqu® 3) 172827’ 4) 4327 ni®

10. UYnGh YnniGuyhG dwytplnyph hngwopn 120° wntnny L 3 tipjuw-
pnipjuip wnwynny ubtijunn k:

1. GGk YnGh 0Gnpnh Gpwpnipyniln:

1) 643 2) 12 3) 6 4)3
2. Q) YnGh hhdph2powlwqoh tpywpnipyniln:

1) 4z 2) 27 3z 4) 2?”
3. Qulb) YnGh YnnuiGuwjhl dwytplnyph dwytpbup:

1) 3z 2) 67 3) 12~ 4) 2r

4. Qan(ty YnGh hpuiph Jwnwynh pupnipniln:
1)4 2)3 31 4)2
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11

1.

12.

. Lwwnwo YnGh hhiptiph pgwnwyhnGtpp 6 L 14 GG, huy dGnpnp” 17:

Gt hwwnwo YnlGh wnwlgpwjhl hwwmniyph ywpwaqhon:

1) 37 2)74 3) 54 4) 57

Qb hwnwo YnGh pupépnipjwb tpupnipynilp:

1)9 2) 11 3) 13 4) 15

Gn(t] hwwnwo YnGh owjwn:

1)340~ 2)948 x 3) 1580~ 4) 740

GGt hwwnwo Ynbh ;phy dwybplnyph dwytpbunp:

1)302~ 2)532x 3)572x 4)428 r

ABC hwjwuwpwunpniG tnwGlyjmGp wunnyod £ dh wewGgph

oning, nnG wGgGmu £ Gpu A ququpm] L gmquhte &t BC hhdphG:
{wywmbht,np AB=AC=51L BC=6:

. GGt BC ynnih yuunniuihg wnwowgwd dwybplngph dwytptup:

1) 607 2) 48x 3) 967 4) 1507

Q.G AB upnilph wywmwmnithg wnwowgwo dwytiplngph
dwltiptiup:

1) 487 2) 157 3) 20 4) 12«
GGt wunundwl dwpdGh Jwytplngph dwytptun:
1) 887 2) 100z 3) 7187 4) 87
Qb yununiwl dwpilh owyuwip:

1) 64rx 2) 1287 3) 144r 4) 32r
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13. Qquih wnwGgpwjhG hwnnyph wmblyniGuaghon 8 t, huyy 6Gnpnn” 4:

1. Gl qqubh wnwlgpwjhG hwwnnyph whlyjnGuqoh L hhiph
hwppnipjul yuquwo whlyniGnp:

1) 60° 2) 45" 3) 30" 4) 90"
2. GGt qqubh hhiph mpwiwqhon:
1) i 2)4 3) 443 4) 42

3. Qulh) qquGh YnniGujhG dwybtplnyph dwybptup:
16
1) 16,37 2)16\27  3)16x 4) —‘/_;z

4. Qb qqubh wnwlgphG gniquhtin L wnwiligphg 2 hinwynpnipjwG
Ypw qualynn hwunniyph wiyn Guqoh ipwnpnipjniGn:

1) 443 2) 42 3) 343 4)8

14. UnGh dGnpnh hpllulpmpjmﬁn 10 £ L hhiph hwppmpjwuG htn
Juqinud k 30° wGyniG:

1. Qb YnGh pwpdpmpjniln:

1) 543 2) 542 3)5 4) 6
2. Qb YnGh hhdiph Jwnwyhnp:
1) 543 2)5 3) 542 4)7,5
3. Qb YnGh owywn:
) 125;/5” s 3Ty %

4. Qun(b) YnGh ququpny wlglnn hwppnipjudp wjG hwwunniyph
dwtptiup, npG wikGwutod k:

1) 253 2) 50 3) 5043 4) 100
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15. UnGh pwpépmpjwl tinuwpmpymGp 10 t, huy 6Gnpnnp hhdph
hwppnipjul htin juqima & 30° wlyymG:

1. Qb YnGh oGnpnh GpywpnipyniGp:

1) 10 2) 20 3) 4) 1043

2
J3

2. Qb ynGh hhdph ywnwyhnp:

10
1) 10 2) — 3) 2043 4) 1043
) ) N ) )
3. Gl YnGh YnnuiGuwjhG Jwybtplnyph dwytipbun:
1) 2003 2)100037  3) 2003z 4y 2%

3

4. Qulty YnGh ququpny wlglnn hwppnipjuwip wjl hwwumnyph
dwtptiup, npG wikGwutod k:

1) 200/3 2) 10073 3)400 4) 200

16. UnGp GtpqoJwd t hhdph 6. 2unwihn mGhgnn quuimd wjGutu, np
nGh ququpp hwinlyGmad £ gqmbh JtphG hhdph YhGunnpnGh htwn,
huy hhipp® quuGh uvnnphG hiniph htin: YnGh dGnpnp 10 t:

1. Qb qqubh YnnuilGwjhl Jwytplnyph dwybkpbun:

1) 967 2) 48« 3) 54r 4) 457z
2. Qb YnGh phy dwybplngph dwytptup:
1) 967 2) 167 3) 367 4) 1087

3. Qb qqubh wyl dwuh owywip, npp qubynid £ YnlGhg nnipu:
1) 92 2) 1087 3) 1927 4) 967

4. Qn(b] qqubh wnwlgph vheGwytwnny Gpw hhdphG mwpjuo
qniquhbtin hwppnipjudp unwgyuwo hwmniyph wjl Jwuh dwitiptiup,

nnn qunlymud E YnGhg nnipu:
1) 367 2) 4z 3) 97 4) 21rx
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17. ABC nupqullyyniG towmGlyjmG AB GtppGwmdhqp , npp nlwo k. «

hwppnipjwl vhg, hwjwuwp £ 62 : AC t9p o hwppmpjw htan
Yuquind k 45° wilynG, huy C mnhn wGlyjwl ququphg wjn
hwppnipjwlp mwnwd CC, mynuhwjwgn hujwuwn £ 2+/3 :

1. Gt ABC tinwGlyjwi dhohl qotiphg WkoG plingpynn ninnh b o
hwppnipjuwl htnwynpnipjniGp:

1) 2 2)43 3) % 4) 2
2. Qb BC t9h L o hwppnipjul juquiwd walyniGp:
1) 300 2) 45° 3) 60° 4) arcsin@

3. Gk CABC, tipyGhuwm wGlyniGp:
1) 30° 2) 45° 3) 60° 4) arcsin?
4. Qun(t) ABCC, pningh owduwyp:
1) 12V6 2) 46 3).8V6 4) 82
18. GwlnGuwynp punwblyymb wphqiwjh hhdiph Ynnin 6 t, huly
YnnuiGughG Yonnp' 3:
1. Gt yphqiwgh YnniGuwjhG dwytpunyph dwytpbun:
1) 54 2) 72 3) 108 4) 144

2. Gt yphqiwjh owjuyp:
1)216 2)72 3)54 4) 108

3. Qut] yphquwjh wiyniGuwqoh tpyupnipniGn:
1)8 2) 12 3)9 4) 15

4. Qn(ity yphquwjh wayyniGuwqow hl hwwmnyph dwytipbup:
1) 18V2 2) 3.5 3) 93 4) 18
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19. (linhn GowGlymG wyphqiwgh hhdpn 3 L 4 totpny nunnuGlyynG
tinwGlyyniG E, huy pupépnipyniGn hwjwuwn t 6:

1. Quwt] yphquwyh hhdph dwytipbun:
1)6 2)7 3)5 4) 12
2. Qb yphqiwjh Swywyp:
1) 15 2) 18 3) 36 4) 72
3. Gk yphquwjh hhiph Wk Ynnun:
1)4 2)5 3)6 4)7
4. Qan(bt] yphqiwjh YnnuiGuyhlG dwytiplnyph dwytptup:
1) 36 2) 84 3)42 4)72

20. GYmGnGunp pwnwGlynil pmpgh pwpdpnipjnilp 4 &, huy hhdph
Ynnup’ 6:

1. Qb pningh Swywyp:
1)32 2) 48 3)72 4) 144

2. Q) pnipngh YnpuiGujhG Ynnph tpyupnipyniGn:

5 2y /34 3) 42 4) 213
3. Qun(b) pnipgh hwppwqoh tpwnpnipyniGn:
5 2) 34 3) 42 4)7

4. Qan(by pnipgh 1nhy dwytiplnyph dwybkptunp:
1) 60 2) 48 3) 96 4) 120
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21. GuGnGuwynp tnwGlymG pnipgh hhiph Yynip 12 t, huly hwppwqhon'
4:

1. Qb pnipgh YnnuiGuyhl dwytiplngph dwybtptup:

1) 48 2) 64 3)72 4) 144
2. Qb pnipgh YnnuiGuyhG Ynnh tpyupnipynGp:

1) 10 2) 245 3) 4410 4) 2.13
3. Qb pnipgh pwpépnipynilp:

1)1 2)2 3)1,5 4)3
4. Qb pnipgh owwyp:

1) 7243 2) 483 3) 3643 4) 243

22. UnGh pupépmpymGp 12 t, hul hhdph wpudwghon™ 10:
1. QuGt YnGh oGnpnn:
1)13 2) 2./34 3) 15 4)17
2. Qb YnGh owywyp:
1) 657 2) 1207 3) 100~ 4) 300~
3. Qb YnGh wnwlgpwjhl hwwnnyph dwytipbup:
1) 120 2) 40 3) 65 4) 60
4. Qb YnGh YnnuiGujhG Jwybtplnyph dwybptup:
1) 607 2) 657 3) 156~ 4) 90
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£UIHL 10.  GNNCAPLUSLELR UGENY, d6USNALER
1. Spwd 66 A(L 2), B(-1 3) L O(0; 0) Yhwbpp:

. Gl BA ytlywmnph YnnpmhGwwmGtpn:

[a—y

n {21 y{2-1 3y {2-1 4{2-3
2. Qun(it; OB hwwnqwoh tplupnipmGp:
1)4 2)2 3) 242 4) V10

w

. Gulty OA L OB Jtyunnpltph vjwuwp wpmwgpyuin:
1)-6 2)5 31 4) -9

. Gty BA L OA ytyumnpltnh juqiwo wlyynGp:

I

1) 180° 2)-90° 3) 0° 4) 90"

N

. Spywd b a{2; -3} L b{3; 2} YuywnpGlpp:

. Gl 5 Jtyumnphl hwiyninnyuo b Gpu tpupmp nilhg 3 wliqud
ko bpyunpnipjunip ytumnph YnnpphGuwnmGhpn:

1) {-6;9} 2) {6;-9}  3){6;9} 4) {-6;-9}

[a—y

[\

. Qun(by @ L b yuynnpGtph Yuqdwd walnGp:
1) 30° 2) 45° 3) 60" 4) 90"

. Qb —3a+2b Jtywmnph YnnpnhGuunGtpp:

w

1) {12; 5} 2){0;13}  3){12;13} 4){0;5}
4. Qb —5a ytyunph tpyupnipyniGp:

1) 5J13 2)5 3) 5J6 4) 25
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3. Smlwo b6 a=37 —4] U b =4i +3] ytljmnpGhpp:
1. Gty a ytyumnph YnnpnhGwwnGbpn:
1) {3, 4} 2){3,-4} 3 {-L0} 4 {7;-1
2. Gl b yJtywmnph tplwnpnipjniGn:
1)2 2)7 3)5 4)-5
3. Gty 2a—b Jtyumnph YnnpmhGwwmGtipn:
1) {2;-11} 2) {L, -4}  3){3-8  4) {30}

4. Gl aub Jtumnnpltinh juqiwo wilyymbnp:
1) 60° 2) 90" 3) 120° 4)45"
4. Spqwd k. AB{—4; 6} Ytlunnpp:
1. Gt A Ytwnh YnnpphGuwwnGbpp, tpt B Yuwh YnnpnphGuwnGbnG 66" (3;1):
1) (-17) 2) (-7:5) 3)(7,-5) 4 (L-7)
2. LpJwoltphg n"pytyunnG & hwdninjuio AB ytywnphG.
1) {4; -6} 2) {23} 3){-19} 4 {6 -4
3. U2Jwoltphg n"p Yytunpl k ninnuhwjwg AB ytljuinphG.
i 2) ] 3)2i-3]  4)3i+2]
4. Laqwoltphg n°pp qunywlwd Yalnnp k.
1) AB+BA 2) 0-AB 3) 5-AA 4)BA-AB
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5.Spqwo 66 A(4; 1), B(-2; —3) L C(—4; 2) Ytwbpp:

1. 0°p pwnnpnhG £ yunuimd A Yhwp:
I 2) 11 31 41V

. GGt D Ytwnh YnnpphGuunmGhpp, tph AB=DC:

N

1) (6; -6) 2) (2, 4) 3) (-2, -4) 4)(-6;6)
. Gl BC +] Jtjunph YnnpphGwwmGbpp:

1) {-6; 0} 2) {15  3){-26} 4 {2-4

w

I

. Spywd Yhwnbphg n°pl k qubynus x* +(y —1)2 =17 opowGwqoh Ypw:

1) A 2) B 3)C 4 ny dkilyp

)

. Spjwd 66 A(3; 2; 4) L B(-3; 2, —4) Ytanbpp:

[u—y

. Gl AB ytumnnph YnnpghGwwmGbpp:

1) {0; 4; 0} 2) {6::0;8}  3) {-6;0; -8} 4) {-3; 0; -4}

2. AB hwunyjwoh dheGwltivnp ywwnlwlnud k.
1) OX wnwGgphG 2) Oy wnwgphG
3) Oz wnwGgphG 4) Oxz hwippnipjuGn

3. A L B Jtwbpp hwdwygwih GG.

1) Ox wnwGgph Guundwdp 2) Oy wnwlgph Guwndwdp
3) Oz wnw(gph Gyuwdwdp  4) YnnpphGuwnGhph uyqpGulytnh

(yuuniwip
4. AB, i Uk ytywnpGhpp.
1) hwdwhwpp &G 2) mwpwhwpp GG
3) hwiwqho G 4) qnijq wn qnijq thnfuninu-—

hwjwg G0
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7.

[y

N

(53]

S

oo

[

OABC nupnuiljjm@ tipbp ququpGbnG &G O(0; 0), A(4; 0)

L B(4;-6):

Qun(it O Yhwnh Gundwdp B -h hudwswih Ynh YnnpnhGunGhpp:
1) (-3 2) 2) (-4,6)  3)(46) 4) (8; -12)

Qi) ninnubyjub C ququph YnnpphlGuwwnbbpp:

1) (-4, 0) 2) (0;-4) 3)(0;-6) 4)(-6;0)

bGs® wGlyymG 66 yuqinid AC L BO ytyumnnpGtipn:

1) prup 2) umip 3)thnqwo 4) nughn

Q.G ABC tnwGljwG6 wpmwqowd ppowlGugoh hwjwuwnpnudp:
1) (x=2)"+(y+3)" =13 2) (x+3)? +#(y—-2)* =13

3) (x—2)" +(y+3)" =13 4) (x42) +(y+3)" =52

 Spjwd BG A(-2; -2), B(22) L c(—5J§; 5J§) ytwnbipp:

G-ty AB ytlwumnph YnonpghGuwwunmGtpp:
1) {0;0} 20{—4;-4}  3) {4; 4} 4) {0; 4}

Gty ABK tnwljul dwltiptiup, npntin K -G A twmh hwdw-
swihG E Oy wnw(gph Giuwmdwdp:

1)8 2) 16 3)4 4) 12
GunGt) ABC tnwlljul CD dholGwqoh tpyupnipniGnp:
1) 10 2) 52 3)4 4) 1072
GGt A L B Jtwnmtipng wlglnn ninnh hwjwuwpnudnp:
1) x+y=0 2)x-y=0 3)x-y=1 4)x+y=1
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9. Spwd 66 d{L;m}, b{2m;3} L ¢{2;2} JulnnpGhpp:

1. m-h nop wndtiph niypmd k. a +b Jtyunpl ninuhwjwug ¢ Ytywn-
nhG:

2 4 4
H-% 2) -2 3) 2
)73 ) 73 )3

4)2

2. m-h nop wndtiph niypmd k. a -b Jtyunpp hwdwgho € yulywumnphd:

1) % 2)2 3) _g 41

3. m-h nop npnulwl wpdtph nhiypnd £ @ yayunph tpupnipjniGp
tipynt wlquud dto € Yytywumnph tpyupnipjnilhg:

1)1 2) V7 3) 15 431
4. m=1ntypnmy qunGt] a L b JtyumnpGtph yuqiwo wilyjwb
YnuhGniup:
5 3 4 7
1) = 2) = 3) = 4) =
N IR NG

10. Spqwd kG a{3; —4}; b{4; 3} JuyunpGhpp:

1. Gl b-a Jtljuunph YnnpphGwwmGhpn:

D {5 -7} 2) {-17} 3){-L-77 H{L7

2. Gl a JtljuunphG hwywnhp yaymnph YnnpnhGuwunmbtipn:

1) {-3 4 2) (-3,-4}  3) {34} 4) (3, -4}
3. Qb @ L b ytwnpGtph Yuqiwd wilymbp:

1) 30° 2) 45° 3) 60" 4) 90"
4. QunGt) 2a—b ytywnph tpwpnipymGp:

111,18 2) 53 3)5¢5 4) 35
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11. Spjwd b6 B(-1; —3) Yhwnp L b{4; — 6} Ytlpmnpp:

1. ‘UpqwoGtphg n°npG E ynnpphGuwnGtph uyqpGuwybnng L B Yhwmny
w(glnn ninnh hwjwuwnpnudp.

l)y:%x 2) y=-3x 3) y=3x 4)y:—%x
2. Uwmnpl Gpywd yblunnpGtiphg n°nG E hwhnmngwd b yblmnphé.

1) {~6; 4} 2) 2,3} 3) {64}  4) {6,-9}
3. Qb A Yhwnh YnnpghGunGhpp, tpt AB = %6 :

1) (2,-3) 2) (3;-9) 3) (-3,0) “4)(-23)

4. Qunll b -1 ujupywp wpmwnpyun:
1) 4 2) -2 L6 410

12. Spywd GG A(-1 5) Ytnp L a{3; 1} ytywmnpp:

1. QuGh; A ytnh htnwnpmipjniGp Oy wnwlgphg:

1 2)'5 3)-1 4) \J26

2. Qb w6 ninnh hwjwuwpnuip, npG wigGmd £ A Yhnng L
qniquhtin . OX wnwGgphG:

1) x=1 2) x=-1 3) y=5 4) y=-5
3. Q] B Ytwh YnnpnhGuwntbpp, tpt AB=a:

1) (2;-6) 2) (3;1) 3) (4; 6) 4) (2; 6)
4. G)qudlbphg n°p YayunpG £ hwyninjud  a -ha.

) {% 1} 2 (6:2) 3) (-6,-2) 4) {13}
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13. Spywo 66 A(L; 2), B(-3;1), C(-5; 9) ytwnbpp:

1. QG AB+BC ytyumnph YnnpnhGuwwnGbpp:
1) {-4; -1} {67 {47 4 {411

2. Qully AC Jtjumnph tpuwpnipjniGp:

1) \/85 2) 13 3) /65 4) 17
3. Gl AB L BC Jtywmnpltph Juqiwo whyjmbn:
1) 30° 2) 45° 3) 60" 4) 90"

4. QG b -G, tpt hwywmGh £, np C Ytwp quGynidt y=2x+b mnnh Ypw:
1 2) 14 3) 19 4) 90

14. Spwd k6 af2; -4}, b{l; -2} YtwnnGhpp:

1. Qull alb Jtumnnpltinh ujuywp wpunwnpyup:
1) 10 2)-10 3)6 4) -6

2. Qb alb Jtyumnnpltinh juqiwo wiljub Ynuhlnwun:
D 2) -3 31 4)-1

3. c{-2;8), di~4; -8}, ef4; 8}, ?{— J2; 2\/5} YtlpinnpGhphg nph°G &
hwdwqho a ytlwumnpn:
1) ¢ 2)d 3) e 4) f

4. Qulby a+2b Jtywmnph GpywpnipjniGn:
1) 4 2) 445 3) V20++45 4)2
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15. Guunwnt) wnw9wnpuGpGtnpp.

1. Gt Oy wnw(gph ypw A(L; -2; 1) Ytanh wpnjtijghwa:
1) (0; 0;1) 2) (0;-2,0) 3)(0;1) 4) (-2;0;1)

2. Qb i U -2k +3] ytyunpGph Yuqiwd whlndGp:
1)0° 2) 180° 3) 90° 4) —90°

3. Qulity a{2; —2; 1} JtyunphG hwdmnnjwo € Shunp Yhljmnpp:

| 2.2 1 ~ 12 21

1) {1 0; 0} 2) e{—g; 5; —5} 3)e{L 51 4) e{g; —5; 5}

4. Spywo b A(2; 4) L B(—2; 4) Yhwnbtipp: G-nGl AB wpuiwqony
nowliwqoh hwjwuwnpnidp:

1) xX*+y*=16 2) x2+(y—4)2 =4
3) x2+(y—4)2=16 4) (X+2)2+y2 =4

16. Spywd b6 A(-3; 4), B(-1-3) L 'O(0; 0) Ytanbpp:
1. Qb A Yhwnh hwdwswth Yhnp B Yhnp Gundwdp:
(21 )& -2) 3)(-1 2 42
2. Qan(ity AOB wljwG YnuhGniup:

3 3 9

9
Do Yo Vs 50

3. Spywo Yhwntiphg npn®Gp GG qubymd x+2y—-5=0 mnnh Yypw:

4)

1) A<GLO-G 2)B-GL O-G 3) A-GL B-G 4)A-G, B-GL O-G
4. GQnGh C Yhwh YnnpnhGuwwnbpp, tph BC =2-AC
1) (5 -5) 2) (-5,-5) 3) (-7;5) 4) (-5; 5)
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17. Smwo GG A(0; -7), B(4; —3), C(-5; —3) Yhwnbipp:

1. QuGt; BC hwwnywoh tpyupnipniGn:

1) 10 2)9 3)8 4) 1
2. Gty BA yJtumnnph YnnpnhGuwmGhpp:
1) {4; 4} 2) 4 -4} 3) {4 -10F 4) (-4 -4
3. Gl BA L BC Jtyumnnpltnh ujuwpywnp wpumwnpyunp:
1)-36 2)30 3)36 4) (-13,-4)
4. QuGt; ABC wGyjwi dtonipyniGp:
1) 60° 2) 45° 3)30° 4) arccos =

18. Spwd 66 ABCD pwpwymum A(-3;1), B(0; 4), D(0; —2)
ququpltnp:

1. GGt ABCD pwnwlnwunt Coququpn:
1) (;,-3) 2).(=13) 3)(31) 4) (3;,-1)

2. Qb AE L.AD JtyunpGhph ujupwnp wpmwnpyup, npntn E -G
pwnwlniuntwinibwqotiph hwwndwb YhwnG E:

)0 2)9 3)6 4)-9
3. Qut] pwnwlynium CB L CD ynnutph dheGwlybtwmbph
htinwynpnipjniln:
)6 2)1 3)3 4) 32
4. QuGt; ABCD pwnwlniuniG wpmwqowd pnowlwuqoh
hwyjwuwpniin:

1) x*+(y-1f =3

2) X2 +(y+1)° =3
3) X2 +(y-17 =9

4) (x=1) +y* =9
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19.

ABC tnwllywl ququplhnG tG* A(0;1), B(-L —4) L C(5; 2):

. N°n pwnnpnhG £ yuwunuGnmd B yhwn:

DI )1 3) 111 41V

. Qb tnwGyyuG A ququphg nwupjuwo AM dhoGuqoh
tpunpnip niln:
)22 2)4/10 3)4/13 4)2

. Gty AC U ﬁlﬂiqmnpﬁhph ujjuwn wpumwnpjwn:

1)0 2)-10 3)-5 4) 10

. N°nG t B L C Yanmbpny whgGnn ninnh hwjwuwpnidp.

1) x+y—-3=0 2)x—y+3=0
3) x—y-3=0 4Hx+y+3=0

20. Spjwd b6 O(0; 0; 0) b AlV2; 3 5) Yhintpp:

1.

QnGt) Oy wnwlgph Guwmdwdip A Ytwnh hwdwswth Yhnp
UnnpnhGuwwunGtnp:

D (23 -5)_2) (=2, -3, -5)3)(5; -3;v2)  4) (V2;3;5)
Qun(t; AO ytlwnph YnnpnhGuwnGhpp:

D {V2-35]  2) {0,0,0} {235 4) {-V2;-3-5|
QunGly OA Ytlywnph tplwpnip)mGp:

1)6 2) 2++2 3) 12 4) 1542

4. Qunlly OA Jtywmnph wypnjtiyghwjh ynnpnhGwwmbtpp Oyz hwppni-

pjwl ypw:

D0 -35 2 V2-35) 3){03-5  4) V23 -5
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21. Spwd kG A(2; 1, —2), B(3; 2; 0) L C(3; 1, —1) Yhwnbpp:

1.

22.

Spywo Ytnmbiphg n"nG t yuwnuwlnd Oxy hwppnipjwp.

1) A 2) B 3)C 4) ng dtlyp
Qnlty AB ytlwmnph YnnpnhGuwmGbnpn:

DELL2 2{1-1-20 32-20 4620
Gty AB L AC JtlwmnpGtph vjwjuwp wpmwnpjun:
1)0 2)2 3)3 4) 6

GGl AB L AC Jtyunnpltinh juqiwo wiyjw b wumhdwlwjht
swhp:
1) 30° 2) 45" 3) 60" 4) 90"

A(-2;1;1), B(3; 1 —1) Yantipp ABC tnw6ljyuG ququpltp b6, huy
M(L 2; —1) yanp AC Ynnih shGultunG t:

Qun(iky M Yt htnanfnpuipyniGp YnnphGuinGhph uygpGulknpg:
1) -1 2)1 3) V6 4 3

Qun(it) C YhnpynnpyhGuwnGhpp:

1)(0;3-1) 2 (2-1-3) 3)(43-3) 4) (-4; 0; 3)
Qun(ity BC Yynmih tplpwpnipymép:

1)3 2)6 3)5 4) \21

. Gunlby BC Jtumnph YnnpphGwwmGbpnp:

{11 1 )L 22 3H{-L-22 {2 -2

136



QLNMuU 1 PUJDYL 10 unneahuusSuverh UGENY, JsusSneuvee

23. Spqwd kG A(2;3;-1) L B(5;7;k) ytantpp:

1. k-h n°p wpdtph niypnid AB hwunwoh theGultnp Yqunbgh OXy
hwppnipjul dty:
1)1 2)0 3)2 4) -1
2. k -h n°p wpdbtph nhypnid AB L a{}; 11} JtywumnpGhph ujuiyup
wpunwnpjwin Yihth 0:
1)8 2)-10 3)-8 4)0
3. K -h n°p wpdtiph niypnid A L B Ytwmbtiph htinwynpnipyniGp YihGh 5:
1)-1 2)1 3)0 4)5
4. K -h n°p wpdtiph ntiypmy AB L a{3; 4; 5} ‘YulwmnpGtpp YhGba
hwjwuwnp:

1) 4 2)5 3)l1 4)0
24. A(-12;2) L B(2;,—2;-6) Yntpp' ABC tnwGljwl ququpGhn b6,
huy M (L1 -1) yhwp AC -hShoGwlytanG t:

1. QunGt; M Ytwnh htinwynpnipjniGp YnnpphGuwnGeph uyqplGuytnhg:

-1 21 32 ANE]

2. Gty C ququph YnnpnhGunnGipp:

D (L-5-3) 2)(30-4) 3)(-4:30) 4(-10;3)
3. Qi BC ytlwnph YnnpnhGuwnGpp:

DL {5220 3){-1-2-2} 4){5,-2; -1}
4. QunGt] BC Ynnuh tpyupnipynip:

1)3 2) 1 3)6 4)4/3
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25.

26.

Spwo b6 a=20 + ] -2k U b =6 —2] +3K JuljmnpGhpp:

QnGly b Yuyunph tpywpnipynitp:

D7 2)6 3)7 4)8
Qb 28 — b Jtywunph YnnpnhGuwnmGtipp:

1) {-2; 0, -1} 2) {-2; 4, -1}

3) {10; 0; -1} 4){-2; 4, -7}

Qb d L b Jtyumnnpltph ujwpywp wpmwnpyup:
1) 16 2) 20 3) 4 40

. Qulib a L b Jtyumnpltnh uquiwo walyjnGp:

1) arccos 20 2) arcsin 4
21 21

3) arcsin 1 4)arccos /
3 21

A(0; 0; 0), B(4; 0; 0), C,(4; 4; 4)Aanbpp  ABCDAB,C,D,
Tunpwlwpnh ququpltnG ba:

Qb D; ququph ynnpnhGunGtipp:

1) (0; 4, 0) 2) (4,0; 4) 3)(0; 4; 4) 4) (4; 4,0)
QunGt; AADD Ghuwnh YhGunpnGh YnnpnhGumnGhpn:

1) (0; 2; 2) 2) (20, 2) 3) (2, 0;0) 4)(2;2;0)

. LJwoltphg n"nG t ufuwy whnnud.

1) ACLLBD 2)ABTCD, 3)DC-BC.=0 4)AD,=BC

. LJwoltphg n"pG E nmwpwhwpp yaunpGhph tnjuy.
)CA.CD,BC  2) AC,DC, AD
3) AB.CC, BD  4) AB, BD,, BC,
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Glipwwnwownnuiph hwiwnp

8724

10
11

12
13

14
15
16
17
18
19
20

21

22
23

24
25

26
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QLNMuU 2

UAUUuALTLLLEN GUrE NMUSUUULLELNY,

Gnynnpn qifuh wnwownpwlplGtiph wwwwuppwllGtpp ny pugu-
uwjwl wdpnn9 pybtp GG: NMwuwupuwGGipp wbwmp L puglby
yuwunwufuwlGbph dLwpnpnid wyn Gwwwyh hwdwp hwnjugjuo
mbtnnud: Mwunwuuwlnd yhwp sk G4 swihdwl shwynpp:

Uju wnwouwnpulpltiphl wwwumwufuwlbihu wGhpwdtym L qpbg
Jund wuwunwujuwbp (wppwwmtujwo  hnphgnGuwlywa tintip
JwlnulGtphg jnipupwlsympmu gptny vty pdwlywl: Unwownpulph
yuwunwufuwl Yuwpnn L 1hGh 0-hg 999-n wdpnne pytiphg nplkt dtyp
(swthiwG shwynpp sh Gyynd): Gpb wuwwmwuhuwGp shwGh)y phy b, wwyw
wjl wbwp L jpwgll Gpquwo Gptpyuwlnulltnhg ytpohlnd® pwg
pnnGtiny wnwohlG L tpypnpn JwlnuwlyGtpp, tplylhy wywwnwufuwin
whwp b pugltp tpypnpn b tppnpn JunuyGepmd pug panlkng
wnwohl Julnuyp: OphGw]” tipt 42-nn wnwownpulph ywwmwufuwln
55 tipyGhy phyl £, wyw wjl yhwmp b jpuglty) htmlyw) duny’

e
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RUJPL 1. UrSULUBSNRMEBNFMLULELR
AU UPNINRME3NFLULER B,
ULdGLLELh LUCUNMT

1. Gl wpnmwhwymmpjul wpdtpp.

6-2J6) (J3+2)

1. :
J3-42
X X
2. L +22 tpt X, plx,n x*+6x+2=0 hwjuwuwpiwl wpdwwnitp
X2 X
GG:

3. V3(tg255° —tg195° ):
4. (32+Iog35 . 9)'0965 :

2. Gult] wpmwhwjmmpjul wpdtpp.

1. V2 -1-43+242 :
2 427 43:3 0,

3 sin2a +sinda bph Ctg3a=£:
COS2c + COS4o 5

4. 7°%%* 1 8log,34/3:

3. Gumlhk] wpunmwbhwjnnipjul wpdbpp.
1. (V2-1)35v2+7:

1
2. 4/8.3/2: 22

3 cosZa—s!nZa tiph tgor = 3:
cos2a +Sin2¢

4. 109 _4log,, 55
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4. Qb wpnmwhwjnmpjwl wpdbpp.

p—

. |2x+5[+[1- x| -3x, ipti x> 1:

J5o
V32418

1 J3
.= + ;
sin50°  cos50°
log,15-log, 6-log, 16

2+log, 25 '

5. Gnlt] wpnwhwjjnnpjwl wpdbpp.

1. —j—z—ﬁ, tiph a° +8ab+16b2 =0, b #0:

9. Zs!na—s!nZa,hph tgg=2:
2sina +Sin 2« 2

3. 3*"%® 4 |og,(log, 16):
4. 5f (1)+ 39(2), tpt f -plg-G (—oo; +oo) -nid npn2yuwo
hwiwywwunwufuwGwpwn qniyq L YeGn pnmGyghwltp GG, pGng npoid

f1)-29(-2)=-3
{3f(—1)—9(2)=10 '

6. Gmlh] wpmnmwhwjynnpjul wndbpp.

1. log,(log, 4-log,5-log, 27):

2. J(20-x)(10+x) , tipti V20— X — 10+ X =4
3. sin®75° +sin®195°:
4, f (— 2)-@, tpt f n (— 00, + oo)-nui npn2ywd, 6 hhuGuwywa

wuwppbpnipjudp $nillyghw t, pln npnug® £ 2 (4)—10 f (4) +25=0:
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7. Gnlt] wpunwhwjnmpjwl wpdtpn.

1. (a—25)-p, ipti x? —12x+a =0 hujwuwpiwl wpduwwnmbhph
hwpwpbpnipjniln 3 k:

. 23-(1++3)V12-643:

.16cos£-cosz—”-cos4§:

W N

1+log,5 [—log,9.
.3 -5 :

S

(2]

. Gunlit] wpnwhwjnmpjwl wpdtpp.

1. x> +y2, tph x+y=+10, x—y=+/8:

2. 25sin2a, tipti cosa =-0,6; 7z<a<g7z:

3. log,*16-log,” 3+log, 45— log, 5

>

(p3 + 70) -0, tipki X* + px —2 =0 huwuwpiw 6 wpiunnGhph
pwnwlniuhGtph gnudwpp 20 £ Lp <0:

\O

. Gunlit) wpnmwhwynmmpjwl wpdtipp.

) a‘+3a?-4 a
' (a—l)-(a2+4)

2+/cos® a +cos a

2. p , ipti Tca<n:
2sin? = -1
2

3. log, b-G, tpt log,b=6, log.a=2:
4. 4a+b,tipt P(x)=ax’ +4x* +bx-12 puquwbnuip (X —2)-h

pwdwltjhu unmwgynud k 8 WGwgnpn;:
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10. Gulit) wpmwhwymmpjwmbG wpdtipp.
1 1 1 2

C4B-1 B+l B+l

2. VX2 —4x+4+x+3ipix=+/3:

3. 4tg(2arctg %j

4. Iogcg-ﬁ,hphlogac=%, log,b=4:

11. Gt wpmwhwjjnmpjwb wpdtpp.

1. 2" +3-27%, tipk 4*+9-47 =30:
) \/;+3' 3+x .1
x* -9 1+3(\/;)_1 Vx

3.t £+ct 1:
g12 g12

,tiph Xx=6:

log, a®-log,b"

4,
log, a*

12. Gnll)p wpunwhwjnnipjul wpdtpn.
1.5 +4-57, tph 25" +16-25 =73:

> (M_H%j y+xy

3. ct Z—t Z:
g8 g8

, ipti x_2 y=21:

4 log, b*-log, a°
' log, b?

144



QLNMuU 2 PUIDPU 1 UrLsStikuUssSNrE3NFLLELD QEUUPNIVNRMF3NFLLEL BU ULdFELLELD LUCUNRT

13. Qunlt] wpmwhwjnnipjul wpdtpp.

1. (3m+2n)-p, tipti 1 L2 pytipp X2 +(M=5)x+n =0 hwjuwuwpiwd
wnpiwwnGhpG GaG:

2. J(@—xy -((\/;—1)1 —(\/; +1)1) ,tipt x> 3:
sina —tg°a
cos’ a —ctg *ar
4. 10g,1,6+log, 10— 2'°% 31s.

3. , tipt tga:\/i:

14. QG wpnmwbhwjnmpjwG wpdbpp.

1. (5m + 2n)-n, tipk 2 L 3 pytipp X + (m — 7)X +n =0 hwjwuwnpiwb
wndwwnbGbn G6:

2.J33-a) ((Va-V3)" - (Va+ 3] ) tpt 2 £ 5:
3. 8sina-cosa - (cos? a —sin? &), tiph & :%:

In32
' In\/E

4 -10""%° +1log, 7-log, 8:

15. Gt wpunwhwjmmpjwb wpdtpn.

1. (XZ—Xl)Z,hph X ol X, n X*+6X+3=0 hwjuwuwpiwd

wndwwnbbn Ga:
2. M : (7 _ 2\@):
745 -+/98

3. cos® 75° + cos?15°:
4. 27°%% 1+ log . 6-log, 25:
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16. Gulit) wpmwhwymnpjwG wpdtipp.

J_ Ja’h 1 2

,pha=—=,b=—=":

T _adab 33

2. 48xy° —64y° —12x°y+x°,tpi Xx=4 L y=-0,25:
3. a®+16bc+8c® —(2b+30)2 +2,tph a, b, ¢ hwenpnuljwGnipjniGp
pywpwluwyul ypngpbuphw k:
4, 65in2(larccosgj:
2 3

17. GGl wpmnmwhwyjnnpjwl wndtpp.
1 (2323 23) 64

6464 64

23"

5 12406 -3242 7+23
B R

2

+—
3. 8 w4 -Iog79-logﬁ\/7:

_ 0 0
4. 3-4co0s10” +co0s20 PV

4sin*5°

18. Gl wpumwhwjnnipjul wpdtpp.
1. 16sin9°-sin81°-sin54°:
9. 2logzﬁ2 _3|og12 288 :

arccog-1)

-1 1
arcsin — +arccos_—
3 3

) 2\3+543 $3-5
4. (2J§+5)(4J§+zog§+zs_2<‘/§+5}
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19. Gwnlt] wpnmwhwjmnipjul wpdtpp.
1. \/7+4\/§+\/7—4\/§:

log5 3 log, 3
2. (3.2ng _ 2.3 02 j

2
3. 4(cos£—cos—”}:
5 5

log;2

4. 3z —arcsin(sin9):

20. GG wpnwhwjnnipjwl wpdbpp.
1. p>+q°,tpt p—gq=10, pq=20:
2 L — 202 ﬂ :
’\/E—l 2—0,3
3. 3cosa+16sin g, tipt 3sin f—2cosa =5+
4. 10.491—0,25log7 25 .

21. GGt wpnwhwjnmpjwl wpdtpp.
1. —3tg(2arctg2):
2. x2+x3,ph Xl X,-p X2=5x+2 =0 hwjuwuwpiwl
wndwwnGbpG Ga:
15(\/7 + \/E)
(V12 + o) (V2 =7 f
4. logy,81-(log, 20+ log, 4)— 6"

22. Gult; wpnwhwjjnnipjwl wpdbpp.
1 1
1. {2—x2}(x+2x2 +4}+\/x_3:

2. sin®x, ptisin® x—cos™ x =1:
1

3, 8129 | p7'oss .

4. x3 —3x,hphx=§/2+\/§+§’/2—\/§:
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nusSulluuuLer

Glpwwnwownpuwlph hwdwpp
s 1 2 3 4
1 1 16 6 25
2 1 3 5 15
3 1 2 7 5
4 4 5 4 2
5 3 4 7 4
6 1 7 1 5
7 2 12 2 3
8 9 24 6 6
9 1 1 4 2
10 2 5 3 15
11 6 2 4 21
12 9 6 2 10
13 10 2 8 2
14 22 6 2 23
15 24 3 1 12
16 3 125 2 1
17 0 8 432 6
18 2 18 2 5
19 4 3 2 9
20 140 3 13 98
21 4 95 3 0
22 8 1 12 4
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AUJDhVL 2. 0quuurnrMver bd tuwiudquuueraruuver

[

ol e

N

el A S

W

ol A

S

PO

. Spywd t x* —18x° +b =0 hujwuwpnuip (b -6 wwpwitnp b):

b -h 1°Gs wpdtph nhypmd X = —x/§ phun YihGh hwywuwpiwl wpiwwu:
Qut] hwjwuwpiwl wpdwwbbph gnuiwpp b =15 wpdtiph nhiwypnud:
b -h 1°Gs wpdtph nhypmyd hwywuwpndG mGh dhyw tptip wpdwwn:
Qu(t) b -h wikGwibo pGuwlwl wpdtipp, nph nhypnd hwjuwuw-
nnuil niGh ynpu wpdwn:

Spjwd t +100— x* = x—a hurjwuwpnwip (a -6 wwpwdtnp b):

Lwlh”® wipnne phy £ yuwpniGuynid hwjwuwpdwl ©ULR-n:

a-h pwGh® pGwlwl wpdtph nhypnid hwjwuwnpnidl niGh wpdwwm:
a-h pwGh® wipnn9 wpdtiph nhiypnid hwjwuwpnidG niGh wpdwn:
a-h pwGh® wipnn9 wpdtiph nhypnid hwyjwuwpniiG niGh dhpwm Gpyne
wnpdwwn:

. Spywd £ /30X —X* (cos X —sin x) = 0_hwwuwpndp;

LwGh”® wdpnng phy L yupniGwynd hwjwuwpdwb ©UL-:
N°p6 £ hwjuwuwpiwwdbiuibe wpdwwnn:

N°p6 £ hwjuwuwpiw G wdtGuihnpp wpdwwnp:

Lwlh” wpiww niGh hwjwuwpnudp:

. Spwd £ V70— X° (Sin TX—2C0S %X) =0 hwjwuwnpoip:

LwGh”® wdpnng phy L yupniGuwymd hwjwuwpdwl ©UL-n:
N°p6 £ hwjwuwpiwl witGwitd wdpnng wpdwwnp:

Lwlh” wipnne wpiwwm niGh hwjwuwpndp:

Lwlh” wpdwwm niGh hwjwuwpnudp:
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5.

1.

2.

il o

~

> whe=

Qo

el S

Snpjwo t log, (x2 —12x+ 63) =b hwjwuwpnip (b -G wwpwitwnp t):

b-h n°n wpdtph nbwypmd hwjwuwpmdp YmGhGw Shyw Yy
wnpiwmn:

Qb hwJwuwpdwl wpdwnmGbph gnudwnpp b =3,7 wpdbph
ntiypnid:

Qb b -h wikGuihnpp wdpnne wpdtipp, nph nhwpnid hwyjwuw-
pnuiG niGh Gpynt wpdwwn:

Qb hwjwuwnpiwl wpdwwnliph wpnwnpyup b =log, 56

wndtiph nhiypnd:

Spywd k \/(x - \/%)(30 —X) [sin %X —c0S %Xj = 0 hwwuwpnusp:

Lwlh”® wipnne phy £ yuwpniGuynid hwjwuwpdw( ©ULR-n:
N°p6 £ hwjwuwpiw G witGuwito wpdwnp:

N°p6 £ hwjwuwpiwl witGuihnppatpnge wpdwwnp:
Lwlh” wpiwwn mGh hwjwuwpnidp:

Smwd E ax—x? = \/ lg(cos37zx) hurJuuwpnuip (a-G wwpunitnp b):

Lwlh® mwpp niGh hwjwuwpdw6 EULR-p a=3 wpdbph nhypnid:
Q- (b hwjwuwpiw npujul wpdwwnp a =2 wpdtph nhypnid:
Lwlh® wpiwm mGh hwjwuwpnuip a =13 wpdtiph ntiypnud:

Lwlh® wpiwu niGh hwjwuwpndip a = % wndtiph nhiypnid:

. Spwd t g x| +(x —1)2 =a hwywuwpmip (2 -6 wwpwibtup b):

Q.G hwjwuwpiwl wpdwwnp a=0 wpdtiph nhwypnud:

Q-G hwjwuwpdwl wipnng wpdwwp a =82 wpdtph nhypnid:
Lwlh” wpdwwnm niGh hwjwuwpnwip a =0,5 wpdtph nhypnid:
UdtGwywup pwlh® wpdwwnm Jupnn t nGhGw) mpduo
hwyjwuwpniip:
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b

el A S

10. Spquod t log, (14x - x2) =c0s” ZX+

11

. Spuo k {

Spquo k Mix?=a hwjwuwpmip (a-6 wwpwdtun b):

Lniot] hmjwuwpnudip a =1 wpdbtiph nhypnid:

Qb hwjwuwpiwl ngpujuG wpdwwmp a =32 wpdtph nhypniy:
Lwlh” wpiwwm niGh hwjwuwpnuip @ =9 wpdbtph nhypnid:
Qb hwjwuwpiwl wpdwwnmGbph thohG pywpwlwluln a=10
wndtiph nhiypnd:

v hwjwuwpmuin:

Lwlh”® wipnne phy £ yuwpniGuynid hwjwuwpdwl ©ULR-n:
GOt hwjwuwnpiwl w9 dwuh wpmwhwjnnipjuwl thnppwagne) G
wndbpn:

Qb hwjwuwpdwl dwhu dwuh wpnmwhw junnipjwl dhowagny)G
wndbtipnp:

GOt hwjwuwnpiwl wpdwwp:

ax+18y =13a—a’

hwiwlwpgp (a-6 wwpwdtwun t):
5x+(a-1)y=15
Qunlby X, + Y, vhonipjul wpdtipp, npunbn (XO; Yo ) -0 hwiwlungh
[nond@ £ a =0 nghypnid:

a-h ph°Gs wpdtiph nypnid hwiwwpgl niGh wiphy puqunipjudp
[noniGhp:

Qb a-h wyl wpdtiph dnnnip, nph nhypmd hwdwlupgp niomd
sniGh:

|a| <10 yuwjiwGhG pwjwpwpnn pwlGh® wdpnne a-tph nhwpnid
hwiwlwnpqb niGh dhwy nionu:
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x*+y? =10
hwiwlwpqp:

2rx+sin®zy=0

12. Spywo t 3
SIn

1. Jwdwywnpgh wowohl hwywuwpniiG X Ly pGwlwb pytipny
pwGh® inomd niGh:

2. Jwdwlwnpgh tpypnpn hwjwuwpnidp |X| <lu |y| <1 yuwydwGGtphG
pwywpwpnn pwGh® nuond niGh:

3. UWdpnng pytpny pwGh” (x;y) plwqniyq b pujwpupnod
hwiwlwpgh wnwohl hwjwuwnpdwbp:

4. Lwlh® mond niGh hwiwlwnpgp:

[X+[yl=2
13. Spjwo k hwdiwlwnqp:
cos® TX+Cos’ 7y =2

1. N pugwuwlui X L y wipnng pytpny pwbh® (X; y) pywqniq t
pwyjwpwnpnyd hwiwyunpgh wnwohl hwjwuwpdwbnp:

2. Udpnng pytipny pwGh® (X; y). pywgnijq E pujwpwpnid
hwiwlwpgh wnweohl hwjwuwpdwbn:

3. |X| <1lu |y| <1 wuwydwGGEph G pwwpupnn pwGh® (X; y) pjuqnijq

L pwjuwpupmd hwdwlwpgh Gpypnpn hwjwuwpdwn:
4. LwGh” momd nGh hwdwlyupgn:

14. Spywd t [2x —25| < 6 —|a) wGhwywuwpnuip (a-6 wwpwitnp b):

1. Lwlh” wipnne phy k puwjwpupnmy wihwjwuwpdwip a=-2
wndbph niypnid:

2. Qulb) a-h wikGwuito wpdbpp, nph nhwypnid wihwjwuwpnidp
[nionud nilh:

3. Lwlp”® wipnng a-tph nhiypmd wGhwjwuwpnuip nuontd mGh:

4. UdtGwwwp pwGh® wipnng phy Jupnn L yuwpniGuyt] wihwyw-
uwnpiwl moniGhph pwquinipyniln:
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15. Spjud t JX —12x+36 <50— a2 wGhwywuwpnwip (a -6 ywpw-

»

ubtunn b):

LwGh” wipnne phy t pwjwpuwpnid wihwjwuwpiwip a=>6
wndtiph nhiypnd:

GGt a-h wikGwdbko wdpnn9 wpdtpp, nph nhypnd wlhwyw-
uwnnuip nonid niGh:

Lwlh® wdpnne a-tph hwiwp wihwjwuwpnudp nuomud niGh:
a-h h°Gs wipnng wndtiph nhypmd wGhwjwuwnpiw noniGhph
pwqunipjnilp yuyupniGwyh wiblw)wwm puwlwlny wipnng pytin:

16. Spwd b +/3x—7 + /13— 2X < X +1 whhwwuwpmp:

1.

2.

Qb wihwjwuwpiwl EULR-hG ywwnlwlnn wipnn9 pytph
pwlwyp:

Qb wihwjwuwpdwl omiGhph pwqinipjulp ywwnljwlnn
witGwthnpp wipnne phyp:

GGt wihwjwuwpdwb nonmiGiphpuqinipjuln ywwmlyuinng
wuiklwdto wipnn9 phynp:

Lwlh” wdpnne phy L yupmGuymd wéhwjwuwpiw niondGhph
pwqunipjniln:

17. Spywd b /X2 +4X +/40=x3 < 7 — 3x wihwywuwpnuip:

[

Lwlh” wipnne phy & yuwpniGuwynid wihwjuwuwpdwb ©ULR-n:
N°p6 £ wihwjuwuwpdwG nuoniGhpp puqinipjuwlp wuwwnwlng
witiwibko wipnn9 phyp:

hGsh” £ hwjwuwp wihwjwuwpdw pnuondGhph puqinipjubn
wwwnlwlnn wdtlGwihnpp wipnng pyh dnnynin:

LwGh” wdipnne phy & wupniGuynmd wihwjwuwnpdwb nionuiGtpp
pwqunipjniln:

18. Spywd t 4 +3x—x* +3x+6 > 3 whhwjwuwpnusp:

b=

Lwlh”® wipnne phy £ yupniGuynd wihwjwuwpiwb UL-p:
N°pG £ wihwjwuwpdwip pujwpwpnn witGuwite wdpnne phyp:
N°p6 £ wihwjwuwpdwip pujwpwpnn wdtGuhnpp wipnng phyp:
LwGh” wdipnne phy & yupniGuymd wihwjwuwnpdwb nonuiGtph
pwqunipjniln:
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19. Spjwo t log,

1.

ox—-21

< 2 wibwjwuwnmun:

N°nG & whwjwuwpdwl OUL-hG yuwlwlng wikGuihnpn
wdpnne phyp:

GOt wihwjwuwnpdwl monmuiGhph pwquinipjuwlp ywwnlwlng
witlwdto wipnn9 phynp:

GOt wihwjwuwnpdwl monmuiGhph pwquinipjuwlip ywwnmlwlng

wipnng pytiph pwwyp:
GGt wihwjwuwpdwlp pujwpunpnn yunpg pytph pwGwuynp:

20. SpJud V2% —5 < 65— x* wihwjwuwpnwip:

1.

w

21.

Qb wlhwjwuwpiwG OUER-h( wwwnluwlng wdbklGwihnpnp
wuipnn phyp:

G- (b wGhwjuwuwpdwin pujwpwpnn wikGwgnpp wdpnn9 phyp:
G (t) wihwjwuwpdwlp pwjuwpupnn wikGuito wipnne phyn:
GOt wihwjwuwpdwl momudGhEpp pwqinipjuwlip ywwmlwlng

pninp wdpnne pytiph pwGwyp:

Spjwd t log, ,4(67—x*)<log, ;5(x~5) whwjwuwpnip (a-G

wuwpwdibtup £): <wymGh t, np x=6,5 phdp pwjuwpwpmd t wjn
wihwjwuwndiwGn:

QGn(h) a-h wipnne wpdbtipp:

Gt wihwjwuwpdwl OUL-hGE yuwunulnng wipnng pytinh
pwlwyn:

Qb wihwjwuwpdwl moniGiph puqinipjuln ywunuling

wdtiGwhnpp wipnne phyp:
Qb wihwjwuwpdwl moniGiph puqinipjuln ywunuling

wdpnne pytiph pwwyp:
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22. Spywé k {

1.

2. Udpnn9 pytipny pwGh® montd niGh hwiwlupgp a =2 wnpdtiph
ntiypnid:
3. N pugwuwlwl wipnng pytpny pwGh® nontd niGh hwiwlupgn,
tpp a=12:
4. Wdpnne pytipny pwGh”® nuomd mGh hwdwlwpgp, ipp a e (5; 7) :
J3+x<4
23.Spwo k < x hudwlungn:
SIN TX = /5 C0S —
2
1. Qb hwiwjwnpgh wihwjwuwpiwbp pudwpwpnng pnpnp wdpnng
pytiph pwGwyp:
2. Lwlp® wpdwwn niGh hwdwwnpgh hwywuwpnuin [0; lO] dhowlwjpniy:
Lwlh” nomd niGh hwdwlywpgn [0; 20] vhowljwjpniy:
LwGh” nuontd niGh hwdwyupgn:
212 20y* <0
24. Spywo k X WY hwdiwljwpqp:
x+y=10
1. 0y pugwuwlwl wipnne pytiph pwGh® pjuqnyq k pujupupnid
hwiwlwpgh hwjwuwpdiwp:
X
2. Qb — hwpwpbpnipjwl wikGwdto wpdtipp, npuntin (X; y)
y
pywqgniyygn hwiwljunpgh wihwjwuwpdwl nonid k:
X
3. Qulh] — hwpwptpmpjul wikGuihnpp wpdtpp, npntin (X; y)
y
pywqnygn hwiwyuwpgh wihwjwuwpdiwl niomd k:
4. PGwlw6 pytipny pwGh® nomd niGh hwiwywnpgp:

(8-x)(3+x)>0

hwdwlwpgp (a-G wwpudbtnp k):
2x—-a<3

Wdpnne pytiph puwqdnipjniGnid pwGh”® nomd niGh hwiwlwpgh
wnwohl wlihwjwuwnpnip:
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25. SpJwd t Vx -7 > V/2x — a wihwjwuwnnuin (a -6 wwpwdbup k):

1.

Gt a-h wyl wiklwibo pGwlwl wpdbpnp, nph nhypnid
wlhwjwuwpnudp neonid yniGh:

G-t a-h wyl wpdbpn, nph nhiypnid wlhwywuwpniG niGh
dhwl nonud:

Lwlp”® pGuyui phy t yupniGuynid wGhwjuwuwpdwb nuondGhph
pwquinipjnilp a =25 nthwypnid:

QnGb) a-h wyl pGwlwl wpdtpltph pwGwyp, npnlg niypmyd 15-p
wlihwjwuwpdw nuom k:

26. Spqwd k. V8- 2x — x? 2 |x — 2| whhuwnjwuwpmip:

1.

Q] wihwjwuwpdwl EULR-hG unlwlng wipnng pytinh
pwlwyn:

x-h h°Gs pGulwG wpdtiph nhypmd-wpJwd wihwjwuwnpdwb Jte
wmbtinh YniGbGw hwjwuwpnipjwbnbwypn:

Lwlh® wdpnne phy b yuwnpm GuynigwGhwjuwuwpiw niondGhph
pwqunipjniln:

G () wihwjwuwpdwln spwjwpupnn witlGuwhnpp pGuwyub
phyp:

27. Guunuwnt] wnwownpulipGtpn.

1.

Qun(ily 193X =y hwjuwuwpdwl wpdwwnGhph pwGwyp [0; 27]
tgx

dhowljwjpnud:
Qmquﬁqyif_zzohwwmeMwﬁummmnmmpgummm:
bty (X +x-2)(x* +x-12) =144 hujwuwpdwt pGulwd

wpdwwnp:
Gty x|X —5x—6=0 hwjwuwpdwl wpdwwnlbph wpuwnpyuyn:
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28. Spwd k. ax’ —2x—a—1=0 huwuwpnidp (2 -G wyupuwdtup t):

1.

Gty a-h wikGwiko thwh) wpdbpp, nph nhypnid hwjwuwnpndG
wpiwwn nGh:

GGty a-h wyl wpdbplbph pwGwyp, npnlg nhypnid hwjwuwnpndG
niGh dhwl wpiwwn:

GGty a-h wipnng wpdtpGtinh pwlwyn, npnlg nhiypnid hwjwuwpnid G
niGh tpynm wpdwwn, vkYyp dko 2-hg, huy djniup thnpp k. 2-hg:

Qulb a=1 a=2, .., a=20 wpdtpltinh hwiwp uvnwgyuo puwb
hwjwuwnpnuiGtph pninp wpdwwmGiph wpmwgpyun:

29. Spywd b /x+4 ++/5—x =3 hujuuwnpnuip:

ol A

31.
1.

LwGh” wipnne phy t yupniGuynmd hwjwuwpdwl O UL-n:
Gt hwjwuwpiwl wdtlwdto wpdwwp:

LwGh” wpiwwnm niGh hwjwuwpnudp:

Qb hwjwuwpdwl dwh dwuh wpnmwhwypnnipjul wpdbpGhph
pwquinipjulp ywwunljuwinng wikGwiko wdipnne phun:

SpJuo t x+ 2 a hujwuwpnuip (a -6 wwpwdtnp £):
X

a- h h°Gs wpdtiph nhwpnid. 6 = vA1 phyp YihGh hwjwuwpdw wpdwn:
Gult) a wupwitimphawyl gpnuljwl wpdtpn, nph nhypnid
hwjwuwnpmu@ nitGh hpw UG wpdwwn:

Gt a wuwpwitinph w)G wipnng wpdtiplGtinh pwlwyn, npnlghg
Jnipupw Gy nph ntwypnid hwjwuwpnuiG wpdwwn sniGh:

G-ty a-h wikGwihnpp pGwlywl wpdtipn, nph nhypnid hwyjwuwp-
dwl wpdwwmbtinhg vtynp thnpn £ 5-hg, huy djnwup’ vko 7-hg:

Spjwo E a yqupudtmpny 8cosx —cos2x =a hwjwuwnpnidp:
a-h h° Gy wpdtiph niypmy x =27k (k € Z) wntiuph jnipupwGyynip
phy YihGh wyn hwjwuwpdwl wpdwwn:
Gn(t) @ yupuwibnph wibklGwibo pGwlywl wpdtpn, nph nhypnd
hwywuwnpniG wpdwwnm nibh:
Gn(t) @ yupuwibtnph wibkiwibd pugwuwlul wipnne pyh
unnnip, nph ghiwypny hwjwuwpnil wpdww ynilh:
Gn(t) @ yupwibtnph w)l wipnn9 wpdtipltinh pwGwyp, npnlghg
Jnipwpw Gy niph ghiwypnid hwjwuwpndG wpdwwm mGh:
157



QLNkMu 2 pUIhL 2 Uduuurnrusete 54 tuuduuurnrouee

32. Spqud t X +2px+ p? —4 =0 hunjwuwpmdp, npnbn  p -G

p—

33.

34.

1.

wwpwdtup k:

Qb hwJwuwpdw b mwpptphsp (MhuyphihGubump):

QnGby p -h wyG ngpuywl wpdtipp, nph ghiypnd 1-p hwjwuwnpdiwG
wnpdww k:

Gt P -h wyl npuyul wpdtipp, nph nhwypnid hwyjwuwpdw i
wnpdwwnibph wpnmwnpyuip hwjwuwn £ 12-h:

Gt P -h wyl npuwyul wpdtipp, nph nhypnid hwjwuwpdwb
wndwwmbtph pwnwyniuhGph mwpptipnipjwl dngnup hwywuwp £
80-h:

Spuo t \4-— (X —1)2 = X+ a hujuwuwpnuip, npuatn a -G
wwpwitanp k:

. Gult] hwjwuwpiwb UL -hl ywwnlwlnywipnne pytiph

pwlwlyp:
Lwlh” wpiwwm niGh hwjwuwpmip a= -2 nhypniy:

. Qulb; a-h wyl witGuihnpp pGwuw b wndtipn, nph nhiypnid

hwyjwuwpniil wpdwwun sniGh:
Gty a-h wyl wpdbpp, nph nhwypnid hwjwuwnpdw b wpdwwnGbpp

hwlwnhp pytip ta:
Spwd t. 4logy, 4y (x+5)<a wlhwywuwpnip (2-6 wwpwdtnn t):

Gt wihwjwuwpiwl OUL-hG yuwnulnng witGuhnpn
wipnng phyp:

Gn(t) a-h wibkGwihnpp pGwlwl wpdbpp, nph nhypnd 5-n
wlhwjwuwpdwl nomd k:

Gt wyl dhowlwjph tpwnpnipjnilp, npl wihwjuwuwpdiw i
nonuiGtph pwquinipyniGG £ a=0 nhwypnid:

Gt wihwJwuwpiwl nmonmuiGhph puquinipjulp ywwnlwlng

dhwGh) pytinh pwlwlyp a=8 ntwpniv:
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*—6x* +5<0
35.Spywo k. X2 1X s hwdwjunuipn:
x* <

1. Lwbh® wipnne phy L yupniGuynd hwdwhudph Gpypnpn
wlhwjwuwpdwl nuoniGtph puqdnipynln:

2. Qu(t] hwiwfuiph wnwohlG wlihwywuwpiwb nionudGtinh
pwquinipjuln ywwunulnng wikGuwito pGuyul phyn:

3. Qb hwiwhudiph wnwohl wlihwywuwnpiwb nondGtiph
pwquinipjuln ywwuwlnng wipnn9 pytinh gnidwpp:

4. Pwlh” wipnne phy L wuwnpnGuwynd hwiwhudph mondGhph
pwqunipjniln:

x> —8)x+15<0

36. Spywo k. hwdwjunwipn:

X+2<2

1. Lwlh”® pugwuwlwl wipnne phy L wuunniGuynid hwdiwpudph
tpypnpn wihwjuwuwpdiwl momdGtph pruqinipniGn:

2. Gt hwiwhiph wnwohlG wihwywuwpdwl nomuGhph
pwqunipjuln yuwwmluwlnn pGwywlb phyp:

3. Lwlh® wdpnne phy & yupniGwmd hwdwjudph wnwohG
wlihwjwuwpiwl nuomdGlph pwquinipjniln:

4. Lwlp”® pGwlwi phy EyupmGuymd hwdwjudph momdGhph
pwqunipjniln:

|x|+2\/;—8=0

37. Spwo t
X2 —4x-5<0

hwiwjunuipn:

1. Lwlh” nond mGh hwiwfudiph hwjwuwpnidp:

2. Qb hwiwudiph wihwywuwpiwb nrodwl showlwjph
tpywpnipynilp:

3. Lwbp” pGuwlwb phy yu hwiwfuiph wihwjwuwpdwb nuondGhph
pwqunipjul vb9:

4, Lwlh” wipnne phy Yu hwdiwhudph nuonuiGhph puqinipjwi dto:
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38. Spywo k. K= Vx+1-11<0 hwiwlunuipn:
Ix+1=2
1. Qulb hwiwhdiph hwjwuwpiwl wikGwikd wpdwwnn:
2. Gt hwdwhdiph wihwjwuwpdw( nuonwiltphg dtowaqnijGn:
3. Lwlh”® pGuyuwb phy ju hwiwfudiph wihwjwuwpdwl nuoniGhph
pwqunipjul vhk9:
4. Lwlh” wdipnne mond niGh hwiwfunuipp:

X—-52>2a

< +1<5a hwjwuwpmuiGtiph

39. Spywo £ a wwpwdtinpny {
hudiwlwnqp:

1. a-ph p°Gs wpdtiph nhypnid hwiwlwpqlmniGh Shwy niond:

2. a-h p°Gs wpdtiph nhypnid hwiwlwpgh pueniGhph puqinipymGp
12 tipyupnipjudp showluyp k:

3. Qunlb) a-h w)yG pGuyuwl wpdtpGph pwlwyp, npnlg nhypnid 19-p
hwdwlwpgh niomd k:

4. Qnlby a-h wyl wikGwito pGuwlwb wpdtpp, nph niypnd 19-n
hwiwwpgh nonud k, huy 25-p" ny:

40. Spywd t a wupudtnpny x* - 8x +a punwlmuwjhG tewGnudp:

1. Quwib a-h wyl wpdbpp, nph nhypnd mpjwo tnwlnudh
thnppwgnyyG wpdtipp hwjwuwp t 11-h:

2. Qulb) a-h wyl wpdbpp, nph ghiypnmd mpywo tnwlnuil wnwlg
dGwgnpnh pwdwGynui £ (x-2)-h:

3. Qulhk) a-h wjl wpdbpp, nph phiypnid x> —8x+a<0
wlihwjwuwpdwl moniGtph pwquinpnilp 6 Gpupnipjwdp
vhowluwyp k:

4. QunGh) X7 +8x, wpmwhwjnmpjul wpdtipp, npntin X, -p L X,-p
upjwo onwlnuih wpdwwnmGtpb GG a=5 nhwypniy:
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41. Spwo t |2x — a <a—11 wlhwjwuwpnidn:

1.

2.

GGty a-h wikGwihnpp wipnng wnpdtipp, nph nhiypnid
wlhwjwuwpnudp neomd niGh:

Gt a-h wyl pGwlwl wpdbpp, nph nhypnd wlhwyjwuwpdwb
nonuiGhph puqunipyniln 6 tpupnipjwdp showlwyp t:

GGty a-h wikGuwihnpp pGwlwl wpdtipp, nph nhiypmd 7 -p
pwjwpwpnid £ mpjwd wihwjwuwpdwln:

a-h h°Gs pGwywl wpdtph nhiypnid wGhwjwuwpdiwl nontdGhph
pwquinipjnilip yupniGwynwd £ §hpwn hhlq wipnng phy:

42. Spywd /25— x* Ig(2x +8) > 0 whhwjwuwpnuip:

1.

Qb mpJwo wlihwjwuwpiwb UA-h0 yuunywbnn wipnne

pytinh pwwyp:

Gt wihwjwuwpdwl nomiGtph pugqinpjuin ywwmlywlnn
wuitiiwthnpp wipnng pyh dnnnin:

GGt wihwjwuwpdwb nomiGhph pwgqunipjuln ywwmyuing
wuiklwdto wipnn9 phynp:

GGt wihwjwuwpdwb nontiGtph puquinipjuln ywwmlyuinn

wipnn9 pytiph pwlwyp:

43. Spywd t log? x* <16 wGhunjwuwpnuip:

1.

»

GGt wihwjwuwpdwlp pujwpwnpnn popnp wdpnn9 pytph
gniiwpp:

Gunlt) wihwjwuwpdwb OUL-hG syuwnmwlnn pytiph pwlwln:
Qb wihwjwuwpdwlp pwjwpuwpnn witklGwdbe wipnng phyn:
GGt wihwjwuwpdwb nomiGtph pwqinipjuln ywwmyuling
pnpnp wipnng pytiph pwlwlp:
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MUSUUULULEL
Glpwwnwownpwlph hwdwpp
w4 1 2 3 4
1 45 0 0 80
2 21 10 25 5
3 31 30 0 12
4 17 7 8 10
5 3 12 4 7
6 25 30 9 8
7 5 2 1 2
8 1 10 2 2
9 0 4 2 0
10 13 2 2 7
11 3 10 9 19
12 2 9 8 8
13 3 8 9 8
14 4 6 13 6
15 27 7 15 0
16 4 4 6 3
17 10 0 6 4
18 6 3 0 4
19 5 18 14 5
20 3 3 7 5
21 8 3 6 3
22 10 S 8 7
23 17 5 7 9
24 11 10 2 3
25 13 14 6 9
26 7 2 4 3
27 4 1 4 36
28 9 1 1 21
29 10 5 2 4
30 12 10 19 11
31 7 7 10 17
32 16 1 4 10
33 5 1 2 1
34 3 7 1 6
35 3 2 0 5
36 2 4 2 3
37 1 6 4 5
38 1 15 15 18
39 2 6 4 5
40 27 12 7 59
41 12 17 13 16
42 9 3 4 8
43 0 1 9 18
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AUJPL 3. SELUSUShL MULAPLULER

1.

W=

UJunpniup dwin 9% -hG noipu tpytp A quyphg b Gwluwwmbuby tp
dwip 14* -hG hwultp A-hg 250 Y htinwynpoipjwG Ypw quGynn B
YJuyp:

Lwlh® Yi/d wpwgnpjudp whwp E pGpwlw wjumnpniup’
dudwlwyhG B Jujpp hwultint hwdwnp:

A Jwjnhg pwGh® Yd htinwynpnipjul ypw Yqubyh wjunpniup
dunip 11%°-hG:

Cwnpdnuip ujubinig pwGh® pnyt htivn wyunpnwup YqunGyh A-hg
80 yu htinwynpnipjwl Ypw:

Gph dwiip 112 -hGuunnpniup Yhu dwd Julq wnlbp, wjlnthtnl
pwGh® Yui/d wpwgmpjudp whwp b ywupm Guytin dwiwwwphp,
npybugh dwdwlwyhG hwultp B Jujpn:

A L B pwnupGtphg, npnGg htnwynpnipymGp 600 YU t, shwdw-
dwlwly hpwp plnpwnwg nnipu Gwl dwppuumwup L wypuipwnwp
qGwgpGtpp’ hwiwwwunwufuw Gwpwp 90 {i/d L 60 Yui/d
wnpwqnipniGGtnny:

LwGh” Yhindtwnp YhGhqGwgpltiph htinwynpnipjnilp pwupdnuip
uljutiinig Ytiu dwd whg:

UhGsL hwGnhwybp pwGh® dwd htimn qGugpGhph dhol htinwnpni-
pjnilp YihGh 150 Yu:

LwGh” dwd htwn qGugpGtpp YhwlnhwtG:

A punuphg pwGh® Y htinwynpnipjuG ypw YgunGyh wuypwlpu-
nwn qlGwgpp’ dwpquumwph B pwnup hwuGtint wwhhG:

A Juyphg B Juypp, npnlg htnunnpnipyniGp 360 Y &, hwdwiw Guly

ninlnpytighG pym WkptiGw 90 i/d L 80 Yi/d wpwqmpyn GGhpny:

Lwlh” dwdind wnwohl dtpkGwl yhwulGh B Juypp:

Gpypnpn dkiptGuG wnweohlhg pwGh® pnut niy yhwubGh B Juypn:
B-hg h°Gy htnwynpnipjulG yYpw Yqwlgh bpypnpn dbpbGuG’
wnwohl Wtptlwjh B hwultynt wwhh(:

Bwlwywnphh n°p wnynup JuGw whgGtint wnweohl dkptiGujha wjh

wwhh(, tpp GpypnpnG wigt) tp dwlGwuwnphh % -n:
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4. M Juwjphg nbwh N qujpp 2wpdytg htowbynpnp, Shwdwdw Gy
N -hg niyjh M wpdytg htmhnwnGp: Cwpdnuip uljubinig 1 dwd htun
htimhnnGnp hwnhwtg hiowGynpnhG b JwpniGuyting dwliwwwnhp,
2,5 dwd wlg hwowy M Juypp:

1. Cwpdmuip ufubtinig pwGh”® pnyt httinn htow Gynpyp hwlnhwtg
htunmhnunGhG:

2. <Lbtwnhnnlh wpwqnipjnilp htowGynpnh wpwgnipjwl n’p minynu k
Juquinu:

3. Lwlp”® pnybtnid htdwGynpnG wGguy MN dwGwuwphp:

4, Bwlwuwnphh n®p wnynuG tp dGnd wlgGm htnhnnGhG' htowa-
Ynpnph N hwuGtjnt wwhhG:

5. A L B Yytwntinhg, npnGg htnwynpmpjmGp 18 Y £, ShwdwiwlGuy
2unpdytghb tipynt htidwlynpn: Gpt Gpwlp pwpdytl shijwlg nln—
wnw9, wyw Jhwlnhytb bty Gtinmg 40 phtann, huy tpt pupdyta
UhlGnyG mnnmpyudp, www A -hg nmpu tjud howlynpnnp

B -hg nnipu Gljwdé htowGynpnhG YhwuGh 6 d htinn:

[u—y
.

Lwlph® yd/d t. B -hg nnipu tiwd howGynpnh wpwqnipniGn:

2. B ytwnhg pwGh® Y hinwynpnipjw b Yypw Yhwlnhwybl htiowGynpn-
Gtpp, Gpt pwpdytl vhijwlg ppunwy:

3. Uhvjwlg pyuwnwe wupdytint nhypnd hwlnhydwb wquwhhG A -hg
nnipu Gwd htowGynpyp B -hg nnipu tlwo htidwGynpnhg pwGh”®
yd wytijh dwlwwwph Jubgbh:

4. UhUlnyG nupnmipyudp 2wundybtnt nhypnid htiowGynpnbtpp B -hg

pw@h”® Yu htinwynpnipjwG ypw YhwGnhwyhG:

N

Ununnghyuyjwnp 1 YhndtnpG wGglGnud t 4 pnuting wigbh ynun,
pwG htowbynpnp, huly 5 d-nud wlglma & 100 Y wybth, pwh
htiowGynnpnp:

1. Uty dwimd dnunnghyjujupp hidwGynpnhg pwGh® Yd E wytih
w(iglnu:
2. Lwlp” dwd htiwmn dnnnghyjudunpp uGgGh 40 Yd wytijh, pwa ht-

owlynpnn:
3. 90 yd SwlGwwwnphh Yypw htowGynpnp pwGh® dwd wytih Yowfuuh,

pw( dnnnghljwywpp:
4. Lwlh”Yd/d thtowGynpnh wpwqnipniGn:
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b=

whe=

[

w

Gpynt qpnuwypohy vhwdwdwGwl hpwp pGpuwowe nmpu GG
tlty tpynt pwnwpGtnhg, npnlGg vh9wlw htinwyynpmpjmbp 36 {u
L, L hwGnhuytghl 4¢ htnn: {wjwnGh E, np wewehGp hwlnhudwG
wwhhG 4§ wdtyh tp wigt), pwl tpypnpnn:

LwGh® Yhndtwup tp wlgh) tpypnpnp’ hwGnhydw6 wuwhh:
Unwohln tpypnpnhg pwGh® minynuny wybjh dwlGwwwph tp wigh:
LwGh” Yi/d wpwgnipjudp tp qGmd Gpypnpn qpnuw)n9hyn:
Cwpdnudp ujubtint wwhhg 3 ¢ wlg pwGh® Yynitwmp YipGh GpuGg
dhol htinwynpnipjniln:

Gnym dtiptiiw A punuphg wtwp b qwl B punupp, npnlg
htnwnpmpniGp 840 Yu t, pln npmy” wyn htnwynpnipjniln
dtptlwltphg vtlp ¥ynuhg 2 ¢-nd wuyjwu dwiwlwymy k
wgGnui: U6 dwiwGwwhwnjuwomy, tpp wnwohl dtptiGwa
wgGnu k 63 Yo, tpypnpnl wlglnd k54 Hu:

Lwlh® Yu/d k wnwohl dvtpklGwjh wpwgnipymeln:

Lwlh” dwdind wnwohl dtpkGwl julglih wipnne dwlwuwwphp:
Gpb dtptGwltpp dhwdwdw lGwy yupddtl A -hg, wyw pwGh® dwd
htimn GpwGg dhol htinwynpnmipynilpn YhGh wnwytugniyGnp:
Bwlwwwnhh YhuhG hwubtnig htimn pwGh® Yui/d wpugnipjudp
wtimp L qlw tpypnpn dbpklGw 6, npuytugh B hwulh wnwohG
utiptiliwjh htim Shwdwdwlwly, tpt Gpwlp A-hg ukyGwnpyby GG
dhwdwiwlwy:

CnqtiGuyp hnuwlph ninmipjwdp 2 duimd wlghmd k110 Y4, huy
hnuwGphG hwijumuly ninnmpjudip 3 dwdmd * 25 i wybgh:

LwGh” Yu/d k. pnqtiGwyh wpwgnipnilp hnuwlph ninnnipjwdp:
LwGh” Yd/d k pnqtiGwyh wpwgmpniGp hnuwlph hwjwnrwl ninnnt-
pjuip:

LwGh” yui/d & gtnnh hnuwGph wpwqnipyniGn:

GulqGwo opmd pwlGh® Yhndbump JubgGh pngbGuyp 2,5 dwdnud:
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10. Qtnh hnuwGph mnnmpjudp 70 Yi Swlwwwnbhp GuyG wiglnd k

w

11.

w

12.

[a—y
.

5 dunimu L yhpwnunlind® 7 duninug:

‘Lujwh wpwgmpniGp gtnh hnuwGph ninnnipjudp pwGh® Yui/d-
ny k wytijh Gpw™ hnuwGphl hwwowl ninnnipjwdp Jwunpdytjnt
wpw-gnipjnilihg:

Lwlh® yd/d t Gwdulyh uithwwl wpugnpniGn:

Q-tinh wpwgnipynilp pwGh® wlqud t thnpp Guywyh ubithwyuwG
wnwqnpjnilhg:

Lwlh® dwdnd jwuwnp YubgGh wyn GniyG htnwynponipniGp:

Gtnwthljw A Juwjphg wnwohG Guwywyh qinG h Jwp pwpdytyn
wwhhg 1 dwd htimn B -hg Gpw6 pGrpunw9 nmipu Ghuy Gpynnpn
Guywyp: <wlnhupiwb wwhhG wwpqytg, np Gpulghg jnupupwi-
sJnnG whghy & 36 Yui: UnwohG Guwywlh utthwljwb wpwgqnipjnilp
10 Yu/¢d t, huly hnuwmbph wpwqmpmbp® 2 d/d:

Lwlh® §d Swlwwywnph wigwy wpwohl Guwduyp pwnpdnudp
uljutiinig 1 d htinn:

Lwlh® dwd wmlbg tpypnpnh ninlmpnegpniGp thGsl hwlnhwynidp:
Lwlh” yd/d¢ t tpypnpnh vbithwu b wpuwgqnipymbp:

Gpypnpnh ubthwwl wpwgnipjmGp pwGh® mnynuny k wytijh
wnwohlh ubthwljwl wpwgmipnilhg:

A L B pwnuwpltipp htipwynpmipyniGp 160 Y t: Gpynt hdwGynpn
wyn pwnupGhphg ¥kl Gtny dhijwlg ppunwe hwlnhwytghb Yhu
Gwlwuwwnhhb b 2wpniGultghG Qwpdyby Gny6 mynnipyniGGtpny:

B -hg nnipu Gywoé htowGynpyp Wk Gh £ Wyniuhg 2 dwd 2nun, huyy A-
hg nipu tjwd htidwGynpnh wpwqmpiniGp 2 wlquy wytih &

B -hg nnipu kijwd htdwbGynpnh wpwqnipjmGhg:

Lwlph® yd/d & A-hg nnipu Giwo htowGynpnh wpwgnipniGn:

B -hg nnipu tjwo htowGynpnp pwGh® dwdind wiguy AB
dwlwuwwnphn:
Lwlh” dwd htimn A -hg nnipu two htowlynpyp hwGnhytg Wyniu
htiowGynpnhG:

A -hg nmupu bYwo htiowlynpnh B hwulGbint ywhh( dyniu htiow-
GYnpnp A -hg pwGh® Yhndtnp htnuwnpnipjwG Ypw Ep qunGynud:

166



QLNMU 2 RUJDYL 3 SGRUSUSIL v rhruEN

13. Gpynt qGwgp Jwpdymd t6 thijwlg pGnunwe, wnweohbp® 36 /d,

[

»

huy tpypnpop” 48 /6 wpwqmpjuip: Unwghl gGwugpn ujwl
dnunny wGguy 20 Juypljwlnwi: Unwohl qGugpnid Gunwud ninlnph
ununny tipynnpn qGugpl wiguy 6 Juynyjwlng:

LwGh” dtnp L wnwohl qGugph ipyupnipymGp:

LwGh”® dhnp L yuipgh tpyupnipyniGp, ipk wnweohl qGwugpp Gpw
Ypwyny wlglmu k£ 25 Jujplywlnug:

LwGh”® dhwnp t Gpypnpn qGugph tpupnipymGp:

Lwlh” Juypljwlnid tpypnpn gGwugpp Yulgth hp tpiwpnipjnithg
15 whquu dto tpupnipjudp uipoh Yypuwyny:

14. Q-Gugpp 450 4 tpyupnipjuldp Yuinipgl wiguy 45 JujnpljwGmd,

whe=

huy wywl dnmnny’ 15 quyplywlnud:

Lwlp”® dtwp & qGugph tGpyupmpnGn:

LwGh” v k qGugph wpugmpniGp:

Lwlh” WJ wpugnipjudp whwp £ pupdyh qlwgpp, npuytugh 450
tpunpnipjuwdp JuwdnineG wigGh 15 Jujpyjuwlnd:

LwGh” Juypyyubnd qGugpn Jubgbh hpbtipyupmpjuip hujwuwn
Juidpgh Ypuyny:

15. Gpymt pwnupGiphg shwdwiw Guly thijwGg pGpunw9 nopu Gwb

[

tnynt wunndtiptitw: Upwohlip 3 dwimd wigwy punwpGtinh thol
htnwynpmpjyul 215 uwup, huy tpypopnp 2,5 duimd” punupGtph

uhol htinwynpnipywb 0,2 Ywup: UhGsL hwGphupiw6 Juwjpp wowohb

dbptGwa whguiy 600 ly:

LwGh® dwdnd wnwohl dtpklGwl vh pwnuphg Yhwubh dynwup:
Lwlh” whiqud k tpypnpn dbptGwjh wpugnipniGp G0 wnwohl
dtiptiwjh wpwgnipnilhg:

LwGh® Yu/d £ wnwohl dhptiGwjh wpwgnipjmGp:

LwGh” Yud k punuplbph htnunpnipjuwG % dwun:
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16. A Juynphg 36 YU htnwynpnipjwl Ypw qunGynn B Juyp mwbnn

[a—y
.

17.

[a—y
.

»

18.

Gwlwwwnhp punyugwd & AC Jupkiphg L CB Juyptephg:
<towlynpnp A-hg B swlwwywnhG wlgGn t 2d 40 pnuytniy:
JhintypGhpnud Gpu wpwqmpyniGp 12 [i/d &, hul uyptopGtpnid’
18 i/d:

LwGp® yd & AC dwGwwwphh GpyupnipyniGp:

Lwlh® Yt CB dwlwwwnhh tipyupnipjniGp:

C-hg A nipnnipjudp htiowGynpyp pwGh® pnybimd uGgGh CA
Gwlwwwphp:

B-hg A ytpwnwnGwihu htdwGynpnp pwGh® pnyb yuwwu
dudiwlwy £ dowhuund pwlG A-hg B qlwihu:

Uhujwlghg 30 Yyui htinwynpnipjwG ypw qubyny-A L B Juyptiphg
thwdwiwGwly shijwig nnuwonwy dtyGtghltnynt htowGynprn: A-
hg dtYyGwd htowlynpyp B hwuun] Gpubg hwGnhwnidhg 4, S dwd
wlig, hulj B -hg dtylwon A hwuw] hmGnhunithg 2 dwd wig:

Lwih”® dwd htimn hwlnhwtghG htdwGynpnGtpp:

Lwlh® dwd wmlbg B -hg ttyGwd htidwlynpnh mnlnpnipyniGn:
Unwohl htiowlynpnh 3 dwidnd wlgwo dwlwwwphp pwGh®
dwimu JugGh Gpypnpn hbowGdnpnp:

Lwlp® Yu/d t B-hg dtlyGwohtowlynpnh wpwgnipniGn:

Uwyih wn9th wGhgh 2powlwqdh tpwpmipymiGp 2,5 0k, huy
htimbh wGhyhGp™.3,5 O:

Lwlh® yumyw Yyuwmwph wnolh wGhyp, tpt uwy G wigGh 120 d
dwlwuwuwnph:

Lwlh® dtnp Swlwwywnph JulglGh uwyp, tpk hbmbh wGhyp
Jwwuwnh 70 wyunijun:

Lwlh® yunywum Yyuwmwph hbmbh wihyl w)l dudwGuluwhwn-
Jwonud, tpp wn9lh wihyp Yuwmwph 28 wunnijwn:

Lwlh® dtnp Swlwwywnph Julglh uwygp, tipk wnglh wGhyp 20
wunnijn wybih juwumwnph, pwl htmbh wihynp:
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19. 54 4 tipfupmpjudp Swlwwwnphny qnpytihu wGhyGtphg dtyn
yjniuhg 6 wnniyyn wytih  junwpnd: WehyGhph mpuniwqotpp
hwnwptpmy b6, hGsutu 3:1:

1. Lwlh” wlquy t ko whhyh ppowGuqoh tpyupnipynilp wytih
thnpp wGhyh 2powlwqoh tipljupnipjnilhg:

2. Lwlh” dtwp £ dGo wihyh 2powluqoh GpyupnipyniGp:

LwGh” wuniyum Yyuwnwph thnpp wihyp' dwGwwwphny 72 §

qinpytijhu:

4. Lwlh” yuniyyum Juwnwph d6o wihyp wyl Swlwywphwhwn-
Jwonud, npuntin thnpp wGhyp ginpythu junmwpmd k15 yuniyn:

w

20. A Ytwhg GmyG6 nynmpjudp ShwdwdwGwly wpdynd b6 Gpym
dwnuhG, npnGghg wnwohbn 15 ¥/ hwumwmnm G-wpwgnipjudp:
Gnynnpnl wowohl quypljwlmy wGglmy L 54, hul
Jnipupwlsmp hwonpn JuypljwGmd 2 @ wytith, pwl Guwjunpyma:

1. 3 Juwjpyywl htimn wnwohGp A Ytwmhg pwGh® Adtnp htnwynpni-
pjwl ypw YqunGyh:

2. 10 pnwb htimin wnwohGp A Ytwmhg pwGh® Ypndtwmp htinwynpni-
pjul Ypw YquGyh:

3. Lwlp” dtunp dwlwywnph b wlgimd tpypnpn JwpdhGla nipt-
nnnn yuwynyywlnug:

4, Lwlh” Juypyywb htnn dwpdhGatpp yhwinhwbl, tpk hwjwmGh £, np
wjn dwdw Gwyp Juwjpyjubaatpny wpunmwhwjmynd £ pwlwb pyny:

21. 315 4 ipjupmpjwdp JpowGwqoh A L B Yuwmbtph dhol qunynn
thnpp wntinh tpyuwpnipjniGp 105 dtnp E: A Yhnhg Junpdynn
dwniGh wpugmpyniGp 20 4/p t, hull B Yuwnmhg wndynn dwmiGh
wpwqmpjmbp’ 15 W/p:

1. Lwlh® pnyb wig dwpdhGatpp yhwlnhwbG, tpt Gpulp dhdjwig
ninunwy wnpdytl thnpp wnbnny:

2. Lwlp”® pnyb wlg YwpdhGGtpp YhwGnhwhG, tpt Gpubp pwunpdyta
(inyG nunnmpjuip b A-hg 2wnpdynn dwpihlp htmwwlnh B -hg
2wndynn dwpiGhG vto wnbtnny:

3. Luwlh® pnyt whg dwpdhGGtpp yhwlnhwbd, tpt Gpubp pwpdyta
nwpptip mynnp niGGtpng L 4o wnbnny:

4, Unwohl hwGnhynuihg pwGh® pnyt wig dwpdhGatpp Gnphg
Jhwlnhwtl, Gpt Gpulp pwunpdytl Gniy6 ninnnipjwdp:
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22. “nipu quny shulnyyG Yenhg' tpynt dwpihG ujutighG hwjwuw-

23.

w

nuswth updyty 150 § tpyuwpmipyunip zpgwGwuqony: UnwgehGh
wpuwqnipjniGp 10 WAJnY &, huly tpypnpnhGp” 15 dAlpy:

Lwlh® Juypyywbp vty jhwlnhwytl dwpdihGGhpp, Gpt pupdyti
hwljwnwly nnnnipjnGGtpny:

Lwlh® Juypyyuwbp vty YhwlnhytG dwpdhGGpp, Gpt pupdytl
uhllnyy G mnnnmpjudp:

Cundytiny hwjunwly ninnnipjnGGpny JwpdhGGtpp
GJuquqniyGp pwGh® Juyplyuwl htivn Yqun Gyt mpudwqonpbG
hwunhp Yhmbpm:

LwGh® dtwp YhGh dwpdhGGph dthol htinwynpnipniGp Qwupdnuip
uljutiinig 30 YpYy htinn:

A Juwyphg ntiwgh B quypG ninlnpytg 20 Yu/d wpwgnipjudp wnpd-
ynn htiowGynpnn: 30 pnwt wlg A-hg nnipu tyuy 30 Yui/d wpwgm-
pjuip 2wupdynn Unnnghyjuwjwunp, npp hwuGtiny htowGynpnhG,
wlthowuwtiu htim Jp9gtg L A Jupwnwpdwy wjl wwhhd, tipp
htowlynpnp hwuwy B:

Lwlh”® pnytind UnnnghYuygwpp Jupnn £ wgGt) htowGynpnh 60
pnytinid wigwo dwlwwwnphp:

Ltowlynpnp pwGh® pnytntd“A Juyphg hwuwy B Juypp:
Lwlh”yd & A L B yuyptiph htinwynpmipniGn:

Cwndnudp ujubinig. pwGh® dwd htimn Unnnghyjuwpp hwuwy
htiowGYnpnhG:

24. 6pym pwnuplbphg dhwdwdwlwl hpwp pnwowg JwpdytghG

tpym dtphGw: UnwohlG dbkptGwl wyjn pwnupltph dhol tqud
SwlwwwnhG wigGmyd t 1 dwd 30 pnytimd, huy Gpypopnp' 1
duninuy:

Lwlh® pnybnmd wpwohlG dhptGw6 YulgGh wyn dwlGwwwphp
Ybup:

Ujn dwlGwwwphh pwGh® mnynup JuGgGh tpypnpn dtptGuG 15
pnytinig:

Lwlh® pnytinud tipypnpn dhptGwG YuGgGh wnwohG dhptGuwjh
it dwinmd wlgwo dwlwwwnphn:

Cwndnudp ulubinig pwGh® pnuybt htinn wyn dtptGuitpp
yhwlnhwtd:
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25. A pwiquphg niwh B pwnup 2wpdytg dwpnuunwp wjnnitpb-

GwG' 60 Yui/d wpwgmpjuip: UhwdwiwGwly B punuphg niyh A
pwnup 2wnpdytg wymnpmun® 40 Yui/d wpwgmpjuip: A L B
pwnuwpGtiph htinwynpmpymGp 600 Yo L:

Lwlh”® dwd htin dwpnuunwp wyunndtpbGuG L wjwmnpniup

YhwlnhwhG:

Lwlh® dwd yuuwhwGoyh wymnpniuhG hwinhwydiw( yuyphg A
hwultynt hwdiwn:

Lwlh® Yhndtwmp JdGuw SwpnuunwphG B hwulGtim hwdwp'
hw(inhwynithg 2 dwd htinn:

Lwlh® Yhndtwp YhGh dhptGuGhph dhol htinwyynpnipynilp wjG

wwhhG, Gpp dwpnuunwn wywmndbptliwl wiglih dwliwwwnphh %
dwup:

26. Gpym Juwyptiph dhol tywd Gwlwwwphp dwpnp® pwypbing wig-

[

w

27.

W=

Gnui 4 dwinmd, huy htidwlyny" 2,4 wlqui phy dwiwGwyny:
<towbGyny nGpwlwihu Gpw wpuwqmpmbp 748/d-n wtih k, pwa
pwjtijhu:

Lwlh”® pnytinud E Gw htowGyny wlglnid wjn Swlwuwwphp:
GGt Gpw wpwgmp niGp htowlyny pipwlwihu’ wpmwhwjnwo
yu/d-ny:

LwGh”® Yu t wyn Swlwwuphp:

Lwlh” pnytinid GuwryuGglh wyn dwliwwwphp, Gpti GwGwwwnphh 8
YhindtnnpG wGgGh htowlyny, hul WGwgwo dwup’ pwjtny:

UnwohG pphqunl wiipnn9 nupwun Yupon khGdky 10 opnid, huy
tnypnpn pphquinhG Gny6 wlvwwnwGpp juwunwnptine hwiwnp
hwpyuynp kwyn dudwGuyh 150 %-n:

Lwh” opnud nupwmp YhGdh tpypnpn pphqunp:

Lwlh”® opnid nuipup YhGata tpym pphqunGtpp dhwuh:

Gpypnpn pphquinh 6 opnid Juunwpwo wpfuwwmwlpp pwGh®
unlnuny k wytith wnwohl pphqunh 2 opnid juwmwpwd wpfuw-
wnwphg:

LwGh” op Yunlih hnGap, tpl uyqpnid 5 op wptuwwnh thwjG Gpypnpn
pnhqunn, huy dGwgwon hGdtG shwuhG:
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28. Unw9hG pwGynpp wzfuwmwbpp Yupnn L junwnty 40 opnid, huly
tnlpnpnp’ 60 opnuy:

1. <Qwdwwbtn wyfuwwmting Gpubp pwGh® opnid Jujwpunbb wyn
wpfuwwmnw pn:

2. Wuwwmwbpp pwh”® opnid YuwwmwptG tpynt puwlGynpp shwuhd,
tipti wnwohl pwGynpl wyfuwwmh 1,5 wliqud nuibnun:

3. Whuwwunwipp pwlh® opnid YuwwmwptG tipynt pwGynpp ShwuhG,
tipti GpwGghg jnipupwlyyninG wpfuwwmh 20 mnynu wybjh wpnw-
nnnnuijwlnipjudp:

4. Lwlh® opmd Juywpuyh wuwmwbpn, tptk uygpmid wpuwwmwlph
Ytup uuwnph dhwjl wnwohl puwGynpp, hul tpypnpy tup dhw)G
tplpnpn pwlynpp:

29. Jupytnp L wywtpup, thwohG wfuwmting; wyunp junpnn GG
2wpt) 8 opmu: LwywnGh t, np JuwputnG wawlbtpnhg 2 wiqud
wytih wpwgq t wfuwmnig:

1. Uhnwwmting wnwGahG, wpywytpup puGh® opmd Jupnn L ywunn
wnhy:

2. Uty dudinmd qupwybtinb wywytpnhg pwGh® mnynuny wytih
w2 fuwwmnwlp Yywwmwnh:

3. Clnwuitlp pwGh”® opmid Gpulp Ypwnbl wwwnp, tpt uyqpnid 3 on
w2 fuwwmh shwj6 wpwlbpump, huy dGwgwo dwul wjwpntl dhw-
uh(:

4. LwGh” opnd Gpwlp YpuwpbG yuwwnp, tpt Jupwybup ujuh wpfuwwmty
2 wlquwu wyth nulnun, hul wpwytpunp 3 wiqud wytih wpwq:

30. Gpym oOnpuyGiph hwiwwntin qnpotim nhiwpnd gpuyjuquln (gynd
L 8 duninui: Ukl dwinid wnwohG onpuijhg hnunid £ 1,25 wmGquni

wybih 9nip, pwG Gpypnpnhg:

1. Uty dwind Gpypnpn onpuyhg pwGh”® ninynuny £ ywljwu 9nip
hnuntd, pwl wnweohlhg:

2. UhwyG tipypnpn onpuyny pwGh® dwdnid Jupnn t gyt
onwywquin:

3. UnwohG onpuyny pwGh”® dwinid Junnn k gyt wnwhuh hplg
onwywqu:

4. Lwlh® dwdnd Jupnn t gyt opuuquin, tpt 4 dwd gnpoh dhwyG
wnwohl onpwyp, hul “Gwgwo dwup (gyh dhwyl tpypnpn Onpwyny:
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31. UWwqubhG shwgywd G6 tpym fjunnpnjul® wnwehbp 1g6nn, tpy-

[y

popnn uvwnynn: Gpypopn funnnduiyp 1,5 wiqund wpwquqnpd k
wnwohlhg: Unwohln nuumwnly wjuwqubp Jupnn k 1glty 12 ¢-mud:

Gpypnpn funpnwlp pwh” dwdmd Ynwnwnpyh (hpp wjwquip:
Gpt nuunwpy wjwqubh phypnd wnwohl funnnyull w)fuwwmh
6d, wjG thwybing htinnn pwGh® dwdimd tGpypnpnp ynumwpyh wjw-
qup:

Lhppn wywquin pynt junnpnjuyyGiph hwdwwmbn wfuwwmbine nhiw-
pnid pwlh® dwdnd Ynuwmwpyyh:

Gpb unmnjuwyGtph uygqplwlub hgqnpnipyniGGapp Ypylwywnyyhd,
pwlGh® dwdnd Ynwuwpyyp thpp wjwquip' tpym funnnjuyGhph
hwiwwnbn wyuwwmbim nhypn:

32. Unw9hG onpuyp wjwqubp gGmd £ 5 dwdnwd: Uyqpnud 2 ¢ pugti-

[

ghG wnwohl onpuyp, wjlnthtnl wjwquGh Gwgwo dwup (gnhG
thw)G tipypnpyg onpuyny: Mwpqltg, np wjwquh wowh Yhup
tnynnpn Yuhg 1 duningd wwjuu dwdwGwymd & 1gyby:

Ugwquh n°p minynup (gpkg wnwohl onpuyyn:

Lwlh”® dwdind 1gGh wjwqubp pypnpn onpuyhg tipynt wiqud
wwlwu hgqnpmipjwdp onpwlyp:

Unwohl onpuwyh wpmwnpnnuwlnipyniGp pwGh® minynuny £ wytih
tnypnnpn onpwih wpnwgpuulwbnipyniGhg:

Lwlh”® dwdind k 1gynd wjwquiGp wnweohG L tpypnpn onpulyGhph
hwdwwbin gnpotineghwpnid:

33. Pwlynpl 8 dwitinid pwipty tp 13 6 wunn, pln npmd, wnwehb 4 >

hed

2unbinig htinn G wpununpnnujwlinmpjnGG pGyky tp 25 %-ny:

UhGsb wpmuwnpnnuuGnipniGG pGYGatp pwGynpp 1 dwdnd pwGh®
u’ wwuw tp pwpnud:

LwGh” dwd wuwwnmbg pwGynpl wpmwnpnnuijulinpynGa pGyGtnig
htimn:

Lwlh® dwintd pwGynpp ywptg wwwnh wowehl 7 62 -G:

Lwlp® 0 2wntg pwlynpl wnwohb 6 dwiniy:
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34.

35.

el e

36.

<hGq Shuwnbtuwmly nmpulnnplitnhg yuqijwd fumipG wnwohG

nwown jupnn t htnyty 14 opmud: ‘Lo Gwwhw Lpypnpn nuywmh
dwltiptiup wnweohGhg dto L 80 Y%-ny:

Unwhuh 7 mpuwyunnplbphg punuguo funtipli wnwohl nw)wump
pwGh”® opmu Yhtipyh:

Ujnuhuh pwGh® mpuwyunp L wlhpuwdtym tpypnpn nupwup 18 opnid
htpybnt hwdwn:

Lwlh” mnynuny wybth wpnmwnpnpujulnipjudp wbunp b wphuw-
wh 5 wpwlhunplbphg pwniugwd funuwipp, npwbugh Gpypnpn
nuwwup htpyh 15 opnud:

Unwhuh pwGh® wmpwlwnp L wlhpwdtpn wnwohG L tGpypnpn
nwwmbtinn 7 opmd htipytnt hwdwp, tpt mpuunpltnG wyfuwntl
20 % wwlwu wpnwnpnnujw Gnipjudp:

100 hw dwytintiuny nuywp Juptin hwdiwp S op wfuwntg dhl-
(in1)G hgqnpmpjwip npwlnnpGph vh fumdp: UjGnthtunl Gpuig
thwguy] Gni)G hqnpoipywip h wpwijnnp, nph 2Gophjy] fudph
wpnunpnnuyuinipynilp skowgu] 25 %-ny, L wpuwwmnting lu
6 on GpwGp wjwnpuntighG wyjuwmnwGpp:

Uluwwnmwlph uyqpnid pwGh?® wipulunp tp wpfuwmnid:

Uh mpuyunnpG opwlwl puwGh®htyumwn Ep Jupnid:

Unwohl snpu opdw pGpwugpnid nu)wh n°p inynup Juptg
pPphquinp:

Unwoh( ytg opfw plpwgpnid pwlh® htiyunwnp Juptg pphqunp:

10 pwiynphg punyugwd pphquan Gwjuwmbuby tp dh npny wow-
ownnulp wywnpwnb 12 opnud:

Lwlh” op Yunlip wnwownpwlph uwwpnuip, tph wfuwwnmbhG
Uhw)G pwGynpGtiphg 8-p:

Lwlh” opmd pphqunp Yhunwptp wnwgwnpuilpp, tpk pphqunh

wpunwnpnpulwlnipyntGG wybpulGun % dwuny:

Lwlh” on Yultp Gwuwmbujwd wnwownpulph Juwmwpnudp, tph
pnhqunh wpnmwnpnuyuinpyniGG pGyatp 20 % -ny:
Gpt pphqunl opJu Ytul wpfuwwmtin Gwuwwmbujwohg tplynt
wlquu wytih nubnuwn, huy tpypnpn Yhup' Gwuwnbtujwohg tpynt
wlqud wytih wpwg, wyw npjuwd dwdtnnd pwGh® mnynuny
yqbpwljwwmwpbp wnwownpwlpp:
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37. 3np thwwunbtuwly YnipwyGltphg Juqiguo pphqunp jupnn t quwmp
hGdty 10 opnu:

1. Lwlh” opmud YhGakG nupwp, tpt wpuwwmp vhw)G hhGq Ynipw)G:

2. Lwlh® op E wlhpwdtym nupup hGdtnt hwiwn, tpt Yndipw)GGtpa
wfuwwnbG 60 % -ny yujwu wpnwnpnnujulnipjudp:

3. Lwlp® opmd Ywywpuyh hniGdép, tpt YndpwyGGtpG wpuwnmba
25% -ny wyb] wpmunpnpuijulnipjudp:

4. Lwlh” opnd uywpunyh hniGép, tpt wpfuwwmwlpuwjhG opdu Ytup
UnipwyGGtpG wyfuwwnmtl tpynt wliquyd wpwgq, huly Yhuophg htimn®
tinynt wiquu nulnuwn:

38. Wpuwunwlipp juwnwptint hwiwn pwGynpltphg wowehGhG
wlhpwdtywm k. 4 onhg n; Wulijwu dwdwGwy, hulp Gpipopnp wyn
w2fuwnwlipp Ywpnn t jumwnt) 2 wliquyd wytih gun dwiwlw-
ynid, pwl wnwohln: Gpyniuny thwuhl wjuwmwGpp Juwnmwntint
huwdwn pwliynpGnhG wlhpwdtym t 3 ophg wwjwu dwiwGuly:
{wywnGh t, np pwGynpGtphg jopupwbsynnb wyn wfuwmwbpn
Jupnn & junwnpl) wipnng pyny ontipni:

1. Lwlh® opmd upnn L juunwnpb) wyn wpuvwnwlpl wnwohl pwGynpn:

2. UnwohG pwGynph 3 opmi juwunwpwo wfuwmwlpp pwGh® opnid
Yupnn b uwnwnt) bpypapyg paGynpp:

3. Whuwwnwlph n®p maynup Yyuumwptb puGynplbpp, tipk wnwohGh
wpfuwwnh 2 op, hul tpypnpnn” 4 op:

4, LwGh” opnid pwlynpltpp Yhwuhl Yupnn 66 yuwmwpt) wyn
w2 fuwmnwbpp, tpl Gpulp wyfuwwnmbl 3 wiquy guon
wnpunwnpnnuwlnipjudp:
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nuStlUnUuvLEr
1 2 3 4 27 15 6 100 9
50 75 96 60 28 24 30 20 50
525 3 4 200 29 24 100 10 6
4 30 40 25 30 20 18 72 17
60 40 84 60 31 8 4 24 12
12 8 2 72 32 40 15 50 3
20 2 6 10 33 2 6 4 10
16 25 4 9 34 10 7 68 35
70 12 12 84 35 4 2 32 50
55 45 5 125 36 15 9 15 25
4 12 6 35 37 14 25 8 8
12 2 20 100 38 4 6 100 8

40 8 2 40
200 | 50 140 | 168
225 15 45 30
25 2 72 | 360
24 12 80 20
3 5 2 6
48 | 245 | 20 175
3 18 12 5
45 9 19 11
3 42 6 63

SN = R EIES P EA R I R

22 6 30 3 0
23 40 150 | 50 1
24 45 235 40 36
25 6 9 120 | 200
26 | 100 12 20 184
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AUJDhYV 4. dOFLUShULE

1.

1.

Spywd B6 f (X)=x"+x*+In(x-2) b g(x)=3x"+1 pmbGyghwbbpp:

Quil y=f (X)'g(X) bnillighwjh npnptw G mhpniyyphb
wwwnlwlnn witGwihnpp pGwlwb qniyq phyp:

2. wpyty f(3)q

Qi) g $mbyghwih qpuphyhl Gpu X, =0 wpughul niGtignn
ytnnmd nmwpywo pnpwihnnh b opgphGwwmGtph wnwlgph Juqiwo
wiljwl wumhdwlwjhb swthn:

QG f pmbGyghwyh thnppwqniyG wpdbpnp [3; 10] dhowlwjpniy:

SpUwo t f(x)=v23-x+vx—5 pmbyghw:

f PniGyghwjh npnpdw whpnypp pwGh® wipnng phy k
wwnniGwynud:

2. Qunlby fz(x) wnunwhw jnmpjul hoppugniyG wpdbpnp:

Q) f $mGyghwjh vhowgny)G wpdtpn:

f PniGyghwih wpdtpGtph whpniypp pwlh” unipnng phy k
wwnniGuyniy:

. Spwot f(x)= x—% $mGlyghwa:

2

1. Qb f Pnillyghwgh wpdbpp X =23 Yhwnnu:

Qn(ity ‘ f (X1)‘ -, npuntin X -p f $nlGyghwyh Swpuhdnush Yo k:

3. Qulty f pnlGyghwyh qpudbhyh X, =2 wpughul niGtignn Yhmnud

nwnpjuwod ynpnthnnh wiyniGwjhG gnpowlhgnp:
Qult) f $mGyghwjh Guqiwb showlwjph tipupnipjnilp:
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I

S

Spwd t f(x)=26- J30-5x* pmGyghwa:

Q) f $mGyghwyh shGhuinush Yuwn:

QuGt) f PmGyghwih qpubhyh x, =15 wpughul niGtignn Yhmnid
nwnpjwod yn2wihnnh b wpughultiph wnwGgph Juqiwo wilyjwh
wumhdwlwjhl swthp:

Q) f PmGyghwjh qpubhyh x, =—-1 wpughul mbtgnn Ytwnny
nwnpjwo yn2wihnnh b YnnpphGwwmwjhG wnwigpltpny vwhdw Gw-
thwlywo yuwumtiph dwybpbun:

Qb f pnlGyghwih qpuphyh wyl Ymh wpughup, npnid nwp-
Jwo pnpuwithnnp qniquhtin £y = X+1In5 ninnhG:

Smwd b f (x)=Ig(x* +1000) L g(x)=-x"+ 4%+ 20 pmGyghwhtpp:

Q) f $mGyghwjh thnppwqniyG wpdbpn:
Qb g $nllhghwjh dhowgnyyG wpdtipn:

f pmyghwyh wpdtplnh whpnypp pwh® Shwbhy phy E
wwpniGuynu:

f L g $nGyghwlbph wpdtplbph mhpnypltpp pwGh® pGnhwlnip
wipnn9 phy mGLG:

Spwd t f(X)=|x|(6— %) dmGyghwa:

{wpyt $niGyghwyh wpdtpp x=3-— x/ﬁ Jtunnud:
LwGh” hwmdw Yo niGhG y=9 mnphnp L f $niGlyghwjh qpudphyp:

QunGt) pnGyghwyh dkowgnyyG wpdtpn [2; 4, 5] vhowljwjpniy:
Gult) a ywwpwibwmph pninp wyl wipnng wpdtipGtph pwlwln,
npnlg niyypmd y=a nminhnp f pniGlyghwjh gpudhyp hwwnnd £
Ghpw tiptip Yhwnnud:
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7. Spywo t f(x)= % $oiGyghwa:

1. Qult X-h pnnp wyl wipnn9 wpdtipGtiph pwlwyp, npnlg nhypnid
bniGlyghwjh wpdtplbpp puguwuwlul sGG:

2. Qulh f PpmGyghwjh Epumptivinuth Yhnbtiph pwGwyn:

Gt pnnp w6 pytiph pwlwyp, npnlp $niGlyghwjh wnpdtip sta:

4, Quilt y=f (|X|) $InGlyghwyh vhowqgny)G wpdtipn:

»

8. Spwot f(x):12sin%x+5cos%x $mGlghw:

1. Qulty f $nbGyghwjh hhiGuwwl yqupptpnipjniln:

2. Qulh] f pmGyghwjh dtowgnijG wpdtipn:

3. Lwlh” wdpnne phy L yupmGuymy f $niGyghwjhwpdtpltph
pwuqunpjmip:

4. Gl F(x) :‘ f (X)‘ $mGlyghwh thnppuqniy wpdtipp:

_ 2
9. Spywd ta f(x)= 31+2X)§ L g(x)=3lg (\/;-FJ.O) P GyghwGhnp:

4. Qulh] f pmGyghwjh dtowqni G wpdtipn:
5. Qb g $nmbGyghwyh thnppwagniyG wpdtipn:
6. Qb f L g pnlyghwbtph qpuphyitinh hwndwb Ytwnh

wpughup:
7. Qb pnnp wjGvhwGh) pytph pwbwyp, npnGg nhypnd f

$niGyghwjh wpdbpp sh gipwqubgmy g pnillghwjh hwiwwyw-
nwufuwl wpdbtphg:

10. Spywd t f(x)=18Inx—3In’ x pmiGyghw:

QG f $mGyghwjh qpnGhph pwGuyp:
Qult] f $mGyghwjh wowlgjup X =1 yhwmnud:
QG f $mGyghwjh vEowgny)G wpdbpn:

Qult] f $mGyghwjh thnppwagniyG wpdtipp [e; e4] dhowlwpni:

el .
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11.

1.

12.

i

13.

Spwd b f (x)=4(x-1+1-x) pnbyghu:

Lwlh® Yhnmmd & $niGyghwih gqpubhyp hwwnnid wpughulbiph
wnuwlgpnp:

Gt $PnmGyghwjh dowqny)l wnpdtipn:
GGt $nGyghwjh thnppwagniyG wpdtipn {O; %} hwwnywonud:

St prbyghuyh Yphupyuywl Yhntph pubwyp:
Spqud t f(x)=[x-1(x+3) pmbyghwa:

GOty $nlGyghwjh wpdbpp (—1+ «/E ) ytunnud:

Gty pniGlyghwh Gfuwqiwb dhowlwjph wipnne pytph pulwlyp:
Q) $nGyghwjh vhowqnyG wpdtpp [—2; J7 —2} hwwnywonud:

Gl @ yuwpwibnph w6 wdpnn9 wpdtpGtph pwGuwlyp, npnlg
ntiypnid Yy =a ninhnp f pmGyghwyh-qpubhypn hwnnid £ dhpn
tintip Yhwnnwd:

X4 2

Smwd k(=" - X? +4 $mGhghw:

Qull f Pnlyghwyh wowlgjup X =0 Yhmmad:
Gt f pnilyghwjh Gyuqiwb showlwjptinht wwwmljwlnn ny

pugwuwlul wdipnng pybph gmdwnn:
Qb f $nbGyghwyh dhGhinwih Yantiph dhol inwo htinwynpnt-

pyniln:
Qb f $mbGyghwyh Epunmpbdnmibtinhg vkowqnyGn:
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14.

16.

1

Smwd t f(x) =log, V25— x* + m $mGyghwa:

+{ X
GGty f PmGyghwyh npnpdwl mhpnyphG syywnmyuling
wibGuwihnpp pGuwlwG phyn:
GGty f PmGyghwyh Guqiwb showlwjphlG wwwnlwlng wipnn9
pytiph uhohl pwpwlwljwbp:
GGty f PmGyghwyh dEowgnyyG wpdtipn:
Qb w6 k wipnng pytinh pwGwyp, npnlg niwpmyd f (k)< f(3):

. Spqwd t f(X)=v3—x+x*—6x+16 pmGyghwa:

Q) f $nlGlyghwjh npn2dwl mhpniyyph wikGwdto phyn:
QG f $nilGlyghwjh witiGwihnpp wpdbpn:

Q) f PnmlGlyghwjh wikGwito wpdtpp [— i 2] dhowluwjpnud:

Lwlh” wdpnne wpdtp t plyniGnd Cf “$niGlyghwG [— i 3]
dhowluwjpnid:

4

Spqwd t f(x)= XT ~2x? $mlyghwG:

Qb $mGyghwghwowlgyup X =4 Yhwmnud:

Qb pniGyghwyh Ynhnhjulwh Yentph pubwyp:
Senlilng [O; 3] vhowlwjpnid pnilijghwjh dhowagny)G wpdtiph
pwnwwwwumhyn:

Qunlb] X =2 wpughul niGbgnn Yannmd $nilGyghwih qpubhyhG
nwnywo ynputhnnh wilyyniGuihl gnpowlhgn:
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17. T =2 hpdGwyw6 yupptpmpjudp f $nGyghw npnpqud L
(—o0;+00) Showlwypmd L f(1)=5:

1. Qulh 2f (— ) wpunwhwjjnmpjul wpdtipp:

2. Qi f( j f( j+4 wnpunwhwjnnipjul wpdbpp:

3. Qulby F(x (- 2x) $niGyghwjh hhiGwlwl ywppbpnipyoiGp:
4. Qully H( ): ( (x)) niiyghwgh wpdtpp x = —/3 Yhwnnus, npuntin

2

g(x)=-x":

18. Spyud k, f (X) =X’ +6x+10 PniGyghwa:

1. Qulb f $mGyghwjh thnppwqgnijG wpdtipn:

2. Qunlty F(x)= f(f(x)) pnlyghwh wpdtipGtiph whpniyphl
wuwwnlwng thnppwqgniyG qnijq phtjp:

3. Qunlty G(x)= f(sin x) $niGyghwyh dkowqnyG wpdtipp:

4. Quly H (X) = Sin(f (X)) $niGyghwjh wpdtpltph mhpnyyphG
wuwwnlwng wipnng pytph pulwyp:

19. Spjwd t f (x)={x%—4x| pméyghw:

Qb f pmlyghwyh wpdtipp 2 Yhnnd:
Qull f PnGyghwyh wowlgyup 1 Yhnnud:

1
2.
3. Qult) f $niGyghwjh dhowgni G wpdbpn [—1; 1] dhowlwjpniy:
4. Quibt] f $niGyghwyh Epumptdnuh Yanbph pwluyn:

20. Spywd t f (x)=—x*+4|x| pmGyghwa:

1. Quihy f $niGyghwyh wpdbpp —2 Yhwnnd:
2. QG f pmbGyghwyh wowbgjuin -3 Yhmn:
3. QG f $pmGyghwjh dtowqnyyG wpdtpn [—5; —3] Uhowljwjpniy:
4. QuGbp f pnmGyghwjh Epunpbtdnuih Yhmbph pwGuyp:
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21. Spywd t [-3; 7] npnpdwG wmhpnypm] f pmiGlyghwyh quuphyp:

22.

Qun(iby f (f (—2))— f (f (6)) wnunwhw jnnipjwb wpdbpn:
Quiby f'(5)- f(x)> f'(2) wihwywuwpiw wdpnng nionuiGhph

gniiwnn:
Qi) fof Ppnillyghwjh npnpuwG whpnyyphl yuwnmywlnng

wibklGwthnpp pGwlwG phyn:
Qi) fof pmbyghwjh wpdtplbiph nhpnyphG ywnywlng

wipnn9 pytinh pwlwyp:

Spywd  f(x)=12x+ N $nGyghwG:

GGt $nGyghwyh npnpdwl mhpnyphlG ywwmlwlng wipnn9
pytiph gnudwipp:

2f (sina)
12sina +5cosa

G-ty wpunwhwjmnipjub wpdtipp, tpt

GGt $nmGyghwyh dhowgniyG wpdtpp:
GGt $nGyghwjh wpdbpltph mhpnyyphl ywwunulnng wipnng
pytinh pwGuyp:
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Glpwwnwownpuwlph hwdwpp
i 1 2 3 4
1 4 36 90 36
2 19 18 6 2
3 0 3 2 2
4 0 60 200 1
5 3 24 7 22
6 1 2 9 8
7 5 0 1 4
8 6 13 27 0
9 3 3 0 10
10 2 18 27 15
11 2 1 0 1
12 2 3 4 3
13 0 1 2 4
14 5 2 2 2
15 3 7 25 19
16 48 3 9 0
17 15 4 1 5
18 1 18 17 3
19 4 2 5 3
20 4 2 3 3
21 2 16 4 6
22 0 2 13 26
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AUIPhL 5. <LUrEUQUONRO3NML

1.

bl b

[

»

Ealball

NunuyynG towGljwa unp walyynGiiphg thyp 60° t, hul wn
wGlyw6 nhiwgh tep' 8v/3:

Qi Gowlyywl thnpn Eoh tpwnpnipyniGp:

Qb tnwGyjwa6 GhippGuwdhgqh tpupnipyniGn:

GGt tnw Gyl wpunwqoywo powlwqoh pwunwynh
tpunpnipyniln:

Qb tnwlyywb vto toh ypnytiyghw( Gopplwdhgh Ypw:

ABC tnw(lyjwuG dt9 AB =13, BC =30, CA=37: (jn inwGlyjwubp
GtinqoJwo ypowbughon AB, BC L CA ynnutpp 2npwthmy k
hwiwywunwuhwliwpwp K, L b M Yhmbpma:

Q.G ABC tnwGljwl dwlbkpbup:

QG ABC tinwilyjwip Ghipgowd ppowlwqoh mpudiwqdh
tnyunpnipynilp:

QiG] MC hwwnjwoh tpupnipjntlp:

Qn(h) 13-S dtompjwl pwjhGuwpdtpp, npmbn S -p BKL tnwG-
Ywl Jwytintul k:

ABC tnw(lywi Swlytptiup 36 £.: AB L BC ynnitph Ypw Yytpggwod
66 hwiwwywnwuluwGupwp M W N §ambtp6 w)Gwbu, np
AM:MB=1:3 BN:NC=1:2: O-G AN L CM hwwnyjwmoGtnh
hwuniwG Y t:

ON
Senlilng a hwnpwptinnipjniGn:

GGty ANB Gnw(lyjwl dwybpbun:

Gty AMO tnwilyjwl dwybtptun:

Q.unGk; MBNO pwnwGlyjwl dwybtptuh hwpwptpnipymGp AMO
tnw Gyl dywytptuhG:
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4.

Wb

=~

ABC tinwGlyjymG AB L BC ynnutiph Yypw ytipgywd 6 hwiwujw-
nwujuwlwpup M b N yantpG wyGuybtu, np AM :MB=1:2: AN u
CM hunyjwoGlpp hwnymu tG O Yy, pln npmyd

Saom = Syon =6

B
Q- Gty % hwnpwptinnipym Gn:

GuGt; MNB tnwljjul dwytptup:
GuGt); ANC tnwGljwln hwjwuwpwito pwnwlniunt Ynnup:
Gt CO:OM hwpwptipnipjnilnp:

ABC L AB,C, towGymGGGtpp w6 GG6: 6y npd AB =17,
BC =10, CA=21, huy A B,C, tnwGyjwb thnpp Ynnin 5 L:

QG AB,C, tnwGyju vt Ynndih tiplunnipjub
UnyGuuumpyp:

QG A B,C, tnwGlyjwul wwpwghon:

Qi A B,C, tnwlyjub dwybtptup:

Q.unGlk; ABC tnwGlyjuGp Gtipqowd ppowlwqoh mpuwiwqdh
tpywpnipynilp:

65 wupwqony ABC tnwlljuG AD Yhunpnp BC ynnip pwdwGnd
L BD=6 L DC =9 tpjupmpjudp dwubtiph: D Ymhg AC YnnihG
nwnuwd qniquhtin nmhnp AB Ynnip hwnnud £ E Yanmnd

Gt tnwlljwl dGo Ynnih tpuwpmpjniln:

Qn(ity DE hwnywoh tpupnipyniln:

GGty AED wljwl Yhunpnh L AD -h juqiwo wiljwl wumhdw-
(wjhG swthp:

Q.G ABC tnwGljwlp Gipqowd ppowluqoh mpuwdiwqoh L BED
tnwGljwlp Ghipqowo 2powlwqoh Jwnwynh hwpwptipnipnilnp:
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7. ABC tnw(ljwl dt9 AB =18, BC =15: Ujn inwllyyjuG AC ynnih
Ynw Yingywo £ D YtwnG wyluytiu, np AD=12, hulj LABD = LACB:

1. Quik; ABC tnwilyjul AC ynndh tpyupnipjniGp:

2. Qu(t] ADB tnw(lyjwG BD Ynnuh tpunpnipjniGn:

3. Qult; ADB tnwiljwl ywupwqoh tnwwywwhlyh L ABC tnwGlyjuG
wwnwqoh hwpwptipnipjniln:

4. Quik; ABC tnwGljwl dwlybtptuh punwywwmhyh L ADB tinwG-
wl dywytiptiuh hwpwpbpnp niGn:

8. ABC tnw(lyjwlp Gtpqoqwd t 6 pgununnny powGwgho, npG AB,
BC L AC ynnutipp 2nputhmy t hwiwwywwwufpwGuwpwup M, N L
K Jtwmtpmd: GowGlyywi dwytpup 204 t, huy AB thnpp Ynnip
hwjuwuwn £ CK -hG:

GGt tnw Gyl yhuwwwnpwghon:

Qb tnwGlyjwl thnpp Ynnih Gpyupnipniln:

GGt AM L MB hwnmjwoltphg utdh tpupnipniGnp:
GGt tnwGlyjwl vto Ynnuh bplwpnipjnGp:

ol S

9. ABC tinwllyywG AB L AC Ynmitiph Yypw Ytipggwo LG hudwuw-
nwujuwGupup M LN Ytnbp6 wyGytu, nn ZAMN = ZACB:
Spywo LG Gwl® AB=28, AM =15, MN =13 L BC =26:

1. QunGt; AMN tnwGlyjuG AN Ynnup:

2. Qulk; ABC tnwGlyjwl yupwqhon:

3. QuGt; ABC L AMN tnwGlyymGGaph dwybptuGhph
hwpwptipnipjniln:

4, Qult; AMN tnwGljwip Ghpqowo Jpowlwqoh pwnwyhnp:

187



QLNkMu 2 ~UIDY 5 ULEUUONMF3NML

10. ABCD qniquhtnwqdh A L D wGlymGGuph YhunpnGepp BC

11.

12.

b=

ynnip hwnnd G6 hwiwwywnmwufpwlwpwp E L F hnbpnd:
O-G AE L DF YhunpnGtph hwwniwG YtwnG £: C6n npmd BE -G 3
wlquu vtio t EC -hg:

. Gult; AOD w6yjwl wumphdwGuwjhl swihp:

A
G-l O_CE) hwpwptinpnpniln:

Q-unlk; AOD L EOF btnwGynmGGaph dwytptuGtpp
hwnpwptinpnipniln:

Q.G DOEC L ABFO pwnw(lyymGGtph dwytptuGtph
hwpwptipmpjniln:

ABCD qniquhtinmqoh B ququphg AC wllyynmbGuqohl mwupjwuod

nunuwhwjugh E hhdpp w6lyjniGuqhoép mpnhmd t 1:2 hwpwptpni-
pjuip dwubtiph® hwqwd A ququphg: AC=24, huy BD=22:

GGt AE hwnyjwoh tpwnpnipjadln:
Gt walyniGwqotinh hwundiwl Ytnh htinwynpmp nilp E

ytinhg:
Qn(b) gniquhtinwqoh inpp Ynnih Gplupnipyniln:
Qn(t) gqnuquhbinwqoh Wupwqghon:

ABCD qmquhtinwqdh dwytptup 420 t: C6npnpmi AC=39 L
BD =25 tipljupmpjnipjunip wlymGuqdtpp hwwnymd GG O
tnnud:

Q-n(t; AOB tnw(lyjwl dwytpbup:

Qb 65-Sin(4AOB) wnpunwhwjnnipjul wpdbpn:
GGty vho Ynnuh bplwpnipyniln:

GOt gniquhbinwqoh Yhuwwywpwaghon:
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13. ABCD qmquhtmuqdh swltpbup 363 &, £B=2-/A: AL D
wlymGGatph YhunpnGpp BC Ynnip hwwnnd 6 dhGnyl E
tinma:

GGty EAD wiljwl wumh8wlwjhG swihp:

GGt gqniquhbinwqoh B wljwl wumhdwlwjhl swihn:
G-t qniquhbinwqoh Wto Ynnih tpunpnipjniln:
Gut) E Yhwnh hinwynpmp)nilp qniquhtinwqoh BD
wlyniGwqohg:

Wb =

14. ABCD pwnu(ljjw Gl wpnwqdqwd t gpowGughd: {wynGh k, np
ZACD =5-ZBAC, ZDBC =2-ZACB, ZACB=2-ZBAC:

1. QuGt; BAC wilyjwl wumhdwlwjhl swihp:
2. Qulht; AB L DC ninpnGtpny uqiuwo wllyjwl wumhdwGuwjhl

swhp:
3. Gl pwnw Gyl wilnbGuqotpny yuqigwo wiljwa
wumhd@wlwjhG swthp:

4. Qun(b] 2powlwqoh pwnwynh tpunpnipynilp, tpti AC =122 uu:

15. O ytGwumpnGny ypowmbGugdhl Ghipgoywd ABCD pwnwbljjub A, B,
C wlyymGGtph dtompyniGGhpp hwpwptpmd GG hGswbtu 5:9:7, huly
#BOC =60°:

1. Quit) punwGlyywb vt waljwl wumhdwlwjhG swihp:
2. Qb punwlyjwb thnpp whljwl wumhdwlwjhG swihp:
3. Qulk; AD L BC nminhnGtpny Juquigwo wilyjub wunhdwlwjhl

swp:
AC
4. Qunlby 5 hwnpwptinnipyniGn:
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16.

PR =

alb A

w

19.

talb el e

Cnowlwqhol wlglnd L ABC tnwlyjui C ququpny, hwunmd &
AC ynnqup D ytwmmd, AB Ynnip znputhmd B ququpmy: {wynGh
t,np AC=18, ~CBD=30°, BD=DC:

Gt A wilyjwl wumhdwlwyhG swhn:
GGt DBA wljwl wumhdwlwjhb swithp:
Gun(t) AD hwwnyjwoh tpywpnipyniGp:
GGt 2powlwqoh pwnwynh Gpywpnipjnilp:

. Cnowlwghol wigimd . ABC tnwlyjul B ququpny, CD pup-

dpmpjwG D hhipny b ynpuhmd & AC ynnip C ququipnid:
AC =123, ZACD =30":

Gl A wiljwl wunhdwlwjhl swthn:

Q) DBC wilyjwl wumhdwGuwjhG swihps

Q.G CB ynnih tpyupnipjniGn:

Gt 2powlwqoh YalGupnGh hinwynpnip nilp tnwllyjuwG AB
ynnuhg:

ABC hujwuwpwupntG tewllyyu Gl wpnwugqyowd zpewbwmqoéh DE
rupp qonuquhtn £ AC hhiphG L AB upnifpp K Ytwnny
pwdwlnu t 5:4 hwpwpbpnipjudp dwubtph® hw)ywd B ququphg:
dwjwnGh t,np AC =72, AB=45:

Gn(t) DE jwph wyl witwdito hwnywoh tplupnipjnilp, npp
qubymu E towGljwb Ghpunid:

Q) DK (DK < EK) hwwnywoh tpyuwpnipjnilp:
Gn(t) B ququph htinwynpnipjnilip DE jwphg:
Q. AC L DE jwptiph tpyupnipyniGGph mwppbpnipniGn:

ABCD pwnw(ljwuGp Gtpgyéwo t 2p9wGwghd, pGn npnud
AC=CD=15, AD=18,hulj «/B=90":

GOt pwnwGljwb thnpp Ynnih Gpuwpnipniln:

Q-] C ququph htnwynpnipyniGp AD Ynnuihg:

Gn(t) BAD wiljwul wumdwlwjhG swthp:

Q.n(k; ABCD pwnwljul b ABC tnwlyjub dwytptuGtpp
hwpwptipmpjnln:
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20.

b=

el S

b=

23.

L=

Cpowlwqohl wpmwqdwd ABCD punwGljuwG BD wblyjniGuqhop
25 &, BC=21, CD=26,huy LA=90":

GuGt; AD L AB Ynnutinh mwnppbpnipjnilnp:

GGt pwnwGlyjwb thnpp Ynnih Gpwpnipjnilp:

GGt pwnwblyjwl ywpwaghon:

GGt A ququph htinwynpmipyniGp BD wyjniGwqohg:

. ABCD 2tiqulyjwG Ynnih tpupnmipymiGn 25 t, huy AC wllyynGu-

qoh tpyunmpymbn’ 40: ‘Lnwb Gipgowd O YuGwmpnGny pewGw-
qoh6 mwpywo k gnpwthnn, npp BC L CD Ynnitipp hwwnnid £ hwdw-
wuunwujuwuwpup M L N Ymbtpmd L qnuquhtn t BD -hG :

G-ty ppowlwqoh pwnwynh tpywpnipjniGp:
Qunlt; MN hwwnyjwoh tipyupnipyniGp:

QG BMN tinwGlyjuwl dwytpbup:

Qnlby 5-COS(4MON) wnpunwhwjnnipjwl wpdtipp:

. ABCD gqniquhtinuqoh AC wljniiwghop 123 L E-GL F n

hwiwywwnwufpwlwpwup AD L DC ynnitph sheGuytuntinG LG,
K -G BE-h L AC -h hwudw G YtnG t, huly L-n* BF-h b AC -h:
BE =6, BF =12:

GGt BEF waljwl wumhdwlwjhl swithp:

Q.G KC : AK hwpwptipmipniGp:

Q.unGh) B ququph htinwynpnipyniGp AC wGyjniGuqohg:
Gty ABCD gniquhtinwqoh L ABK tnw(ljwl dwytptultnh
hwpwptipnipjniln:

CpowlGwqohg nnipu qubGynn A Yhwnhg 2powGuqohG nmupwo LG
AB ynpunhnnl ni AM hwwnnnp, nph wpmwphG dwup AC -G E:

dwynGht, np AM =3- AC =643, huy £BAM =30°:

Gt 2nowlwuqoh ynpwthnnh tplwpnipjnilp:

GGt BM qwph tpupnipyniln:

GGty BM thnpp wntinh wumhdwlwjhG swthn:

Gult) B Yunny wlglnng Jwnwynh ypnjtyghw@ BM jwnph ypw:
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24. O, L O, YGwnpnGGtpny hwiwwwmwuluwGwpwn 10 b 20 ywnw-

25.

26.

b=

ynGtpny nowlGwqotipp, npnlGg YuGunpnGGtph htinwynpmpjmGp
26 L, npwthmu Gl AB ninhnp hwiwwwwmwufuwGuwpwp A L B
Ytwnbtpnuy:

Qi) O, Ytwnh htinwynpmipniGp O,B jwnwynhg:

Gn(t) AB hwwunyjwoh tplwpnipjnilp:

Qb wyl hwnygwoh tpupnipynilp, nph owjpwlytimtnG 0,0,
hwwnywoh b powlwqotinh hwwndwl Ytntpa Ga:

Qult AOO,B pwnwiljub dwytiptup:

O, k O, YGunpnGGtpny & hwiwwwwmwuluwGwpwn 1 L 7 Jwunw-
yhnGtinny tipym 2ppwlwqotin, npnlp qubynud GG AB ninnh
nwpptn Yonitpnd, 2npunhmd G0 wyn niphnp hwdwwwmwu-
[vwGwpwn A L B Yhwmbpmu: {wywnbh tynp AB =15:

Qi O, Ytwnh htinwynpnipjnilp O;B 2wnwyhnb plingpynn
ninhg:

Qi O, L O, Yawntiph htinwrdnpmpniln:

Qi 0,0, hwnjwoh wjl Ywuh tplunpnipynilp, npp qulynud &
2ngwiilitiphg nmipu:

Qult AOBO, utinubh dwlytptiuh L AO,B tnwlljwl dwlytptuh
hwnpwptinnipjniln:

143 2unuynny 2nowlwqdhl (tipqdywd utinubh upmbGpp 18 L,
hhiphG wopGplp wGlyymGp 60°:

Gt utnuGh wiyniwqoh tpwpnipjnlnp:

GGt utinuGh upniGph wpnytyghw6 hhuiph Yypw:
Qn(b) utinubh Wto L thnpp hhiptiph mwppbpnipniGp:
GGt utinuGh dhohl qoh tpiwnpnipyniln:
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27. ABCD utquip AC wlyjmGuqony pwdwlymd k. tpym GiwG

28.

towlyynmGGtnh: <wjnGh t,np AB L CD upmGpGhpG nlnqpynn
nihn GinG mnynubwjwg G, AD dkd hhipp 15, AB=BC:

GGt utinuGh thnpp hhdph Gpwnpnpniln:

Q.unGh; AC wiGyyniGuqoh L ubnubh pupdpnipjuG hwpwptpni-
pjniln:

G-t utinuGh Who wllyywl wunhdwlwjhl swihp:

Q.unGk; ABCD utinuGh L ABC tinwGljwl dwytptulGtph
hwpwpbpnipjnilnp:

ABC mnuGyméG tnwllyjub AB GhppGwuwdhgp 39 L, hul AC topn’
15: Gowljwbp Gepqdwd Jpowlwqdh M Yy inwGljwl thnpp
EohG qniquhtn mwpywd npunhnnp GhppGwéhgp hwwnmd £ K
Ytunmd, huy BC Lop' E Ytunmud:

. Gunlb) 2powlwqoh mpwiwqoh tpywpnipjniln:

BK
Gty KA hwnpwptinnipjniGn:

GuGt) KM hwwnyjwoh Gplupnipjniln:
Qunlt; ACEK utnuih wqwpwqghon:

. O YtlwnmpnGny 2powbGmqoh A Ynhg mupjuo G AC =151

AB =9 tnupnipjundp tpym jwptp: BAC wntinh wumhswGwjhG
sathp 120° t:

QunGt; BAC wiljwl wumh@wlGuwjhG swihp:

Q.G BC qjuph tpyupnipniGp:

Q.G ppowGh L BOC ppowGuwijhG thnpp ukjunph dwytptulGtph
hwpwptipnipjniln:

Q.G ppowlGuwqoh pwnwynh tpyupmpjuG L BC juphg
ytlGumpnth htnwynpnipjwl hwpwptipnipniln:
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30.

PR =

31.

[a—y

32.

b=

PR

I =2 ywnwynny p9wlwqohG wpmwqdowd t ninnublyjmab vknud,
nph wikGuthnpp Ynnih tpljwpmpymén 3 E:

GGt utnuGh Wko upnilph GpywpnipniGnp:
Gt utnuGh dko hhiph Gpwnpnipniln:

G- (Gt utinuGh thnpp wiyyniGwqoh tpwpnipynGp:
Q- (b utinuGh dwybptun:

O ytGwupnbnyg ypgwlwqdh C Yawmhg Gpu AB mpuiwqdohG mwp-
Jwo t CH nunwhwjwgn, pln npoud® AH =8, huly HB =18:

QG OH hwwnywoh tplupnipymGp:

QGun(t) CH hwwnywoh tpwpnipniGp:

Q.unlt; A L B ytwntiphg C Yhwnnd ppowlGuqopgnywihnnhl
nwnpjwo nnnuhwjwugltinh tpyuwpnipynmGGEphwpmwnpyugp:
Qulty AHB, wiljjwli wunhdwlwjhl swhp,npnbtn A -pl B,n
C ytwnd ppowGuwqoh pnpwthnnhG A U B Yhnbphg mwupjuo
ninnuwhwjwgGtph hhdiptinl Ga:

Cnowlwqdéh AB L CD jwptpp hwmymd 6 M yammd b wyn
Ytnny yhuynd: {wywmbGht, np AB =10, AD =5:

Qb 2nowlwqoh pwnwynh tpywnpnipnilp:
Q.G BMC tnwGlywG wyunpwqhonp:

Q.unGl) AC -h tpyupmpjwl punwyniupG:
Qb CAD wGljwl wumh§wlwjhG swthp:

. O YtGwmpnlny p9wmbwqdhg noipu qunGynn A Ytwhg zpewmbumqdhb

nwnpjwd AM npuhnnp L AB hwnnnp thnfuninnuhwjmg GG:
Cnpuwhnnh kplwpmipymbn 8+3 t, huy huwnnnh GhpphG Swup kpyn
wliqud ¥t L wpmwphG dwuhg:

GOt hwnnnh tpwpnipnilnp:

Q.G ABM wiljuG wumhGwlujhG swtp:
Gty 2powlwqoh pwunwynh Gpywpnipynilp:
Q.G MOB wGyjwl wumh@wGuwjhG swihp:
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34. O, 1. O, yhGupnGtpny &L M hnmd hpwp znywihon, hunfuwuw—
nwufuwlwpwn 2 b 8 punuwhntpny tpynt ypgwGwuqotn ynunhnid
b6 dhijwbg L a nmhnp hwiwwywwnwufuwlwpup M; b M,
Jtnbtpna:

1. Quit) O, L O, YulwmpnGGtpny Jpowbltph dwytintuGtinh

hwpwpbpnipjnilnp:

2. QuGt; M;M, hwnywoh tpyupnipjniln:

3. Qult; O,M;M,0, pwnwljwul dwltptup:

4. Quit) M,MM, wllywl wunhdwlwjhl swihn:

35. K Ytwnmp O YulwmpnGny gpowlwuqdoh AB jupp puwdwlnid L
AK =10 L KB =16 tpnjuwpmpjwip hwmnywoGhph: K Ytuwny
wlgGnn mpuiwghop JpowGwghdn hwumu't C'b D Yhmbtipmd
(CK < KD), nlinp npmi* OK =6:

—

Gty 2powlwqoh pwnwynh Gpywpopjnilnp:

2. GGt CK hwwnywoh tpyuwpmpniGp:

3. QanGh) d-/3 wpnwhwjnmpjuwiupdtpp, npntn d -G O Yhwnp
htinwynpnipjniGG £ AB hwwmywohg:

4. Qb % hwnpwptipnmpniln:

36. {wjwuwpwunntG utnuGh hhdptpp hwpwptipmy 66 hGsutu 3:4,
huy punpdpmpjniln 14 £: UtnuGh dhohG ghon hwjwuwp k. Gpw
pwpdpnipyulp:

1. Gt utinuGh whlynbGwqotinh Juqiwo wilyjwl wunhdwlwjhl
swithp:

2. Qan(ty utinuGh thnpp hhdph Gpywpnipnibp:

GGt ubinuGh dwytptup:

4. Qu(t] ubinuGhG wpnwqowd Jpewlwqdh Jwnwynh
tpunpnipyniln:

w
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37. 9nmquhtnwqoh wilyniGwqdtinh hwwmiwG Yhwnhg WO YnndihG
nwpywd ninpnuhwywugn, npp wyn yonip mpnhmd £ 17 L 8 tpw-
pnipjudp hwnjwoGtph, hwjwuwnp t 6-h:

1. Qu(t] qniquhbtnwqoh WGo YnnuihG mwpjwo pwpdpnipjw
tpnunpnipyniln:

2. Qult] qnuiquhtinwqoh dwytipbtun:

G-n(t) gniquhbinwqoh thnpp wiyyniGwqoh tpywpnipynilp:

4. Qu(t] qniquhtinwqoh Wwpwghon:

»

38. NunqulymG towGljw6 unmp wyymGikphg SEyp 75° t, huly totph
qnuiwnp’ 1246 :

1. Qb tnwlyjwl ninhn wayjul ququphgmuwpjwo theGwqoh L
Jhunpnh uqiwo wiljul wunhdwlwjhb swihp:

2. Qb tnwGyywi GhppGwdhgh tpywpnipynGp:

Gt tnwlyjwl Jwytipbup:

4. Qn(b] wyl pwnwyniunt dwytptup, nph wiyyniGughop mpywo
tnwGljwl ninphnuGlyjuwl ququphg mwupjwo Yhunpnd t:

et

39. O, L O, YhGwnnnGGhpny, hurdwwwwnwufuwGwpwn 1 L 2

2wnwyhn Gipny tpynt JpowGwqdtin, npnGg YuGumpnGhitinh
htnwynpmpniln 1L , hwnymd GG A L B Yhnbpnni:

1. Qulb OAC, wiljwl wumhdwlwjhl swthp:

2. Qunlty ABY2
2

3. ABO, tnwljwl dwytipntiup pwlh® wlquwd L ity AO0, tinwGlyjwb
dwltpbtiuhg:
4. Qulty ABO, tinw(ljwll wpmwqowd nowliwqdh mpwiwghon:

hwpwptinnipyniGn:
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40.

v b=

41.

L=

42.

L=

UhdjuGg M Yytunnmyd wpmwplGuwutu pnputhnn O, L O, YhGwnpnG-
(tinny 2n9wlwqotnhlG mwpjwd wpmwphl 2npuhnnp O, YhGwn-
pnGny 2powlwghop ynputhmi £ A Ytnmd, hul O, YuGunpnGnyg
nowlwghop’ B Ytnmu: {wymbh t, np O, YGwmpnGny 2powGwqoh

2wnwyhnp 9 &, npp 6o E O, YalGwnpnGny zpn9owlwuqdh Jwnwiynhg,
huy AB=12:

Qull O, Ytwh htinwynpmpnilp O,A ninnhg:

Qb O, Yhlwmnpnlny pppwlwqoh pwnwyhnp:

GunGt; AMB wiljwl wumh8wGwjhG swthp:

Qb 13-d dtompjwl wpdtpp, npuntn d -G M gnp
htinwynpmpjniGG & AB ninnhg:

Cpowlwqohb Gtpgdgwo & ABCD pwnrwllyjntGl wjGuybtu, np AB L
CD wntinGtpp hwuwuwn G6: {wjmGh t, np ZABD =60°,
/BDC =30°, huy AB [wpp 442 k:

GGty B wilyjwl wunmhdwlwjhb swihp:

G-ty 2powlwqoh pwnwyhnn:

Q.G ppowlwqoh YalGwpnlh htnwynpnipjnilp AD jwphg:
Q.G AMD tnullyw6 dwybtptup, npmtn M -p ABCD
pwnw(yjwl wilmiuqotinh hwndiwG Yhwnd t:

ABC tinwGljuG AC L BC Ynnitpp 2powlGwqotinh mpudiwmqotp
tG, npnGg YhGnpnGGipp hwiwwwunwufpwGupwp N M YhnbpG
tiG: CK -G wjn opowlwqdtph pGnhwbnip qupG k: {wjmbh t, np

AC =13, BC=20, AB=21:

Qb KNM tnwGljwl wupwghon:
Qn(tp ABC tinwGlyjwl dywytptun:

Qb AKB wlljwl wumhdwlwjhG suthn:
Qb CK hwwnywoh tpyupnipyniGp:
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Glpwwnwownpnwlph hwdiwpnp

L 1 2 3 4
1 8 16 8 12
2 180 9 27 54
3 2 12 1 11
4 2 24 6 3
5 21 24 21 7
6 30 12 90 5
7 27 10 2 9
8 34 17 9 26
9 14 84 4 4
10 90 2 4 1
11 8 4 13 64
12 105 56 28 45
13 30 120 12 3
14 15 60 90 12
15 135 45 30 1
16 90 30 6 12
17 60 30 36 9
18 40 10 15 12
19 9 12 90 3
20 5 15 82 12
21 12 12 72 3
22 90 2 4 6
23 6 6 120 3
24 24 24 4 360
25 15 17 9 8
26 42 9 18 39
27 5 2 150 4
28 12 2 4 50
29 120 21 3 2
30 5 6 5 18
31 5 12 144 90
32 5 15 75 90
33 24 30 16 120
34 16 8 40 90
35 14 8 9 5
36 90 12 196 10
37 12 300 20 80
38 30 24 72 24
39 45 2 2 2
40 12 4 90 72
41 105 4 2 12
42 27 126 180 12
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AUJDHU 6. SULruouUONME3NFL

1.

W

ABCDA, B,C, D, nnnuGyyniGuGhump hwnty 4G AB, CD L CC,
Ynntiph the Gwytimbtnny wghnn hwppnpjudp: {wynmbh t, np
CC,=CD=81 AD=42:

. Gt hwnnyph whlyniGwqotinh hwndwl Yanh htinwynpmipjnilp

niquGlniGuGhunph ABCD Ghuwnhg:

. QunGt; ABCD Ghunh L hwwnniyph hwppnipniGGtph juqiwo

tinyGhun wblyjwl wumhdwlwjhG suhn:

. G0t hwunnyph wGlyynGuqoh tpunpnipyniln:
. Gt mpnuGyyniGuGhunh dSwjwih bW hwwnnypny ninnuGlyyniGu-

((hunhg wipwmywo tnwblyyn G yphqiwjh cwjwih-hwpwpbpni-
pjniln:

ABCDA, B,C, D, minhn yjphqiwgh hhdpp BC =74 AD =23 hhdptinny
L 8 pupépnipjudp hwjwuwpwupm b uwknw6 t: Mphqiwgh pwpénnt-
pjniip hwjwuwn & 17+/3:

Qb yphquiwjh hhdph wyyniGwqoh tpyuwpnipyniGn:

2. Qb yphquwjyh wilynbGwqoh b hhiph hwppnipjwl juqiwo

wiljwl wumhdwlwjhG swihp:
Qi) CC, YnnhG wnplptip tpyGhun wiljwl wunmhswlwjhl

swp:
Qult; ACDE pnipgh owquwyp, tipti E -G AD hwunjwoh Y kL

DE =83

. GulnGuwynp GowGlyymG pmpgh jmpuwpwlsymp YnniGughG ynnh

tplwpmpymGp 62 t, huly hhiph Ynnup® 613:

Qb pnipgh pwpdpnipjwl tpyuwpnipyniGn:

2. Qb hhiph hwppnipjwl htin YnniGuwjhG Ghunh juqiwo wiljwh

nwlqblunp:
Qnlty J3-v -G, npuntin V -G pnipgh owyuyG t:
GGt pnipghG wpunwqowd qlinh Junwynh Gpywpnipnilp:
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4.

.

AL D=

DABC tnw(ljywG pnipgh hhipG mnnuGlymG towGlyniG t
(£ACB=90"), DA ynnp pmipgh puipépmipymGa t, £BAC = ZDBC,

BC=6, DC=8:

Qn(iiy DCB wilyjwl uhlniup:

GGt ADCB tplhun wiyjuwl wunmhdwlwjhl swhnp:
GGty BDAC tipyGhum wiljwb YnuhlGniuh hGquuwwmhlp:
GGt pnipghlG wpnwqowo qlnwjhl dywytplnyph Jwunwynh
tpywpnipyniGn:

ABCD pwnwGhumh AB L CD YnntinhG qniquhtin hwwnniypp a
ynniny pwnwymuh k: {wymGh £, np AB=10, CD =15:

. GuGt; AB L CD nminhnGtph juqiwd wiyjwl wunmhdwlwjhl

swihp:

. Gut) hwwmnyph Ynnih tpupnipyniln:

. Gulbt) hwwmnyph dwybpbup:

. Qunt; PA hwpwptpmpmip, tpi AC.=BC:
DB

SABCD JuwGnGuynp pwnwGlyynil pnipgh B ququpp SC Ynnh E
vhoGwlytnmhl dthwglnn hwwunywoh tpywpmpiniGp 13 t, huly hiph
ynmqip 1042 :

Gn(t) DE hwwnywoh tpjupnipyniln:

Q-n(itiy 13- cos(ZEBD)-(:

Gt E Yhund whglnn L hhdiphG gniquhtin hwwmniyph dwybptun:
Qun(ity 13-d dhonipjwl pywjhG wpdtipp, npntin d -G SA Ynnh
uhoGwytinh htinwynpnipyniGG £ BE ninnhg:

. Pmingh hjnipp 12 Gpjupmpjudp Ynning L 6 pupdpmpjuip

2tnublyniG t: Pmpgh pwpdpnipyniGp 3 t: Anipgh hiniphG
woplptin poinp tpyGhun wGynGGipp hwywuwn GG:

. Gt pnipgh owywyp:
. Gwt) pnipgh hhdiphG wnpGptip GpyGhun wilyjwl wunmhdwlwjhG

swihp:

. Gwlt) pnipgh hwlnhywlwg YnnuibGwjhb Ghuntiph juqiwo waljub

wumh8wlwjhG swthn:

. Gty pnipgh pwpépmipnilng wlglnn L YnniGujhG GhunmhG ninnu-

hwjwg hwwmniph dwybpbun:
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8. Un(h hhiph pwnwyhnp 6 t, huy Swjuyp’ 727:

. Gt YnGh pupdpnipjul Gpunpnipniln:
2. Qb YnGh 0Gnpnh L hhiph hwppnipjwl juqiwo wiljwa
wumhdwlwjhG swthp:
3. Qb YnGhG wpmwqowo qlinh Qwnwynh tpyupnipyniln:
4. Qn(t) S WhonipjwG pYwjhG wpdtpp, npntin S -p YnGhG wpnwgdwd
v

[y

qGnujhG Ywytplnyph dwytptuG t:

9. UnGhG Gipqowd t qniln: UnGh pwndpnipyniGp 3 wliqui dho &
UnGh oGnpnh wyG@ hwnywoh tpyuwpmpjniGhg, nph dwjpwltntpl
t6 YynGh ququpnp L qGnuhG dwytplnyph nt YnGh 6Gnpnh
nputhiwG Ytanp:

1. Qb YnGh YnnuiGwjhG dwytipunyph dwytptup b qlinh WGo Jpowbh
dwlbtptiuh hwpwpbpmpjniGp:

2. Qb YnGh 0Gnpnh LW hhdiph hwppnipjwul uqiwo whljul
wumnh@wlwjhG swthp:

3. Qb YnGh YnniGwjhG Jwybplnyph hndwoph wntnh
wumnh@wlwjhG swthp:

4. Lwlh” wlquu t YnGh hpdiph powGp dwybpup WO wjG 2powlh

dwytiptiuhg, nph tiqpuighop.qlnh dwytiplngph L YnGh Ynndwjh
dwltiplnyph 2npwhdw b ybwmbtin ta:

10. ABC tnwGlyywl ququpltpG pGywo b6 O YhGmpnlny qGnwjhG
Jwlbnlnyph ypw: O Yhwnh htinwygnpmpyniGp towGlyua
hwppnipjnilGhg 12,5\/5 kL, AB=BC=20, AC=24:

1. QuGhk ABC tnwlljwGl wpmwqowd ppowluwqoh mpudiwqdh

tpunpnipyniln:
2. Qb qGnuyhG dwytpunyph punwynh tpyupnipyniGp:

3. Gl ?V -G, npntin V -G OABC pnipngh dwywn:

4. Npnpty % hwpwptpnipynilp, nputn V,-G qlGnh dwyqu Gk, hul

S -pn" OABC pnipghG wpmwqowd YnGh YnniGughG dwytplngph
dwltiptiup:
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11.

> W b=

12.

bl o

13.

[um—y

{wunwd ynGh hhiptph JwnuwnfhnGpG m dGnpnp hwpwptpmay GG,
hGsutiu 4:11:25, huy owyuwyn 14487 t:

G- (b hwnwo YnGh thnpp hhiph pwnwyhnp:
G-t hwnmwo YnGh wnwlgpwjhG hwwnnyph dwytiptup:

GOt hwnmwo YnGh Ynnilwjhl swytpuniph dwlytintivh 1 dwun:
T

GGt hwnmwo YnGh hhdiptipn pnpwthnn qlnwjht Jwytplnipp
dwltiptiuh L dwup:
T

O YulGwmpnlny L 37 pwnwynny gniGnp ynputhnmi t ABCD hujw-
uwpwupniG ubinubh popp Ynnibtpp: O Ytwnh wpnjyghw@ ABCD
hwppnipjwl ypw H YtanG t: UtnuGh hhiptin6 GG

BC =18, AD=32:

Q.G utinubGh CD upniGph tpyupnpymGp:

Q.G BOHA tpYyGhun w(lyjwb ynuhGniup:

Q.G OH hwwnywoh tpyuwpnuygymip:

Q.unGt; ABCD hwppnipjui ypu OA hwndwoh wpnjtyghwjh
tnqupnipyniGnp:

O YtlGwmpnlny L 7 gweunjnny g bnp gnpuhmd &t ABCD tnwG-
ljwG pninp Ynnuibpp: Gnh YhGupnGh htowynpmpniGp A ququi-
phg 9L, huly B-hg 11

Gt 2tnuGljul Ynnih Gpuwpnpjul punwyniupG:

2. QanGtp AOHD tipyGhuwn wGlyjwG uplniup, npntin OH -p

»

ninuhwjwg & ABCD hwppnipjuln:

Q-un(t; O Ytwmp htinwynpnipjniGp ABCD hwppnipjniGhg:
Q.G ABCD hwppnipjul ypuw OB hwwnywoh wypnjtyghwjh
tpunpnipjuwl pwnwniupG:
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14.

15.

(98]

16.

UnGh wowlgpwjhG hwwnnypp yuGnGuynn tewGlyynG t, hhdph
2unwyhnn’ 6/3:

Q-G E hwpwptpnipjwl pyuwyhG wpdbpp, npnmtin S -p YnGh
s

YnnuiGuwjhG dwytplnyph dwytintuG t:
G-t YnGh YnniGuyhG swybplnyph thnyuwoph wntinh wumhdw-

GuwjhG suhp:
Q-wquphg h°Gs htinwynpnipjw G ypw whup £ nw Gl YnGh hhdphG
qniquhbtin hwppmpjnil, npytugh unwgywo hwwumniyph dwytintiup

hwywuwp (hGh YnGh hhdph dwltptiuh % -ha:

G-ty v dtiompjwl pywjhl wpdtipp, npuntin V G YnGhG GEpgowo
V4
qGnh owyuwy G k:

UnGh pwpdpmpjmbn NERS: {wunypGwlgGnd £ ynGh A ququpm]

L hhuph BC qwpmy, npp dqma t 60°%h wnbn: $wwnniyph hwppnt-
pyniGp hhiph hwppmpjw@ htn Guqin t 30°-h wlyymG:

QunGt; AB ninnh L hhdiph hwppmpjul juqiwd waljwa
YnunwuGqbtGup:

G- Gt hwwnnyph dwybpbup:

G- Gt) hwwmnyph hwppnipjnilhg YnGh hhdiph YtlGupnGh
htinwynpmipjw b YplGwuywmhyp:

Q.unGt; ABCO pmpgh owyuwyp, npntin O -G hhdph YaGupnGa t:

AD =15, BC =9 hhiptpny L AB =10 dkd ynniGwjhG Ynnny
ABCD nunnulyjniG utinuGn wyunwuynud k thnpp hhdph ynipg:

. Qb yuundwG wpnyniGpnid AD -h wnwowgnwo quubGuihG

dwltinlnyph hhdiph pwnwynh GpywpnipyniGp:

Q-G yununiwl wpyniGpnid AB -h wnwowgnwo YnGuwlwb
dwltinlnyph hnwoph ubjnnph waljwl wumhdwlwjhb swihp:
GGt wununmihg wnwowgwd dwnpulh dwytpunyph dwitiptiuh b
7 -h hwpwptipnip i Gp:

4. Gult] wnwougwod twpdlh owywih b 7 -h hwpwpbpnipniGp:
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17.

—

18.

19.

ABCD qmquwhtinmqoh A, B, C ququpllpG wjn gniquhtinwqdh
ynnuitpn shwwnnn o hwppnipyniGhg qumbynid GG hwiwwwmwu-
lvwGwpwn 7, 11, 21 htnwynpmpymGGtph ypw: O -G gniquhtinwqodh
wyyniGwqotinh hunniw YanG t, M -p° BC -h theGulytwnp:

Q.unGl) O Ytwmp htinwynpnipjnilp o hwppnipjmGhg:
Qb D Yyunh htnwynpnipjnilp o hwppnipjniGhg:

. Qanlby g—i hwpwptpnipjniGp, npntn K -G BD L AM ninhnGtpp

hwwniwG Yt t:
Q.G ABC tinwGljwl dhoGuwqotinh hwwndwG Ytnh htnwynpni-

piniln o hwppmipnilGhg:

ABC tnwllyjwG Ynnuitpn 2npwihmd GG O YhGunpnGny L 5
2wnwynny qlnuwyhG dwytplnmypp: AB = BC =10, AC =12:

. GGt ABC tnwGljwlp Ghipqowd ppowlwqoh Jwnwynh

tpywpmpyniGp:
Q.unGt] O Yytwmh htinwynpnmpniGp ABC hwppnipjniGhg:

. QG OABC pningh owduwyp:
. (pnpty 3/1 hwpwpbtpnipjnilp, npntin V -G qlnh, huy V,-p° OABC

1

pninghG Gipqowo YnGh-owyuy G t:

A Ytwh htinwjopmpjmbp @ hwppmpjuG B L C Ytwmbphg,

hwiwwwiwufuwGupwn hwywuewp 662 L V5, AO-G o
hwppnipyubp mwpjud nnpqwhwyugG k. AO=BC =1:

. Qult o hwppmpjul ypw AC hwwnjwoh wypnjtlghwjh

tpywpnipynilp:
Gl @ L (ABC) hwppnipniGGtph Juqiwd wiljwi

wumhdwlwjhb swihp:

. Qult; @ hwppmpjul L AB ninnh juqiwd wGyjwb

wumh8wlwjhG swihnp:
Q-G ABCO pnipghG wpunwqowd qlnwjhG dwybplngph
npwiwqoh pwunwniuhG:
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20. O Ytwhg mwnjud b6 OA,OM,ON GwnwquypGtnG, wjGutu np

21.

[a—y

ZMON =90°, ZAON = ZAOM =60°: A Ytnhg nupjud t MON
wilyywa YhunpnhG myquhwjwg huppoipymG, nopp OM 1 ON
Swnwqujpltipp hwwnnid £ hwiwwywwmwujuwGwpwp C L B Yhwnb-
pnus: SwywGh t, np OA =642 :

QG OAB wiljw6 wumhdwGwjhG swihp:

. Qi AO ninnh L MON hwppnipjwG Juqiwd waljwG

wumhd@wlwjhl swthp:

Q@) BAC wilyjwl wumhwluwjhG swhp:

Qun(ty OABC pnipghlG wpunwqowd qlnujhl Switplngph
ywnwynh tpupnipniln:

OA, OB L OC Gwnwquypltipp nuwuwynpywd G wyGutu, np
ZAOC = Z/AOB =45°, /BOC =60°, hul] OH ‘mnhnG mnnuhw-
Jjug & AOB hwppmipjwup:

Q.G COAB tipyGhun wGlyjwl wompdwlGwjhG swihp:

2. GGt COBA tinyGhun wilyjuimwbgbiuh pwnwyniuhG:

w

22.

QG OH L OC ninhnGtph yuqiwo walyjwG wumhdwlGuwhl
swihp:

Q.nGh; OB ninnp L AOC hwppnipjuG juqiwd wGljwb
wumnh8wlwjhG swthp:

O ququpny AOB minhn wGlyjwl hwppnipjwln sjyuwmnyuwlnng M
ytanh htpun]npnipymGp O Yhwnhg 443 &, hul OM -h Yuqiwd
wllymGp OA L OB mnhnGhph htn® 60°:

Q.G AOB hwppnipjuG ypuw OM ninnh wpnytiyghwyh L OB -h
Juqiwo whlyjwl wunmhdwlwjhl swihp:

Qunlk; M Ytanh htnwynpmipyniGp AOB wiGyjwG Ynndtiphg:
Q.G OM niqnh L AOB hwppnipjul Juqiwd wilyjwh
wumhdwlwjhb swihp:

Q.G MOBA tipyGhun wGljuG mwbgtGuh pwnwyniuhG:
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23.

[a—y

24.

25.

UnGh pupdpmpymGn 2 &, hhdph pwnwyhnp’ 243

Q-n(t) YnGh oGnpnh GpywpnipyniGp:

GGty YnGh olnpnh L hhdiph hwppnipjwl juqiwo waljub
wumhd@wlwjhl swthp:

GGt YnlGh wnwlgpwjhl hwunnyph wikGwdbo whlyjwh
wumhdwlwjhl swthp:

UnGh hhdph mpwdwqghop pwGh® wlqud E Wk hhiph YaGumpnGh L
o(npnh htinwynpmp niGhg:

S ququpny SABCDEF YJwlnGunjnp ytiguGlyynmG pnipngh hhdiph
ynnup 2 t, huly YnniGwhG ynnp' V13:

Q) pnipgh pwpdpnipyniln:
Qb +/3-V -G, npuntin V -G pnipgh dwyuG b
Qb SA L EF ninhnGtph juqiwo wilyjw b mwulqtluh

UnyGulhG:
Qnlb; AE ninnh L BSA hwppnipjul juquwo wilyjw

wumnh8wlwjhG swthp:

ABCDA B,C,D, nipnuGyniGuGhumh’ tpym Yhg YnniGughG

Ghuntinhg dtlyh wGlyyniGwughon S &, Wynwuhlp’ 2042 : <hiph
hwppnipjul httvn wyn wilyjmGwqotph juqiwd walyynGGph
wuppbpmpynilp 45° t:

1. Quit ABBC tplGhun wiljwl wumhdwlwihG suthn:

G-n(t) hhiph Yhg Ynnuitinh mwppbpnipniGn:

. Gult) gnquhbnwlhunhl wpmwqowo qlnujhG dwytplniyph

YtlupnGh hinwynpmpnilp hhdiph hwppnipjnilhg:
Gn(t) gniquhbnwlhump YnnilGwjhl dwytpunyph dwitpbup:
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26. DABC pmipgh D ququphG hwpwyhg pninp hwpp wGlyymGGtpG

nuhn t6: {wymGh t,np DA=6, DB=8, DC=24:

. Gt pnipgh YnnuiGuwjhG swlytplnyph dwybptup® pgniGbny

ABC -G npwtiu hhip:
GGt ADB Ghunh D ququphg mupgwo dheGuwqoh

tnjuwpnipniln:

3. GGt DABC pnipgh owduwyp:

217.

28.

Gut) pnipghG wpnwqoywo qlnwjht dwytplnyph Jwnwyhnn:

DABC pnipngh D ququphG hwpwlhg pninp hwpp wGlyniGGLpG
nuhn GG: {wywnbGh t, np DA=3, DB =4, huly pnipgh owjuyn’ 24:

Q.G ADB Ghunh D ququphg mwpjuwo ihoGuqoh tpwpnt-
pjwl YnyGwwywmhlyp:

Qn(t) DC Ynnh tpywpnipjnGp:

Q.G DABC pnipgh YnnuiGujht dwytplngph dwybtptup’
nlnmGuny ABC -G npwtiu hhip:

Gn(t) pnipnghl wpmwqdywo qlnujhl dwytplnyph mpudiwghon:

S ququpny SABCDEF fJwGnGwynp yhgwGlyjniG pnipgh
pwpénnpymGp ‘4, hul YnndGughG Yonp' 445 :

QGwuGb) pnipgh hhdph Ynnuh Gpwnpnipyniln:

2. Qulk) +/3-V -G, npntin V -G pnipgh dwunG t:

GGt pnipgh YnnuiGwjhG Ynnp L hhdiph hwppnipjwb juqiwo
wljwb ynnwbqblup:

Qnlt; AE ninnh L BSA hwppnipjul juquwo wilyjwl wunhdw-
GwjhG swthp:
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nusSulbUuLLE
Glpwwnwownpuwlph hwdwpp
872

1 2 3 4
1 2 45 8 8
2 17 60 135 544
3 6 2 162 6
4 1 90 3 5
5 90 6 36 1
6 13 10 50 120
7 72 45 90 9
8 6 45 6 144
9 6 60 180 4
10 25 25 800 200
11 4 360 375 576
12 25 0 35 20
13 200 1 1 120
14 216 180 9 288
15 2 6 3 3
16 8 288 384 832
17 14 17 6 13
18 3 4 64 125
19 2 30 30 5
20 60 45 90 6
21 90 2 45 45
22 45 6 45 2
23 4 30 120 4
24 3 18 3 60
25 90 25 2 248
26 192 5 192 13
27 5 12 48 13
28 8 384 2 30
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AUGPL 7. WNNPABLUSLELR UbENY, Y6USNLLER
1. Spywod kG A(L 0), B(4; 4),C(-3; 3) Yuwmbpp:

1. Qb AB ytunph tpywpnipyniGp:

2. Gl Ox wnwlgph ypw AB hwwnywoh wynpnjtiighwjh
tpunpnipyniln:

3. Qull AC U YnnpnhGuwwmwjhG ] JtljunpGtph ujwjwp wpunwnpyun:

4. Qb AC L AB Jtyumnnpltinh juqiwo wiljwl wunmhdwlwjhG
swhp:

2. A(-2,1), B(5), C(4 1), D(% —3) ytantipp ABCD 2t ywé
ququplitina GG:

1. QunGby 2tnuGlyywb wiyyn Guwqotph hwndwb Ytnh wpughup:

2. Qun(ty ptinuGlyjwb Ynnuih tpyupnipjndn:

3. Qulty AD L CB Jtyumnnpltnh yuqiwo wiljwl wunhdwlwjhG
swhp:

4. Qi) BD L AC ytywnpGhph ulwyjwp wpmwnp

3. Spywd b6 A(-3;=6), B(-8; 6) L C(4;—10) Ytuntpp:

1. GGk B Ywnh htinwynpnipjnilp YnnpphGuwnmGhph uyqpluytinhg:

2. Gty Oy wnwlgph Guwmiwdp B -hG hwiwswth Yinh opnhGuwnn:

3. GGt Ox wnwlgph Yypw AC hwwnwoh wypnjtyghwjh tpywnpni-
pjniln:

4. Qulb BA L BC JtyunnpGtinh ujwpwunp wpnwnpyup:
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W N =

—_—

. SpUwd GG M (2; -1),N(2; 6) L O(0; 0) Yhnbpp:

. Guit; MNO btnwGlyjwl dwytptup:
. QG k-G, tpt hwywmGh t, np y = kx ninpnG wlgGnd £ N Ytwmny:

. Gty W(W+W> ujjupwn wpumwnpjwn:

. Gty ON —OM ytlwumnph Gpyuwpnipnilnp:

. Spywo 66 A(-1 \3), B -v3), C [% ﬁj ytnbpp:
. Gt AB hwnywoh tpupnipyniln:

. QuGt; CAB wiljwl wumhGwGwjhG swip:
. Gt wyl Yanh wpughup, npp hwdwswth £ A-pG" B Ytwnp

(juwwundwp:
n-h nap wndtiph niypnid Gl 5{—\@; n} L AB Jtyumnnpltipp
hwyninnyuo:

. Smjwd tG ABCD pwnwymuni A(2;1), B(4;0), C(3;-2)

ququipGhpp:

. Gult) D ququph wpughup:

G- (k] pwnwlniunedwybpbup:

. QunGl; AD L DB gtlwnnpGtph Yuqiwd whljwl wunhdwGwihG

qwdhp: o
Q) AC- DB ujwpjwup wpumwnpyun:

Spuwo G x+y—k =0 L 2x—y+4 =0 ninhnGtpp:

K-h nap wndbiph niypmud £ X+ y—k =0 ninhnl wiglind (1; 2)
ytwnny:
k -h n'p wpdtiph nhwpnus mpwd ninhnGbpp Yhwndbl x =3
wpughuny Yhwnnwd:
K-h nop nnuwlywl wpdbph niypnid L YynnpphGwwmGbph uqpluwltimh
htinwynpnipjnilp X+ y—k =0 ninnhg hwjwuwn \/E -h:
Qult] y=0; x+y—k=0; 2x—y+4 =0 ninhnGtpny vwhdiwlwthwy-
Jwo tnwGljwl dwytptup kK =4 nhwypnud:
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]

. Spijwd & O, YhGwnpnbng (x—3)" +(y—5)" =25 ypgwGughdn:

G-ty ppowlwqoh YalGunnpnGh YnnpnhGuwwmGhph gnidwnn:

2. Qulty 2powlwqoh YuGunpnlh htinwynpmipynilp Oy wnwlgphg:

Qb a-h wjl witiGwhnpp plwywl wpdtipp, nph npiypmd y=a
ninhnl nt mpjwo Jpowlwghon yniGhG pnphwlnip Yhw:

GGty Oy wnwlgph wjl hwmywoh tpunpnipjniln, npp mpjwo
2nowliwqoh qwp E:

a,b,c JtyumnpGpn qnijq wn qnyyq hnjumnnuwhwjug tG L
Gpwlg tpupmpniGGtpp hwiwwwwnwuiwiwpwp hwjwuwn GG
3, 6 L 4:

Q- cla JtywmnpGtinh mwppbpnipjul Gpupmpjmin:
Q- c-alc+a Jtjunnpltinh ujuwpywp wpmwnpjup:

. Qb a L c+b Ytywnplbph Yuqwd wiyjwl wunhswlwhb

awtpp:
QG a+2b+c Jtyunph tpyupnipjniGn:

- Spwo tG A(2; 3; k) L B(1;3;, —2) Ytwnbpp:

. GGty K -h wyG wpdbpp, nph nhiypnid AB hwwngwoh dhoGuytunn

Juwuwmlwbh Oxy hwnppnipjwn:
Q-unGhy K -h wyG wpdbtpn, nph nhiypmd AB L 3{3; 3; —1} yJtyunp-
Gkph uljwyuwp wpnwnpjuip O k:

. Qb K -h wyl wpdtipp, nph nhiypnud A L B, Ytntiph htinwynpnt-

pjnilp 1 £, npntin B-p B Yamh hwdwswthG E Oxy hwppmipjuG
(Yuwundwlp:

. GGl K -h wyG wpdtipp, nph nhwpnid AB L 5{7; 0; 28} ytlwnnp-

Gtpp hwiynmnnywo Ga:
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11.

1.
2.
3.
4.

> b=

13.

[a—y
.

Spywd 66 a{-2; 3; 1} L b=4i—6]+2k JulywmnpGhpp:

Gty OA=a >wnwhn ytyumnph A dwjpwytnh opnhGunp:
Q.un(ly 2a+ b Jtlwumnph Gpyuwpnipjnilnp:

Qb d L 6 ytyumnnpltinh yuqiwo wiljwl wumhdwlwjhb swihp:
Qun(by (a+b)-b ufwyywp wpnwnpup:

. Spwd &6 M (o; 2, 42), B<—2J§; 0; 0), O(0; 0; 0) Ynnbpp:

QG MO hwwnywoh GpyupnipynGn:

Qulb; M Ytunh hinwynpnipjniGp OXz hwppnipjnilhg:
Q.G MBO wiljwl wumhGwGuwjhG swihp:

Qi C(0; y; 0) Ytwnh opghGwwnp, tpt MBC tnwGyjnilp

hwjwuwpwynny t:

Snywd GG C(O; 6; 0), A(2J§; 0; o), 0(0; 0; 0) Ytnbpp:

Q- CO hwnywoh tpyupnipyniGp:

2. QiG] C Ytnh htinwynpmpjmGp Oz wnwlgph Guwndwdp hpta

hwdwswih Yuwnhg:

. Qulby CA L AO ytlunpbph Yuqiwd whljwl wunh§wlwhG

swihp:

. Qunlby B(x; 2:42 ) ytnh wpughup, tpti ABC tinwGlyjniGp

hwjwuwpwynnyd t:

14. M(0; 0; 6), A(3; 0; 0), B(0; —3; 0) Ywbtipp MABCD YwGnGujnp

pwnwlyjmG pmpgh ququplhpG GG, O(0; 0; 0) Ywnp pmpgh hhdph
ytGwnpnGp:

. Gumlbt) D ytwnmh opnhlGwwn:

Gty MA+MC ytlumnnph tpyuwpnipjnilp:
Q.G AK L OA ninhnGtph yuqiwd walyjwl wunhdwGuwjhG
swthp, npntn K -G pnipgh pwpépnipjw G dhe Guybwn t:
Gty AK L OA JtyumnpGtiph yuqiwo wilyywl wunhdwlwjhl
swithp, npuntin K -6 pnipgh pwpépnipjwl dhoGuytnG k:
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15. A(0; 0; 2), D,(3; 0; 2), B (0; 3; 2) yammbpp  ABCDAB,C,D,

[unpuwlwnnh ququpltnl GG, nGn npnid A ququph wyhjumnp
pugwuwlwd E:

1. Qulb] funpwlwpnh B ququph opnhGuwnn:

16.

Gty ﬁ N B—C1 JtlwmnpGtnh ujwjup wpmwnpjun:
QunGit; AD L AC ytunpGtph Juqiwd wljwl wunhGwwjhi

sutp:
Qu(t AB, + AC, ytunph ipupnipjniGp:

Spqwd t A(L 0; 0), C(0; 1 0) ququpltnmy ABCDAB,C,D,
[unpuwGuwnnp:

1. Qb unpwGupnh Ynnh GpunpnipniGp:

17.

. Gunlty E L BD JtyunnpGtph vjwjup wpmwnpyun:
. GGy AD L DC, ytlwnpGtph Guigiwd wiljwi wunhswiuwjht

swhp:

. Gty C,D mnnh L ACC, hwppnipjul Juqiwd wiljwl wumhdw-

GuwjhG swthp:

A(5; 0; 0), B,(0;.0; 3), C(0; 5; 0) L B(0; 0; 0) Ytamtipp ABCDAB,C,D,
JuGnGuwynp pwnwllyymb wphqiwgh ququpGtnG GG:

1. Qunlty A—Bl L AC JtljumnnpGtnh ujwjwp wpnwnpjwip:

2. Qunlbk; D ququwph YnnpphGuwnGtph gnudwnpn:
3. Q) Oyz hwppnipjwul Yypw A—Bl Jtlumnnh ypnjtyghwjh

tpywpnipynilp:
Senliln] AC + A—A{ - E ytljumnnph tpyuwpnipjnilnp:
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18.

AW =

19.

Spjwé tG ABCD qniquhtnwgdh A(2; 2), B(9; 2) L D(-1 - 2)
ququpGtpp:

. Gt qniquhtnuqoh C ququph wpughup:
. Gt qniquhtnuqoh AD UYnnuh GpyupnipyniGp:
. Gt gnquhtinwqoh dwybpbtup:

. Gty AM L AC Jtyumnpltph juqiwo wilyjul wunhdwlwjhG

swhp, nptn M -p gqniquhtinwqoh A ququphg DC ynndhG
nwnpywo pwnpdnpnipjul hhip t:

Spywo kG ABCD utnuGh A(3; 3), B(7;-1), C(3;,-7), D(-3; -1)
ququpGtnp:

1. Qb ubnuGh AC wGyniGuqoh tpyupnipynGp:

20.

L=

21.

Gl AB U A_Cf Jtunnpltinh juqiwowaljul wunhdwlwjhG
swhp:

Gl A_Cf L. DB Jtlywmnpbph ujwyjup wpumwnpyun:

G-k ubnuGh Jwytptun:

Spwd kG ABCD pumwinmum A(-2; 3), B(3; 8), C(8; 3) ququipltipp:

Qnlb) pwnwlnwnt. BD wiyjniGuwqoh tpupnipjniGn:

GGt pwnwlyniunt whlyniGuwqotinh hwndw( Ytunh wpughup:
Gn(t) pwnwiyniunt Ywytintiup:

QunGt] pwnwynunt A L B ququpltpny wglnn ninnh waljnt-
(wjhG qnpowyhgp:

Spwo GG A(-3;2), B(5;8), C(7;2) Ytwntpp:

. Guit B ytwmh htinwynpnipjniGp opnhGwwmGtph wnwlgphg:

Qnlb; AB hwwnywoh tpyupnipyniGp:

. Guilt; ABC tnwllyjwi B ququphg mwpjwd pupdpnipjuG

tnyupnipyniGp:
QnGb; Oy wnwlgph Guumiwdp AB hwnywoh dhoGwlytinh

hwdw;wih Yawnh opghGwwnp:
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nusSuuuuLLE®

Glpwwnwownpnwlph hwdwpp
U/ 1 2 3 4
1 5 3 3 90
2 1 5 180 0
3 10 6 7 252
4 7 3 3 7
5 4 60 3 3
6 1 5 135 0
7 3 13 2 12
8 8 3 11 8
9 5 7 90 13
10 2 1 2 2
11 3 0 180 28
12 6 2 60 6
13 6 12 120 0
14 3 12 45 135
15 3 9 60 9
16 1 0 120 30
17 25 10 3 6
18 6 5 28 45
19 10 45 0 50
20 10 3 50 1
21 5 10 6 5
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fUJhL 8. UhUSNMo-3NFLULEL

1.

5.

1.

Spywd k6 A={a; b; c; d; 2; 5; 8} L B={a; b; &; 3; 5; 8} puquint-
pyniGGhpp:

. Gult; AnB puqinpjul tGpwpwqinipniGGtph pwGwuyp:
. Lwp”® tnubGuyny yuptih t AUB puqinpjul mwpptiphg Juqdiby

snpu Ghpwlng owoljwghp, nph wnwohb L tpypnpn Ghptpp (hGka
wwnbin, huly Gppnpn L snppnpn Ghptpp® pybp:

. Smwo tG A={a; b; c; d; 2; 5,8} L B={a; b; &; 3; 5; 8} puqinipjniG-

Gtipp:

. Gultp AUB puwqinpjul nmwppbtph 2-wlwl gnignpnmp niGGtph

pwlwyn:
Qut; A\B puqunipjuG 3-wljuG JupquynpnipjniGGtph puGuyp:

. Spywo t A={1; 2; 5; 8} puqimpyniGp:

. LwGh”® pwnw(h) phy Yupbih & gntp A puqinipyjul pyuGuGGhpny,

nnpnlghg jnipupw by jmipmd thGhgnGh dkYy Ypyaynn pyulywG:

5-h puqinunhy pwlh® punwthy phy upbih Ejugqit) A pug-
unipjwl mwppbpny:

Spywd £ A={0;1; 2; 3; 4; 5, 6} puqinmpjmGp:

. Gt pnnp wjb tnwGh) pytinh pwlwln, npnlg wowohl L yupohl

pywlywGGtpp A-hg tG:

Aunyhynn pywlrwbitpny L 10-h pwqiwwwwmhy pwGh® hGquGh)
phy Juptijh £ uqut] A puqinipjub pJulyuwGGbpny:

Spywd £ C={1; 2; 4, 5; 6} puqumpymip:

Q-n(k 4000-hg Uto L C puquinipjuG mwpptpny gpynn pwnwGhp
pytiph pwlwlp (pYwbawGbkpp Yupnn LG YpyGyt):

2. Qn(ty 50000-hg Wko L mwpptip pywlywbbtnhg Yuqujwo pninp

w) hGqwbhy pytph pwlwyp, npnlp Juptijh £ gpty C puqinipyjul
wnwnpptpny:
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6. A-GdhwGhy pwnunpyuy pytph puquimpiniGa t:
1. QypyGynn pJulwltpny pwh® Yuln pwnwlhy phy uptih & gpby
A puqunipjwl mwpptpny:

2. Qult; A pwqinipjul mwpptipny Juquywo pninp qnijq towGh)
pytinh pwGwynp:

7. Spqwo t B={w; p; q; n; t; q } mwntph puqinpyniGp:
1. Lw(p® 3 mwnwing “pwn” uphh k juqit; B puqinpjul
wnuwpptipny (pwep Jupnn L hdwun gncGhGuy):

2. Lwlp® 6 mwnwlng "pwn” Juptih £ juqit] B puqinipjub
wnwntpny wnw(g YplyGhm “pun”-h mwnbpp, npnGg 6o p Lq
wnuwntpp Ynnp-Ynnph 51hGEG (punp Jupnn £ hdwuwm yniGhGuy):

8. Uwptiiwnmhyuyh judpwyhG dwuGuygmy E.5 wywltpwu:
1. Lwlh” tnubuyny Yunptih t Gpuwlg gniguyugpt (nuuwynpty
gniguynii):

2. Lwp”® tnubGwyny Yunpnn L niumghypGpuGghg jnipuwpwlsniphG
wnwownnty tpynt fulinhpGtphg dtyp (wnwownpiwl tnubwy t Gul
wy@ niwpp, tpp pninphG hwidGupwngh Gyl fulnhpp):

9. Cwlutwwmh dpgwpwpniy, npmy witil dwulwlyhg dymulbtphg
Jnipuwpwlyymph htim whwmp t whiglugth dky fuwn, dwubGwygnid GG
5 qunuiwjumnbin L 3 Jupujtin:

1. Pwlh® fuwn JHuywlw gpnuiwjuntpltph dholi:

2. Lwlp” tnubwyny £t hGupwynp dwulGuyhgltphg uqdib] snpu
hnquwng phd, npmud 1hGGG LW gpnudwjunmtip, W Jupybtin:

10. 2Gptpgwupuwhmy nnyuwd t hwlpwghmwpwth 6 hwwnnp:

1. CGptpgnnp pwGh® tnuGuyny Junnn E pGupt) wyn hwnnpGbphg
tpyniup:

2. Lwlp” tnubuyny £t hGupwynp wyn gppbpp nuuwynpb] gpunu-
pwynd wGwtu, np 1-hG L 6-pn hwwnnpGtpp Ynnp-Ynnph s1hGaa:
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11. UtnwGhG npywd £ 7 mtuwyh dhpg' yjmpwpwbsymphg vty hwwn:
1. Lw(h® tnulwyny Yupbih k& pGupt 3 dhpg:

2. Lwlp”® inulwyny t hGupwynp, np tpbp tptluwlbphg jnipu-
puwligjnipp utinwbhg YtpgGh by dhpg:

12. 4wuwpwlnud unynpmy GG 11 mpw U 9 wnehy:

1. Lw(h® tnuGwyny Junbih £ nuuwpwlh wywytpnGtphg pGuptg
tpynuhG dEYn" wjwq, dynup” wpwlbpunmwlywl junphpgph winuad:

2. Lwlp” inulGwyny Yuptih £ pquuwpwlh wpwltpmGtiphg pGunpbg
tintip hnquing junidp, npmud 1hG6G Linqu, W wnohy:

13. Qpnuwpohyn Gwjuwwmbuby . Gwithnpnty Unuljw,Yhl, (thqu L
Mpuqu pwnuwpGtinm):

1. <tppwlwlnipyn GG pGuptnt pwGh® hGuwpwynpnipjniG niGh

genuwnohln, tpt Gw npnpby L dwdthnprmipni GG wjwpnby Uhln:

2. LtppwlulnipmniGG pGuptnt pwGh>hGupuwynpmpniG niGh

qpenuwnpohln, ph Gw npnpty L Swithnpnnipjw b pGpugpmu (Fhqu

utijGh Unuygu L Mpwqu wjghkjtinig htinn:

14. Guunwnl] wnwownpulpGhpn.

1. LwGh” hGquihy qniygphy Yuntih £ juqdt 0, 1,2, 3,4, 5
pywlywGbtpny (wpwlg pywb)wGGtnh Ypylnipjub):

2. Qb pwqinpjuwb wmwnpptph pwlwyp, tph Gpu 2-wlwl jupquw-
UnpnipjniGGtph-phyp 100-hg vko L 130-hg thnpp phy t:

15. Guunwnty wowownpulpGhpp.
1. Qi) 2A? —C; wpnwhwjnnipjul wpdbpp:

2. Lwlh” ytigwbhy Ytlw phy Yupbih £ uqil 0, 2, 3,5, 7, 8
pywlywGbtpny (wnwlg pyuwb)wGGtpnh Ypylnipjwab):

16. Gwwnupty wpwownpulpltnp.
1. Qult n-p, tpt P,,, —P, =100P, ;:

2. Qu(h) 4-h pwdwlynn pnnp w6 pwnwGhy pytiph pwGwyp, npnlghg

Jnipupwlyniph qpuinnuip sh yupniGwynd 0, 2, 4, 6 pywlywG-
Gtphg Ln's dkyp:
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17. Guunwnt) wowownpulpGtpn.

1. 11 tptfuwGtphg ywunwhwlwlnptG pGunpynd GG 3-p L pwpp
JulqGhgynmd: Lwih® tnuGwyny Junpbih kpwpp uqib;:

2. Qun(t) n -p, ipt 4A° =C?:

18. Gumnwpt] wnwownnuGpGpp.

1. Lwlh”® tnuGwyny upbip b pwudwnh nu)wmh hnphgnGuyw b
2tinpmp 8 JuwlnuyGtpnid nuuwynnpt] wppw L pugnihp
fuwnwpuwntpp wjbGwtu, np pwagnihh thGh 2Gpunh wnwehG Yud
ytpohl Juwlnulyniy:

2. Lwlh® tnulwyny Yuptih b pwhudwnh qupwuh hnphgnGujwl
2tipmp 8 uwlnuyGtpnid nuwuwynnpt] wppw L pugnthh
[uwnupuptipp wjGwtiu, np gpuiGp Ynnp-Ynnph ;quiyka:

19. Guunwnt) wnwownpwbpGtipp.

1. Lwlh® tnubGwyny Junpnn GG pwhuytjwnwehl, tpypnpn L tppnpn
ungwlwlwjhG mbntpp $ninpnjuwyhl Jpgupwpnid, npnud
dJwulwlygmu k 9 phu:

2. Lwlh® mwpp nbGh puqinipniGp, Gpt Gpw 3-wlwl gnignpnnt-
pjniGGuph phyp S wlqud 06Ok 2-wlwl qnignpnmipjniGGuph pyhg:

20. Guunwntl) wowownpubpGLpn.
241
1. Qb B wnnwhw jnnipjul wpdtipnp:
22
2. Qupyhynn pywlywbtpny pwlh” pwewbhy qniyq phy Yunpbih
Juquty 5, 6, 7, 8, 9 pywlipwGGtpny:

21. Guwunwnl] wow9wnpubpGtpp.

1. Lwih® tnubGuyny thGupuynp 6 wmwpptp nuundGuywl wnwp-
Juwltphg (wyn pynd hwGpwhw)hy L GpypwywithnpyniG) Juqutg
opjw 6 dwiwling nwuwgnigwly wjlwtu, np tGpipuwywhmpnG L
hwpwhw)hy wonwnplwbbpp 1hGG6 Ynnp-Ynnph:

2. {wppnmipjul Ypw qnijq wn qnijq hwuynn mnnhnGtphg ns dh tptipp
sb0 whglnmy dhllnyG Yonny: Gwunlb mnhnGiph pwlwyp, tpt
Gpwip mGtG 55 hwwndw6 Yhwn:
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22. Guuwnl) wpwownpuGpGtpn.
1. AupYyGaynn pywGrwGGtpny L 5-h puqiwywwhly pwGh® pGuwlwb phy
Juntih £ ququty 2, 3, 4, 5 pyulywGitpny:

2. Qb ninnighy pwqdwGyyub ynnutph phyp, tpt wyl nilGh 20
wilyniGwaqho:

23. 7 munpptp muniGuwljwl wowpywGinhg” wyn pynud dwptidwwnhywb
L bhqhywl, whwmp L uqit; opju 7 dwiwling nuuwugnigul:

1. Lw6h® tnubwyny Yuptih £ wjl yuqdbt) wyGuytu, np
dwptidwmhlwl hGh wnweohl dwihG, huy $hghywb' Gpypnnpry:

2. Lwlh” tnulwyny Jupbih £ w6 uqitp wjGybu, np Jwpbdwnhlw
L bhghyuw wnwpyubtpp Gpponpny duwdhg pnun 1hGLG:

24. Guunuwnt) wowownpuwlpGhnpp.

1. Swnupipnd juw 7 uyhunwy U S Jupipp ownhy: LwGh®
tnwlwyny L hGwpwynp wnyty 3 dwinhy wjlGubu, np pnnpp GniyG
qnijGh s1hGEG:

2. 2-hg dto pywGywGitpny uqigywe pwGh® punwGh) phy Ju, npng
gnnipjwl vk9 pywlywGbtnp ;&G YpYGYnd, L4 n 5 pyulywi-
Gtpp Ynnp-Ynnph ;LG quGynud:

25. Guuunpbp wnwownpuGpGtpp.

1. QG n-p, pl. A} =990:
2. Lwlh® hGGwah) phy Yunbih £ uqdt] snpu hwwn 4 L hhGg hwwn 5
pywlywGGtpny:
26. Guunwnl] wow9wnpulpGhpp.

1. 3-hg wybih mwpp ywpniGuwynn npuk puqinipjul 4-wywl
YJupquynpmipyniGGtph pwlwyp pwh® wlqud £ §6o Gpu 4-wlub
gqnignpmp niGGtph pwGwlhg:

2. Qunlit) w)G tonwGh) pytiph pwGwyp, npnlghg jnipuwpwsjniph
gnuniw( vt Juw dhyw dky 6 pwbyw:
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27. Quunwnt) wowownpulpGtpn.

1. QunyGynn pywlwlGhpm] pninp w)G hGquGhy pytpp, npnlp Juptih
L quqity 1, 2, 3,4, 5 pyuwlywbitpny, hwiwpwluwjwo G0 wiiwb
Jupgny: N°p hwdwnG t ypmad 54312 phyp:

2. Lwp”® tnubGwyny kL hGupuwynp 8 dwpnmg plGwpky 3 qniyq:

28. Quunuwnt wowownpulplGtpn.

1. Qb wjl pwquinipjul mwpptiph pwlwyp, nph Gpynuuwjuwl mwupp
wuwnniwlnn tGpwpwqinpynGGaph pwlwyp hwjwuwp t 21-h:

2. Qb 6-hg thnpp pywlrwGitpny yuqiwo wjl tnwGh) pytph
pwGwyn, npnGp thnpp GG 400-hg:

29. Guuwnl] wnwownpulpGtpn.

1. Lwlh”® nnnubyyniGubhun Ju, npnGg swhnidGhiphg jnipupwlyjnipp
1-hg UhGsb 5 pGuywl pytinhg t6 (nignuGyjniGulGhunp swhnud
Gtpp wmtinuihnfutijhu nunuGyniGwGhunp hwdwnpt GnyyGp):

2. Qult ninnighy mwulwlyjwb Yynnuitph L wGynbGuqotph
pwlwyGtph gnuiwnn:

30. Gwunwint] wnwownnuGpGhpp.

1. Lw(h® duny £ hGwpwynp 3 mwpwnbuwy gnpohpGhpp nuuwynpty 4
nwpwwnbuwlawnpynbpnud:

2. NinmghYy nwubtpyniuGyyub wilyniGuqotinhg ny vh tiptipp 366
wlglmy puqiwiyjuwb Ghpunmy qubynn Yownny: Gwnlb wyn
puquwblyywul wiyynGuqotph hwndwb Yambtph pwluyp
(puqiwlyyul ququpltpp skG hw)ynid):

31. Ywwumwnt] wnwownnuGpGhpp.

1. QG AS -6-C2 wpmwhwjnmpjul wpdtipp:

2. Ninmghy puquiwGlyjub Ynnitinh pwGwyp Gpynt wiquy thnpp k Gpw

wGyyn Guqotph pwGwlyhg: Lwih® ququp niGh wynuhuh
pwquiwGlyymGp:

221



QLNMu 2 PUJIDU 8 UbrusNkE3NRLLEN

32. Guwnunt] wow9wnnuGpltpn.

1. Qwuwpulnmd ju 20 wywytpnm: ‘Lpwbp pnnpp hnjuwGuybkghG
hptiGg (nuuwGyupGbpp: Cenuwdtipn pwGh® pruwiyun
thnfuwlGwlybtg:

2. Lwlh® tnubGwyny t hGupwynp 3 mnujh b 3 wnelw pwnpp
JuwGqbhglt] wylwtu, np thtlnyyG ubnh wGdhp sthGkG hpwp Ynnph:

33. o hwppnipjul Yypw mpdwd GG 5 Yhnbtp wyGubu, np Gpwlighg ns th
tptpn st6 quGymd vk ninnh Yypw, hull « hwppmpjniGhg nnipu
npjuo b B Yhun:

1. GunGb] w)l GowGynGatph pwbGuwyp, npnlg ququpltnG pGupjuwo
il ¢ hwppmpjul ypw mpjuo Ytwnmtinhg:

2. Qunlt) wyG pwnwlGhunbtph pwlwyp, npnlg ququpltpl pGunpJuo
L6 mpjwo Yhwnbphg:

34. Gununt] wewewnpulplGtpn.

1. Qunlt) A*-p, tipti C2 =78:
2. AunyGynn pywlrwGatpny pwGh®pGuwywl phy Jupbih £ juqubg
0, 2, 4, 6 pyulipwGGtpny:

35. Guwnunt] wnwownpuGplitpn.

1. GGk gnGhk dGYYpYyGaynn pywlrwl yuwpniGuynn popnp wyl
pwnw(hy pytph pwGwyp, npnGp gpymd GG 0, 2, 4, 6, 8
pywlywGGtpny:

2. Qb ponp w)G tnwGh) pytinh pwGwyp, npnlGghg jnipuwpwlsjniph
pJwlywlltphg gnGb vtyp Yhlw k:
36. Gunwnt] wowownnuGpGtipn.

1. LwGh”® pwdwGuwpwp niGh 25 - 49 phyn:

2. 5-h puqiuwywwmpy pwGh”® tnwGh) phy Juptih £ juqibty
0,1,3,5,7,9 pjuwlywGGtpny:
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AUIDPU 8

UbrusnkEe3NhLLEN

MUSUULTULLER
Glpwwnwownpnulph
SIS hwdwpp
1 2
1 16 400
2 36 6
3 232 64
4 420 360
5 375 48
6 6 48
7 216 480
8 120 32
9 10 65
10 15 480
11 35 210
12 380 891
13 6 8
14 312 11
15 28 288
16 10 36
17 990 26
18 14 42
19 504 17
20 552 48
21 240 11
22 16 8
23 120 240
24 175 720
25 3 126
26 24 225
27 119 420
28 7 108
29 35 45
30 64 495
31 0 7
32 380 72
33 10 10
34 156 48
35 404 800
36 9 60
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QLOMU 3

MU MRULELD ONPULR

Gppnpn qiiuh wnwownpulpGbpnG mGEG hbnlyw; pnuwlnulynt-
pjnilp. mpjwo b npll dwpbdwmpluwub opjtiyn (ophGuly” $niGlyghw,
hwjwuwpnd, tpypuwywthwiwl yuwwmytpn L wyl), nph ytpuwpbpjug
ptipqwo L 6 winnui: 3nipwpwlsniph hwdiwp whwp £ wuwpgt]” w)l
Gh”w t, pbt® vjuwy: <wupghG dhywn yuwwmwufuwlhne nhypmd nhinpnp
unwinu k dty dhwynp, hul vjuw] yuumwuppwGbpne nhiypnid hwGynod
L dby dhwynp: «Qghwnbtd» wwwmwufuwltin nhypmd wjn wlngiwl
hwdwp dhwynp sh wnpynud: Gpt wnwownpwlph 6 wlnnuiGhphg
unwgywo thwynplGtph gnuiwpp gpuijw6 b, wyl hwdwpymd £ wyn
wnwownpulph qGwhwwmwlwip: <wjwnwly nhwypnid, wjuhlpl® tpp
vhwynplGtph gmiwpp 0 L juwd  pwgwuwlwl, wnwownpwlph
qiwhwwnwlwip 0 £: Uyjuyhuny' qGwhwwnynid't ny pb wikl dh wlnnd
wnw(dhG, w)] wnwownpulpl wipnn9nipjuip:

Uju mhyh wnwownpulpph-wwwwufuwlip qunbthu «X» Gwlnp
wlhpwdtywu t n6t; Winiwl nnnuhwjwg vyniGuwyh uumwuppwbGtph
hGwpwynp tptp® «BGhpwn_ t», «Ufuwp by, «9qhwmbtid»y  wlnmiGtph
JwlnuyGtphg dtymd: OphGwy tpt nhinpnp 4-pn wniwl hwdwp
npwbtiu yuuwufuwl piwpt] L «Upuwy B yguuwuppwlp, wyuw w)i
[nwugynud k httmlbyuwy dny

45 1 2 3 4 5 6

Bhan t
ufuw t X

sghuntid

Miniwl wywunwufuwlp hwiwpymd £ dhpwm, tpt wlnnuip
Guuphun L L nhinpgp GG E «Ghpn E» yuwumwufuwlp, Jud tph
wlnmuip &dwphwn £ L ghinpgp GG £ «Uhuwy B» yuwumwujuwGnp:
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AUJDVL 1. EJULULULWTL UNULAUAELTLLLEN

1. 6h°w t6, pt® ufuwy htnlywy winmuiGtpp.

1. 0-hg wmwpptip tpynt  pytiph wpmwnpyuih hwjwnuwpép hwjwuwp k£
w)n pytph hwjwnwpd Gtph wpnwnpyuhG:

2. GulinGwynp Yynnnpuyh hwjuwnupdp wiyulnG Ynnnpwy k:

3. Swljugwo tpynt pytiph wpumwnpyuih hwiwnhp phyp hwjwuwnp k
wyn pytiph hwljwnhp pytiph wpmwnpywihG:

4. Swllwgwd tpynt pwnunpjw) pybph gnidwpp punwnpyug phy t:

5. Gpt pwlwl phyp pwdwlymu kW 4-h, U 6-h, wyw wyl pwdwlynid
L. 24-h:

6. Gpt guwlyugwo unynpuwywl Ynunnpwyh hwdwphshG L hwjnwpw-
nhG gniwpbbp 1, wyw Ynunnpuypyitowtu:

2. 6h%w 6, pt® ufjuw) htinlyuy wGnmiGhpp.

1. Swlywgwo tpynt npuwl pytiph gnudwph hwlwnupép hwjwuwp
L wyn pytinh hwwnwpdabph gnidwphG:

2. Swijugwd wiwulnG nnnpuh hwunupdp yulnGuynnp
Ynwnpwy t:

3. Swlljwgwo tpynt pytiph gnuiwph hwjwnhp phyp hwjwuwp L
gnuiwpbhGiph hwwnhp pytinh gnudwphG:

4. Swlugwd tpynt wwng pytph gnidwpp pununpyug phy t:

5. Gpt pGwlwl phyp pwdwGynd £ U 3-h, U 8-h, www wjG pwdwlynid
L. 24-h:

6. Gpt qulnGwynp Ynnnpwh hwiwphsp b hwynmwpwpp dhowgGtilp
I-ny, wyw Ynnnpulyp jutowlw:
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3.

1.

Bh°wm b6, pt° ujuwy htnlywy wlngmdGhpp.

Onfuwnupdwpwnp yung pytiph wdkGuihnpp pnphwlnip
pwquiwuuwhlp wjn pytph wpmwnpyu E:

. Bpt pynt pGuwywuG pytiph wpnwnpyup pwdwlynd k 6-h, wuyw

GpwGghg dtyp pwdwlynd £ 6-h:

. Gpynt hwonpnuw G YhalGwm pytiph pwnwniuhGph mwpptipnpniln

pwdw iy k. 8-h:

. GnynipyniG m GGG hpwphg mwpptip snpu Wwpq pytp, npnlghg

tinyniuh wpmwnpywip hwyjwuwn E djnw Gpyniuh wpunwnpyuihG:

. Swlijugwd pwlwb n-h ghypnid N +3n+1 phyp Y k:
. 3 phyG niGh 6hpwn 19 pudwGupunp:

. Bh°wm 66, pt® ufuwy htnlyuy wGnodGtpp.
. Bptip hwonpnujub pGwlwl pyph wpmwnpyup pwdwlynd t 6-h:
. Swljugwo P wwpgpyp hwdwp (P + 3) -n pwununnjwy phy k:

. Bwljwgwo tptp pww6 pytinhg dhpwun Juptih E pGunpk; Gpynop,

npnlg gnudwpp pwdwGynid k 2-h:

. Gpti p-G L g-G k6w pytip &G, wuyw p? —q* phup pwdwGynud t 8-h:
. Swljugwd pGwljwb n-h ghypnud N’ +n+17 phyp wwung k:
. 9" phyG mGh &hpw 11 puwdwGwpup:
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5. 6h°wn GG, pt”® ufuwy htnbyuy winmdGhpp.
1. 5-h pwqiwyuwunhy guGjuguo pGwlwb phy pununnyuy k:
2. 207 L 351 pytipp thnfuwnuwpdwpwn yunpq GG:

3. QnympniG niGh wyGuyhup pGuwlwG n phy, npp niypnid 19n+6 phyG
wuipnn9 pyh pwnwyniuh k:

4. Sulijugwo pwlwb n-h nhiypnd Zn_—71 YnunnpwlylG wGypdwwnbih t:
n+

5. Gph ab -G tpyGhy phy k, www ab—ba phyp 9-h puqiwwwmnhy &
(a > b) :

6. RGwywa pytinh pwpph wnwehG 100 pytinp gpuntjhu.7 pywlyw Gt
oquwgnpoynid £ 20 wmlqu:

6. ©h°2w LG, pt° ufuw htnlywy wlnnuiGhnp.

1. Gpb pGwywG phyp pwdwlynd £ 3<h, www wjl pununpjuy k:
2. 47 L 517 pytipp hnfuwnuwpdwpwp wwnq La:

n%+

2n+

n
3. Swljugwod pwlwl.n-p nhypnid > ynunnpwlp Ypdwwmtih t:

4. Gunbjh £ pGupbpwyGuyhuh pGwlw6 n phy, nph nhiypnd 10n+8
phyl wipnn9 pyh pwnwyniup t:

5. Gph ab-G tpyGhy phy k, www ab+ba phyp 11-h puqiwuunhy t:

6. Rlwywi pytiph pwpph wnweohb 100 pytinp gpuntjhu 1 pywlywGa
oquwgnpoynid £ 20 mliquu:
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7.

1.

Bh°wm b6, pt° ujuwy htimlyw) wlnmiGtpp.

Gpb tipynt wipnn9 pytph wpmwnpywip hwjwuwn & 100-h, wmyw
wpuwnphyGipp thwdwdwbwy 10-hg thnpp (hGh] st6 Juwpnn:

. 1-hg thGsk 20 pGuwywb pytinh pwppnid Ju plnudtln 4 phy, npnlghg

JnipupwGynipp 4-h pwdwGbihu uvnwgynd k1 dGugnpn:

. Gpb a L b pGwluwa pytpp ;66 pwdwlynid 3-h, wyw a+b -G Lu sh

pwdwynud 3-h:

. GnynmipjniG m GGG hpwphg mwpptin hhGq pGwlw pytip, npnlg

wpuwnpjuip tinpp £ 120-hg:

. Swljuwgwo pwlywb n-h nhypnid (nz; n’ + 2n] dhowluwjpnid sjw

wjGuwhup phy, npG wipnne pyh pwnwyniupt;

. 1-hg dhGslk 31 pGwlwl pytiph wpnwnpywih ytipehG 7 pywbwGitpp

qpn bG:

. 6h°wm GG, pt” uluwy htnlyw) wenniGhpp.

. QnympyniG niGtG 10-hg thnpp tipynt wjGwhuh wipnnge pytip, npnlg

wpunuwnpyuphwjwuwn £ 120-h:
1-hg dhGsL 100 pGwlwG pytiph puppnid Yuw 6-h pwdwGynn 16 phy:

. a,b,a+b, a—b plwywi pytinhg qnGt vtyp pwdwbynd £ 3-h:

Gpt hpwphg wwpptip tptip pGwlwl pytph wpomwnpyuip ko t
300-hg, wmyw Gpwlghg gnt dkyp vko £ 7-hg:

Q.njnipymiG niGh wjGwhup pGuwljwG n phy, nph nhiypnid N> —2n
phyn pGwywl pyh pwnwiniuh t:

1-hg dhGsL 19 pGwlwl pybph wpnwnpywih JepehG gnpu
pywlywGGtpp gpn Ga:
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. Bh"wun b6, pt® ujuw) htwmlywy wigmuGepp.

. 9npu hwonpnujuG pGwlwl pytph gnuiwnpnp 4-h puqiwwwwumhy k:
. 9% -5 phyp YtipowGnud £ 6 pywGywlny:
. 415-p Junth £ Gepyujwuglty dhujwlg hwonpnnn hhlq pGulywG

pytinh gnuiwph mtiupny:

. Gptip hwonpnujub pyuGyuGitpng gpyuo guliljugwo tnwbh) phy

pwdwlyn & 3-h:

. ab+ba qnuiwpp (a+b)-h puqiwwywwnhy t:

. buwpbih t pGupt) wyGyhuh pGuwlwl n phy, nph giypaid Shpw YihGh

n® +n =3 hwjwuwpnpjnilp:

. Gh°wm &G, pt® ufuwy htanlyuy wGnmdGhpp.

. Gntp hwonpnujub pGwlwl pytph gnuiwnpn 3-h puqiwwwwmpy t:
. 8°—6° phup YtipgwGnuy t 2 puwiGpwGny:
. 240 -p Junbh £ Gepyuwjuglly dhijwlg hwonpnnn snpu pGuwl

pytinh gniiwph wmbupny:

. UhllnyyG pyubuGltpny qpwo guljugwo tnwGh) phy

pwdwlynd k 37-h:

. Gpt pGwlwl phyp 11-h pwdwbtihu dGwgnpmnid unwgynd t 4,

www Gpw pwnwyniuh@ 11-h pwdwGtjhu vnwgynd £ 6 WGwgnnn:

. LGwpuwynp st pGunpt] wyGuyhuh pGuyuw n, kK, m pytip, np wmtinh

mGhGw 4" +5° =6" hujwuwpnpjniGp:
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11. Spwo t a, =n® -1 pnhwGmp wlnuim] hwenpnuilywGnipym Gn:

[a—y

. fwonpnuulnipjul pnnp wlnuibGtpp ngpujua ta:

(e

Gpt n-n Yyhlnm £, wyuw a, -p pwdwlynmd k 8-h:

w

. AwonpnuulnipyniGl niGh wlnudiGtp, npnGp pGwywd pytph
pwnwlnuhGbp GG:

I

. Gpti n-n 3-h pwqiwwwwmhy sk, wyw a, -p pwdwlymy £ 3-h:

b

n>2 nhiypmd N-p L a -p hnfjuwnuwpdwpwp ywnqg tG:

(=)}

. QwonpnuwlnipjniGG mGh dEYhg wybih winudltp, npnlp wwpq
pytin td:

12. Spywo t a, = n’+n pGnhwlnip wlnuing hwonpnujwGnipjniGn:

1. QwonpnuwlnipjniGG mGh wyjbwhup wlnuyd, npp YaGwm phy t:

2. Qwonpnuwlnipjul pnnp wlngwuGtpp punqunpyw pytp La:

3. Swljugwd pwljwb n-h nhypnd a, <(n +1)2:

4. {wonpnujulnipjuwlng dh winuu sh pwdwlymu 23-h:

5. Quwonpnujulmpyul wiytpg ywwnm winuibtp ud, npnbp 7-h
pwquwwwwnhl GG:

6. {wonpnuwlnipjul ny h wlnwd wipnng pyh pwonwlniup 1hGky sh
Juwnnn:

230



QLNMv 3 RUJPU 1 I ULULUUUL UNULKUAULLRLEL

13. 6h°wm b6, pt° ujuwy htnlywy wlymyGhpp.

1.
2.

14.

. Bwljugwo pliwluwb n-h nhypnid

. Bulijugwo pwlwb n-h ghypnid

5u 5,1 pytph dhol nwghnlwy phy syw:
{Gwpwynp £ plwpt) hpwp hwenpnnn hhlg wjGwhuh pGwlwa pytp,
npnlg qnudwpp hwjwuwn 1hGh 2012-h:

. Gpt tipynt pGuljwG pytphg dtyp wwnq phy £, wyw wjn pytpp

thnfuwnupdwpwn wyuwpq GG:

. Gnympjnil GG Gpynt wyGuyhup YhGunm pytip, npnlg pwnwlyniup-

Gtph gnuiwpp hwywuwn k. 1680:

. 3 —11* phyp 10-h puqiwuyuwnhy t:

8 1 ymnsipuwlih wpdtpp

pGwywl ppy t:

'Gh°w kG, pt° ujuwy htimlyw) wlngnuiGhpp.

. 3L 3,3 pytiph dhol w plnwitiptpynt nwghnlwy phy:
. Qunth £ pGunpt] wyGyhuhhhlq YuaGwn pytin, npnlg gniiwpp

hwwuwnp thGh 100-hs:

. Gpt pynt pGuyul pytin hnjuwnupdwpwnp ywnpg Gl, wuyw

(pwlghg gnGt dtyp wwpq phy t:

. PwwG pyh pwnwyniuhG 4-h pwdwGtihu Jupnn £ unwugyty 2

dlwgnnn:

. SBwllugwd pwlwb k -h nhiypnud 16 11 ppip 5-h

pwqiwwwwmhl k:
10" -1

Ynunpwlh wpdtipp

pGwywd ppy t:
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15.

16.

3n+10

S o
pywo n+2

Ynunnpwlyp, npntn n-p pGuwywa phy t:

. Bwljugwo n-h niypmd wyn Ynnnpulyl wiypdwwmnmbih k:

Swllugwo n-h nhiypmy wyn Ynmnpwlyp 6o skt 5-hg:

. Gnympynil niGh n-h wyGuyhuh wpdtp, nph nhwypnid wjn Ynnpuwlyn

JulnGuynp t:

. GnynmipynilG niGhG whyting pwwn n-tip, npnlighg jnipupw Gy jniph

ntiypnid Ynnnpuyp Ypdwwmynn t:

. 113 dh n-h nhypnid wyn Ynnnpuyp sh jupnn ypdwunygty S-ny:
. GnynmipynilG niGh wylGuyhuh n, nph nhypnid Ynmnpwyh wpdbph

wdpnn9 phy L

Spjwo % ymnnpulyp, nputin, N-p pGwywa phy E:

. Swljwgwo n-h ghiypnud wyn4gnunpwyh wpdtpp vto & 4-hg:
. Bwljwgwo n-h ghypnd wyn Ynunnpuwyl wGulnG k:
. Gnynmipynil niGbGwlyting pwwm n-tipn, npnlghg jnipwpw Gy niph

ntiypnid Ynwnpwyp Ypdwwmynn t:

- Guntith £ pnpt wiGwhuh 0 pGwlwb phy, nph nhwpnid wjn

Ynunpwlp Yypdwwnymd £ 9-ny:

. GnynipyniG niGh n-h gnlt 4ty wpdbp, nph nhypnid nmpjwod

Ynunnpwyh wpdtipG wipnng phy k:

. Qupbh £ pGunpt n-h Gpyne wpdtip, npnlg nhypnid Ynnnpuyh

wndtipl wipnng phy t:
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nusSuuuuLLE®

<K 1 2 3 4 5 6

Ghpmt | Shpw t | ujuw b | yjuwy k| vuw £ | ujuwy £
ufuw £ | uppw £ | dhpw | | ujuwy k| dhpwm k| dhpw |
Ghpm b | ujuu & | Shpw k. | yjuwy k| Shpm & | ujuwy
Ghpm b | ujuu & | hpn & | §hpm £ | vjuw £ | ufjuwy £
ufuwy £ | ujuu £ | dhpw & | ujuwy k| Shpwm k| Shpwn Lk
ufuwy £ | uyjuuy £ | Shpn £ | uyjuwn k| Shpm b | ufjuwy £
ufuwy £ | ujuu £ | uyjuw B | ujuwy k| §hpm k| Shpwn
Ghpmt | Shpw t | Shpwm L | Shpm £ | vfjuw £ | ufjuwy £
ufuw b | Shpm & | Shpwm b | Shpwm £ | dhpw b | ufuwy k
dhow bt | ufuwi b | ufuun b | 6hpm b | ujumi b | Shown b
ufuw £ | Shpw k| ufuwi b | Shpw £ | 6howm € | ufuuy E
ufuwl b | upuw £ | dhpwn b | ufuwypt | dhpwn b | Ghpwn
ufuwl £ | ufuw b | ufuwi b | ufuwg E 6hpn t | Shywn b
ufuw] b | upuw £ | ujuw B |ofuwpt | Shpw bt | Ghpwm |
ufuw £ | hpw B | ujuwy £ Gppin £ | Shpn £ | Ghpwn E
ufuw £ | Shpm £ | Shpn k. | ufuwy k| Shpn & | ufuwy L

Nalnlolnlnlalv|e Qo v h|wiN| =
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_UJDPV 2. LUJquuurnrUuveEr 64 TuWuduuurnrusere

1.

1.

Spywd t |x—4|+|x+4| =b hwwuwpnuip (b -6 wwpwdbunp k):

Gpt a phyp mpjwod hwjwuwpiwl wpdwwm E, wyw —a phyp Lu
wjn hwjwuwpiwG wpdwun t:

b -h gulljwgwo npuwul wpdtiph nhiypnd hwywuwpniil niGh
wpdwwn:

. b =8 nhwpmd hwjwuwpswl wpdwwnbbph puqinpmin [-4; 4]

vhowluwjpG k:
b > 8 ntiypmd (—oo; —4] dhowlw pmd hwjwuwpdwl wpdwwnp

—E-G k:
2

b <8 ntiypmd hwjwuwnpnil wpiwwm snilp:
b >8 wwjiwlhl pwywpupnn guiywguo b -h nhiypnid
hwyjwuwnpnmul nitGh hpwm tpiniwpdwwn:

. Spywd EV4—x* =|X|—a hwiwuwnnuwip (2 -6 wwpwdbnp L):

. Gpli %, -0 wyn hwjwuwpiwl wpdwwn £, wyuw =X, -0 Lu Gpu

wnpiwuwu L:

. Qujwuwpiw@ OUL-n [X > a wihwjwuwpdw niontdGhph

pwqunipjniGa k:

. a=2 wnpdtph nhiypnid hwjwuwnpnib niGh Gphp wpdwn:
. (-2; 2) dhowlwjph gwljwgwd a-h hwiwp hwjwuwpnuiG niGh

tpynt wpdwuwn:

. a< 2\/5 wuwyiwbhl pwjwpwpnn gulijugwo a-h nhiypnid

hwyjwuwpmul wpdwwnm niGh:

. GnynipjniG yniGh a-h wylyhuh wpdbp, nph nhypnid hwjwuwpnid G

niGtlw Ghpwn vk wpdwwn:
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b=

el A S

N

Spwo t Jax+5 = |x+3 hwwuwpmip (a-6 wwpuidtnp b):

a =0 wpdtph ntiypnid hwywuwpnuil niGh dhpw Gpynt wpdwn:
a =1 wpdtiph nhwypnid hwjwuwnpnuil niGh dhpwn WEY wpdwwn:
Swljugwo a-h niypnud hwjwuwnpnidG wpdwwn nibh:
Bwljuwgwo a-h niypnid hwyjwuwnpnuip hwdwpdbp

ax+5= (X + 3)2 hwjwuwpiwn:

Bwlljugwo a <0 nhypmd hwjwuwpniib niGh dhpwm Gplym
wnpiwmn:

2 <a <10 yuyiwbhl pwjwpwpnn gulijugwo a-h nhwypnid
hwjwuwpnuiG wpdwwm ynGh:

Spwo t 9" +(a+1)-3 +a=0 huwuwpmip (-6 wwpwdbnp b):

Jwywuwnpnuip Jupnn £ nGhGw) puguwuwluwl wpdwwm:

Bwljugwo a -h niypnid hwjwuwpnud Gapdwwm mGh:

a >0 ntiypny hwjwuwpndl wpdww ynilh:

a<0 ywjydwlhl pwjwpwpnn guiugwo a-h nhwypnid
hwjwuwnpniG wpdwwn nilhe:

a =0 wpdbtph ntypnud hwjwuwnpnuil niGh wpdwwm:

GnymipyniG yniGh a=p wjGuyhuh wpdbp, nph nhwpnid hwyjwuwpniib
niGtlw Gpynt wpdwwn:
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5.

L=

Al

Spywd E sin® x—sin x = a hunjwuwpnuip (2 -6 ywpwdbwnp b):

. a=0 wpdtiph nhypmy hwjwuwpiwl wpdwnmGbpp %k, keZ

pytinl ta:
a=2 wnpdtph ntypnmd hwjwuwpdwl wpdwwnmGbpp Yupth k

Gpyuywg Gty 3?7[+ 27K, k € Z mtupny:

. a= —% windtiph niypnid hwjuwuwnpndG wpdwwn sniGh:

Bwljugwo a > 2 wpdtph nhypnid hwjwuwpniiG wpdwwm ynibh:
a <0 wuwyiwGhG pujuwpwpnn gulugwo a-h ptupnid
hwjwuwpmil wpdwwnm sniGh:

. fwjwuwpnmiG wpdwwn nilGh w6 W dhwy6 wyGgbwpnid, Gpp

]

x|-3
Spywod L (gj =a’ - 2a hwjwuwpmup (a -0 ywpwibnp b):

a =2 wpdbtiph niypnd hwjwuwpmuil wpdwwm ynibh:
a =—1 wpdtiph niypnu hwyjwuwnpnuilG niGh Gpynt wpdwwn:

Gpt X, -G hwjwuwniw i wpdww £, wyuw —X, -G Lbu wpdwwn L
2<a<4 yqujiwlhl pwjwpwpnn gulijugwo a-h nhiypnd
hwyjwuwpniG niGh Gphynt wpdwwn:

a =5 nypnid hwjwuwpmuib wpdww ynibh:
Qnynipjnil yniGh a-h wylGyhuh wpdbp, nph nhwypnd hwywuwpniib
niGtlw dhpwn vk wpdwwn:
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T

7. SpJuo k [ @j =10-a* hujwuwpnuip (a -G wwpwidtnp b):

1. a=+/10 wpdtiph nhypnid hwjwuwnpniiG wpdww snibh:

2. (—oo; N ) dhowlwjphg wijwgwo a-h ghypnd hwjwuwpnidb
wpiwwn niGh:

3. a=+5 wndtiph niypnid hwjwuwnpiwl wpdwwnn 1-hg 6o phy k:

4, (3; J10 ) dhowlwjph guwliljugwo a-h nhiwypnid hwjwuwnpnil
wniww niGh:

S. [—\/1_0; —3) dhowuwjph gwijugwo a-h nhypndhwyjwuwpniil
wniww niGh:

6. (0; 3) showlwjph guGiugwd a-h nhwypnud hugwuwpniiG niGh

pwguuwlwl wpdwwn:

8. Spwd t [cos zX|++1-x* =a hwwuwpmip (2 -6 wwpuitnp b):

a=0 wpdbtph nhwypmyi hwjwuwpnil wpdww niGh:

a =1 wnpdtiph nhypnud hwjwuwnpnuiG wpdwwnm nibh:
a=2 wpdbph ntwypmd hwjwuwpnil wpdww ynilh:
a> 2 yuwjdwbhl pwjwpwnpnn gulijugwo a-h phwypnid

Ealib ol A Al e

hwyjwuwpnil wpdwwun snilh:
3
5. a= % wndtiph ntypmd hwjwuwnpniil niGh shwl wpdwuwn:

6. Qnynipjnil niGh a-h wjGuhuph wpdtip, nph niypnid hwjwuwpnidb
niGh dhwl wpdwwmn:

237



QLNMu 3 PUJDYL 2 UUUUUCLNRULER B4 U UdUUULNRULED

10.

SANRANE I e

11.

Spywd Zi hunjwuwpnudp:

:Sm[m/x2 +22}
2

. fAwjuwuwpiwl dwfu Ywuh wpnwhwjmmpniGp sh yupnn pGnniGhg

gulljwgwo npuljuwl wpdtp:

Jwjwuwpiwl w9 dwuh wpmwhwjnnipnilp Jupnn t plngniGbg
pugwuwlul wpdtp:

Gpt X, phup hwjwuwpiwl wpdwwnm £, wyw —X, -0 Llu wpdwwn E:

. LQujwuwnnib niGh nwghnGw] wpduwn:

Jwywuwpnuip hwdwnpdtbp t sin =1 hwjwuwpdwn:

=

. LQwywuwnpnidl niGh tpbp wpdwwn:

Spjwd t acos® x+Ig (1— x2) =5 hwjwuwpnuip:

a =0 wpdtiph nbywpnid hwjwuwpntdGwpdwwm ynilh:

a =1 wpdtiph nhwypnid hwjwuwnpnidil niGh dhwl wpiwwm:

a>5 wpdtiph ntiwypnid hwjwuwnpmiG niGh hpw Epljnt wpdwwn:
a=>5 wpdtiph nbypnmd hwjwuwpmib wpdwwm snibh:

a <5 ntiypmud hwjwuwpmuil wpiwwm gnilh:

Gnynipjnil nilGh.a-h dhw)G vty wpdbp, nph niypnd hwyjwuwnpnidp
niGh dhyw thpwpiwwm:

x> +y*=8
Spywo t { hwiwlupgn (a-6 yuwpwitup t):
X[ +]y|=2a

a =1 wnpdtiph nhypnid hwiwlunpgp mond gniGh:

2. a=4 wpdtiph nhwypnud hwiwlwpql nGh hpwm ynpu (nLonud:

. Gpt (Xo; yo) pyugnygp hwdwluwpgh nuond £, wuyw (_yo; Xo)

pywqnign Lu hwdwlwpgh nuonud k:
QnynipjniG yniGh a-h wylGuyhuh wpdbp, nph nhwypnd hwdwyunpgl
niGtlw ynpuhg wybiih nionud:

5. a=3 ntypnd hwiwlwnql niGh nip (nuonud:

. Jwdiwluwngp (nomd gnilh wyG L dhwy6 w6 nhypnd, bpp a < 2\/5 :
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12.

13.

Spywd t [x—a|(x+a—4) <0 whwwuwpmuip (a-G wwpwitnp L):

a =2 ntypmd wihwjwuwpniil nmGh puond:
a-h guwlljwgwo wpdtph nhypnid wihwjwuwpdwb noniGhph
pwqunipjnilp (—oo; 4—a] dhowlwpl t:

. Bwljwugwo a >4 nhypnid wihwjwuwpnuip yniGh ngpuyuwb nionu:
. Swlijugwo a< 2 nhiypnd 1-p wihwjwuwpdwl piomad k:
. —4 <a< -3 nphypnd wlihwjwuwpdwl montdGhph pwquinipniln

wuwnpniwynwd k dhpw jnp pGuwluG phy:

. (2; 3] dhowlwjph gwljugwo a-h hwdwp wpduwo wihwjuwuwpdwl

uoniGtph pwquinipyniGp wupniGuwynwd £ dhpwn tpae pGuwu phy:

Spwo k |x —]4 > bx whujuwuwpmin (b -G ywpwdbtwnp k):

b =0 wpdtph ntiypmu wihwjwuwpdwl noniGtph pwqune-
pjnilp [1; +o0) ShowluwpG t:

b =1 wpdtiph nthypmd wlihwjwuwpdwl nuontiGtph pwqun-
pjnilp (—oo; 0,5] ShowlwpGit:

b = -1 wpdtph nhypmy wlihwjwuwnpiwl nonmuiGhph puqini-
pjnilp [0; +o0) ShouwuwpG k:

Q-nynipjnil niGh-b -h vhw)G tpynt wpdtip, nph nhwypnid wlhwyw-
uwnpiwl nonuiGtph puqinipnitGG wdpnn9 pywyhG ninhnG k:
(0;1) vhowlwjph guwljwgwo b wpdtiph nhypnid wihwyw-
vwnnuin 1-hg ko jmomid yniGh:

. Swljwgwo b>9 ntiypnd wihwyjwuwnnuil niGh npuiju (nonuy:
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14. Spywo k a wywpudknpny Ig(ax)=2Ig(x+1) hujwuwpniip (a=0):

a =4 nhypnd hwjwuwpnidl niGh Shwl wpdwmn:

{wywuwnpnui@ niGh tpynt wpdwwn dhwylG a >4 phypnud:
Jwyjwuwnpnui@ niGh wipnn9 wpiwwm thwjl a=4 nhypnid:
Buwljugwo a <0 nhypmu hwjwuwnpnidG niGh dhpw Gpym wpdwn:
Gpt a>5, wyw hwywuwpdw G wpdwwmbtpp 1-hg dto pytip Ga:

A o

Gph ae (l; 3) , wuyw hwjwuwpnuilG wpdwwn smGh:

15. Spywd t ax® —2ax +1< 0 wGhunjuuwpmun (a -6 wwpuitanp t):

1. a>0 pthypmd wihwjwuwpnuip hwiwnpdbp b (X —1)2 < 1—1
a

w hwjwuwpdwn:
2. a=1 ghypnd wihwjwuwpnuip nomy snilh:

3. Gph ae [O; %} , piypnid wlhwywuwpnuin nuonwd yniGh:

4. Swiljugwd a>1 nhypnid wihwjwuwndwl (noniGhph

pwqinipniGp {a_\/az —a. a++a’ —a} hwunywoG k:
a a

5. a= _1 ntiypnid wGhwywuwnpiwb nonwiltph pwqinipniGp
3

[—1; 3] hwwnuwod k:

f 2
6. Gpt a<0, wyuw [—oo; m} thowlwjpp wwwnlwlnid k&
a

wlhwjwuwpiwl nuoniGtph puqinipjuln:
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16. Spwo t a wwpwdtnpny +/x -1 = ax hujwuwpnuip:

1.

17.

a =0 ntypnd hwjwuwpmil wpdwwn smGh:
1
a= E nbypnmd hwjwuwpndG niGh shwl wpdwwm:

Gpt hwjwuwnpnui@G niGh Gpynt wpdwwm, wwyw tpynu6 £ 6o GG 1-hg:
Gpt hwjwuwpnuiG niGh Gpynt wpdwwn, wyw tpynu £ pGuwG
pytip GG:

QnympjnilG niGh a-h wjGuyhuh wipnn9 wpdtp, nph ghiypnd hwyw-
uwnnuiG niGh Gpyne wpdwn;

a-h guiljugwd pwyul wpdtph nhypnid hwjwuwnpnidl wpdwwnm
snilh:

SmJwd kb wpupudtnpny +32-x? < x—b whwjwuwnnuip:

. b=0 wpdtph niypnid wGhwjwuwpiwb pomdGhph puqimpmln

[4; + o) Showlwypd t:

. b=6 wpdtph niypnd wGhwjwuwpmip nomd smGh:

. b=-8 wpdtph niyypnmd wGhwjwuwnpiwG nomyiGtpp

pwquinmpjnilp [—4\/5 42 ] dhowlwjpl E:

. b=-4J2 wnpdbtph ptiypnid mpwo wlihwjwuwpdiwlp pwjuwpupnng

ytg wipnne phy Yu:

. b>42 ntiypmy wihwjwuwnpnudp nomd ynGh:

. UGhwjwuwnpnuip iniomd niGh wyl b dhwjl wjl niypmd, tpp

8<bh<42:
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18.

1.

19.

Spjwo k £1 >1 wihwjuwuwnnidp (a-6 wywpudtnp E):
X+
a=0 nhypni wihwjwuwpiwl moniGiph puwqimpynilp (0; 1)

dhowlwpl k:

Swijugwo nruluwb a-h nghiypnid wGhwjwuwnpnuip (—-1)-hg thnpp
[niomd yniGh:

. a=4 nhiypmy wlihwjwuwpiwl momdiGtph puquinpniln

hwdw;wih £ ynnpphGwwmGhph uyqplwybnmh Gumdiwdp:

Gpt a>0, wyw wihwjwuwpiwl mondGhph puqinpnbp va
tplupnipjwdp dhewuyp
a=10 nhiypnd wihwywuwnpnil niGh dhpw snpu wdpnn nioniy:

Q-nynipynil niGh a-h dhpwn vty wipnn9 wpdbp, nph niypnid 0,5-np
wihwjwuwnpiw nuond b, huly 1-p" ny:

Bh°wn G, pt° uluwy htimljwy wGnmdGkpp:

. a<b yuwyiwGhG pwjwpwpnn udwjulu a L b pytph nhiypnid

a® <b?:

. a<b wwjyiwGhl pwjwpwpnn judwjuywi a L b ngpuywb pytpp

1 1
bwpnid —<=:
nawp 2 b

. a<b yuwypiwGhG pwjwpupnn udwjwlu a L b pytph nhiypnid

a+b

. GuiwjwlwG a pyh nhupnud, npp wupptip £ 0-hg L 1-hg, a< a’:
. GuiwjwywG a b b pytph nhypmd |a+b|<a|+|b|:

. Guiwjwyuw6 a b b pwguwuwwl pytiph nhiypnid E+E >2:
a
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20. Spjwd £ x* —2x* +a—1=0 hwjwuwpnuip:

el A S

a =2 nhypnd hwjwuwpniiG niGh §hywm Y wpdwwm:
Jwjwuwnnui@ niGh dhpwm Gpynt wpdwwm thwyl a <1 nghypnd:

a > 2 nhypnd hwjwuwpnidG wpdwwm  sniGh:

Gnynmipynil yniGh a-h wyGuwhuh wpdtip, nph nhypnid hwjwuwnpnud G
niGtGw Gphp wpdwwn:

1<a <2 wuwyiwihG pwjwpupnn guGugwod a-h nhiypnid
hwjwuwnpniG niGh ynpu wpdwn:

. Gpt hwjwuwpnui@G niGtlw wpdwnmGtp, wwyw Gpulg gnidwpnp

hwywuwnp YihGh 0-h:
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nusSulluuuLer

1 2 3 4 5 6

Ghpwm b | vjuwk | dhpwmkE | dhpwmE | dhpwmE | dhywm k

Shpwm k| vjuwg b | vpuw k| dhpwmk | uvjuwp k| ufuwg k

6hpmt | ypuw t | vypuuyk | dhpmk | dhpwmE | uuwyk

Ghpwm b | vjuwk | dhpwmkE | dhpwmE | ujuw kb | dhywn k

ujuwp £ | dhpwmkt | dhpwmE | dhpwmE | ujuuy bk | dhpwn k

6hpmt | dhpwmkt | dhpwmt | dhpwmE | vjuwk | uuwyk

Gppwm b | vjuwk | vpuuy bk | dhpwmE | uvjuwp kb | dhpwm k

ufuwl k| dhpwmE | vjuwk | dhpwmE | vjuwpk | dhpwm k

dhwt | Shpwmt | sppwt | vjuuy £ | vjuuy b | ujuuy £

M
[u—y
o[|[RI, WIS

dhpmt | ujuuy £ | dhpwmE | vfjuwyk | dhpwmk | dhywn L

11 dhpmt | dhpwmt | dhpwmE | vjuwp k' | §hpwmk | ujuwk

12 Shpwmt | uyjuuwy E | vpuwy t | dhpwik |[WdhpmE | ufuwg k

13 ujuwj k| dhpwt | vjuw kb | ujuwplb| ujuw k| Shywn k

14 Ghpwmt | dhpwmt | vpuwt | viuwk | ujuwg k| dhpn k

15 dhpmt | yjuuy b | dhpmE | dhpmE | vuw k| ujuwk

16 ujuw £ | dhpwm L | ShpmbE pujuun b | ujuwg k| dhpn |

17 ujuw £ | dhpwk | dhpmE | dhpwmE | dhpwmE | ujuuy

18 ujuw k| dhpwmk | dhpwE | dhpwmE | ujuw k| ujuwgk

19 ujuw £ | ujuwypk | dhpmE | vjuuy b | ujuug £ | Ghrwm L

20 ujuwl £ | yjumpE | dhpwmE | ufuwy kb | ShpwmE | Shywn k
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~UIDHU 3. nrnaLsUbbLER

[y

. Gh°w k6, pt° ujuwy htnlyw] winmuiGtpn:

1. 8, 4, ... tpypwswthwlywb ypngptivhwa yniGh puguuwywl winuy:

2. 227 phyp 11, 15, ... pyuwpwlwlwl ypngptiuhwjh wnwa k:

3. 0,3,6,9 pytinhg nplk tintipp Yupnn GG (hGt; dhlGnyG Gpypuwswthw-
JuwG wypngptiuhwjh hwonpnujw b wlnwdGhn:

4. 4, x, 16 hwonpnuwlnpjniGp Gpypuswhwul ypngptuhw t
Jhwjl X =8 nhwypnud:

5. -2,-8,-32, ... hwonpnwlwlnipyniGp wlgtpe Gyuqnn tpypuswthw-
JwG ypngptiuhw k:

6. sinl, sin 2, sin3 hwonpnuwlwlnipjnGp pyuwpwGwl G wypngptivhw t:

2. 6h°wm GG, pt° vjuwy htnlywy winmuGtpn:

1. 16,12, ... pyuwpwGuwlwl ypngptivhw G snilh puguwuwlwl whnuy:

2. 486 phyp 6, 18, ... tpypwswhwiwl ypngpbiuhwjh winuad t:

3. 0,5,10, 15 pytphg ny vh tptipp s&6 Junpnn (hGh) dhllng G Gpypugw-
thwljub ypngptuhwjh hwenpnuiyu b wlnuiGhp:

4. 3, x, 27 hwonpnujwlnipynilp tpypuswhwul ypngptuphw t
dhwjyG X =9 nhypnud:

5. 2,-6,—18, ... hwonppuw Gnipjnilp wGytpe Gyuqgnn tpypuwswthw-
Jwl ypngpbuhw k:

6. cos2, cos4, cos6 hwonpnujulnipjnilpn pyupwlwul ypngptuhw st:
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3. 6h"w b6, pt”° ufuwy htmlywy wlnmdiGtpp:

1.

Gpti (a,) hwenpnuljwlmpynilp plwpwluljwi wpngptiuhw k, wuw
Juiwjwlwl ¢ hpwlwl pyh hwdwnp (ar1 +C) hwonpnuwywlnipjniln
(iny)Gybu pyuwpwlwlwl ypngptivhw L:

Gpti (a,) L (b,) hwenpuywlmpniGitpp guiiugwd pypwswhu-

JuwG wpngptuhw(tp b6, www (@, +b, ) hwenpuywlnpynilp Lu
tpypwswthwlwl ypngptiuhw k:

. Gpti (a,) U (b,) hwenpnuljuGnipniGGtpp guiljugwd tplypwswthw-

Jul wpngptuhw(bp b6, www (&, -b,) hwenpnujwlnipynibp Lu
tpypwswhwljub ypngptivhw k:

Gpt npuijuiG pytiph (a,) hwenpuywbnipinilp pYwpwbwyul
wnngptivhw £, wuyw (Vla ) hwonpnuwlnip niln GnyylGutiu
pYyupwlwywl ypngpbuhw k:

Gpti (a,) hwenpnuljwbnipynp kplpuswhuwlul wpngpbupw t,
wuww (aﬁ) hwonpnuwlnipjnilp GnyylGwtiu Gpypuwswhwlwb
wnngpbuhw t:

Gpt npuiljw pytiph.(a, ) hwenpnwljwlnipymGp tpypwswthwljw
wnngptuhw b, wiyw (I092 an) hwonpnuyuwlnipjniin pupwlw-
JwG ypngnbupw t:
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4. 6h°wm b6, pt° vfuwy htnlywy whngmuGtpn:

1.

Gpti (a,) hwenpnuljwlmpnilp tpypuswhwyul wpngpbupw t,
www qpnjhg wwppbip uiwjulw ¢ hpulwb pyh hwiwp (c-a,)
hwonpnuywlnipyniln GnyyGytu Gpypuwswuhwjwb ypngptivhw k:

. bpti (a,) L (b,) hwenpnuywGnipymGatpp gulljugwo pyupwbu-

JuwG wpngptuhwbp b6, wuw (@, +b, ) hwenpulwlnpnilp
tpypwswthwlwl ypngptiuhw k:

Gpti (a,) L (b,) hwenpnulwlmpnibitpp guiyuguwd pYwpw -
Jul wpngphuhw(tp b6, wuw (@, -b, ) hwenpnuiljwGnipynip Lu
pyuwpwlwlwb ypngptivhw L:

Gpt npuijwG pytiph (a, ) hwenpnuiljwlnipynibp bpynwswhuyw
wnngptivhw £, wuyw (\/’a ) hwonpnuuw lnipjniln GnyylGutu Gpypw-
sunthwlwl wypngptiuhw t:

. Gpti (a,) hwonprujwlnmpniip Epypuswihwlwl ypngptupw k,

1
wujw (—j hwonpnuwwlnipjniln GnyyGubtiv Gpypuwswhwlwh
a

wnnqptiuhw L
Gpti (a,) hwenpnuijwlnipynilp pwpwlulwb wpngptiuhw k, wuyw

(Za“) hwonpnuwywlnipyniln Gpypwywthwyuwl ypngpbuhw k:
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5

1.

)

. OGh"wm 66, pt” ufuwy htinlywy wGnmuiGhpp:

Gninwswhwlwl ypngptivhwb Junpnn L nlGtGw) gpunjh hwjuwuwn
wlnuuy:

Qnynipjnil niGh hwonpnujw GnipjniG, npp thwdwdiwlwy W
pywpwlwyul, U tpypuswhwlwuwl ypngptuhw t:

3,407 L9 Junnn GG (hGhp ShulnyG pyuwpwlwlul ypngptiuhwjh
wlinuuGtn:

Q-njnipynil niGh wyGuhuh (a,) pwpwlulywb wpngptiuhw, np

a, =3 a,=8 a,=10:

Gnympjnil niGh ynpu wlnud niGhgnn hwonpnpuubGmpjm G, nph
wnwohl Gptp winuiltpp Juqimd G0 pupwlulywuwl ypngpbuhw,
huly YtipghG tptip wlnuwiGtpp bpypwswihwyw i wpngptupw:
Gpt tnwGljwl Ynnitpp Juqimu b6 Gpypuswihuyul ypngpbuphw,
wwuw Gpw pupdpnipyniGGtpp bu yugquinud G Gpypuwswthwlyw6
wpngpbuhw:

.Gh"wn GG, pt° ufuwy htinlywy wegndGhnpp:

. Gppwswthwlwb ypngptiuhwjh hwjnwpwnpn upnn £ hwjuwuwp
1@t qpnyh:

Gpt jwiwjwlwl tpipwswihwlyuwl ypngptuhwjh npuk Gpynt
wlnwuibtp hwjwuwn G0, wyw hwjuwuwn Ga Gl w)n
wnngntuhwjh pninp wlnuuttpn:

. 4, V11 1 10 upnn b6 (hGb; ShulngG pywpwlwlwl wypngpbiuhwh
wlnuuGhp:

Q-njnipynil niGh wyGuhuh (a,) plwpwlulywb wpngptiuhw, np
a, =5 a,=17,a,=20:

Gnynipjnil niGh ynpu wlnwd niGtgnn hwonpnuljwGnipjniG, nph
wnwohl tphip winuwuiGtpp Juquind GG Gpypuywthwyui
wnngpbuhw, huly Yytinohl tintip winuibtpp” pyupwlwljub wypng-
ptuhw:

Gpt tnwGljwl pupdpnipyniGGtpp yuquinud GG tpypwywthwlw b
wnngphuhw, wyw Ynnitpp Lu juquimd GG Gpipuwywhwlw i
unngnptuhw:
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7. Qwonpnuijw Gnipymbp wpywd k pGnhwlnp winudh' a, = nl—zl
pwlwdlny: Gh°w th, pt° ujuwy htnbyw winmiGtpp:

1. % -n (a,) hwenpnuywbnpyjul wnud t:

2. (a,) hwenpnuiljwlnipnilp pypuswthwywl wpngpbupu t:

3. (a,) hwenpnulwGnipyniGp wwpniGwynud £ 1-hg thnpp 6hpw 11
wlnuu

S

. (an) hwonpnuyuwlinipjuwl wnwohb puw ity winwiGtph gnidwpp
wdpnng phy t:

1%

. (an) hwonpnuwyuwlnipjnilin yuwpniGwynid E popnp puwwG pytipn:

(=)

. (12a ) hwonpnulwlimpniG wnniGuynd £ pnnp pGuwluG pytipn:
" NIy pjniap ywn pnnp p pyopn

n+2
12

oo

. {wonprujw nipymGp npywd k pGnhwlnp winuwdh' a, =
pwlwdlny: Gh”wm GG, pt° ufuwy htnlyuy winmiGhpp:

[

! -n (a,) hwonpruljwlinipjul wlnud t:

N

"6
. (a,) hwenpnuwGnipjniip pYwpwlwlw ypngptupw t:
. (a

W

n) hwonpnulwlnipyniGp wwpniGwynd k 1-hg thnpp dhown 10
wlnuuy:

N

. (an) hwonppuyuwlnipjwl wnwohl puwlynpu winwdbGtph gnidwpp
wdpnng phy L:

O

. (an) hwonpnuyuwlnipjniip yuwpniGwlmy E pnjnp pGuju pytipn:

(o)}

. (12an) hwonpnuywlnip niip ywpniGwymu E pninp Yalum pytipn:
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9. 6h"w bG, pt”° ufuwy htimlywy wlnmdiGtpp:

1.

2 L3 pytiph uhol untith £ qut) tptip wyGwhuh pytip, npnlp wn
pytiph htttm thwuhG Juqutl pypuwswuhwljub ypngptiuhw:

. CGnhwinip wlnuwih a, =3" pwlwdlnyg mpdwd hwenpnuljwbni-

pinilp pyuwpwlwlub ypngpbuhw t:

. COnhw(np wlnwih a, = 1 pwlwdlnyg npjwo hwonpnujw lni-
n

pjnilp tpypuswthwu ypngptivhw k:

. Gpt a,,4a,,...,,a, hwonpnuljwlnipjnilip pyuwpwlwluwl ypngptuhw L,

wwyuw a,,a, ,,...,& hwonpnuwubinipjniln GnijGubtiu pyupwlwlui
wnnqptivhw E:

. Swllywgwo (a,) tpypuwswthwlub wpngptuhwjhhwdwp Ghpw b

a, = \fan ‘a,, (n=123,..)pwlwdlp:

. Bphi quiwjwlwb n pGuljwb pyp hwdwp (a,) hwenppuyunipywi

a +a

n n+2

winuibtpp pujuwpupmd GG a;,; =

wwjiwbh(, wyw wjn

hwonpnuuGnipn Gp pjwpwuljul ypngptivhw k:
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10. ©h°wm G, pt” ujuwy htimlywy wlnmdGtpp:

1. 2 L 3 pytph dhol. yuptih k qunGhy tiptip wjGuhuh pytp, npnlp wjn

pytiph htivn ShwuhG uqibkl pyupwiuul ypngptuhw:
. BGnhwlnip wlnwih a, =5" pwlwdlnyg mpdwd hwenpnuywlni-
pinilp pyuwpwlwlub ypngpbuhw t:
. Llnhw(np winwih a, = iz pwlwdlnyg npjwo hwonpnujw lni-
n
pjnilp tpypwywthwlwb ypngptuhw t:
. Gpt a,a,,...,,a, hwonpnwlwlnipjniGp tipypwswhwlwl ypngptiuhw
L, wyw a,,a, ,,...,8 hwonpnulwbnipjniGp GnyyGuybu tpypwswthw-

JwG ypngptiuhw k:
. Swlljugwd (a,) plwpwlwljwb ypngptiuhwh hwdwp hywn k

_% (n=12,...) pulwdlyp:

n+l
. Gpt Juiwjwlwl n pGuywi pyh hwdwp(a, ) hwgnpnuljwGnipjwi
wlnuiGbpp puupupnmy GG Sy B wuwjdwlhG, wuyyw wjn

a

n n+1

hwonpnuwlwlnipjnilp Gpypuwswhwlwb ypngptivhw k:
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11.
. UGdtpe pywpwlwlyul ypngptuhw 6 Junpnn L yupniGuyb) shwjyG

12.
. Uadtpe tpypwswhwluwbwpngptivhwb sh Jupnn yupniGuwlyby

Bh°owm GG, pt° ufuwy htnlyw) winmuGtpp:

Ubl wdipnng phy:

. Gphi (a,)-n tpypwgwhwlwi wpngptivhw kL a <0, 4>1, wuyw

(a,)-n wdnn L:

. Gpb hwonpnwlwlnipjul wnwohl nwlnuiGtph gnuiwnpp

gwlyugwd n pGwlywl pyh hwiwp wpnwhwynymd kS, = 2n?
pwlwadlny, wyuw wyn hwonpnuywlnipjnilp pyupwGuywb
wnnqptivhw k:

. Bpti (a,)-n tpypwywhwywi wypngpivhw £ n+m=K+1 , wujuw

a,-8,=28-3:

Gphb tnuGljwl wilymGGatpp juqind G6 pyupwliuwlu
wpngptupw, www wyy wilymGihphg Seype0°t:

Gpti ABCD punwGljuG A, B, D, C wGyjmGGtph hwonpnujuGni-

pjnilp pyupwlwub ypngptivhw £, wyyw wjn pwnwilyjulnp
Juntih £ wpnwqob) 2pnowlwgho:

Bh°own G, pt° vfuwy htnlyw) whnmuGtpp:

UhwG vkl wipnne phy:
Gpti (a,)-n tpypwywithwywl wpngpbupw b a <0, 0<g <1, wyuw
(a,)-n wdnn k;

. Gpb hwonpnuywlnipjuwl wnwohl nwlnuiGtph gniiwnpn

guljuwgwo n plwywb pyh hwiwp wpnmwhwjynynd k. S, = 4n?
pwlwdlny, wyw wjn hwonppuywlnpyniln Gplypwywthwyul
wynnqptivhw E:
Gpti (a,)-n plwpwlwlywl wpngpivhw £ L n+m=Kk+I, wuuw

a +a,=a +4:
Gpt tnwlljwl wwpwghon 24 £ L Ynnutipp juquinud &6 pywpwGu-
Jul wpngpiuhw, www wjn Ynndbphg dkyp 8 L:
Gpti ABCD punwljuG A, B, C, D wGyjmGGtph hwonpnujwGni-
pjniln pywpwlwlywl ypngptuhw k, wyw wjn pwnwbljuG AB L

CD ynnutipp gqniquihtin tG:
252



QLNMNv 3 RUIDYL 3 nrna-LcURULEN

13. (a,)n 5 wwuppbpmpiniGng pywpwGulwl wpngptuhw t, huy
(%,)-n" pnuywl winuiGkpnyg L 2 hwynwpwpn Gpypwsuhwyw
wnngpbufu:

1. b, =a,, hwonpnuwlwlnipjniGp 10 mwppbipnipynilny puwpwuwljw b
wnnqptivhw k:

a +1
2. C, = “2 hwonpnuulnipjniln 3 mwpptipnipjnilng pupwlw-

Yu b wpngptuhw L
3.y, =X, hwonpnuyuwlnipjniln 10 hwymwpwnpny tpypuwswthwlub

wpngptivhw L

4, z,= X,? hwonpnuuwlnipyniln 8 hwjmwpwpny tpypwywthwyud
wnngpbuhw t:

5. ¥y, =2% hwonppujwlmpmbp 25 hwjnwpwpny Gpgpuswhwlul
wnngpbuhw t:

6. b, =log, x, hwonpnulwlnipnilp % nuwpptipnipyniing pjwpwlw-
Yl wpngptiuhw t:

14. (a,)n 4 wwpptpmpimGny pywpwlwliwl wpngptuhw t, huy (X, )-
' npuiul whnpuiGkpny L 3 hwjnwpwpny tpypuwswhwlud
wpnqptuhw:

1. b, =a,, hwonpnuwlnipjniln 7 mwppbipnipynilny pyuwpwlwlw b
wnngpbuhw t:

2. ¢, = a”T-‘_B hwonpnuwlnipjniln 2 mwppbipnipyniGny puwpwGuyjw b
wnngptiuhw L

3. y, =%,, hwonpnuyuwlnipjnilpn 9 hwymwpwpny tpypwswthwyw b
wnngpbuhw t:

4. z,=x? hwonppuiuwbnipjniGp 6 hwjmwpupny tpypuswthwlw
wynnqptivhw E:

5. y,=3" hwonpnuljwlnpjniln 81 hwjmwpwpny tpypwswthwljul
wnnqptivhw k:

6. b, =logg X, hwonpnuwlwlnipjniGp % wnwnpptipnipnilng pyuwpwlw-

Jw@ ypngptivhw E:
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NUSUUULLER

1 2 3 4 5 6

Ghpwm k. | dhpwmt | vpuwkt | vjuuy b | ujuwg b | ufuwg k

ufuwl k| dhpwmE | dhpwmk | vjuwk | vjuwpk | dhpwm k

GhpmE | vjuw k | Shpwmk | vjuwgk | dhpmE | dhpwm Lk

Ghpwm b | vjuwk | vjuuk | dhpmE | dhpwmE | dhpwn k

ufuwl k| dhpwmE | vjuwk | vjuwk | dhpwmE | dhpwm k

ujuwl b | yjuu k| vppwg £ | dhpwmE | dhpwmkE | dhpw k

6hpwmt | ypuw t | vypuuyk | dhpmk | dhpwmE | uuwyk

ujuwp £ | dhpwmk | vpuwgE | dhpwmE | dhpwmE | ujuwk

Gphpw kb | ujuuy £ | vpuwyk | dhpwmE | ujuwk | dhywn k

Ghpwt | ujuuy b | ufuwy B | Sppwn € 4 Ghpwk | Shown E

Gphpwt | ujuuy £ | dhpwmE | dhpwk | GhpwmE | Ghpwn b

ujuwj k| dhpwt | vjuw kb | dhpmk | ShpwmE | Ghywn k

dhowt | uuw b | ujuwg £ | Shpmik | ufjuunt | Shpm

iSRRI P PRI

upuwi k| dhpwmt | dhpwmE | vfuwk | dhpwmk | ujuwk
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AUJDhL 4.  dNMLUSHULEE

[

. Spqwd t f(X)=—x*+8 PmGlyghwa:

. dnlGlyghwjh npnpdwl mhpniypp hwdw;swih k2 Ynh Giumdwdp:
. dnGyghwl thnppugniyG wpdbpl plgnilnd £ x =2 Yhwnnm:
. dnlyghwl vwhiwlwihwy t:
(—o0; 2] dhouiljuypnid $mlljghwl wdnn k:
f'(-2) < 0:

N N

(=)

. dnlyghwjh qpudbhyp X, = ? wpughul niltgnn Jhnnid mwpjuo

npwthnnp qniquhtn Ly = —x mnh(:

N

. Spqwo t f (X)=2—|x| dnGyghwa:

1. dniGyghwjh npnpdwl mhpnypp (—oo; 2] dhowyuwyp( E:

2. X=-2 Yhmmd $niGyghwjh wpdtippnpuyud t:

3. f $nmGyghw qniyq t:

4. f pnGyghw niGh dtowgniyl wpdtip:

5. f pmGyghwjh gpuwdphlp b y = x+3 ninhnp skG hwwnynud:

6. 1 $milighwh qpuiphlyp g(x)=x* -2 pméyghurh gpuphiyh
hwdwswh( t ynnpphGwwmGbph uqpGultimh Gundwdp:
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3. Spqwd k. f(x)=[3—2x| pmllyghwa:

b

b=

1. f $nmGyghw ytlw k:

2. f pmGyghwjh qpudbhyp hwiwsuh £ X =3 ninnh Gundwdp:
3.
4
5

x=1,5-n $nilyghwjh shGhinh Ytwn t:

. [—2; 2] dhowlwypnid f $niGyghwjh dhowqnmyG wpdtpp 7-G k:
. 0<a <2 yuwjyiwlhG pwjuwpupnn guiugwo a-h nhypmd y = ax

ninpnp b f pnGyghwjh gqpudphyl niGLG Shpw tpyne pGnhwlnip
Ytwn:
f $niGyghwl vwhdwlGunhwy st:

Spjwo Lt y=kx+b qéwyhlG $mGyghwa, nph qnuphya wigmy L
(-1 0) Ytwnny:

f pniGyghwl npnpgwo £ wipnn9 pywyhG wnwlgph Yypw:
y'=k:

k—b>0:

b =0 nhiymu y=—-kx+b ~pn1Gyghwjh qpubhyp hwiwswh t

upuo pnillghwyh gpuephyhG’ wpughultiph wnwgph
(juwundwip:
b >0 ntiypmd f pniGyghwb GJugnn t:

6. Gpp b=0, wyuw f PnGyghwl yupptipwyuwa t:
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5. Spwo k6 f (x)=cos? x L g(x)=x* +1 pmGlyghwGtpp:

[

g bnlyghwi wann t:

2. f pnlyghwjh gpuwdphyn hwiwywih & opphlGuwwnmbGtph wnwlgph
GYuwwundwlp:

3. f L g PmGyghwGtiph qpubhyGtinG niGtG Ghown kY plnhwlnip
Jtwn:

4. f pnmGyghwjh hhiGuywl wuppbpmpnilp 27 k:

5. f pnGyghwa [% n} dhowlwjpnid Gwqnn k:

6. y=g(f(x)) dmbyghwyh wpdtipltiph wmhpnypp [1;2] Thowluypa t:

6. Spqud k. f(x)=37+3" pmblyghwa:

1. f $nGyghwjh npnpiwl mhpnyypnp ny pugwuwub pytph
puquinipjniGa k:

2. f-pqnyq $nilGyghw k:

3. f pmGyghwjh qpubhyp hwwnnd £ wpughultph wnwgpn:

4. f pnmGYghwjh gqpudphyl opphliwnbGtph wnwlgpp hwnmy k (0; 6)
Jtunnud:

5. f $nGyghwh wpdtipGph puquinipniln [2; +00)11119u1l1uljpﬁ L:

6. f pnmGyghwGinbGnnnG st:

N 2X+1
7. Smwo b6 f(x)=0,4" L g(x)= 2 $mGyghwblpp:

1. f $niGyghwl wdnn k:

2. g pnllyghwi Gwqnn k:

3. f(x)=9(x) hwywuwpnuiG nGh shwl wpdwn:

4, y=f (g (X)) $nGyghw G wénn k:

5. f (X) =g (X) hwyjwuwnpnidG niGh gpujuG wpdwwm:

6. f(x)<g(x) wihwjwuwpiwb nonwiGeph puqinipmbp [0; +)

dhowljwjpp sk:
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8. Spwot f(x)=1-3" pmlyghwa:

[a—y
.

f PniGyghwjh qpudhyp sh whglnud Ynnpphlwwnlbph

uljqplwytnny:

2. (—oo; 0) dhowlwjpnd $nilGlyghwb GJugnn k:

3. f Pmlyghwh wpdtpGtinh whpnypp (—o0; 1] dhewiljwpt t:

4. ¢ (X) =3 -1L f $myghwbtph qpuphyltpp hwiwswh bl
wpughultph wnwgph Giuumiwdp:

5. y=|f (X) $niGyghwl qnijq $nGlyghw t:

6. y=1f dnlyghwl ytiplihg vwhiwlwhwy t:

9. Smwd t f(x)=x*—-4x-5 pmbyghw:

1. f $nmGyghwb ytiplhg vwhiwGuthwy t;

2. Xx=2-p f pnmGyghwjh Yphnpyujub ytw t:

3. (2; —9) Ytunmd f pnilGyghwyh gpudhyhG mwupgwo pnputhnnn
qniquhtin £ Oy wnw(gphG:

4. bph xe(—o0; 5)U(5; +0); wyuw f(x)=0:

y = f (x+2) $niliyghwjh gpuphyp hwiwswih & Oy wnwlgph

(uwundwp:

(-1 0) dhowlwjpmd g(x)= f (|X|) $mGyghwl wénn k:

b

34
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10. Spywd t f(x)=ax’—2x+In4 pmiGyghwa:

1.
2.

Swilugwd a-h ghwypmyd E(f)=R:

QnympniG niGh a-h wpdtp, nph npiypnud f pnGyghwjh qpubhyn
ninhn k:

.
f'(x)=2ax——:
(x) = 2ax 2

4, Gpti a=0, wyu f PpnilGyghwl Yphmhjulwb Yawn smébh:

11.

. Gpt a< 0, wyuw f pmGyghwjh gqpubhyp OX wnwlgpp hwwmmd k

tipym Yhwnnud:
Gpt a(a+2+In4)<0, wyw f $niGyghwjh gpuphyp Ox

wnwlgpp hwwmmd £ dhpwm tiplm hnnmu:

Spywd t f(x)=x*+4ax+a’ pnmyghwa (a -G wwpwibun k):

. a-h gulljugwd wpdtiph nhypnid=f  $mblyghwjh qpubplp

wpughulbph wnwlgpp hwwnnd L Gpynt Yhunnud:
a =% nypnd f pnilGyghuygh wowbgjup x =g Yt S k:

a-h guiyugwo wpdtiphgiypnmd f dnilGyghw@ niGh ShGhuinush
ytwn:

a-h npuwl wpdbplGtph nypmd f pmGyghwG (—oo; —5a]
dhowuwjpmd Gwqnn L:
Q-njmpjniG niGh a-h wpdtip, nph nhiypnd f pnilGlyghw plGyniGnid |
dhwj 0 npujul wpdtipGp:
Gpt f pmbyghwih qpuphyp whgnui t (0; 4) Yhwny L wyG [0; 1]
dhowluwypnid wénn b, wyw a=-2:
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12. Spqwd t6 f(Xx)=x+1L g(x)=x"+3x+2 pmGyghwGbpp:

1
2
3
4.
5
6

13.

AN

. U g PmbGyghwGhph gpudbhybbpp hwnynd GG tptp Yhnnd:
. g dnlyghwa [O; +OO) vhowlwjpnid wdnn k:
. $nlyghwl nGh Yphuhjuwwb Ytwn:

x =-1,5 ninhnp g pnGyghwjh hwdwswihnipjul wnwlgph t:

. y=g (|X|) $nGyghwjh thnppwagnyyG wpdtipp npuyul k:
. g $maGyghwjh gpudhyh (0; 2) Yammd wmwpgwod ynywihnnp

qniquhtin £ f $nilGyghwjh qpubhyhd:

Smwo t f(x)=1-2"" pmayghwe:
f (log;0,2)>4:

f pméyghwgh gpuphyp y =2" 41 pmblyghwjh gpuphyh
hwiwswthG E ynnpphGunmGtppuygpliwytinp Gundiwdp:

f $nlyghwl plnniGnid £ dhwyl nghwlwl wpdtplin:

f -pn Gugnn $nGyghw k:

f $niGyghwG vhowagniyd wpdtip sniGh:

f Pnilyghwjh quuphlp snppnpn pwnnpnhl wwnjwlnn Yhnbp
snibh:

14. Spqwd t f (x)=log, |x| $mGlyghwa:

1
2
3.
4

AN

f pnGyghwjh npnpdwG mhpnyph b (—oo; O)U(O; +oo):
f pmGyghwG wénn k:
f pniGyghwjh gqpudbhyp hwwnnid k opghGuwwmbtph wnwlgpn:

. $nGyghwb ytiplhg uvwhdiwGwithwy t:

f(x)=—

~ xIn2 :
f PniGyghwjh qpubhyp hwdwswih & X =0 ninnh Guwndwdp:
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15. Spywd t f(x)=log; x* P GlyghwG:

[

f $niGyghwjh npnptwl whpniypp (0; + ) howlupd k:
f pmGyghwjh qpubhylG wpughultiph wnwlgpp hwwnnid k Gpynt
tnnud:

f pmGyghwjh wpdtipGtph mhpnypl t° (—OO; O)U(O; +oo) :

f $mbyghwi (0; 1) Shewlwjpnid wdnn k:

f $niGyghwl Yuptih Giphuywglly f (x)=4log; X wkupny:
Ox wnw(gphl qniquhtin guGyugwo ninhn f $niGyghwjh
qnudbhln hwunnmd k£ ng wytiih pwl tpyne Yhumnud:

4; X dImGyghwa:

f pmGyghwjh npnpdw G mhpnypp [—2; 2] vhowluwpG k:

f -pn qnuyq pmGyghw L
f pmGyghwa 0 wpdtp sh plnniGnig;

(0; 2) showlwjpnud $niGyghwi GYwqnn t:
f pmGyghwjh wpdtipGiphnhpnypp R-G E:

N

S LW

16. Spwot f(x)=

A

,4— X
6. y="f (X) Lg (X) = v InGyghwlbph wpdtplph mhpnyplbpp

sBG huwinGyGnuy:
1-x
17. Spqwo k f(x)= i3 P Gyghwa:
X+

f pniGyghwG qniyq k:

3-pnyuwuiulind £ f nlGYyghwjh wpdtpltph mhpnyphG:
X=-3-n f $mGyghwjh Yphwhyuwywab Ytwn k:

f pmGyghwG Guqnn k:

(L +o0)p f pmGyghwjh Grwlwwwhuwiiwi shewlwyp k:

M e

6. %-Q g(x)=f (|X|) $mGyghwyh Epunptiinud t:
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18. Spwd t f(x)=|x—2|—a| pmblghwt, npntn a>0:

1. f(2-a)>0:

f $nullyghw wdnn bt Shwjl [2+a; +o0) Showljwjpnu:
f(2—x)=f(2+x), X-h yuwiwjulywl wpdtph hwpnu:

> » N

f $nmGyghwjh EpumptivnuiGph pwGuwyp hwjwuwn L Gpw

Uphnhljulub Ytntph pwbwyha:

. Gnymipjm b m GGG X -h Gphp wpdbp, npnlg nhypnid pnlGlghwjh
wndtpp hwjwuwnp k. a -h:

6. f dnilGyghwjh wowlgjupn Xx=a+2 Yhmmd hwjwuwp t. 0-h:

W

19. Spywa t f (x)=|cosx|—cos® x pniGlyghwa:
1. f $mGyghw qnyyq t:
2. f pmGyghw6 27 -yuwppbipwywa t:
3. f InlyghwG thnppwqniyG wpdbp sniGp:
4. f pmGyghwG pGnnilGnd £ dhujGng gpujul wpdtipGtin:
5. f pmlyghwjh qpudhyl wpughuliiph wewlgph [0;27] hwujwop
hwwnnd E dhpwn hhGq Yhumn:
f pmGyghwa {37” 5?”) dhowuwjpnd niGh dhpw tiptip Epumptiinudh

34

Yybwn:
20. Spywd t f(x)=sin(cosx) pniGyghwa:
f pniGyghwjh npnpdwG mhpmjp]g[—l; 1] dhowwypG k:
f $niGyghwjh wpdtipGtph whpnypp [-1 1]dhowlwpG k:
f pnGyghwjh qpubhylG wpughultinh wnwlgpp hwwnd £ dhwyG
%+ 7K, k € Z Ytnbpnd:

f $mGyghwG qnuq t:
f pmGyghwG 7 wupptipwywd k:

[a—y
.

»on

v ok

34

E; ;z} Showlwypmy f $niGyghwt wénn t:
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21. Spwo b6 f(x)=4"" 1 g(x)=cos(zx)+3 pmGyghwGaLpn:

. pnlGyghwG qnuyq k:
. 0 pmGyghwi Yulw k:

1

2

3. 5-n g pnGyghwjh wwpptinmpniG t:

4. E(f)=[4 +»):

5. f(x)<g(x) wihwjwuwpnidp ;nonud sniGh:

6. f L g pmGyghwGtnh qpudbhyGtpp pnhwlnip Yen mGhG:

22. Spqwo b f(X)=v9-x* L g(x)=sin®x+3 pmbyghwbbpn:

f $niGyghwjh wpdtipGhph puquinipniGp [0; 3] dhowlwypG t:

g -G ytlwm $niGyghw L:

D(gof)=R:

37 -G g-h wuppbpnipymG t:

f L g dpnGyghwltiph gqpudhyGtinGniGta dtyhg wyth plnhwlnp
ytwmtin:

6. f (X) <g (X) wihwjwuwnpdiw (nionudp [—3; 3] Uhowlwp k:

A A

23. Spqwo b f (x)=sin|x & g(x)=[sin x| $nGyghwbtpp:

g -0 Yt P lGyghw L:

f -p wuppbpuwyuw pniGyghw £ 7 hhiGwwl yuppbpnipjudp:
g -0 wwppbpwlwb $niGlyghw k:

f pnlyghwyh wpdtpGtiph whpnypp [-11] dhewljuypa t:

F (X) =f (X) +g (X) $niGyghwjh wpdtplbph puwqinipniGp [0; 2]

Uhowljuph E:
6. [z; 4z] Shpwuypmd f L g $mGyghwGlph qpuphlyGtinG mGLG

Ghpwn ynpu hwwndwG Yhw:

A e
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24. Spqwot D( f)=[-5; 5] npnpdw@ whpoypny f dniGyghwyh

AN

qnuphyp:

E(f):[—S; 5]:

[-5; —4) showluwjpnud f $niGyghwl plnniGnd & gpulua
wndtplbp:

X =5-p pnGYyghwjh shGhinush Ybhw t:

f $nmGyghwG 1 wpdtipl pnGyniGnd t tiptp Yhnnud:
f(f(25))>0:

h(x)= f (|X|) P Gyghwl wpughuliph wnwlgph htin mGh tplyne

nnhw(nip Ytw:

))

264



QLNMNv 3 RrUJDYL 4 darvushuLer

25. Spywd t f pmblyghwh wowbGgyuih’ y = f'(x)-h qpudhyn [-5; 4]
dhowljwjpni:
f'(3)=0:

2. f $mGyghwjh gqpuphyh X =—4 wpughul nilGtgnn Yhnnd mwupjuo
npwithnnp Juwnpnn £ hwinGyGt) wpughultph wnwgph htin:

3. [3; 4] hwnjwond f $nilGyghwl wdnn k:

4. x=-2-n f pmGyghwjh shGhinush Ybtw t:

5. [-3;4] hwnJwomd f pmGyghwG hp thnppugniyG wpdbtph
pGnniGnud £ X =1 Yhummu:

6. x=—4-n f pnilyghwjh dwpupinih Yt k:

f'(x)

5
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—lx—l; xe[-2; 0)
26. Spwd t f(x)=1 2 $n1Gyghwa
a(x-1); xe[0; 2]

(a-G wwpwdtwp k):

f (1) =0:

2. f pmGyghwjh npnpiwG wmhpnypp uwpniGwynd £ snpu wdpnn9 phy:

3. Gpt a=5,uyu f pnlGlyghwjh wpdtpltph pwquinipjniGp [—5; 5]
vhowluwjpG k:

4. Qnympynil nGh a-h wjGyhuh wpdtp, nph niypnd f pniGlhghwG
ytlw k:

5. QnymipjmG yniGh a-h wyGwyhuh wpdtip, nph ghiypnd f $nlGlyghwd
(Guqnn L:

6. Qnympjnil mGLl a L b pytip, npnGg.gbwpnid f (x)=b hwjwuw-
nnuil niGh wlphy pwquinipjuip wpdwanGbp:

27. Quunwnl) wnwownpwlpp.

1. x=0 ytwmnd npnpJwd guluguo Yhhn pniGyghwjh qpuphya
wlglmy E ynnpphGuwGGph uyqplGuwytinny:

2. (—5; +00) npnyuw b whpnypny wupptpwyul $nilGyghw gnympinil
snibh:

3. Gpt f $nmGyghwyh gpudbhyp hwdwswh £ W YnnpnhGuwnGhph uyqp-
Gultnh, U opnhGwwnllph wnwlgph Gundwdp, wuw f(x)=0:

4. 6pb y=f(x) $mGyghwjh npnpdwl mhpnyypp (—2;6] dhowluwpl L,
wyw y=f [gj $niGyghwh npnpdwl mhpnypp (—4; 12]

dhowlwp k:
5. Swljugwo pnilyghwjyh ponp Yphmhjuwwb Yanbpp Gul
Epunptidnudh Ytwnbp GG:

, tipp xa{—l; l} Ujn

6. f-p 1 wwpptpuywl pniGyghw kL f(x) =|x 505

nbwpmd f(7z)=4-7:
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28. Spwd E  (x) = /4_% $ruGlghw:

1
1. iE putinp $niGlyghwjh npnpdwl mhpnyph Yhnmtip Ga:

2. dniliyghwyh vhowqni)G wpdtipp 2-G k:
3. dmGyghw qnyq t:
4. (L +o0) dhowluypnud $nmGyghwl wénn k :

5. dnlyghwb Epumptdnidh Ytwnm ynilh:

1
6. y= f(;) $mGlyghwh wpdtipGiph whpnypp [0; 2] thewiljuypG t:

29. Spywo kb f(x)=cosmx—1 L g(x)=v16-x* pmyghwhpp:

1. f $niGyghwh hhiGuwlwl yupptpnipniGp hwjuuwn t 27 :

2. g $mGyghuyh qpuphyh ppnp Yntipp (0; 0) Ynhg niGhG ShlGniyG
hnwynpmpjmp:

3. f L ¢ pmGyghwGtinh qpubhyltpp hwwynid GG Shpwn Gplyn
ytnnud:

4. g+ f pmGyghwa [0; 1] Showwypnis GYwqnn k:

5. geo f pmGyghwjh npnpdwl wmhnpniypn [— 4; 4] vhowluwypl E:

6. fog PnmGyghwjh qpudbhylG wpughulGtiph wpwlgpp hwwnnd k 6hyn
snpu Yhnnd:

30. f -pnuwipnn9 pywjhG wowGgph Ypw npnpdwd dmllyghw t, pln
npmy’ x -h guljugwd wpdtph nhwpmyd f(x)> x:

1. f $mGYyghwl waénn k:

2. Guwiwjuluwb x-h nhypmd f(f(x))> x:

3. Qnynmpjnil niGh mpywo ywjdwlGphl pwjwpwpnn f pmGyghw,
npp uwhdwlwthwy E Gapplhg:

4. QnympjniG niGh mpjwo ywjdwGGtphG pujuwpwpnn ynlGlyghw, npp
vwhiwlwthwy £ Ytiplihg:

5. Spywo yuwjdwGGEphG puwdwpwnpnn Yhlum nGyghw gnympinil ynilh:

6. Qnynipnil niGh mpywo ywpdwGGbphl pujwpwupnn wuppbpuuwd

dnlGyghw:
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31. Spywd t f(x)=v18-x" —|x $mblghwa:

1. f-p qnyq $niGyghw k:

. pmGyghwjh dtowmgnyyG wpdtpp thnpp t 4-hg:

. pmGyghwjyh npnpdwl L wpdtipGtph wmhpnypGtipp hwdpGyGnid Ga:

. QnympniG niGh 6 Gpupnipjudp dhowlwjp, npntin f $nilGlyghwd
nlnnilnud & dhw)l ny puguuwywl wpdtiplbp:

. f pmGyghwi [-2; 1] Showywypnd wénn E:

. GnympyniG nGh f $nlGyghwyh qpubhyh wyGuyhuhp pn2wthnn, npG
wpughulbph wpwlgph htm Juquimud L 40° wlyniG:

A W N

AN W

32. Spywd k. f(x)=v12-x* —|x pmGyghwa:

1. f -p Yt $mGyghw t:

2. f pmGyghwjh dtiowgnyyG wpdtpn dLo k 3-hg:

3. f pmGyghwjh npnpdwG L wpdbpllph whpnypltpp ska
hwinGyGnud:

4. QnynipjniG niGh 5 Gpupnipjunip showlwjp, npntin f $nlGyghw
nOnnilnid L dhw)l ny puwgwuwljuwl wpdtpGtin:

5. f pmGyghwG [— 1 2] dhowlyuwjpnud Gwqnn E:

6. Gnynipjnil yniGh f $mGyghwjh qpubhyh wylGuyhuh pnpwthnn, npG
wpughuGbpprwpwlgph htn Yuqih 140° whyniG:

268



QLNMNv 3 RrUJDYL 4 darvushuLer

3

[\ I Y

W

AN L B~

3. Uunnpl wywwunltpdwd hwangwon [0; 6] npnpdw6 whpnypny U [-1; 2]
wpdtipGph whpniypny f bmiGyghuygh qpuibhy k.

Ay

=P = N W
=

_____________________

. f pmGyghwa plnnibnud E pugwuwlwl wpdbplbp (4; 6] dhowlwjpnid:

. f $pmGyghwjh qpuphyl wpughulbph wnwlgph htn Juqind t 150°
wlyymG:

. f PpmiGyghw Jupkih t Gipuyuglty £(x) = —% x+2, xelo; 6]
pwlwadalny:

. fof $mGyghwG Guqnn k:

. fof Pmbyghwyh npnpswb mhpniypp [0; 4] showlywypG t:

. fof Pmilyghuyh wpdtptph whpnipp [0; 2] dhowywjp t:
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34. Unnpl ywnytnywé hwngwsn [- 5 0] npnpdw6 whpnypny b
[- 2; 3] wpdtpGhph whpnypny f $mGyghwh quuphydt.

— o W
| B

L}

[u—y

. f Ppmlyghwl plnniGnid £ puguwuwlwl wpdbplep shwjt (-5:-3)
dhowlwjph Ytunbtpnid:

. f $mbyghwjh qpuphyl wpughulbph wnpwlgph htn Juqind t 45°
wGlyym:
. f pmGyghwi Yunkih & Gipyuywglly f(x)=—x+3, xe[-5; 0]
pwlwdlny:
. fof ImlyghwG wdny k:
. fof HmGyghwyh npngdwl whpnypp [-3; 0] ShewuipG k:
. fof pmllghwjp wpdtpGtph whpniypp [1;3] hewlwjpG t:

[\°]

w

N 0 A~

35. Spwd £ f(x)=x* pmélyghwi:

1. D(f)=R

f'(x):§x3

(e

w

f ’(X) =0 hwjwuwpniG wpdwwn sniGh:

. f dnGyghwG Yyphwmphyuywa Ytwn sniGh:
. T dnlGyghwl ny qnuyq k, ny b YhGwn:

wm A

6. y=f(sinx) pniGyghwl 7 -wwppbpwywa L:
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36. Spwd b f (x)=x PmGyghwa:

[y

. D(f)=[0;+oo)

2. f'(x) :%x_3

(53]

. f'(x) =0 hwywuwpniG wpdwwn smGh:

4. f $nilGyghwl Yphnhyuwyuwa Yt sniGh:

. f pnmGyghwjh qpubhyp hwdwswh £ ynnpphGuwnGtph uyqpGuytinp
GYuwwundwdp:

W

6. y=1 (COS2 X) $mGyghwb 27 -yuwppbipwywa t:

37. Spqud t f (X)=|x—3+|x+3 pmbyghwa:

1. D(f ) =R:
2. f -p qnuyq pnlyghw t:
3.0-G f $mGYyghwjh tpunpbidnidh Yhw t:

4. f Ly= |X| InGyghwyh gpuphyGbpp pGnhwlnp Yantip ynGhG:

5. f InmGyghwjhwowlgjup —6 Yhnnd qnjnipyniG yniGh:

6. %-Q y = f(sinx) $niGyghwjh wwppbpnipyma t:
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NUSUUTULLER
8724 1 2 3 4 5 6

1 Ghpw k ufuwy k ufuwy & ufuwy k Ghyw k, Ghpw L.
2 upug b | upuy b | Shpmk | Shwb | GhpmE | Ghywk
3 ufuuy £ ufuuy £ Ghypw k Ghpw | ufuwy £ Ghpw k
4 Ghpw L Ghow L ufuuy k ufuuy k ufuwy k£ Ghow k
5 ufuuy £ Ghpw L, Ghow | ufuuy k£ ufuuy £ Ghpw k&
6 ufuuy £ Ghow L, ufuuy £ ufuuy k£ Ghpw L, Ghyw k
7 ufuuy £ ufuuy £ Ghow | ufuuy k£ Ghow L, Ghyw k
8 ufuuy £ Ghow L ufuuny k Ghpw | ufuwy £ Ghpw k
9 ufuuy k£ Ghow L ufuuy k ufuuy k Ghow L Ghow k
10 ufuwy Lk Ghyn | ufuwy Ghown k Ghon | Ghywn k£
11 ufuwy Lk Ghyn | Ghown k£ Ghown k£ ufuwy Lk ufuwy L
12 ufuuy £ Ghow L ufuuny k£ Ghpw E Ghow L ufuuy k£
13 ufuuy k£ Ghow L ufuuy k ufuwy k Ghow L Ghow k
14 Ghow L ufuuy £ ufuuy k ufuwiy k Ghow L Ghyw k
15 ufuuy Lk Ghpwn Lk ufuuy | uhuwy | uhuuy L ufuuy k
16 ufuwy Lk ufuwy Lk ufuwy K Ghown k£ Ghon | Ghywn k£
17 ufuuy £ Ghow L ufuun k ufuwy k Ghow L Ghpw k
18 ufuuy k£ ufuuy £ Ghow L ufuun k Ghow L ufuuny k
19 Ghon | ufuwy Lk ufuwy L ufuwy Lk Ghon | Ghywn k£
20 ufuwy Lk ufuwy Lk Gpown k£ Ghown k£ ufuwy Lk ufuwy L
21 Ghpw L ufuwy £ ufuuy k£ Ghpwn | Ghow L ufuwy k£
22 Ghow L ufuwy £ ufuuny k£ Ghpw | ufuuy £ Ghpw k
23 ufuuny k£ ufuuy £ Ghpw | Ghpw | Ghow L ufuuny k
24 Ghon | Ghyn | ufuwy k Ghown k ufuwy k Ghywm £
25 ufuwy £ Ghpw L Ghpw | ufuuy k£ Ghow L Ghow |
26 Ghow L ufuuy £ Ghyw | ufuuny k£ Ghow L Ghpw k
27 Ghow L Ghow L Ghpw | Ghpw | ufuwy £ ufuuny k
28 6hpm k| uyjuun L | dhpmk | dhpmkE | dhpm L | ujuuy L
29 ufuwl £ | dhpwmkt | dhpmt | dhpmE | vjuuy k& | vjuuy k
30 vfuwp £ | dhpm Lt | dhpwmk | ujuuy t | dhpm L | ufuuy L
31 6hpmm k| uyjuunt | dhpmk | dhpwmt | vjuwy £ | ujuuy L
32 ufjuwl £ | dhpwmE | vjuuwy £ | vjuw k| ujuuy £ | dhpwm k
33 thpm £ | vjuw £ | dhpwmE | vjuuy kb | Ghpwmk | uvfjuuy k
34 ufjumj £ | dhpmk | uyjuun £ | dhpmk | uypuuy £k | dhpwmk
35 6hpm k| uyjuun k | dhpwmk | vjuunt | vjuwg £ | dhpn |
36 ufjum £ | vjuuy b | dhpmk | vyjuuyk | dhpmkt | upuuy k
37 Ghpwmt | dhpwmk | dhpwmE | Shpwmt | ujuuy kE | dhpwn k
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AUIhL 5. <LUrEUQUONROE3NML

1.

ol S

AN

ABC unipwlynil tnwGljul AC Yynnqih ypw yingywo D Ytunhg

nwpjud bl inwlyywmb djnie tpym ynmitphG qniquhtn mnhnGtp,
npnGp AB L BC ynnutipp hwwnnid G6 hwiwwwwwufuwlwpwn E
L F ytnbtpnud: LwynbGht,np S,.; =S;, Spec =S, W S, #8S,:

AED tnw(lymGp Gdwl L BED tonwGljwinp:

AED tinw(lynilp Gdwl &L DFC tnw(ljwip:
AD:DC=5§;:S,:

DEBF pwnuw(ljwl dwytiptiup hwjwuwpt S +S,:
BDF tnw(ljw6 Swltpbup hujwuwnp b fS;-S, :

ABC tnw(ljjwl dywytiptiup hwjwuwn k ( \/§ + \/5)2:

ABC JwGnGuwynp tinwGlyjuGp Gtpqowd ninnuGymiGGhnhg
wilkifwdto dwybtptiuG niGh KLMN -p, npntn K, N e AC, Le AB,

M eBC:

AK:AC=1:4:

AL=LB:

ZMKN =30°:

ABC tnw(ljwl dultiptup tpynt wliquy vko £ BML tnwGljwG
dwltintiuhg:

ABC tnw(ljwl dwytpbtup tpynt wiquy vko £ KLMN pwnwGljuG
dwltintiuhg:

Siwn =AK-AM :
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3.

wok v

S LA Wb =

ABC tnw(ljul gy AB=13ud, BC =14ud, CA=15ud: Ujy
tnwGlyyuln Gapqodwd O YulwnpnlGny npwlwughop AB, BC L CA
ynnitipp ynputhnid £ hwiwwywnwujumbGupunp K, Lt M
Ytwnbtpnuy:

ABC tinwljw6 swlbtptiup 84 ud? t:

AM = AK =7 ud:

BKOL pwnuw(ljwlp Juptih L wpnwqoti 2pnowlwqgho:
CO =9 uu:

/KOL =arcsin E :
13

CML tnw(lywG dwybtptiup 8 wlquu uko L LOM. tinwGljw
dwltpbtuhg:

. ABCD qniquihtinwqoh uk9 ytpgywo O Yhwmphg mupjuo ta

qniquhtinwqoh YnmitphG gmquhtn myhnGtp, npnGp AB, BC,CD L
DA ynnitipn hwunmd 6 hwiwwgwunwuhbwGwpwp E,N,F L M
Yhwnbpnus: Swpnbht,np S o = 4ud’, S .oy p = 9w’

S cons =12ui*:

AM :MD =2:3:

OM :ON =1:3:

AO -G qniquihtin & EN -h(:

FONC pwnwljui Swibptup 27 ud® t:
S o iScop =3:4:

SAEOM 'SONCF :SEONB'S FOMD -
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5. ABCD utnuh wGyniGuqdétph hwndwl O Yunny mwpyud k
hhiptinhG gniquhtin ninhn, npp AB upnilpp hwnmud £ K Yannud,
hulj CD upmilpp’ L Ytnnud:

_AD+BC |

=—

2. AOK L ACB tnw(lnGGtpp GdwG GG:
3. KO=0OL:

AC-BD
SABCD> 2 °

1. KL

SAOD__ADZ.
Seoc BC?
6. AOB L COD tinw(yjnGGph dwybptuGbpp hwjwuwn GG:

6. UGhwjwuwn Ynnitpny ABC tnwGljwlp Ghpgjowd . O YhGwnpn
(iny 2nowGwqhd, npp AB, BC L AC Ynmitipp 2nwthnid £ hwdwww-
nwufuwlGwpwn K, L L M Jtnbtpnd:

1. KL-p gniquhtint. AC -h(:
2. BK+BL=BC+AB—-AC:

3. ZKML=90° - £ABL

4. BM L KL ninhnpGtpp thnfuninnuhwjwg tG:
5. BKOL pwnuw(lyjwl dwybtptup hwjwuwnp L % BO-KL:

6. BKML punw(ljwl dwytptup hwjwuwn k %BM -KL:
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SV kv =

AR

SNk wbh =

. ABC hwjwuwpwunpniG (AB = BC) numuGljntG towGljub BC toh

Ypw yipgywo t M Ytwnmb wyGutu, np BM :MC =1: J2: Ujn Ytimhg
GtppGwdhghl mwpjwd mynuhwjugh hhdpp K YtwnE t:

/BMK =120°:

BM =KC:

ABC L MKC tnwGyyniGGtpp GiwG bG:

ABMK pwnwGljwln Juntih L Gipqot) 2powlwaqho:
MK? = AK -KC:

/BKM = /BAM :

ABC hujuwuwpwunniG tpwGljuw6l wpmwqowd yngwluqdh
2wnwyhnp hwjwuwp t inwblyyw6 vpmbphG: BC ninnh ypuw AC
hhiph ypnytyghwG CD-G L, huy AK -G AD -hwjpnjayghwmG t AC
hhiph Yypw:

ZABC =60°:

AC=2-AD:

DK? = AK -KC::

KC =3-AK:

ADBK punuw(ljjwp untih L wpnmwqoty ppowlwgho:
ABK L ABC tnw(lymGGtpp GdwG GG:

ABC hwjwuwpwupniG bGowGyjulp Ghpqowd O YhGwmpnGny
nowlwmqohG mwpjwo & AC hhiphG qniquhtin pnywthnn, npp AB
L BC upm(pltpp hwunmd b hwiwwwunwujuwGuwpup M L N
Ytwnbtpnd L Yhumad t towGljuwG BD pupdpmpymGn:

AC=2-MN :

ZAOM =90°:

AN =MC:

OD-BC=0B-DC:

AO ninhnl mnnwhwjwg £ BC ninnpG:

BOM btnw(ljwl dwytptup thnpp £ AOM tnwllyjuwl dwybtptuhg:
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10. Uahwywuwn totipn] ABC ninruiblyniG towGyjwd (C = 900) A

wiljwG Yhunpnp BC top hwunnmi t K Yhwmmd: B ququphg AK
ninnhG mwpjwd ninnuhwjwgh hhdpp E YhwnG E:

CK=KB:
CK-AB=KB-AC:
BEA L KCA tinw(yyniGGtpp GiwG GG:
BEK L ACK tnw(yjniGGtph dwtptulbipp hwjwuwn Ga:
CK-KB=AK-KE:
ZBAC

S Lk be=

CE = AB-sin

11. WGhwJwuwp toipny ABC ninnuGlyynil tnwllyjub AB GtppGw-
dhqh M dholGwltinny Gpuwl mwpjwd nnnuhwjwg ninhnp
inwlljw il wpmwqdwo pgwlwaghop hwmmi t K Ytnmd, huly
CK ninhnp AB GtppGwdhqp hwunmd £ E jtanud:

AE =EB:

ZABK > 45°:

AK > KB:

CE-EK =AE-EB:

AC-BE =AE-CB:

OK = KB, npntin O-G° ABC tnw(ljwn Ghipgowo ppowliwqoh
ytlumnpnGa t:

AN

12. ABC hwjwuwpuwupnG (AB =BC, AB < AC)tnwlljwip Ghpgdwd

qniquhtnwqotinhg wikfwito dwitintiuG niGh ALMN -p, npuntn
LeAB, M eBC, NeAC:

AL=LB:

AN > NC :

ZAMC >90°:

ALMC pwnwlyjwul dwytptup tiptip wiquwd vto & BML tnwGljwG
dwltintiuhg:

AM L LN nminhnGtpl mnnwhwjwg GG:

ALMC puwnw(ljjul wqupwghop hwjwuwnp & NLBC pwnwiljul
wwnwqohG:

el

o
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13.

1

N

15.

AR o

AN o

whkh b=

O Ytlwnpnbny p9wGwghdp, nph mpuwiwghén ABC hwjuwuwpw-
upniG tinwGlyywG hhiphG mupjwo BD pupdpmpiniGGE, AB L BC
upniGpGtpp hwnmd £ hwiwwywunwujuwluwpwup E L F Yhnbpood:

EF // AC:

AAFB = ACEB :

AEFC pwnwGljuGp Junbih £ Gipgoty 2powlwgho:
~DEB >90°:

BEDF pwnw(ljjulp hGupwynnp k Ghpgqot Jpnowlwgho:
AE -BE < DE?:

O YtGunpnGny pp9wGwqhon, nph mpuwiwghép ABC JuGnGunynp
tinwGlyywG BD pwpénmpyniG6 kL, hwinmd £ AB L BC Ynnitpp
hwiwwywunwufuwiwpwnp E L F Yemtpow, huyy EF -p BD-6
hwunmd t K Ynnma:

/BAO = ZCAO:
Z/EOB =120°:
AE-EB =ED’:
AD =DE:

Saec =4 Sperc:

BD=4-KD:

ABCD tnuilpywl AC L BD wllynGwqotpn hwpwptpnid GG
hGswtiu 4 :3: Cinublyywbn Ghpqgowd O Yhlwmpnlng 2nowlwqdhb
(pw K Yhunnd mwpjwo nputhnnp BC L CD Ynnitipp hwwnm k
huwiwwywunwuiwwpup M L N jemtpnd L gmquhtn £ BD
wlyjniGuqoh:

ZABD = ZCBD:
MN -G nnnuwhwjwg L AC -hG:
BN > MD:
ON =CN:
BCD tinw(lyjwl dwytptup ynpu wlqud o £ MCN tnwGljwG
dwltintiuhg:
MN =OK :
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16.

A o e

17

AR

ABCD qgniquhtnwqéh dwytptiup 24t, AB:BC =3:4, huy B
ququphg AD ynnuihG mwnpjwd BH puwpdpmpiniGp’ 3: BC Ynnih
Ynw Yingywo & E YtwnG wyluytiu,np BE=3-EC: BH -pu AE-G
hwunud GG K Ynng:

AE -G qniquhtin £ DC -h(:

AE -G BAD w(lyjwG Yhunpnd k:

AB Unnuh tpyupnmipjniln 6 t:
AECD pwnu(ljuG dwytptup 15 k:
DE -G ninnuwhwjwg E BC -h(:

AK? =4.AH -KH :

O YulwupnGny ypowGwqohl Gipqgdwd ABCD utinuGh B wiljnilp
snpu wlqu dto £ A wilyyniGhg, pln npnud'BC =CD, huyj OB -G
AD hhipp hwnmd t E ylinma:

ZABC =144°:

B L D Jtwmbpp hwjwuwpwhtin GG AC -hg:
AD -G mpwiwqho t:

OB -G ninnuhwjwg L AC'-hG:

AAOC -G hwjwuwpwnn-k:

AE =AB:

18. ABCD nmunnuGlyyniG utinuGhG Gipqowd O YhGnpnGny ppowlGuqghop

ARl S

Gpw CD uto upnilpp 2npuhdwl E Yoy pwdwlnd 9L 16
tnyuwpnipyudp dwubtph” hwyywo C ququphg:

Z0CD+20DC =90°:

UtinuGh pupdpnipjul Gpupmipnilin24 t:

O -G hwjwuwpwhtn & B L D ququpltphg:

ABCD utinuGhG untih £ Gwl wpnwqot) ppowlwgho:
UtinwuGh dto hhipp 7-ny uto L thnpp hhdphg:

ABCD utinuGh vwltiptup tiptip wiquwd dto & ABC tnwGljwG
dwltintiuhg:
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19. ABCD tnquiljwub Yynnsh tpywpmpmtp a t, huy ZA=60°:

1
2
3.
4
5

6.

AB+AD=+/3-BD:
|E—E|:2a:
|AB+BC +CD|=a:
AB-BD=DA.DC:
2.-AB-BC=—2a’:

AC-BD=|AB+CD|:

20. Spwo b6 A(-L-1), B(-% 3), C(-3;1), D(L1)ytnbpp:

kR b=

o

21

U

D ytwp qubymui £ y =2x—-3 nunh Yypu:

(0; 2) ytwnp quGymd & BD munnh Jpw:

B ytwp qubymu £ A ytlGupnbny L 4 2unwynny ppowliwqoh Yypw:
D ytwG pGwo £ AB mpuiwgqony p2nowlihg nnipu:

A, B L C Jtwnmbpny wlglnn ppowtiwqoh YaGunpnlp qunbymd L

y =1 ninnh Ypw:
B ytwp A Ytwh hwwswith YhnG t y =—x nnh Gunmdwdp:

. Spiwd b6 a {=1,7} L b {~5; 5} JtlynnpGhpp:

L b ytywnpGhpp hwiwgho bG:
L b ytyumnpltnh yuqiwo whlyniGp unp k:
|=H:

[SURI

D

a+b La-b Jtumnpltipp mnnuwhwjwg GaG:

- 12 - -2 -2
‘a+b +‘a—b =2a

a+b ytywnpp a L b ytywmnpGbph htin hwqwuwn walymG6p b
Juquni:
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22. ABCDEF fw6nGunp yagwGljw Ynnih tGpyuwpmpjnbp a t:

1. AB+BC=FD:

,. |38 FB)

AD - 2( AB + AE)

AC =2AB+ AF :

2(AC -CE + CE -EA+ EA- AC) = —9a’:
AB-.BC+BC-CD+CD-FA=—2a%:

A

23. MinnubyyniG GonwGlymbG CA L. CB totpp hwpwptipmy GG hGsujtu
4:3: Supywo £t AB-hG mynuhwjug MN hwnjwé wyGutu, np
MeAB, NeCB, MN =4: {wjmbGh t,np AMNC pwnwGyjwuip
Juptih t Gtpqoty 2powlwgho:

1. BMN tnwGljnilp GdwG E ACB tnwGljwp:

2. AMNC pwnw(ljwip Gtpqowo 2powlwqoh 2unwyhnp hwjwuwn k
ABC btinw(ljwip Gtipqowo ppowlwqoh JwnwynhG:

3. CN>NM:

4. AM>AC:

5. ABC tinw(lyjwip Gekpqow o 2nowlwqoh pwnwyhnp hwjwuwnp t 3-
h:

6. AMNC pwnwlyjulp Gipqowod powlwqoh YaGumpnbp quGynmu k
AN hwwnywoh Ypw:
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24. D ytnp C mnhn wayymbGny ABC towGlyjwb CB ynnih
theGnuynwhwjyugh b A wilyjwa Yhuopnh hwundwa Y t, O -G
ABC tinw(lyjwGl wpmnwqdowd powluqdh YGwmpmbp, huy E U F
Ytuntipp hwiwmwwnwunwwpwp CB L AC totinh theGwljtimtinG tG:

[a—y

O ytwp qnGyni & BC hwwnywoh dheGninnuhwjwugh ypw:
D ytwp quGymd k tonwGyjniGhg nnipu:
DO hwwunjwoh tpyupnipjniGp thnpp t inwGljuG6 wpnuqowd

2nwlwgoh zwnwynhg:

4. D ytinmhg AB ninnhG nmwupjwo ninnuhwjwgh hhdpp quGynid k
AB hwunqwoh pupniGuynipjwl ypw:

5. O ytwmp htinwynpnipymGGatph gnuiwpp E L F_Yhwntiphg thnpp L
ABC tnwljwuip Ghpqowd L wpnwqowo nowluqotph

2wnwyhnGtph gnudwphg:
6. ADB w(yjnGp hwjwuwp & ABC L BAC wilyjmGGtph qniiwnphG:

Rl

25. Cpowiliwqdhl Ghpqowd ABCD pumwljjwub ko
AB:CD=BC:DA=3:4, /DAB=90":

AC -G wyn 2nowlwqoh tpwiwgho t:

AB=BC:

A L C ytumbtpphwiwswih 66 BD ninnh Guwnmdwdp:
sinB>sinD:

ABC tnw(jui dvwytptup juqunmd £ ADC tnwllyjwG

I N

dwltptiup %—QZ

34

ABCD pwnuw(ljwbp hGupwynp k Gipqoty 7nowlwqho:
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26. ABC tnwm(lyywi ynnitpp wuwpmGuynn ninhnGinh hwjwuwpnid-

GbipG tG. y=x+5 (AB), y=—x+7 (BC), y=-5 (AC):

B ytunh YnnpnhGunGlinG 66* (1 5):

AC huwunjwoh tpupmpmG 22 t:

BA L BC Jtumnnpltiph ujwpywp wpmwnpyup gpuijwG k:

(¢ -5) yawp ABC tnwllyjw6 wpnwqowd ppowlwqoh YeGnpnGa
L:
ABC -G hwywuwpwupntG tnwGyjniG k:

ABC tnwljwl dwytptup hwjwuwnp t 120-h:

27. SpJwo il x+y =6 L X—y =4 nnhnGhpn:

Ujn ninhnGtpp thnfuninnuhwjwg GG:

X — Y =4 hwjwuwpnuiny npn2ynn nighnp OX wnwlgph npujub
ninnipjw b htim uquimu £ pop wllyjniGs:

Ujn ninhnGbpp hwwmynid GG (1; 5) Junnu:

4. Oy wnuwlgph htin mpJwo ninhnGnph hwwndw G Yantph

htinwynpni-

pjmiGp 10 t:

Ujn ninhnGtipny LOx. wnw Ggpny uwhiwlGuwthwywo yguwwmytpp
hwyjwuwpwupntl GnwGlyynG sk:

Ujn mnhnGipnyle Oy wnwlgpny uvwhdiwlGuwthwljywo yuwwnmybtph
dwltptunp 25 t:
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MUuSUUbULLEN

LK 1 2 3 4 5 6
1 ufuwy L Ghpw L ufuuy L ufuuy L Ghpw k Ghpw k;
2 thpw k Ghpw L ufuuy £ ufuuy L Ghpw k Ghpw k;
3 Ghown k Ghown k Ghown k ufuwy L ufuwy L ufuwy L
4 ufuwy Ghpw k ufuu k Ghpw k; Ghpw k Ghpw k
5 ufuwy L Ghpw k Ghpw k ufuuy L Ghpw k Ghpw L
6 ufuwy L Ghown k Ghown k ufuwy L Ghon k£ ufuwy L
7 ufuwy £ Ghpw k; Ghpw k Ghpw k; ufuun k Ghyw k&
8 ufuwy L Ghpw L Ghpw k Ghpw k ufuuy L ufuuy k£
9 Ghpw L Ghpw L Ghpw L Ghpw L ufuuy k& ufuuy £
10 ufuwy k Ghown k Ghown k ufuwy Lk Ghon k£ Ghywm k£
11 ufuwk ufuwk ufuuy k Ghywk Ghpw L Ghpw k;
12 Ghpw L ufuuy k Ghpw L Ghpwn T ufuuy k ufuuy k£
13 Ghown k Ghon k ufuwy L ufuw k Ghon k£ ufuwy L
14 ufuwy k Ghon k Ghown Lk, ufuwy L ufuwy L Ghywm k£
15 Ghpw k Ghpw L ufuwy k ufuwy ufuuy k Ghpw k;
16 ufuwy k Ghon k Ghoun & Ghon k ufuwy L Ghywm k£
17 Ghown k ufuwy Lk ufuwy & Ghon k£ ufuwy L Ghywm k£
18 Ghpw L Ghpw L ufuuny k ufuuy k£ Ghpw L ufuuy £
19 ufuwy k ufuwy Ghown k Ghon k ufuwy L Ghywn k£
20 ufuwy k Gphown k Ghown k ufuwy Lk Ghon k ufuwy L
21 ufuwy £ Ghpw k Ghpw k Ghpw k ufuun k Ghpw k
22 Ghpw Ghpw k ufuuny k Ghpw L Ghpw k; ufuuy k£
23 Ghpn k Ghon k ufuwy Lk ufuwy Lk Ghon k Ghywn k£
24 Ghpw k& Ghpw k ufuuny k ufuuny k ufuun k Ghpw k
25 ufuwy £ Ghpw k Ghpw k ufuuny k ufuun k Ghpw L
26 ufuwy k Ghon k ufuwy Lk Ghon k Ghon k ufuwy L
27 Ghon L, ufuun & ufuun & Ghpwn L ufuun & Ghyw t
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AUJDYV 6. SULruouUONME3NFL

1.

N

AN o

A

ABCD 2tnuiljjuG AB Ynnih pwpmGuynipiniGp hwnmd t C
ququwpny wglnn o hwppmpymbn E Yunmd: BD mnhnp gniquhbn k
o huppnipjubp: AA -pu DD, p ¢ hwppnipjuG nupnuhwjwugGtpG GG
(ABCD hwppnipyniGG nminnuhwjwg st o hwppnipjuln):

BD//CE:
CB > BE:

DDl:%AA_L:

ABE hwppnipjniGG mnnuhwjwug & @ hwppnipjulp:
/ACE =90°:
BDLAC:

Spqwo . ABCDABC,D, funpwGwpnp, nph Ynpp 2 ud t:

funpwGwpnh YnniGuwihG swytplngph Swlbptup 16 ui®t:
ABC,D, hwwnnijpl ninnuGlyyniGt:

ABCD hwwnijph Swtiptiup 8 wi?t:

BC LAB:

DAB, L AD,C, hwppmpjniGGtph hwwnidw6 ghdp gmquhtin & AB

YnnhG:
ADCB, tipyyGpuwn wiflyjwi qowhG wilyniGp 60°

ABCDAB,C,D, wphquwjh hhdpp ptiquGlyymG kL LAAD=/AAB=«:

Gpl a #90°, wwyw wphquw php t:
Gpti ZDAB =120°, wwyw o >120°:
A ququph ypnytyghwl@ ABC hwppnipjul ypw qubynus & AC
ninp Yypw:
a -h gulugwd wpdtph niypmd AB,C tinwGlymGp
hwjwuwpwupni( t:
Gpti @ =60°, wyw AA 4nnhG wnplptip tiplGhun walymniGp thopp k
Z/BAD -hg:
CC, L BD mnpntiph uquiwe wilnip $6o E 120%hg:
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4, ABCABC, ptp tinw(ljniG wphqdwjh hhkdpp ABC hwjwuwpwupm G
bowGyymGat° AB=AC L AB=BC: A ququph wpnjtyghwa hhiph

hwippnipjw ypw ABC tnwlyjwb sheGwmaqotnh hwmndwG O YuwnG t,
D-G" AC ynmih shelGwlytwnp:
AD -G ninqwhwjwg & AC -h(G:

AO L BB;:

AC,B, -p hwjwuwpwupniG towGyyniG k:

B,AAC tipyGhuwn wayjwh qowjhG whlynGp vto . £BAC -hg:

A Ytwp hwjwuwpwhtn & ABC tnwGyjwl ququplbphg:

AABD pwnw(hunhp dwywip hwjwuwnp & yphqiwgh dwjuwih YtuhG:

SANER AN I A o

5. Spjwot SABC pmipgp: AB=4, BC=5,AC=SA=3,

ZSAC = /SAB=90°, E -G AC Ynnh dhowljtinG t:

SA-G L BC -G fuwmgynn ninhnGtp LG:

BA -G ninnwhwjwg £ ASC hwppmpyuln:

CSAB tpyGhum walnibp 90°t:

SBC L ABC hwppmpjniGitph Juqiwd wiyniGp 45°

SABE pwnwGhunp owywin hwjwuwnp & SEBC pwnwGhuwmp

owyuwhG:

6. Pnmpghl wpunmwqdwod qlnwjhl dwybtplnyph Jwnwynh Gplwnpnip-
Jnilp vto k. 3-hg:

Dbk wh e

6. DABC pnipgh hhwippn BC GhppGwdhqny ABC mupnuGljniG tnwGlyjn GG
L: GnniGwjhG Ynnbpp dshijwlg hwyjwuwn tG:
. Pnipgh pwpdpnipjwG hhipp ABC tinwGlyjwGp Ghipgowo ppowlw-
qoh YulGwnpnGa t:

2. AD-G L BC -G fuwyynn ninpnGtn GG:

3. Pnipgh ququphg mwpywd Ghuntiph pupépnipjniGatpp hwjwuwp
tl:

4. PnipghG hGwpwynp b Gtpqot) qlnwjhlG dwytplnyp:

5. DABC tipyGhuwn wGlyniGp thnpp & DBCA tipyGhuwn wGyjniGhg:

6. Pnipghl wpnwqowod qlnwjhl dwytplunyph Jwnwyhnp hwjwuwn
L DBC tnwGyjwlp wpnwqowd ppowGuqoh JunwynhG:
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7. DABC pnipgh hjwipp 3v3 Ynnuny YuGnGunjnp towGlymG t, DA=343:
DAB L DAC GhuntpG mupnuhwjwug 6 ABC hpniph hwppnipjwin:
ABC hhiph O yuGunnGny wwpjudt AC L DA ynntphG gniquhtin
hwunmjp:

DACB tipyGhuw wlyjniGp 90° t:

. Lwwnnypl ninnubyyniG tnwGyyma t:

DBCA tpyGhuwn wyniGp thnpp t 45°-hg:

. Lwunnypp hwjwuwpuwupniG tonw GYymG t:

BDAC tpyGhuwn wyniGp 90° t:

DABC pnipghG wpunwqowod qGnujhl swiytplngph YaGupnGp
hwwnyphl yuwwmlwbnn Ytw t:

oA WD

oo

. SABC tinwlljniG pnipgh YnniGwjhG Ynnbppqoyyq wn qnijq thnfu—
nunuwhwjwg 66 L mGkG SA=a, SB=b, SC=C tpYuwpnipjnGGtp:

1. SABC pnipgh YnnuGuwjhG dwytployph dwytiptiup hwjwuwp
%(ab+bc+ca) :

2. CB-G ninnuhwjwg st ASB hwppnipjuip:
3. SC_LAB:

4, ASCB tipyGhuwn wGlyyniGp unip k:

5

. Pnmpgh owjuwin hwjwuwn | aTbC:

6. Pningh S ququphg mwpywo pwpépnipjuwl hpdpp ABC tnwGlyjwG
pundpmpjniGGtph hwndwG Y t:

\O

. Spywd & SB puipdpnipyjudp pnipg, nph hpipp ABCD ptinuiGlymGa t,
ZA<90°:

SBD -G pnipwGlyyni G tonwGlyniG t:
AC L SD ninphnGtpp hwwnynid GG:
. Bnipgh pninp YnnuiGwjhG Ghunbtpp ninnuGyynib tnwGlyymGatp Ga6:
ASC hwppnipjniGp nnnquhwjwg £t SBD hwppnipjuip:
SACD tiplyGhuwm wljw6 qowhG whlyynp vt £ 90° -hg:
SBC L SAD hwppnipymGGtph hwwndwG qoh L AD ninnh
htinwynpnipjniGp hwjwuwnp £ SD hwnqwoh tpyupnipjwin:
287
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10. SABCD -G wGnGwynp pwpwGlyynG pnipg k, nph §nniGuyhG yonp

11.

hwywuwn t hhdph ynnihG: SO -G pnipgh pwpdnnipymGa6 t:

CD-G gqniquhtin & SAB hwippnipjwn:
O -G hpdph YyEGupnGa E:

. Pnipgh YnnuiGuwjhG Ynnp hhdph hwppnipjul htin juqinud k 45°

wilyynG:

Pnipgh Yhg YnniGwjhlG Ghumtinph yuqdwo tpyGhunm wGlyniGp thnpp
L hwlnhywlwg YnniGujhG Ghunbph uqiwo tpyGhum wiyyniGhg:
Pnipgh hhiph Yhg Ynnitiph dhoGutintipny L npulg htwn shwwnynn
ynnuGwjhG Ynnh dhelGwlytnny wlglnn hwppnipjudp hwwnniypp
tnwGyjmoG E:

O ytwp hwjwuwpwhtn & pmipgh ququpltphg:

SABCD pnipgh hhippn ABCD qniquhtnwghoGt: M Ytwmp SA Ynnh
wyGuhuh Y t, np SM : MA=1:3;

AM L SC ninphnGtpp hwwnyntd LG:

M Ytwny pnipgh hhiphG gniquhtin hwppnipjudp hwwnnipp
gqniquhbtinwqho k:

M ytimny SDC GhuinhG vniupywd gqniquihtin hwppnipjudp pnipgh
hwunnyypl nunnuGlyyniG k:

SAB L SCD hwppmpjniGGtph hwndwG ghoG ninnuhwjug t
pwnwilyyml pnipgh pwpdpnpjuln:

Gpt Q-G AB Unnh vhoGwytnG E, huy E-G° AD Unnh dheGultinp,

1
wyw MAEQ pnipgh dwyjwip SABCD pnipngh dwywih T dwul L:

Gpti SA=SB, SC=SD L SA# SD, wyw pnipgh pupdpmpniGa
w(iglnd E hhiph wGlniGuqotinh hwwndw( Yhwnny:
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12. SABCD pnipgh hinipp hwjwuwpwunniG ubnu t, pGn npmd

N

w

13

AR o

AB =CD: SO -G pmipgh pwpdpnmpjniGG t:

Pnipgh hhdiphG gniquhtin hwwnnypp qniquhtinwgho k:

A L D ytwtipp SBC hwppnipjniGhg niGtG dhlGniyG htnwynpnt-
pjniln:

SO L CD ninhnGtpp dhpwn fuwsynn GG:

SAB L SCD Ghuwmtipp st6 Jupnn dhwdwiwGul ninnuhwjwug
1hGt) hhiph hwppnipjwGp:

Gpt pnipngh S ququpp hwjwuwpwhtn t hhdiph ququpltphg,
wyw O Ytwp YquGyh utinubh shohG qoh Yypuw:

Gpt BC = % AD, wyuw SABC pnipgh dwywp hwjwuwp £ SACD
pnipgh owywih YhuhG:

O Ytmhg mwpywo 6 OA,OM,ON SwnwquypGlinG w)Gubtu, np
ZMON =90°, ZAON = Z/AOM =60°: A YJamhg MON wljuG
YhunpnhG mwpywo &t mynuwhwjwg hwppmpjnil, npp OM . ON
Swnwquypltpp hwnmd £ homiwwywmwufuwGuwpwnp C L B
ytwmtinmud: H -p BC -h dhoGuytnG t:

OHB tinwGniGp hwjwuwpwupni@ t:

OAB tnwGljniGp YuGnGunp t:

AH >OH :

ABC -G JuGnGuynp towlyjnG t:

AOBC tpyGhuw wiljjmtp 45° t:

H -pn OABC pnipghG wpunwqowd qGnuwjhl dwytplngph YaGunnpnGa t:

. SABCD pnipgh hhipp ABCD pwnwlynwuhlt: SB Ynn6G mnnuhw-

Jug £ hhiph hwppnipjwilip: UnniGuyhG Ghuntinhg tnymun hhdph
hwppmpjuG htin Juqunu b6 45°-h wilnG:

SDC hwppnipniGG ninquhwjwg £t SBC hwppnipjuGp:
SD ynnp hhiph hwppnipjul htim juquinmd Lk 600-11 wGlyynG:
AC ninpnG ninnuhwjwg t SD ninnhG:
D ytwh htnwynpmpjmbp SBC Ghuwnh hwppnipjnilhg thnpp &t DC
Unnh tpljupnipyniGhg:
A Ytwunh htinwynpnipjniGp SCD hwppmipjniGhg thnpp . SD Ynnp
tpunpnipjwi Yhuhg:
AD Unnny wlglnn udwjwlwl hwppnipjudip hwnnyph
ninu iy k:
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15. SABCD pningh hhipG wGhwyjwuwp Yhg Ynnibpny nnnuGlyymea k,

kAW =

16.

SB YnnuiGwyhG YnnG nunnuhwjmg k hhiph hwppnipjwln:

SCD w(lyjntGp thnpp £ 90°-hg:

AC L SD nminhnGtpp thnfuninnuhwjwug GG:

AC L SD ninhnGtipp juwsynn GG:

SAB hwppnipjni(G mnnuhwjwug £ SAD hwppmipjuGp:

Pnipghl wpnwqowd qlnuyhG dwytpunyph YalGupnGp SD -h the-
Guwybwn t:

SABCD pnipghtG hGupwynp £ Ghpqot qniGn:

ABCDA B,C,D, qmquhtnwGhunh jnipwpwGsymp Ghumnp a L b

wiyyniGwqotinny ptnuGlyyma k, hul A ququph pnjnp hwpp
wlyniGGtnp unip LG:

. 9mquwhbnwhunh YnnibGwjhl Jwytpunyphvwytptup hwjw-

uwp k. 3ab:

C, ququphg ABCD hwppnipjuilip ttupywd ninnuhwjwugh hhdpp
quiynd &t AC wilyjniGuqoh ypuw:

9niquhtinwGhumpb hGwpwynp st wpnwqot) qnuwjhG Jwltplnyp:
BD -G ninnuhwjwg £“AAC, hwppnipjun:

5. UnnuiGwjhG YnntiphGannuwhwjug hwwnniypp Yupnn  hGtp

17.

el S

pwnwlniuh:

B,D > BD;:

ABCA, B,C, nimhn tinwGlyniG wnhqiwgh hhipp mnnuGlyyniG
btowGYymG t, nph GippGuwdhgp’ AB =2, L /B =15": Mphqiwyh
witiGwito dwybptu mbbhgnn YnniGujhG Ghuwp pwnwlmuh t:

Mphquwyh owyjwn 1 t:

B,ACB tplyGhuwn wlyjwl dkonipjniln thnpp L 45°g:

Nphqiwjh YnnibuwyhG dwytplngph dwybptup tnpp t 8-hg:
MphquwjhlG wpnmwqowod qlinujhl dwybkplnyph YeGupnlp qunbGynd
L AABB (huuh ypw:

5. Mphqiwjhl wpmnmwqowd qlinuyhG dwytpunyph Qunwyhnp 22 t:

MphquwjhG hGupwynp st Gipqoti) qGnuyhG dwytplnyyp:
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18. ABCDA, B,C, D, jwlnGuynp punwGlniG wphqiwgh AC, wiljni-

Gwqhop hhiph hwppnipyw@ htn Yuqund t 45° walyymG: Mphg-

twyh wilyniGuqotipp hwnygnmd &6 O Yhnnwd:

Mphquwjh whlynbGwughonp 2 wliquu ko £ hhdph Ynndhg:

B,D L AC wllynGwuwqotpp thnjuninqnuhwjwug GG:

3. Mphqiwjh wiyyniGuqoh L YnnuiGwjhG Ghunh hwppnipjul Juquwo
wyniGp 60°t:

4. AOB -G hwjwuwpwynnd tnwGyyma t:

5. AA, AD L DC ynntph sh9Guytintpny mwpjuohwppnipjull
wnhquwjh hhdph hwppnipjuwl juqiwo wilynilp hwjwuwn k arctg? :

6. Mphquwjhl wpmnmwqoywo qlnuyhG dwytpunyph 2unwyhnp
hwywuwp £ hhiph wiyjmGuwqohG:

N =

19. ABCDA B,C,D, ptip qniquhtnwGhumnh hhipp 2tnubljmGE: AA
UnnuGwyhb Yynnp hpdph AB L AD Ynnitph htin juqimy £
huwjwuwn wayymGGtn:

1. QnquhtinwGhunh wiyynGuwqotpp hwwuwn GG:
1

2. V= 5 BD- AC-h, nptin h-p gqmquhtnwGhunp pwnpdpnipyniGa t,
V-G owywyp:

CC, 1L BD:

9niquhtinwGhumhb Jupbh Ewpnwqot) qlnujhG dwytplnyp:
BB,D,D hwppnipjniGG.ounuhwjwug t ABC hwppnipjuln:
9niquhbnwGhump YnquGwjhl dwytplnygph dwytptup thnpp L
hhuph wwpwgoh teynnuGuiyhG ynnh wpnwmpyuihg:

20. DABC pnipgh hhipp C minhn wlyyniGng ABC tnwGlymGG t: DA

YnniGwyh Yol mynuhwjug k hhdph hwppnipjwip, huy DC
ynnuiGuyhG Ynnh Ypw Yytipgywo t E Yewnb wyGubu, np AE L DC:
DC -G mnnwhwjwg t AB-hG:
ADCB tipyGhum waljuGa 90° t:
AE -G mnnuhwjwg £t DBC hwppmipjwin:
EABD pnipghG wpmwqowd qGnujhG dwytiplngph YaGupnGa
nGywo t EDB GhuwG pGngpynn hwppmpjwuG dhe:
DC -G DABC pninghG wpmwqowo qGnwjhG dwytplngph mpwdwqho t:
6. DABC L EABD pnipgtinh owywjGtph hwpwpbpnipyniGp hwjwup k
DC
oE’

AR AR

L=

hd

291



QLNMu 3 RUJDU 6 supuououUONM3NML

21.

b

N W

22.

23.

i .

AR e

SABC pnipgh hpipp C ninhn wilymGny ABC hwiwuwpwupmG
nunuGlyniG tewGlyymG6 t: Bmpgh SAB L CAB Ghunbtipp thnjumy-
nwhuwjwg 6G: S L C ququpltnhg hwiwwwumwufuwGuwpwp ABC L
SAB GhumtnhG mwpywd nipquhwjwgGhpp hwunymd G6 L hwgwuwp G6:

S ququphg mwpywo SAB tnwljwl pwupdpnipynilp L pnipgh
pwpdpnipjniGp hwipGylimd GG:

Pnpghl wpmwuwqowd qlinujhG dwytplnyph YaGumpnbp qunbGyma £
pnipgh dwbplngphg noipu:

SB L AC nunhnGbph Yuquwd walyniGp 60° t:

Pnipgh hhdph totiph dhoGuytmtipny L S ququpny mwpud
hwppnipjuip wnwowgwo hwwnnyph ququph S wGlyymbp 600-]19
utio k:

£nipgh pninp Ghuntipp hwjwuwpwibko GaG:

ACSB tpyGhuwn wGlyyniGp unip t:

ABCDA B,C, D, ptip ynhquiwjh hhipp nminmghYy pwunwlyymG t, n6n
npmyi AB=AD, CD=CB: AA YnniGuwyhG Ynnp hhiph AB L AD
Ynnitph htin Yuqinid £ hwjwuwp wGlnGGtp:

Mnhquiwjh hhiph wayniGwqobnp thnfuninnuhwjwg GaG:

V =BD-AC-h, npntin h-p ypphgdwjh pupdpmpymGa t, V -G owjwyn:
CC, LBD:

ACC, hwppmpjniGG ninpquhwjwug & ABC hwppnipjuGp:

Mphquwjh hGwpwynp st wpnwqot) qlnujhG dwytplnyp:
Mphquwyh YngiGwjhl dwybplngph dwytptup dto £ hhiph wwpw-
qoh L YnniGwhb Yynnh wpmwnpjuihg:

EABC pnmipgh EA L EB YnnuiGwjhG Ynntipp hwjwuwn 66 L
uqunud GG 60° walyymG: EC ynqiGuighG ynnp mynubwyug t EA L
EB ynntnhG L hwjwuwp t EA Ynnh YtuhG:

ACEB tpyGhuwn wilyniGp 60° t:

AE L BC ynntpp thnfuninnuhwjwg LG:

EB ynnh L pnipgh ABC hpiph hwppnipjuil Yuqiwd walyymGp 30° t:
AE, AC Uynntiph dhoGwlytntpny L B ququpny mwpjud
hwppnipjudp pningh hwwnyypl ninnuGyynil GowGlyyniG t:

AB UL CE ninhnGtph htnwynpnipjnilp hwjwuwp & BE hwwnjwoh
tpyunpnipjwin:

Pnipghl wpnwqowd qlnujhG dwytpunyph YaGupnbp qubynmy k

pninghg nnipu:
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24. GuGnGuynp pwnwGlynG pnipgh hhiph Ynnip V3, huly hhiphG
wmnplptp tpyGhun wayymbp' 60°:

1. Pnipgh hwppwghon Wt L, V3 -hg:

. Pnmipgh owjuwyp 3 t:

Pnipgh hhiph dwytiptiup 2 wiquwd thnpp £ YnniGuyhG dwytpunyph
dwltintiuhg:

4. Pnpgh hwlnhywywg YnniGwjhG Ghuntipny Juquigwo tpyGhuwm
wlyynGp 60° L:

Pnipgh YnnuiGwjhG Ghunmtipp ulnGuwynp tnwGlynGGtp GG:

6. Pnipgh hhiph YtGunpnGh L ynniGuwjhG Ghunh hwppnipjwG

w N

e

hnwynpmpjmbnp % L:

25. AM -pu DK -G ABCD pmipgh ADB Ghumnh dh9GuqétnG GG, npnGp
hwwnynd GG E Yhnmd, huy DN p L AP -G ACD Ghuwnh
vhoGwqdtpp, npnlp hwuynmd t6 F Yhmnwy:

MN UL KP ninpnGtpp fuwsynn GG:

EF L BC minhnGtpp gniquhtin LG:

EF:BC=1:3:

QnynipyniG mGh BC mnnhG qnigwhtin L AM , DN hwwnyjwoGtpnp
hwwnn dhwjG bty mnhny:

5. E ytwny wGglnn L ABC hwppnipjulp qniquhtn hwppnipjudp
pnipngh hwwnniyph dwitiniup hwjwuwnp £ ABC Ghunp dwltipiuh

2
— -hG:
3 h
6. KANF pnipgh dwjuwip hwjwuwn t FAED pnipgh dwyqwihG:

PWb =

26. UnGh wnwGgpwjhG hwwmnypp AC hjnipny ABC hwjwuwpwupniG
tnwlyyniG t: UnGh pwpdpmpiniGp 4 ud &, huy oGnpnp” 8 wi:

Un(h oGnpnp hhiph hwppnipjwl htinn uquinud 30° wlyymG:

UnGh YnniGujhG dwytpunyph thngwopn 8 ud Jwnwynny utiyunp k:

Un(h dwywyp 64 ud® t:

UnGhG wpunmwqowo qlnujhl dwitpunyph unwyhnp thnpp £ YnGh

pwpdpnipjnilhg:

5. Un(Gh B ququwpny wlglnn hwwnnypltinhg B ququpnid
utiowqny)G wGlyniGG niGh wnwlgpwjhl hwwnnypnp:

6. Ilnﬁh2q1qupnq wglnn hwwnnmpltph dwybptulGtnhg witGuwiton

32 ud”k:

W=
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NUSUUULLER

<R 1 2 3 4 5 6
1 6ppm bt | vjuwpt | vpuu b | dhpm b | dhpmE | dhpwmk
2 6ppmt | dhpwmt | vpuw b | dhpmk | dhpwmt | ufuunk
3 6hpmt | vyjuw t | dhpwnt | vuwk | vjuwit | ufuwk
4 ufjuwl t | vjuw kb | dhpwmt | dhpm b | uvjuwil | ufuwgk
5 6hpmt | dhpmt | Sdhpmt | vjuwk | dhpmt | ufuwk
6 ujuwp b | dhpwmt | vfuwk | dhpwmt | dhpwmt | Ghpwn
7 6hpmt | dhpmkt | vjuu bk | dhpmt | vjuwt | ufjuwk
8 Ghpmt | dhpmt | dhpmt | vfjuwl | vjuw bk | Shypwn t
9 ufjuw b | vjuw b | upuw kb | dhpwm kA 6hpmE | ufuwg B
10 Ghpmt | dhpwmt | dhpmt | vfuwygl | ufuw & | Shpwnt
11 Shpmt | dhpwmt | vpuwt | dhymkbe| vjuwk | ufuwy k
12 vjuw k| dhpmt | vjuwt | vpowk | ujuwk | dhpwm k
13 Ghpwmt | dhpwt | vpuwE | wfuwlt | vjuw kb | Ghpwn
14 Ghpmt | ujuu £ | dhpwk | vfuwyt | Shpwmt | ujuwk
15 ufjuw b | ujuw b | dhpwmt | dhpmkt | Ghpwmt | ufjuwk
16 ujuw £ | ujuwy £E°| Shpmt | dhpwmt | ujuwk | ufuwgk
17 Shpwmt | vjuwy k | ufuwt | Shpwmt | ujuwpk | Sdhpw k
18 Ghpwmt | wjuw £ | vpuwk | dhpmkE | ShpwmE | ufjuwk
19 ufuw & | dppnt | dhpwm b | vfuwilt | ufuw kb | Ghywn k
20 ufuw £ dhpn b | dhpm b | vfuwplt | ufuw kb | Ghywn b
21 6hpm k| vjuu t | dhpmt | vjuwk | vjuuw kL | ufuwyk
22 6hpm &k | uyjuu t | dhpmt | Shpwmk | dhpmt | ufuwyk
23 Ghpwmt | ujuu £ | vpuwk | dhpmkE | ufuw kb | Shpwn
24 ufjuw & | ujuw b | dhpmk | dhpmE | ufuw kb | Ghywn
25 ufuwp kL | dhpmt | dhpmt | dhpwmk | vjuuwy t | ufuwy k
26 6hpm k| dhpwmt | vjuw k | vjuwk | dhpmkt | Sdhpm L
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